Cause Code	Cause Name	Cause City	Cause State or	Cause	Cause	Cause Subcategory	Self Certification	Self Certification	Volunteerd H		Total	Adjusted Total	Match Cap	Payout Round?
840-010431352	ACADIA CHORAL SOCIETY	MOUNT DESERT	Province Maine	Country United	Arts, Culture,	Singing, Choral	Status Self Certified	Expiration	Hours N	\$10.00	\$425.00	\$425.00	\$10,000.00	Pound 1
				States United	and Humanities									
840-010567964	CALIFORNIA TAMIL ACADEMY	SARATOGA	California	States	Education	Education N.E.C.	Self Certified	2024-04-18	118.00	\$10.00	\$1,180.00	\$1,180.00	\$15,000.00	Round 1
840-010628076	GIRLS ON THE RUN OF SILICON VALLEY	LOS GATOS	California	United States	Recreation and Sports	Amateur Sports Clubs, Leagues, N.E.C.	Self Certified	2024-09-29	26.50	\$10.00	\$265.00	\$265.00	\$10,000.00	Round 1
840-010710812	TEAM SACRAMENTO MARTIAL ARTS ASSOCIATION	FOLSOM	California	United States	Education	Education N.E.C.	Self Certified	2024-11-08	296.00	\$10.00	\$2,960.00	\$2,960.00	\$15,000.00	Round 1
840-010725431	Treasures 4 Teachers	Tempe	Arizona	United States	Education	Services, Educational, Other	Self Certified	2024-10-17	431.25	\$10.00	\$4,312.50	\$4,312.50	\$15,000.00	Round 1
840-010778376	OAK HILLS SOCCER CLUB	PORTLAND	Oregon	United States	Recreation and Sports	Soccer Clubs, Leagues	Self Certified	2024-04-25	684.50	\$10.00	\$6,845.00	\$6,845.00	\$10,000.00	Round 1
840-010927472	LOVING THUNDER THERAPEUTIC RIDING INC	RIO RANCHO	New Mexico	United States	Health - General and Rehabilitative	Rehabilitative Medical Services	Self Certified	2024-05-20	168.50	\$10.00	\$1,685.00	\$1,685.00	\$10,000.00	Round 1
840-010944988	CHEHALEM VALLEY BMX	NEWBERG	Oregon	United States	Recreation and Sports	Amateur Sports Clubs, Leagues, N.E.C.	Self Certified	2024-07-12	46.50	\$10.00	\$465.00	\$465.00	\$10,000.00	Round 1
840-020377315	AREA AGENCY OF GREATER NASHUA INC	Nashua	New Hampshire	United States	Human Service	Human Services - Multipurpose and Other N.E.C.	Expired	2023-11-03	20.00	\$10.00	\$200.00	\$200.00	\$10,000.00	Round 1
840-020419993	SEACOAST REPERTORY THEATRE	PORTSMOUTH	New Hampshire	United States	Arts, Culture, and Humanities	Theater	Self Certified	2024-11-19	79.00	\$10.00	\$790.00	\$790.00	\$10,000.00	Round 1
840-020528837	Family Promise of Southern New Hampshire	Hudson	New Hampshire	United States	Housing and Shelter	Homeless, Temporary Shelter For	Self Certified	2025-01-23	79.00	\$10.00	\$790.00	\$790.00	\$10,000.00	Round 1
840-020620518	UTSAV INC	Gold River	California	United States	Arts, Culture, and	Cultural, Ethnic Awareness	Self Certified	2024-06-20	20.00	\$10.00	\$200.00	\$200.00	\$10,000.00	Round 1
840-020625049	MANCHACA OPTIMIST YOUTH SPORTS	Manchaca	Texas	United States	Humanities Recreation and Sports	Baseball, Softball	Self Certified	2024-07-01	409.00	\$10.00	\$4,090.00	\$4,090.00	\$10,000.00	Round 1
840- 020651198/project/3ASTPFWM B	ARIZONANS FOR CHILDREN INC for Mentor/Tutor for a child in foster care	TEMPE	Arizona	United States	Human Services	Family Services	Self Certified	2024-12-01	25.00	\$10.00	\$250.00	\$250.00	\$10,000.00	Round 1
840-020717767	VERDE VALLEY CYCLISTS COALITION	SEDONA	Arizona	United States	Education	Education N.E.C.	Self Certified	2024-05-28	25.00	\$10.00	\$250.00	\$250.00	\$15,000.00	Round 1
840-030376861	PAYSON COMMUNITY KIDS INC	PAYSON	Arizona	United States	Human Services	Children's, Youth Services	Self Certified	2024-05-01	54.00	\$10.00	\$540.00	\$540.00	\$10,000.00	Round 1
840-030380432	Fine Arts Association of Arizona	Chandler	Arizona	United States	Arts, Culture, and Humanities	Arts, Cultural Organizations - Multipurpose	Self Certified	2024-11-28	979.00	\$10.00	\$9,790.00	\$9,790.00	\$10,000.00	Round 1
840-030417216	LAKE OSWEGO JUNIOR HIGH PARENT CLUB	LAKE OSWEGO	Oregon	United States	Education	Parent/Teacher Group	Self Certified	2024-08-29	60.00	\$10.00	\$600.00	\$600.00	\$15,000.00	Round 1
840-030473181	Adelante Mujeres	Forest Grove	Oregon	United States	Human Services	Ethnic, Immigrant Centers, Services	Self Certified	2025-02-02	115.00	\$10.00	\$1,150.00	\$1,150.00	\$10,000.00	Round 1
840-030520643	WOMENS EMPOWERMENT	Sacramento	California	United States	Education	Adult, Continuing Education	Self Certified	2025-02-26	919.25	\$10.00	\$9,192.50	\$9,192.50	\$15,000.00	Round 1
840-030592628	SWEET DREAMS FOUNDATION	FOLSOM	California	United States	Health - General and Rehabilitative	Patient Services - Entertainment, Recreation	Self Certified	2024-06-14	50.25	\$10.00	\$502.50	\$502.50	\$10,000.00	Round 1
840-030597120	MASTER GARDENER ASSOCIATION	HOOD RIVER	Oregon	United States	Environmenta Quality, Protection,	Botanical Gardens, Arboreta and Botanical Organizations	Self Certified	2024-09-04	271.00	\$10.00	\$2,710.00	\$2,710.00	\$10,000.00	Round 1
840-041988955	WORCESTER COUNTY MECHANICS ASSOCIATION	WORCESTER	Massachusetts	United States	Arts, Culture, and Humanities	Performing Arts Centers	Self Certified	2024-09-21	108.00	\$10.00	\$1,080.00	\$1,080.00	\$10,000.00	Round 1
840- 042103771/project/457PYQ597	FIRST CHURCH OF CHRIST for Pack 9 1 Lancaster	Lancaster	Massachusetts	United States		d Scouting Organizations	Self Certified	2024-09-06	127.50	\$10.00	\$1,275.00	\$1,275.00	\$10,000.00	Round 1
840- 042104231/project/3U1UUYAT7	UNITED WAY OF TRI COUNTY INC for Marlborough Community Cupboard	FRAMINGHAM	Massachusetts	United States	Philanthropy, Voluntarism,	Fund Raising Organizations That Cross Categories	Self Certified	2024-11-08	43.50	\$10.00	\$435.00	\$435.00	\$10,000.00	Round 1
M 840- 042104231/project/3W37SWAB FM	UNITED WAY OF TRI COUNTY INC for WHEAT Community Connections	FRAMINGHAM	Massachusetts	United States	and Philanthropy, Voluntarism,	Fund Raising Organizations That Cross Categories	Self Certified	2024-11-08	739.00	\$10.00	\$7,390.00	\$7,390.00	\$10,000.00	Round 1
FM 840-042104231	UNITED WAY OF TRI COUNTY INC	FRAMINGHAM	Massachusetts	United States	and Philanthropy, Voluntarism,	Fund Raising Organizations That Cross Categories	Self Certified	2024-11-08	111.00	\$10.00	\$1,110.00	\$1,110.00	\$10,000.00	Round 1
840-042696489	SALEM COMMUNITY CORP	WORCESTER	Massachusetts	United States	and Human Services	Senior Continuing Care Communities	Self Certified	2024-11-06	269.00	\$10.00	\$2,690.00	\$2,690.00	\$10,000.00	Round 1
840-042755382	LAZARUS HOUSE INCORPORATED	LAWRENCE	Massachusetts	United States	Housing and Shelter	Homeless, Temporary Shelter	Self Certified	2024-09-11	41.50	\$10.00	\$415.00	\$415.00	\$10,000.00	Round 1
840-042768119	BREAD & amp; ROSES INC	Lawrence	Massachusetts	United	Food, Agriculture,	Meals on Wheels	Self Certified	2025-01-23	38.50	\$10.00	\$385.00	\$385.00	\$10,000.00	Round 1
				States	and Nutrition								l	

Cause Code	Cause Name	Cause City	Cause State or Province	Cause Country	Cause Category	Cause Subcategory	Self Certification Status	Self Certification Expiration	Volunteerd Hours	Hourly . Match Rate	Total	Adjusted Total	Match Cap	Payout Round?
840-043031878	Hopkinton Little League	HOPKINTON	Massachusetts	United States	Recreation and Sports	Amateur Sports Clubs, Leagues, N.E.C.	Self Certified	2024-04-06	60.00	\$10.00	\$600.00	\$600.00	\$10,000.00	Round 1
840-043048933	OPEN TABLE INC	CONCORD	Massachusetts	United States	Food, Agriculture, and Nutrition	Congregate Meals	Self Certified	2024-08-07	342.00	\$10.00	\$3,420.00	\$3,420.00	\$10,000.00	Round 1
840- 043129839/project/3R30VLFSG 7	HOPE worldwide for HOPE worldwide- Global Missions	San Diego	California	United States	International, Foreign Affairs, and National	International Development, Relief Services	Self Certified	2024-07-24	50.00	\$10.00	\$500.00	\$500.00	\$10,000.00	Round 1
840-043416887	MASHPEE WOMENS CLUB	MASHPEE	Massachusetts	United States	Human Services	Fund Raising and/or Fund Distribution	Self Certified	2024-10-15	124.00	\$10.00	\$1,240.00	\$1,240.00	\$10,000.00	Round 1
840-043423864	NORTHBOROUGH FOOD PANTRY	NORTHBOROUGH	Massachusetts	United States	Human Services	Human Service Organizations Multipurpose	Self Certified	2024-12-22	65.00	\$10.00	\$650.00	\$650.00	\$10,000.00	Round 1
840-043434392	THE BOLTON FAIR INC	BOLTON	Massachusetts	United States	Recreation and Sports	Fairs, County and Other	Self Certified	2024-07-26	96.00	\$10.00	\$960.00	\$960.00	\$10,000.00	Round 1
840-043468139	Household Goods, Inc	ACTON	Massachusetts	United States	Human Services	Emergency Assistance (Food, Clothing, Cash)	Self Certified	2024-11-22	804.50	\$10.00	\$8,045.00	\$8,045.00	\$10,000.00	Round 1
	FRIENDS OF THE ASSABET RIVER NATIONAL WILDLIFE REFUGE INC	Hudson	Massachusetts	United States	Environmental Quality, Protection,	Land Resources Conservation	Self Certified	2024-09-21	33.00	\$10.00	\$330.00	\$330.00	\$10,000.00	Round 1
	VIRGINIA THURSTON HEALING GARDEN INC	HARVARD	Massachusetts	United States	Health - General and Rehabilitative	Rehabilitative Medical Services	Self Certified	2024-11-20	68.00	\$10.00	\$680.00	\$680.00	\$10,000.00	Round 1
840-043572618	GNOME FOUNDATION INC	Orinda	California	United States	Youth Development	Youth Development Programs, Other	Self Certified	2025-02-12	600.00	\$10.00	\$6,000.00	\$6,000.00	\$10,000.00	Round 1
840-043594598	PYTHON SOFTWARE FOUNDATION	Beaverton	Oregon	United States	Science and Technology	Computer Science	Self Certified	2024-07-13	157.00	\$10.00	\$1,570.00	\$1,570.00	\$10,000.00	Round 1
	ASSOCIATION FOR INDIAS DEVELOPMENT INC	COLLEGE PARK	Maryland	United States	International, Foreign Affairs, and	International Development, Relief Services	Self Certified	2024-11-10	48.00	\$10.00	\$480.00	\$480.00	\$10,000.00	Round 1
840-043739466	NATIONAL CHARITY LEAGUE AHWATUKEE FOOTHILLS CHAPTER	PHOENIX	Arizona	United States	Philanthropy, Voluntarism, and Public Safety,	Public Foundations	Expired	2023-12-19	241.50	\$10.00	\$2,415.00	\$2,415.00	\$10,000.00	Round 1
043810161/project/41YWVLU1X V	ICNA RELIEF USA PROGRAMS INC for Women's Transitional Housing	JAMAICA	New York	United States	Disaster Preparedness, Community	Disaster Preparedness and Relief Services	Self Certified	2024-09-28	55.00	\$10.00	\$550.00	\$550.00	\$10,000.00	Round 1
840-046000828	STAR ISLAND CORPORATION	PORTSMOUTH	New Hampshire	United States	Improvement and Capacity	Real Estate Organizations	Self Certified	2024-03-13	40.00	\$10.00	\$400.00	\$400.00	\$10,000.00	Round 1
840-046136989	Charles River Watershed Association	Boston	Massachusetts	United States	Environmental Quality, Protection, Arts, Culture,	Alliance/Advocacy Organizations	Self Certified	2024-09-17	66.00	\$10.00	\$660.00	\$660.00	\$10,000.00	Round 1
840-046156018	HERITAGE CHORALE INC	Framingham	Massachusetts	United States	and Humanities Arts, Culture,	Singing, Choral	Self Certified	2024-08-04	41.00	\$10.00	\$410.00	\$410.00	\$10,000.00	Round 1
840-046183751	AMERICAN GUILD OF ORGANISTS	WORCESTER	Massachusetts	United States	and Humanities	Music	Self Certified	2024-06-21	560.25	\$10.00	\$5,602.50	\$5,602.50	\$10,000.00	Round 1
840-050521735	WORCESTER CENTER FOR PERFORMING ARTS INC	WORCESTER	Massachusetts	United States	Arts, Culture, and Humanities	Arts, Cultural Organizations - Multipurpose	Self Certified	2024-08-07	107.50	\$10.00	\$1,075.00	\$1,075.00	\$10,000.00	Round 1
840-050550245	EAST VALLEY ATHLETES FOR CHRIST INC	GILBERT	Arizona	United States	Recreation and Sports	Amateur Sports Clubs, Leagues, N.E.C.	Self Certified	2024-10-03	118.15	\$10.00	\$1,181.50	\$1,181.50	\$10,000.00	Round 1
840-056043772	FRIENDS OF THE BANKS LIBRARY	BANKS	Oregon	United States	Education	Libraries	Self Certified	2024-09-18	70.00	\$10.00	\$700.00	\$700.00	\$15,000.00	Round 1
840-061521179	PRO BONO NET INC	NEW YORK	New York	United States	Crime and Legal Related	Public Interest Law, Litigation	Self Certified	2024-07-31	500.00	\$10.00	\$5,000.00	\$5,000.00	\$10,000.00	Round 1
840-061707495	AUSTIN BANGLA SCHOOL	ROUND ROCK	Texas	United States	Arts, Culture, and Humanities	Humanities Organizations	Self Certified	2024-08-07	30.00	\$10.00	\$300.00	\$300.00	\$10,000.00	Round 1
840-061837383	TRULY LIVING WELL CENTER FOR NATURAL URBAN AGRICULTURE INC	East Point	Georgia	United States	Environmental Quality, Protection,	Environmental Education and Outdoor Survival Programs	Self Certified	2024-12-12	32.00	\$10.00	\$320.00	\$320.00	\$10,000.00	Round 1
840-112655254	MAHESHWARY MAHASABHA OF NORTH AMERICA INC	HERNDON	Virginia	United States	International, Foreign Affairs, and	International Relief	Self Certified	2024-06-16	20.00	\$10.00	\$200.00	\$200.00	\$10,000.00	Round 1
840-113097675	INTERNATIONAL ALUMNI ASSOCIATION OF SHRI MAHAVIRA JAINA VIDYALAVA INC	Fords	Oregon	United States	International, Foreign Affairs, and	International, Foreign Affairs, and National Security N.E.C.	Self Certified	2024-05-19	120.00	\$10.00	\$1,200.00	\$1,200.00	\$10,000.00	Round 1
840-113390208	SOFTWARE IN THE PUBLIC INTEREST INC	NEW YORK	New York	United States	Science and Technology	Computer Science	Self Certified	2024-11-06	114.67	\$10.00	\$1,146.70	\$1,146.70	\$10,000.00	Round 1
840-113717738	OM-KARA	Austin Texas, Sacramento CA	California	United States	Civil Rights, Social Action, and Advocacy	Intergroup, Race Relations	Self Certified	2024-09-07	30.00	\$10.00	\$300.00	\$300.00	\$10,000.00	Round 1
840-113764984	St. Stephen's Academy	Beaverton	Oregon	United States	Education	Charter Schools	Self Certified	2024-08-29	52.50	\$10.00	\$525.00	\$525.00	\$15,000.00	Round 1
840- 131624241/project/2L7QRXG6G 7	UNITED NEGRO COLLEGE FUND INC for UNCF Seattle - Pacific NW Office	DC	Washington	United States	Education	Services, Educational, Other	Self Certified	2025-02-06	76.00	\$10.00	\$760.00	\$760.00	\$15,000.00	Round 1
840-131656633	IEEE Foundation	PISCATAWAY	New Jersey	United States	Science and Technology	Professional Societies, Associations	Self Certified	2025-01-22	62.00	\$10.00	\$620.00	\$620.00	\$10,000.00	Round 1

March Marc	
	\$10,000.00 Round 1
MARKERIAM DAVIGUES STATE Seed projected CLZSMITY Post of Mailtainer Control of Mai	\$10,000.00 Round 1
Section Sect	\$10,000.00 Round 1
Self-Self-Self-Self-Self-Self-Self-Self-	\$10,000.00 Round 1
2	\$10,000.00 Round 1
State Services Distribution Self Certified 2025-02-07 398.00 \$29.000 \$	\$10,000.00 Round 1
	\$10,000.00 Round 1
New York States	\$10,000.00 Round 1
American Heart Association, inc. American Heart Association for American Heart Association for American Heart Association for Camerican Heart Association, inc. The Leukemia & Lymphoma Society (LLS) for Indeed Health Class and Authority (LLS) for The Leukemia & Lymphoma Society (LLS) for The Leukemia Supphoma Societ	\$10,000.00 Round 1
Self Original Self-Self-Self-Self-Self-Self-Self-Self-	\$10,000.00 Round 1
Hall between a Lymphoma Society (LLS) for Student Visionaries of the Year Vicinary	\$10,000.00 Round 1
R40-135644916 The Leukemia & Lymphoma Society (LLS) NEW York States States States States Organizations (International Rescue Committee - Phoenix, AZ NEW YORK New York States Stat	\$10,000.00 Round 1
NTERNATIONAL RESCUE COMMITTEE INC 135660870/project/3P4X50TX for International Rescue Committee - Phoenix, AZ 135660870/project/3P4X50TX for International Rescue Committee - Phoenix, AZ 141841029/project/3XWGHX42V HINDU TEMPLE OF THE WOODLANDS for Free Sunday Meal Program (Annadanam) rescue	\$10,000.00 Round 1
840- 141841029/project/3XWGHX42V HINDU TEMPLE OF THE WOODLANDS for Free Sunday Meal Program (Annadanam) R 840-141888529 CENTURY HIGH SCHOOL BOOSTER CLUB HILLSBORO Oregon United States 840-160865182 UNIVERSITY AT BUFFALO FOUNDATION INC 840-161542277 FINGER LAKES BOATING MUSEUM Hammondsport New York 840-161542277 New York 840-160865182 United States 840-160865182 United States 840-160865182 Self Certified 2024-08-25 39.25 \$10.00 \$392.50	\$10,000.00 Round 1
States Education Sports/Booster/Club/Hand Self Certified 2024-08-25 39.25 \$10.00 \$392.50 \$392.	\$10,000.00 Round 1
NC BUFFALU New York States Education Institute Self Certified 2024-06-02 \$2.00 \$10.00 \$52,000 \$52,000 \$52,000 \$60,000	\$15,000.00 Round 1
840-161542277 FINGER LAKES BOATING MUSEUM Hammondsport New York States Humanities Self Certified 2024-09-01 280.00 \$10.00 \$2,800.00 \$2,800.00 \$2,800.00	\$15,000.00 Round 1
HALL COLORS	\$10,000.00 Round 1
840-200003876 OREGON FRIENDS OF SHELTER ANIMALS Hillsboro Oregon United States Related Animal Protection and Welfare Self Certified 2024-11-07 597.00 \$10.00 \$5,970.00 \$5,970.00	\$10,000.00 Round 1
840-200009820 GREATER PORTLAND TAMIL MANDRAM BEAVERTON Oregon United States Education Services, Educational, Other Self Certified 2025-02-10 158.00 \$1,580.00	\$15,000.00 Round 1
840-200103575 OPERATION GRATITUDE INC Encino California United States Services Multipurpose and Other N.E.C. Self Certified 2024-09-18 399.00 \$10.00 \$3,990.00 \$3,990.00	\$10,000.00 Round 1
840-200107265 SUNSET HIGH SCHOOL LACROSSE CLUB PORTLAND Oregon United States and Sports Clubs, Leagues, N.E.C. Amateur Sports Clubs, Leagues, N.E.C. Self Certified 2024-08-12 47.00 \$10.00 \$470.00	\$10,000.00 Round 1
840-200123026 ARIZONA STORM FAST PITCH SOFTBALL Negative Processing NC Waddell Arizona United States and Sports Baseball, Softball Self Certified 2025-01-08 46.00 \$10.00 \$460	\$10,000.00 Round 1
840- 200149018/project/3GYLVEZUD 9 SKCON HILLSBORO for Free Meal / Food Distribution Program HILLSBORO Oregon United States Religion-Related Hindu Self Certified 2025-02-19 1194.00 \$10.00 \$11,940.00 \$10,000.00	\$10,000.00 Round 1
840-200172012 FOLSOM LAKE SYMPHONY FOLSOM California United States Humanities Symphony Orchestras Self Certified 2024-10-25 199.00 \$1,990.00 \$1,990.00	\$10,000.00 Round 1
840-200412328 ARIZONA WILDERNESS COALITION TUCSON Arizona United States Profection, Tortection, Tortec	\$10,000.00 Round 1
840-200583415 SOLDIERS' ANGELS San Antonio Texas United States Preparedness, and Self Certified 2024-12-01 424.75 \$10.00 \$4,247.50 \$4,24	\$10,000.00 Round 1
840-200602159 ABOUNDING SERVICE INC CHANDLER Arizona United States Education Nursery School, Early Self Certified 2025-01-05 80.00 \$10.00 \$800.00 \$800.00 \$300	\$15,000.00 Round 1
840-200638718 SEWA INTERNATIONAL INC Houston Texas United States Services Multipurpose Human Service Organizations - Self Certified 2024-07-21 1177.08 \$10.00 \$11,770.80 \$10,000.00	\$10,000.00 Round 1
840-200685773 DESERT VISTA HIGH SCHOOL THUNDER PHOENIX Arizona United States Education Secondary, High School Self Certified 2025-01-13 147.75 \$10.00 \$1,477.50 \$1,477.50	\$15,000.00 Round 1
840-200707991 MARICOPA TRAIL AND PARK FOUNDATION PHOENIX Arizona Value States Protection, Tonget Conservation Self Certified 2025-01-24 184.00 \$10.00 \$1,840	\$10,000.00 Round 1

Cause Code	Cause Name	Cause City	Cause State or Province	Cause Country	Cause Category	Cause Subcategory	Self Certification Status		Volunteerd Hours M	ourly atch Rate	Total	Adjusted Total	Match Cap	Payout Round
340-200745473	BENEFACTORS OF RED ROCK STATE PARK INC	SEDONA	Arizona	United States	Recreation and Sports	Single Organization Support	Self Certified	2024-04-12	61.00	\$10.00	\$610.00	\$610.00	\$10,000.00	Round 1
340-200773189	Cat Adoption Team	Sherwood	Oregon	United States	Animal- Related	Animal Protection and Welfare	Self Certified	2024-09-29	515.50	\$10.00	\$5,155.00	\$5,155.00	\$10,000.00	Round 1
340-200774693	SOIL BORN FARMS URBAN AGRICULTURE & DUCATION PROJECT	Rancho Cordova	California	United States	Employment	Vocational Training	Self Certified	2025-01-27	21.00	\$10.00	\$210.00	\$210.00	\$10,000.00	Round 1
340-200882000	NAVAJO ELEMENTARY SCHOOL PTO	SCOTTSDALE	Arizona	United States	Education	Parent/Teacher Group	Self Certified	2024-06-20	275.00	\$10.00	\$2,750.00	\$2,750.00	\$15,000.00	Round 1
340-200912266	GRANITE BAY YOUTH LACROSSE INC	GRANITE BAY	California	United States	Recreation and Sports	Amateur Sports Clubs, Leagues, N.E.C.	Expired	2024-01-11	283.00	\$10.00	\$2,830.00	\$2,830.00	\$10,000.00	Round 1
340-201065695	WILDLIFE CENTER OF VENICE INC	VENICE	Florida	United States	Animal- Related	Wildlife Preservation, Protection	Self Certified	2024-11-09	74.00	\$10.00	\$740.00	\$740.00	\$10,000.00	Round 1
40-201072336	PAT TILLMAN FOUNDATION	Chicago	Illinois	United States	Philanthropy, Voluntarism,	Public Foundations	Expired	2024-02-06	24.00	\$10.00	\$240.00	\$240.00	\$10,000.00	Round 1
340-201094682	CALIFORNIA LINE DANCE ASSOCIATION OF AMERICA	San Jose	California	United States	and Arts, Culture, and Humanities	Dance	Self Certified	2024-06-22	140.00	\$10.00	\$1,400.00	\$1,400.00	\$10,000.00	Round 1
40-201185167	ARIZONA TECHNOLOGY COUNCIL FOUNDATION	Tempe	Arizona	United States	Education	Education N.E.C.	Self Certified	2024-05-11	26.00	\$10.00	\$260.00	\$260.00	\$15,000.00	Round 1
40-201229112	CERT STEERING COMMITTEE	HILLSBORO	Oregon	United States	Public Safety, Disaster Preparedness,	Disaster Preparedness and Relief Services	Self Certified	2024-12-13	25.50	\$10.00	\$255.00	\$255.00	\$10,000.00	Round 1
40-201241878	PLAYING AT LEARNING	San Jose	California	United States	Science and Technology	Engineering and Technology Research, Services	Self Certified	2024-07-31	294.00	\$10.00	\$2,940.00	\$2,940.00	\$10,000.00	Round 1
40-201338578	CHANDLER CHAMBER COMMUNITY FOUNDATION	CHANDLER	Arizona	United States	Education	Services, Educational, Other	Self Certified	2024-12-21	322.25	\$10.00	\$3,222.50	\$3,222.50	\$15,000.00	Round 1
40-201419215	SAATHI-OF-ROCHESTER-INC	E ROCHESTER	New York	United States	International, Foreign Affairs, and	International Relief	Self Certified	2024-12-11	23.00	\$10.00	\$230.00	\$230.00	\$10,000.00	Round 1
40-201524704	PORTLAND GOLD PROSPECTORS INC	PORTLAND	Oregon	United States	Education	Services, Educational, Other	Self Certified	2024-05-30	210.17	\$10.00	\$2,101.70	\$2,101.70	\$15,000.00	Round 1
40-201695025	OREGON ELECTRIC VEHICLE ASSOCIATION	Portland	Oregon	United States	Environmental Quality, Protection,	Professional Societies, Associations	Self Certified	2025-01-11	732.50	\$10.00	\$7,325.00	\$7,325.00	\$10,000.00	Round 1
10- 11788723/project/31DQ47DW Z	SOLE MINISTRIES for Love Beyond Boarders	ALBUQUERQUE	New Mexico	United States	Religion-Related	Protestant	Self Certified	2024-12-01	516.50	\$10.00	\$5,165.00	\$5,165.00	\$10,000.00	Round 1
0-201821723	ROSE CITY ROLLERS	PORTLAND	Oregon	United States	Recreation and Sports	Amateur Sports Competitions	Self Certified	2024-09-11	1062.87	\$10.00	\$10,628.70	\$10,000.00	\$10,000.00	Round 1
0-201852393	Ryan House	Phoenix	Arizona	United States	Human Services	Hospice	Self Certified	2024-06-08	65.25	\$10.00	\$652.50	\$652.50	\$10,000.00	Round 1
40-201885177	SAN JOSE NINJA YOUTH FOUNDATION	San Jose	California	United States	Recreation and Sports	Basketball	Self Certified	2024-07-20	114.00	\$10.00	\$1,140.00	\$1,140.00	\$10,000.00	Round 1
10-201892084	Special Hoops Camps	Beaverton	Oregon	United States	Recreation and Sports	Basketball	Self Certified	2024-11-18	76.00	\$10.00	\$760.00	\$760.00	\$10,000.00	Round 1
40-201975263	Forest Park Elementary School Foundation	Portland	Oregon	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2024-06-05	30.50	\$10.00	\$305.00	\$305.00	\$15,000.00	Round 1
40-202036621	SARANAM LLC	Albuquerque	New Mexico	United States	Housing and Shelter	Low-Cost Temporary Housing	Self Certified	2024-07-31	23.50	\$10.00	\$235.00	\$235.00	\$10,000.00	Round 1
40-202075176	CHANDLER PREPARATORY ACADEMY	CHANDLER	Arizona	United States	Education	Charter Schools	Self Certified	2025-02-20	237.00	\$10.00	\$2,370.00	\$2,370.00	\$15,000.00	Round 1
40-202154935	NORTHEAST COMMUNITY CENTER	PORTLAND	Oregon	United States	Human Services	Neighborhood Centers, Settlement Houses	Self Certified	2024-10-03	840.00	\$10.00	\$8,400.00	\$8,400.00	\$10,000.00	Round 1
40-202185902	WASHINGTON COUNTY AMATEUR RADIO	Beaverton	Oregon	United States	Public Safety, Disaster Preparedness.	Disaster Preparedness and Relief Services	Self Certified	2025-01-17	62.42	\$10.00	\$624.20	\$624.20	\$10,000.00	Round 1
40-202314116	PACER BASEBALL INC	LAKE OSWEGO	Oregon	United States	Recreation and Sports	Baseball, Softball	Self Certified	2024-07-18	27.00	\$10.00	\$270.00	\$270.00	\$10,000.00	Round 1
40-202328694	ISing Choir	Beaverton	Oregon	United States	Arts, Culture, and Humanities	Music	Self Certified	2024-11-09	716.00	\$10.00	\$7,160.00	\$7,160.00	\$10,000.00	Round 1
40-202330701	UNITED STATES AUSTRALIAN SHEPHERD FOUNDATION	PUTNAM	Connecticut	United States	Animal- Related	Research Institutes and/or Public Policy Analysis	Self Certified	2024-08-23	64.00	\$10.00	\$640.00	\$640.00	\$10,000.00	Round 1
40-202493113	Faith Cafe	Beaverton	Oregon	United States	Food, Agriculture, and Nutrition	Eatery, Agency, Organization Sponsored	Self Certified	2024-11-20	27.25	\$10.00	\$272.50	\$272.50	\$10,000.00	Round 1
340-202557070	WASHINGTON COUNTY BICYCLE TRANSPORTATION COALITION	HILLSBORO	Oregon	United States	Education	Services, Educational, Other	Self Certified	2024-10-31	244.06	\$10.00	\$2,440.60	\$2,440.60	\$15,000.00	Round 1
	DAVIS SCHOOLS ORCHESTRAL MUSIC	DAVIS	California	United	Education	Services, Educational, Other	Solf Cortified	2024-06-10	43.00	\$10.00	\$430.00	\$430.00	\$15,000.00	Pound 1

Cause Code	Cause Name	Cause City	Cause State or Province	Cause Country	Cause Category	Cause Subcategory	Self Certification Status	Self Certification Expiration	Volunteerd Hours	Hourly Match Rate	Total	Adjusted Total	Match Cap	Payout Round?
840-202586482	CLEAN WATER FOR HAITI	VANCOUVER	Washington	United States	Environmental Quality, Protection,	Fund Raising and/or Fund Distribution	Self Certified	2024-12-29	65.00	\$10.00	\$650.00	\$650.00	\$10,000.00	Round 1
840-202674239	HORSESHOE TRAILS ELEMENTARY PTO	Cave Creek	Arizona	United States	Education	Parent/Teacher Group	Self Certified	2024-12-15	20.00	\$10.00	\$200.00	\$200.00	\$15,000.00	Round 1
	THE MIRACLE LEAGUE OF THE TRIANGLE INC	Cary	North Carolina	United States	Human Services	Human Service Organizations Multipurpose	Self Certified	2024-09-20	34.63	\$10.00	\$346.30	\$346.30	\$10,000.00	Round 1
	THE@DON AND RUTH CLARK FOUNDATION FOR MUSIC INC	PLEASANT VIEW	Utah	United States	Arts, Culture, and Humanities	Music	Self Certified	2024-11-20	260.00	\$10.00	\$2,600.00	\$2,600.00	\$10,000.00	Round 1
	SOCIETY OF WOMEN ENGINEERS ENDOWMENT FUND INC	Sanford	North Carolina	United States	Community Improvement and Capacity	Single Organization Support	Self Certified	2024-08-07	62.00	\$10.00	\$620.00	\$620.00	\$10,000.00	Round 1
840-202834190	Gilbert Chandler Youth Football & Cheer, INC	GILBERT	Arizona	United States	Recreation and Sports	Football Clubs, Leagues	Self Certified	2024-03-27	200.00	\$10.00	\$2,000.00	\$2,000.00	\$10,000.00	Round 1
840-202925739	IBD SUMMER CAMP FOUNDATION	SAN FRANCISCO	California	United States	Youth Development	Youth Development Programs, Other	Self Certified	2024-07-31	158.00	\$10.00	\$1,580.00	\$1,580.00	\$10,000.00	Round 1
	TEXAS MUSLIM WOMENS FOUNDATION INC	PLANO	Texas	United States	Human Services	Human Service Organizations Multipurpose	Self Certified	2025-02-02	30.00	\$10.00	\$300.00	\$300.00	\$10,000.00	Round 1
840-203070208	ALBERTA RIDER ELEMENTARY SCHOOL PSO FOUNDATION	TIGARD	Oregon	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2024-09-26	20.00	\$10.00	\$200.00	\$200.00	\$15,000.00	Round 1
840-203126288	Courage Worldwide Inc.	Reno	Nevada	United States	Human Services	Human Services - Multipurpose and Other N.E.C.	Self Certified	2024-08-08	172.00	\$10.00	\$1,720.00	\$1,720.00	\$10,000.00	Round 1
	DAYTIME ENRICHMENT ACTIVITIES & RECREATION INC	Beaverton	Oregon	United States	Human Services	Developmentally Disabled Centers, Services	Self Certified	2024-11-26	583.50	\$10.00	\$5,835.00	\$5,835.00	\$10,000.00	Round 1
840-203169728	HAITI FOUNDATION OF HOPE	VANCOUVER	Washington	United States	International, Foreign Affairs, and	Fund Raising and/or Fund Distribution	Self Certified	2024-09-27	88.00	\$10.00	\$880.00	\$880.00	\$10,000.00	Round 1
840-203224631	Tergar Meditation Center Phoenix	PHOENIX	Arizona	United States	Education	Education N.E.C.	Self Certified	2024-12-21	330.00	\$10.00	\$3,300.00	\$3,300.00	\$15,000.00	Round 1
840-203296577	OPEN ARMS CLINIC INC	Toccoa	Georgia	United States	Health - General and Rehabilitative	Health Treatment Facilities, Primarily Outpatient	Self Certified	2024-05-09	22.00	\$10.00	\$220.00	\$220.00	\$10,000.00	Round 1
840-203359099	SYNERGY VOLLEYBALL CLUB dba LAVA FOUNDATION	Westlake Village	California	United States	Recreation and Sports	Amateur Sports Clubs, Leagues, N.E.C.	Self Certified	2024-11-29	352.00	\$10.00	\$3,520.00	\$3,520.00	\$10,000.00	Round 1
840-203414952	All Hands and Hearts Smart Response	Mattapoisett	Massachusetts	United States	Public Safety, Disaster Preparedness	Disaster Preparedness and Relief Services	Self Certified	2024-12-19	96.00	\$10.00	\$960.00	\$960.00	\$10,000.00	Round 1
840-203584556	CHILDS PLAY	Redmond	Washington	United States	Health - General and Rehabilitative	Patient Services - Entertainment, Recreation	Self Certified	2024-10-02	40.00	\$10.00	\$400.00	\$400.00	\$10,000.00	Round 1
	SOUTHWEST YOUTH BALLET THEATRE INC	CHANDLER	Arizona	United States	Arts, Culture, and Humanities	Ballet	Self Certified	2024-10-19	120.00	\$10.00	\$1,200.00	\$1,200.00	\$10,000.00	Round 1
840-204223437	SCHOOLHOUSE SUPPLIES INC	Portland	Oregon	United States	Education	Services, Educational, Other	Self Certified	2024-10-02	33.00	\$10.00	\$330.00	\$330.00	\$15,000.00	Round 1
	HUAXIA CHINESE SCHOOL OF LEHIGHVALLEY	BETHLEHEM	Pennsylvania	United States	Arts, Culture, and Humanities	Humanities Organizations	Self Certified	2024-10-26	59.00	\$10.00	\$590.00	\$590.00	\$10,000.00	Round 1
840-204751072	Seena Magowitz Foundation	Scottsdale	Arizona	United States	Philanthropy, Voluntarism, and	Public Foundations	Self Certified	2024-07-18	108.00	\$10.00	\$1,080.00	\$1,080.00	\$10,000.00	Round 1
	TRAUMA INTERVENTION PROGRAM OF PORTLAND VANCOUVER INC	PORTLAND	Oregon	United States	Human Services	Victims' Services	Self Certified	2024-11-05	66.93	\$10.00	\$669.30	\$669.30	\$10,000.00	Round 1
840-205061316	SILICON VALLEY EDUCATION FOUNDATION	I SAN JOSE	California	United States	Community Improvement and Capacity	Community Improvement, Capacity Building N.E.C.	Self Certified	2025-02-14	50.00	\$10.00	\$500.00	\$500.00	\$10,000.00	Round 1
840-205087783	PILNET	New York	New York	United States	Crime and Legal Related	Public Interest Law, Litigation	Self Certified	2024-03-28	90.00	\$10.00	\$900.00	\$900.00	\$10,000.00	Round 1
840-205181052	FOLSOM VISTA YOUTH FOOTBALL AND CHEER	FOLSOM	California	United States	Recreation and Sports	Football Clubs, Leagues	Self Certified	2024-05-15	477.00	\$10.00	\$4,770.00	\$4,770.00	\$10,000.00	Round 1
840-205197160	Newton Montessori School	Newton	Massachusetts	United States	Education	Primary, Elementary Schools	Self Certified	2024-09-14	240.00	\$10.00	\$2,400.00	\$2,400.00	\$15,000.00	Round 1
Н	FRIENDS OF PIR INC for IndyCar race support	PORTLAND	Oregon	United States	Public and Societal Benefit	Single Organization Support	Self Certified	2025-01-24	63.00	\$10.00	\$630.00	\$630.00	\$10,000.00	Round 1
9	FRIENDS OF PIR INC for Pavilion project	PORTLAND	Oregon	United States	Public and Societal Benefit	Single Organization Support	Self Certified	2025-01-24	67.00	\$10.00	\$670.00	\$670.00	\$10,000.00	Round 1
840- 205488335/project/52FW249S7 Z	FRIENDS OF PIR INC for Rose Cup Races support	PORTLAND	Oregon	United States	Public and Societal Benefit	Single Organization Support	Self Certified	2025-01-24	24.00	\$10.00	\$240.00	\$240.00	\$10,000.00	Round 1
840-205488335	FRIENDS OF PIR INC	PORTLAND	Oregon	United States	Public and Societal Benefit	Single Organization Support	Self Certified	2025-01-24	1268.00	\$10.00	\$12,680.00	\$10,000.00	\$10,000.00	Round 1
840-205528060	ANTHONY WAYNE YOUTH FOUNDATION	Whitehouse	Ohio	United States	Youth Development	Youth Development Programs, Other	Self Certified	2024-09-10	27.50	\$10.00	\$275.00	\$275.00	\$10,000.00	Round 1

	FIGHTER COUNTRY FOUNDATION INC	Goodyear					Status	Expiration						
840-205673537 C0		Goodyear	Arizona	United States	Public and Societal Benefit	Public, Society Benefit - Multipurpose and Other N.E.C.	Self Certified	2025-02-08	329.00	\$10.00	\$3,290.00	\$3,290.00	\$10,000.00	Round 1
	COMPASSION FLOWER	San Diego	California	United States	International, Foreign Affairs, and	International Development, Relief Services	Self Certified	2025-01-02	780.00	\$10.00	\$7,800.00	\$7,800.00	\$10,000.00	Round 1
840-205922682 Re	ROSE HAVEN CIC	PORTLAND	Oregon	United States	Housing and Shelter	Homeless, Temporary Shelter For	Self Certified	2024-07-18	54.00	\$10.00	\$540.00	\$540.00	\$10,000.00	Round 1
840-208081778 VI	/IRGINIAFIRST	Richmond	Virginia	United States	Education	Services, Educational, Other	Self Certified	2024-08-04	124.50	\$10.00	\$1,245.00	\$1,245.00	\$15,000.00	Round 1
840-208220374 HA	HART COUNTY HUMANE SOCIETY INC	HARTWELL	Georgia	United States	Animal- Related	Animal Protection and Welfare	Self Certified	2024-08-10	81.25	\$10.00	\$812.50	\$812.50	\$10,000.00	Round 1
	MOUNTAIN VIEW HIGH SCHOOL BANDBOOSTER ASSOCIATION INC	Mesa	Arizona	United States	Education	Sports/Booster/Club/Band	Self Certified	2024-12-21	416.00	\$10.00	\$4,160.00	\$4,160.00	\$15,000.00	Round 1
840-208381135 EA	EAGLEFORCE ROBOTICS	ELK GROVE	California	United States	Education	Services, Educational, Other	Self Certified	2024-06-13	1017.60	\$10.00	\$10,176.00	\$10,000.00	\$15,000.00	Round 1
	HARVARD BUSINESS SCHOOL LATINO ALUMNI ASSOCIATION	San Antonio	Washington	United States	Education	Alumni Associations	Self Certified	2025-02-19	36.00	\$10.00	\$360.00	\$360.00	\$15,000.00	Round 1
840-208601868 Hi	Hillside Soccer Club	Portland	Oregon	United States	Recreation and Sports	Soccer Clubs, Leagues	Self Certified	2024-12-20	33.00	\$10.00	\$330.00	\$330.00	\$10,000.00	Round 1
840-208728531 Ar	Ankur International	Beaverton	Oregon	United States	International, Foreign Affairs, and	International Relief	Self Certified	2024-10-16	1265.00	\$10.00	\$12,650.00	\$10,000.00	\$10,000.00	Round 1
840-208895234 W	WOODLAND SOCCER CLUB	WOODLAND	California	United States	Recreation and Sports	Soccer Clubs, Leagues	Self Certified	2024-06-01	195.50	\$10.00	\$1,955.00	\$1,955.00	\$10,000.00	Round 1
840-210634501 Pr	Princeton University	PRINCETON	New Jersey	United States	Education	University or Technological Institute	Self Certified	2024-12-20	595.00	\$10.00	\$5,950.00	\$5,950.00	\$15,000.00	Round 1
840-211006291 Pa	Pacific Young Historians	PORTLAND	Oregon	United States	Education	Services, Educational, Other	Self Certified	2025-02-17	158.00	\$10.00	\$1,580.00	\$1,580.00	\$15,000.00	Round 1
	HUNGARIAN BOY SCOUT ASSOCIATION IN EXILE INC	NEW FOUNDLAND	New Jersey	United States	Youth Development	Boy Scouts of America	Self Certified	2024-11-04	223.00	\$10.00	\$2,230.00	\$2,230.00	\$10,000.00	Round 1
840-222533832 IN	NDIA SOCIETY OF WORCESTER MASS	WORCESTER	Massachusetts	United States	Arts, Culture, and Humanities	Cultural, Ethnic Awareness	Self Certified	2024-10-05	53.00	\$10.00	\$530.00	\$530.00	\$10,000.00	Round 1
840-222659529 TH	THE 300 COMMITTEE LAND TRUST, INC	FALMOUTH	Massachusetts	United States	Environmental Quality, Protection,	Land Resources Conservation	Self Certified	2024-09-07	91.00	\$10.00	\$910.00	\$910.00	\$10,000.00	Round 1
	ROSLINDALE COMMUNITY SCHOOL COUNCIL INC	ROSLINDALE	Massachusetts	United States	Education	Education N.E.C.	Expired	2023-10-16	97.50	\$10.00	\$975.00	\$975.00	\$15,000.00	Round 1
	FOR INSPIRATION AND RECOGNITION OF SCIENCE AND TECHNOLOGY (FIRST)	MANCHESTER	New Hampshire	United States	Technology	Engineering and Technology Research, Services	Self Certified	2024-07-17	170.00	\$10.00	\$1,700.00	\$1,700.00	\$10,000.00	Round 1
840-223092432 Er	Embrace Kids Foundation	NEW BRUNSWICK	New Jersey	United States	Health - General and Rehabilitative	Hospitals and Related Primary Medical Care Facilities	Self Certified	2024-08-04	188.00	\$10.00	\$1,880.00	\$1,880.00	\$10,000.00	Round 1
840-223165145 Ho	HOMEFRONT INC	LAWRENCEVILLE	New Jersey	United States	Housing and Shelter	Homeless, Temporary Shelter For	Self Certified	2024-08-29	64.00	\$10.00	\$640.00	\$640.00	\$10,000.00	Round 1
	COMMUNITY LEGAL SERVICES IN EAST PALO ALTO INC	E PALO ALTO	California	United States	Crime and Legal Related	Legal Services	Self Certified	2024-09-19	36.00	\$10.00	\$360.00	\$360.00	\$10,000.00	Round 1
840-223951652 IS	SRAELI-AMERICAN COUNCIL	WOODLAND HLS	California	United States	Human Services	Human Service Organizations Multipurpose	Self Certified	2025-01-03	162.00	\$10.00	\$1,620.00	\$1,620.00	\$10,000.00	Round 1
	EISENHOWER EXCHANGE FELLOWSHIPS NC	Philadelphia	Pennsylvania	United States	International, Foreign Affairs, and	International Exchanges, N.E.C.	Self Certified	2024-08-08	63.00	\$10.00	\$630.00	\$630.00	\$10,000.00	Round 1
840-231861779 Me	Meals on Wheels of the Greater Lehigh Valley, nc	Allentown	Pennsylvania	United States	Food, Agriculture, and Nutrition	Meals on Wheels	Self Certified	2025-01-29	110.00	\$10.00	\$1,100.00	\$1,100.00	\$10,000.00	Round 1
840-232121691 RS	RSVP VOLUNTEERS	King of Prussia	Pennsylvania	United States	Human Services	Human Services - Multipurpose and Other N.E.C.	Self Certified	2024-09-13	76.50	\$10.00	\$765.00	\$765.00	\$10,000.00	Round 1
840-232680273 Af	AMBLER OLYMPIC CLUB	AMBLER	Pennsylvania	United States	Recreation and Sports	Olympics Committees and Related International Competitions	Self Certified	2024-10-08	225.00	\$10.00	\$2,250.00	\$2,250.00	\$10,000.00	Round 1
840-237003578 Q	QUITO LITTLE LEAGUE BASEBALL	Campbell	California	United States	Recreation and Sports	Baseball, Softball	Self Certified	2025-02-01	20.00	\$10.00	\$200.00	\$200.00	\$10,000.00	Round 1
	VEST VALLEY CHINESE LANGUAGE SCHOOL	SUNNYVALE	California	United States	Education	Education N.E.C.	Self Certified	2024-09-19	430.00	\$10.00	\$4,300.00	\$4,300.00	\$15,000.00	Round 1
	DREGON TECH DEVELOPMENT FOUNDATION	KLAMATH FALLS	Oregon	United States	Education	Undergraduate College (4- year)	Self Certified	2024-08-30	192.70	\$10.00	\$1,927.00	\$1,927.00	\$15,000.00	Round 1
840-237060754 LI	ISTEN FOUNDATION INC	GREENWOOD VLG	Colorado	United States	Health - General and Rehabilitative	Rehabilitative Medical Services	Self Certified	2024-06-22	112.00	\$10.00	\$1,120.00	\$1,120.00	\$10,000.00	Round 1
840- 237061323/project/3QEPXYEAP BC Z	Boy Scouts Troop 280 - Chandler AZ via EPIPHANY LUTHERAN CHURCH	CHANDLER	Arizona	United States		Scouting Organizations	Self Certified	2024-08-24	266.00	\$10.00	\$2,660.00	\$2,660.00	\$10,000.00	Round 1

Cause Code	Cause Name	Cause City	Cause State or Province	Cause Country	Cause Category	Cause Subcategory	Self Certification Status	Self Certification Expiration	Volunteerd Hours	Hourly Match Rate	Total	Adjusted Total	Match Cap	Payout Round?
237062710/project/4PV9ABMQN B	Boy Scouts Scouting for youth ages 11 to 21, both genders via Prince of Peace Lutheran Church	PORTLAND	Oregon	United States	Religion-Related	d Scouting Organizations	Self Certified	2024-07-18	1127.15	\$10.00	\$11,271.50	\$10,000.00	\$10,000.00	Round 1
840- 237062710/project/50T8ASCKB 9	Boy Scouts Crew 618 via Prince of Peace Lutheran Church	PORTLAND	Oregon	United States	Religion-Related	d Scouting Organizations	Self Certified	2024-07-18	91.50	\$10.00	\$915.00	\$915.00	\$10,000.00	Round 1
840- 237062710/project/50T88KJ7TD	Boy Scouts Troop 5618 via Prince of Peace Lutheran Church	PORTLAND	Oregon	United States	Religion-Related	d Scouting Organizations	Self Certified	2024-07-18	673.75	\$10.00	\$6,737.50	\$6,737.50	\$10,000.00	Round 1
840- 237062710/project/50T86CPVN X	Boy Scouts Troop 618 via Prince of Peace Lutheran Church	PORTLAND	Oregon	United States	Religion-Related	d Scouting Organizations	Self Certified	2024-07-18	204.58	\$10.00	\$2,045.80	\$2,045.80	\$10,000.00	Round 1
840- 237083114/project/4R30JB8ZF1	Oregon Health & Science University Foundation for Doernbecher Area of Greatest Need	Portland	Oregon	United States	Education	University or Technological Institute	Self Certified	2024-07-10	116.50	\$10.00	\$1,165.00	\$1,165.00	\$15,000.00	Round 1
	Oregon Health & Science University Foundation for Friends of Doernbecher - Sophie's Friends	Portland	Oregon	United States	Education	University or Technological Institute	Self Certified	2024-07-10	95.92	\$10.00	\$959.20	\$959.20	\$15,000.00	Round 1
840-237083114	Oregon Health & Science University Foundation	Portland	Oregon	United States	Education	University or Technological Institute	Self Certified	2024-07-10	29.00	\$10.00	\$290.00	\$290.00	\$15,000.00	Round 1
840-237083384	ARIZONA 4-H YOUTH FOUNDATION	TUCSON	Arizona	United States	Youth Development	Youth Development - Agricultural	Self Certified	2024-04-21	457.00	\$10.00	\$4,570.00	\$4,570.00	\$10,000.00	Round 1
840-237087997	Advance Community	PHOENIX	Arizona	United States	Human Services	Human Service Organizations - Multipurpose	Self Certified	2025-01-03	36.50	\$10.00	\$365.00	\$365.00	\$10,000.00	Round 1
840-237089927	TUCSON SOARING CLUB INC	Phoenix	Arizona	United States	Recreation and Sports	Recreational, Pleasure, or Social Club	Self Certified	2025-02-19	243.00	\$10.00	\$2,430.00	\$2,430.00	\$10,000.00	Round 1
840-237099862	MEADOWS AMATEUR SKI RACING ASSOCIATION	Hood River, OR 97031	Oregon	United States	Recreation and Sports	Swimming, Water Recreation	Self Certified	2024-03-14	24.00	\$10.00	\$240.00	\$240.00	\$10,000.00	Round 1
840-237108048	BELLA VISTA BRONCO BOOSTERS INC	FAIR OAKS	California	United States	Education	Sports/Booster/Club/Band	Self Certified	2024-11-06	42.00	\$10.00	\$420.00	\$420.00	\$15,000.00	Round 1
840-237109916	Chorus Austin Inc	Austin	Texas	United States	Arts, Culture, and Humanities	Performing Arts Organizations	Self Certified	2024-06-10	26.00	\$10.00	\$260.00	\$260.00	\$10,000.00	Round 1
840-237128465	Ponderosa Elementary School PTSA	SUNNYVALE	California	United States	Education	Parent/Teacher Group	Self Certified	2024-10-30	94.00	\$10.00	\$940.00	\$940.00	\$15,000.00	Round 1
840-237129347	MILLS MUSICAL ARTS GROUP	Millbrae	California	United States	Arts, Culture, and Humanities	Performing Arts Organizations	Self Certified	2025-02-11	121.00	\$10.00	\$1,210.00	\$1,210.00	\$10,000.00	Round 1
840-237139766	WEST VALLEY LIGHT OPERA ASSOCIATION	LOS GATOS	California	United States	Arts, Culture, and Humanities	Opera	Self Certified	2024-08-07	180.50	\$10.00	\$1,805.00	\$1,805.00	\$10,000.00	Round 1
840-237147797	Best Friends Animal Society	Kanab	Utah	United States	Animal- Related	Animal Protection and Welfare	Self Certified	2025-02-20	23.50	\$10.00	\$235.00	\$235.00	\$10,000.00	Round 1
	ARIZONA ANIMAL WELFARE LEAGUE & SPCA	PHOENIX	Arizona	United States	Animal- Related	Animal Protection and Welfare			27.00	\$10.00	\$270.00	\$270.00	\$10,000.00	Round 1
840-237179787	SACRED HEART COMMUNITY SERVICE	SAN JOSE	California	United States	Human Services	Human Service Organizations - Multipurpose	Self Certified	2025-01-16	47.50	\$10.00	\$475.00	\$475.00	\$10,000.00	Round 1
840-237202594	MEALS ON WHEELS AND MORE INC	Austin	Texas	United States	Food, Agriculture, and Nutrition	Meals on Wheels	Self Certified	2024-08-08	93.00	\$10.00	\$930.00	\$930.00	\$10,000.00	Round 1
840-237220421	Tualatin Hills Swim Club	Beaverton	Oregon	United States	Recreation and Sports	Amateur Sports Clubs, Leagues, N.E.C.	Self Certified	2024-06-16	1382.13	\$10.00	\$13,821.30	\$10,000.00	\$10,000.00	Round 1
840-237221400	NATIONAL SKI PATROL SYSTEM SOUTHERN DIVISION	SYLVA	North Carolina	United States	Public Safety, Disaster Preparedness,	Search and Rescue Squads, Services	Self Certified	2024-11-14	106.00	\$10.00	\$1,060.00	\$1,060.00	\$10,000.00	Round 1
840-237235146	SAN JOSE CHILDRENS MUSICAL THEATER	SAN JOSE	California	United States	Arts, Culture, and Humanities	Theater	Self Certified	2024-07-10	34.50	\$10.00	\$345.00	\$345.00	\$10,000.00	Round 1
840-237247909	NEW MEXICO BALLET COMPANY	ALBUQUERQUE	New Mexico	United States	Arts, Culture, and Humanities	Theater	Self Certified	2025-02-19	30.00	\$10.00	\$300.00	\$300.00	\$10,000.00	Round 1
840-237271965	HEREFORD VOLUNTEER FIRE COMPANY INC	HEREFORD	Pennsylvania	United States	Health - General and Rehabilitative	Ambulance, Emergency Medical Transport Services	Self Certified	2024-08-19	210.00	\$10.00	\$2,100.00	\$2,100.00	\$10,000.00	Round 1
840-237291187	Community for Positive Aging	Portland	Oregon	United States	Human Services	Senior Centers, Services	Self Certified	2024-09-04	106.00	\$10.00	\$1,060.00	\$1,060.00	\$10,000.00	Round 1
840-237294877	TAIWANESE AMERICAN FOUNDATION	Wayne	New Jersey	United States	Mutual and Membership Benefit	Pension and Retirement Funds	Self Certified	2025-01-30	160.00	\$10.00	\$1,600.00	\$1,600.00	\$10,000.00	Round 1
840-237297837	THURSTON COUNTY FOOD BANK	OLYMPIA	Washington	United States	Food, Agriculture, and Nutrition	Food Banks, Food Pantries	Self Certified	2024-07-27	213.08	\$10.00	\$2,130.80	\$2,130.80	\$10,000.00	Round 1
040-237300090	THE HYLAND HILLS JUNIOR HOCKEY ASSOCIATION	WESTMINSTER	Colorado	United States	Recreation and Sports	Winter Sports (Snow and Ice)	Self Certified	2024-12-12	20.00	\$10.00	\$200.00	\$200.00	\$10,000.00	Round 1
840- 237303154/project/3LAMABDNS F	Boy Scouts Troop 213 via FOUNDATION OF THE ROTARY CLUB OF FOREST GROVE	FOREST GROVE	Oregon	United States	Community Improvement and Capacity	Community Service Clubs	Self Certified	2025-02-25	274.37	\$10.00	\$2,743.70	\$2,743.70	\$10,000.00	Round 1
840-237306996	NATIONAL FLUTE ASSOCIATION INC	Chicago	Illinois	United States	Arts, Culture, and Humanities	Music	Self Certified	2024-08-25	20.00	\$10.00	\$200.00	\$200.00	\$10,000.00	Round 1

Cause Code	Cause Name	Cause City	Cause State or Province	Cause Country	Cause Category	Cause Subcategory	Self Certification Status		Volunteerd Hours	Hourly . Match Rate	Total	Adjusted Total	Match Cap	Payout Round?
840- 237310664/project/3E71SDFAZ D	IEEE FOUNDATION INC for IEEE Arizona Science Lab	PISCATAWAY	New Jersey	United States	Education	Services, Educational, Other	Self Certified	2024-08-23	43.00	\$10.00	\$430.00	\$430.00	\$15,000.00	Round 1
840- 237310664/project/3P6CWG64S P	IEEE FOUNDATION INC for IEEE Oregon Section	PISCATAWAY	New Jersey	United States	Education	Services, Educational, Other	Self Certified	2024-08-23	719.50	\$10.00	\$7,195.00	\$7,195.00	\$15,000.00	Round 1
840- 237310664/project/3T00QSL03V	IEEE FOUNDATION INC for IEEE Phoenix Section Women in Engineering Affinity Group	PISCATAWAY	New Jersey	United States	Education	Services, Educational, Other	Self Certified	2024-08-23	59.00	\$10.00	\$590.00	\$590.00	\$15,000.00	Round 1
840- 237310664/project/3S8EEPNWY P	IEEE FOUNDATION INC for San Francisco Bay Area Nanotechnology Council Chapter	PISCATAWAY	New Jersey	United States	Education	Services, Educational, Other	Self Certified	2024-08-23	25.00	\$10.00	\$250.00	\$250.00	\$15,000.00	Round 1
840-237310664	IEEE FOUNDATION INC	PISCATAWAY	New Jersey	United States	Education	Services, Educational, Other	Self Certified	2024-08-23	121.00	\$10.00	\$1,210.00	\$1,210.00	\$15,000.00	Round 1
840-237327765	THE CALIFORNIA 4-H FOUNDATION	Davis	California	United States	Youth Development	Youth Development - Agricultural	Self Certified	2024-05-02	72.00	\$10.00	\$720.00	\$720.00	\$10,000.00	Round 1
840-237338355	INDIAN SCHOOLS ALUMNI AND FRIENDS INSAF	SAN MATEO	California	United States	Education	Alumni Associations	Self Certified	2025-01-20	25.00	\$10.00	\$250.00	\$250.00	\$15,000.00	Round 1
840-237349936	Rooftop School PTA	SAN FRANCISCO	California	United States	Education	Parent/Teacher Group	Self Certified	2024-09-06	36.00	\$10.00	\$360.00	\$360.00	\$15,000.00	Round 1
840-237353145	INSTITUTE OF MANAGEMENT ACCOUNTANTS INC	HARTFORD	Connecticut	United States	Community Improvement and Capacity	Management & Technical Assistance	Self Certified	2024-03-27	34.25	\$10.00	\$342.50	\$342.50	\$10,000.00	Round 1
840-237353532	ST MARYS FOOD BANK ALLIANCE	PHOENIX	Arizona	United States	Food, Agriculture, and Nutrition	Food Banks, Food Pantries	Self Certified	2024-10-09	104.25	\$10.00	\$1,042.50	\$1,042.50	\$10,000.00	Round 1
840-237355562	Chamber Music Northwest	Portland	Oregon	United States	Arts, Culture, and Humanities	Music Groups, Bands, Ensembles	Self Certified	2025-01-11	46.00	\$10.00	\$460.00	\$460.00	\$10,000.00	Round 1
840-237373643	Central California Hemophilia Foundation	SACRAMENTO	California	United States	Voluntary Health Organizations	Specifically Named Diseases	Self Certified	2024-10-05	65.00	\$10.00	\$650.00	\$650.00	\$10,000.00	Round 1
840-237375900	TIGARD BABE RUTH LEAGUE INC	Tigard	Oregon	United States	Recreation and Sports	Baseball, Softball	Self Certified	2025-01-10	501.00	\$10.00	\$5,010.00	\$5,010.00	\$10,000.00	Round 1
	EUGENE ONEILL FOUNDATION TAO HOUSE	DANVILLE	California	United States	Philanthropy, Voluntarism, and	Named Trusts/Foundations N.E.C.	Self Certified	2024-11-11	205.50	\$10.00	\$2,055.00	\$2,055.00	\$10,000.00	Round 1
	Cedar Mill Community Library	PORTLAND	Oregon	United States	Education	Libraries	Self Certified	2025-01-03	300.67	\$10.00	\$3,006.70	\$3,006.70	\$15,000.00	Round 1
840- 237448353/project/1VW96Y77R V	Animal Aid of Portland for Care for homeless cats and dogs in Portland, OR.	Portland	Oregon	United States	Animal- Related	Animal Protection and Welfare	Self Certified	2024-08-21	186.00	\$10.00	\$1,860.00	\$1,860.00	\$10,000.00	Round 1
840-251232192	THOMAS MERTON CENTER INC	Pittsburgh	Pennsylvania	United States	International, Foreign Affairs, and	Arms Control, Peace Organizations	Self Certified	2024-07-14	100.00	\$10.00	\$1,000.00	\$1,000.00	\$10,000.00	Round 1
840-260015191	TEMPE ROWING CLUB	TEMPE	Arizona	United States	Recreation and Sports	Recreation, Sports, Leisure, Athletics N.E.C.	Self Certified	2024-10-19	85.00	\$10.00	\$850.00	\$850.00	\$10,000.00	Round 1
840-260244283	NORTHWEST ASSOCIATION FOR BLIND ATHLETES	VANCOUVER	Washington	United States	Human Services	Blind/Visually Impaired Centers, Services	Self Certified	2024-08-31	70.00	\$10.00	\$700.00	\$700.00	\$10,000.00	Round 1
840-260279533	TUALATIN VALLEY SYMPHONY	TIGARD	Oregon	United States	Arts, Culture, and Humanities	Singing, Choral	Self Certified	2024-03-31	251.50	\$10.00	\$2,515.00	\$2,515.00	\$10,000.00	Round 1
	FEEDING SAN DIEGO	San Diego	California	United States	Food, Agriculture, and Nutrition	Food Service, Free Food Distribution Programs	Self Certified	2024-06-23	168.00	\$10.00	\$1,680.00	\$1,680.00	\$10,000.00	Round 1
	PEKING UNIVERSITY ALUMNI ASSOCIATION OF NORTHERN CALIFORNIA	SAN JOSE	California	United States	Education	Alumni Associations	Self Certified	2024-03-21	160.00	\$10.00	\$1,600.00	\$1,600.00	\$15,000.00	Round 1
840- 260588970/project/30DPUBW9X V	CHABAD JEWISH COMMUNITY CENTER for Constant Caring	FOLSOM	California	United States	Religion- Related	Jewish	Self Certified	2024-12-29	29.00	\$10.00	\$290.00	\$290.00	\$10,000.00	Round 1
840-260895114	CHINESE AMERICAN COALITION FORCOMPASSIONATE CARE CACCC	SHINGLE SPGS	California	United States	Health - General and Rehabilitative	Health Support Services	Self Certified	2025-02-28	36.00	\$10.00	\$360.00	\$360.00	\$10,000.00	Round 1
840-261359230	ONE MISSION	PHOENIX	Arizona	United States	International, Foreign Affairs, and	International Relief	Self Certified	2024-12-31	84.00	\$10.00	\$840.00	\$840.00	\$10,000.00	Round 1
840-261428350	National Society of the Sons of the American Revolution, Mother Lode Chapter	Shingle Springs	California	United States	Education	Services, Educational, Other	Self Certified	2024-05-25	104.50	\$10.00	\$1,045.00	\$1,045.00	\$15,000.00	Round 1
	BAPS CHARITIES, INC. for COVID-19 Pandemic Response	Windsor	New Jersey	United States	Human Services	Human Service Organizations Multipurpose	Self Certified	2025-02-26	200.00	\$10.00	\$2,000.00	\$2,000.00	\$10,000.00	Round 1
840-261565575	FRIENDS OF THE MORGAN HILL LIBRARY	MORGAN HILL	California	United States	Education	Libraries	Self Certified		149.00	\$10.00	\$1,490.00	\$1,490.00	\$15,000.00	Round 1
840-261666325	HOMEPLATE YOUTH SERVICES	Beaverton	Oregon	United States	Human Services	Human Service Organizations Multipurpose	Self Certified	2024-09-26	237.00	\$10.00	\$2,370.00	\$2,370.00	\$10,000.00	Round 1
840-261669496	PAZ DE CRISTO COMMUNITY CENTER	MESA	Arizona	United States	Food, Agriculture, and Nutrition	Food Service, Free Food Distribution Programs	Self Certified	2024-05-30	50.00	\$10.00	\$500.00	\$500.00	\$10,000.00	Round 1
840-261761667	Sunset Youth Lacrosse	Portland	Oregon	United States	Recreation and Sports	Amateur Sports Clubs, Leagues, N.E.C.	Self Certified	2025-01-09	45.00	\$10.00	\$450.00	\$450.00	\$10,000.00	Round 1

Cause Code	Cause Name	Cause City	Cause State or Province	Cause Country	Cause Category	Cause Subcategory	Self Certification Status	Self Certification Expiration	Volunteerd Hours M	ourly . atch Rate	Total	Adjusted Total	Match Cap	Payout Round
840-262024218	ONE SMALL STEP	Gilbert	Arizona	United States	Human Services	Human Service Organizations Multipurpose	Self Certified	2024-11-15	48.00	\$10.00	\$480.00	\$480.00	\$10,000.00	Round 1
840-262097545	CANTO DEO	Aurora	Colorado	United States	Arts, Culture, and Humanities	Singing, Choral	Self Certified	2024-11-01	44.00	\$10.00	\$440.00	\$440.00	\$10,000.00	Round 1
840-262103623	ARIZONA OUTDOOR SPORTS INC	MESA	Arizona	United States	Recreation and Sports	Fishing, Hunting Clubs	Self Certified	2024-04-04	232.00	\$10.00	\$2,320.00	\$2,320.00	\$10,000.00	Round 1
840-262118489	IRANIAN AMERICAN SOCIETY OF ARIZONA INC	SCOTTSDALE	Arizona	United States	Arts, Culture, and Humanities	Cultural, Ethnic Awareness	Self Certified	2024-06-15	31.00	\$10.00	\$310.00	\$310.00	\$10,000.00	Round 1
840-262284558	ANIMAL LOVING FRIENDS	TEMPE	Arizona	United States	Animal- Related	Animal Protection and Welfare	Self Certified	2024-09-01	134.00	\$10.00	\$1,340.00	\$1,340.00	\$10,000.00	Round 1
840-262459433	SPCA ALLIANCE OF NC INC	TARBORO	North Carolina	United States	Animal- Related	Animal Protection and Welfare	Self Certified	2024-10-25	217.00	\$10.00	\$2,170.00	\$2,170.00	\$10,000.00	Round 1
840-262486467	LA PLAZITA	ALBUQUERQUE	New Mexico	United States	Human Services	Children's, Youth Services	Self Certified	2025-01-16	494.00	\$10.00	\$4,940.00	\$4,940.00	\$10,000.00	Round 1
840-262548690	HANDS4HOPE -YOUTH MAKING A DIFFERENCE	EL DORADO HILLS	California	United States	Youth Development	Youth Development Programs, Other	Self Certified	2024-09-05	127.00	\$10.00	\$1,270.00	\$1,270.00	\$10,000.00	Round 1
840-262603904	WESTSIDE QUILTERS GUILD	Hillsboro	Oregon	United States	Arts, Culture, and Humanities	Visual Arts Organizations	Self Certified	2024-07-09	221.75	\$10.00	\$2,217.50	\$2,217.50	\$10,000.00	Round 1
340-262763038	KIND INC	WASHINGTON	District of Columbia	United States	Crime and Legal Related	Legal Services	Self Certified	2024-10-03	284.17	\$10.00	\$2,841.70	\$2,841.70	\$10,000.00	Round 1
340-262844751	CAPITOL BEST	Georgetown	Texas	United States	Education	Services, Educational, Other	Self Certified	2025-01-01	53.00	\$10.00	\$530.00	\$530.00	\$15,000.00	Round 1
40-262884628	CORAZON ROXAS FOUNDATION	BURLINGAME	California	United States	Human Services	Services to Promote the Independence of Specific Populations	Self Certified	2024-11-21	64.50	\$10.00	\$645.00	\$645.00	\$10,000.00	Round 1
40-262946034	NOT IN OUR TOWN A NJ NONPROFIT CORPORATION	Princeton	New Jersey	United States	Human Services	Human Service Organizations Multipurpose	Self Certified	2024-11-28	260.00	\$10.00	\$2,600.00	\$2,600.00	\$10,000.00	Round 1
40-263043727	TOGETHER WE RISE CORPORATION	Brea	California	United States		Youth Development Programs, Other	Self Certified	2024-09-19	32.00	\$10.00	\$320.00	\$320.00	\$10,000.00	Round 1
40-263162844	PLACERVILLE AND SACRAMENTO VALLEY RAILROAD INC	FOLSOM	California	United States	Arts, Culture, and Humanities	Historical Societies, Related Historical Activities	Self Certified	2024-08-30	308.50	\$10.00	\$3,085.00	\$3,085.00	\$10,000.00	Round 1
40-263167197	THE MAGELLAN INTERNATIONAL SCHOOL	AUSTIN	Texas	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2025-01-08	37.00	\$10.00	\$370.00	\$370.00	\$15,000.00	Round 1
40-263239021	Vista Athletic Boosters	Folsom	California	United States	Recreation and Sports	Amateur Sports Clubs, Leagues, N.E.C.	Self Certified	2024-06-01	602.67	\$10.00	\$6,026.70	\$6,026.70	\$10,000.00	Round 1
40-263259654	AMSHA AFRICA FOUNDATION	Portland	Oregon	United States	International, Foreign Affairs, and	International Relief	Self Certified	2024-06-29	80.00	\$10.00	\$800.00	\$800.00	\$10,000.00	Round 1
40-263325407	FRIENDS OF NCRD	NEHALEM	Oregon	United States	Community Improvement and Capacity	Fund Raising and/or Fund Distribution	Self Certified	2024-03-02	107.50	\$10.00	\$1,075.00	\$1,075.00	\$10,000.00	Round 1
40-263390254	SILAMBAM PHOENIX	PHOENIX	Arizona	United States	Arts, Culture, and Humanities	Performing Arts Organizations	Self Certified	2024-06-15	103.00	\$10.00	\$1,030.00	\$1,030.00	\$10,000.00	Round 1
40-263396186	OREGON INTERFAITH MOVEMENT FOR IMMIGRANT JUSTICE	PORTLAND	Oregon	United States	Civil Rights, Social Action, and Advocacy	Alliance/Advocacy Organizations	Self Certified	2024-06-27	180.00	\$10.00	\$1,800.00	\$1,800.00	\$10,000.00	Round 1
40-263448855	WILSON YOUTH BASKETBALL ASSOCIATION	PORTLAND	Oregon	United States	Recreation and Sports	Basketball	Self Certified	2024-10-16	66.00	\$10.00	\$660.00	\$660.00	\$10,000.00	Round 1
40-263458029	NORTHWEST MOTHERS MILK BANK	Tigard	Oregon	United States	Health - General and Rehabilitative	Public Health Program (Includes General Health and Wellness Promotion Services)	Self Certified	2024-04-11	50.00	\$10.00	\$500.00	\$500.00	\$10,000.00	Round 1
40-263624389	CENTRAL ARIZONA ANIMAL RESCUE INC	QUEEN CREEK	Arizona	United States	Animal- Related	Animal Protection and Welfare	Self Certified	2025-01-21	165.00	\$10.00	\$1,650.00	\$1,650.00	\$10,000.00	Round 1
40-263626179	TOUCHSTONE GOLF FOUNDATION	AUSTIN	Texas	United States	Recreation and Sports	Golf	Self Certified	2024-07-12	20.00	\$10.00	\$200.00	\$200.00	\$10,000.00	Round 1
40-263709943	PACER PRIDE INC	LAKE OSWEGO	Oregon	United States	Education	Services, Educational, Other	Self Certified	2024-11-06	77.00	\$10.00	\$770.00	\$770.00	\$15,000.00	Round 1
0-263718342	ELKS NATIONAL FOUNDATION INC	CHICAGO	Illinois	United States	Philanthropy, Voluntarism, and	Community Foundations	Self Certified	2024-12-14	106.84	\$10.00	\$1,068.40	\$1,068.40	\$10,000.00	Round 1
40- 64119215/project/3QZ2C2JDK I	Boy Scouts Cub Scout Pack 195 via THE OREGON AMERICAN LEGION FOUNDATION	WILSONVILLE	Oregon	United States	Philanthropy, Voluntarism, and	Scouting Organizations	Self Certified	2025-02-16	206.00	\$10.00	\$2,060.00	\$2,060.00	\$10,000.00	Round 1
40-264184060	NEW MEXICO MOUNTED SEARCH AND RESCUE	TIJERAS	New Mexico	United States	Public Safety, Disaster Preparedness.	Search and Rescue Squads, Services	Self Certified	2024-10-15	24.25	\$10.00	\$242.50	\$242.50	\$10,000.00	Round 1
40-264239123	PORTLAND CHOIR & ORCHESTRA	PORTLAND	Oregon	United States	Arts, Culture, and Humanities	Singing, Choral	Self Certified	2024-09-12	98.67	\$10.00	\$986.70	\$986.70	\$10,000.00	Round 1
40-264239602	COMMUNITY GIVING TREE INC	Boxford	Massachusetts	United States	Human Services	Human Service Organizations Multipurpose	Self Certified	2024-05-30	37.50	\$10.00	\$375.00	\$375.00	\$10,000.00	Round 1

Part	Cause Code	Cause Name	Cause City	Cause State or Province	Cause Country	Cause Category	Cause Subcategory	Self Certification Status	Self Certification Expiration	Volunteerd Hours	Hourly Match Rate	Total	Adjusted Total	Match Cap	Payout Round?
March Marc	840-264252746	WESTSIDE ORCHESTRA ASSOCIATION	Hillsboro	Oregon		Education	Services, Educational, Other	Self Certified	2025-02-22	437.00	\$10.00	\$4,370.00	\$4,370.00	\$15,000.00	Round 1
MARCH MICHAELING MICHAELING MICHAEL MICHAEL MICHAEL MICHAEL MICHAEL MICHAEL MICHAEL MICHAEL MICHAELING MICHAELI	840-264298649	WEST LINN LIBRARY FOUNDATION	WEST LINN	Oregon		Education	Libraries	Expired	2023-09-22	50.00	\$10.00	\$500.00	\$500.00	\$15,000.00	Round 1
March Marc	840-264443012	NIAGARA FOUNDATION	MOUNT PROSPECT	Illinois		and	Cultural, Ethnic Awareness	Self Certified	2024-08-28	24.00	\$10.00	\$240.00	\$240.00	\$10,000.00	Round 1
Section Selection Content Statistics Selection	840-264622160	KITTY KAT RESCUE INC	MESA	Arizona		Animal-	Animal Protection and Welfare	Self Certified	2025-02-21	250.00	\$10.00	\$2,500.00	\$2,500.00	\$10,000.00	Round 1
Section Sect	840-264772584	SHREEMAY COMMUNITY SERVICES INC	San Jose	California				Self Certified	2024-10-21	140.00	\$10.00	\$1,400.00	\$1,400.00	\$10,000.00	Round 1
Property	840-270075988	SUNSET APOLLO BASEBALL CLUB	Beaverton	Oregon		Education	Sports/Booster/Club/Band	Self Certified	2024-07-09	527.00	\$10.00	\$5,270.00	\$5,270.00	\$15,000.00	Round 1
	840-270160727		FOLSOM	California		Education	Services, Educational, Other	Self Certified	2025-01-24	447.33	\$10.00	\$4,473.30	\$4,473.30	\$15,000.00	Round 1
Big 277277293 VALLAMETERS INCORPERATORY ACADEMY AVENUE Electronic State Electro	840-270216087		Wickenburg	Arizona		Health		Self Certified	2024-10-11	163.00	\$10.00	\$1,630.00	\$1,630.00	\$10,000.00	Round 1
Source Colonial	840-270217228		SAINT HELENS	Oregon		Disaster	Distribution	Self Certified	2024-03-31	503.50	\$10.00	\$5,035.00	\$5,035.00	\$10,000.00	Round 1
Post-processed Post	840-270375682	ANTHEM PREPARATORY ACADEMY	ANTHEM	Arizona				Self Certified	2024-11-17	66.00	\$10.00	\$660.00	\$660.00	\$15,000.00	Round 1
SECTION STATE COMPANY CONTINUENCY STATE	840-270384523	ALL ABOUT EQUINE ANIMAL RESCUE, Inc.	EL DORADO HILLS	California			Animal Protection and Welfare	Self Certified	2025-02-19	357.00	\$10.00	\$3,570.00	\$3,570.00	\$10,000.00	Round 1
No. Proc.	840-270442732	VINTAGETEK ORG	BEAVERTON	Oregon		and		Self Certified	2024-07-08	26.75	\$10.00	\$267.50	\$267.50	\$10,000.00	Round 1
Second S	840-270549359	INTEL DUPONT COMMUNITY GARDEN	OLYMPIA	Washington		Food, Agriculture,		Self Certified	2024-12-23	1085.00	\$10.00	\$10,850.00	\$10,000.00	\$10,000.00	Round 1
State Stat	840-270569812	FOLSOM SOFTBALL CLUB	FOLSOM	California		Recreation	Baseball, Softball	Self Certified	2024-11-14	879.00	\$10.00	\$8,790.00	\$8,790.00	\$10,000.00	Round 1
State Stat	840-270671607	ST JOHN THE EVANGELIST CONFERENCE	CARMICHAEL	California				Self Certified	2024-09-19	20.00	\$10.00	\$200.00	\$200.00	\$10,000.00	Round 1
Section Sect	840-270781122	GOODTIME CHINESE SCHOOL	PORTLAND	Oregon		Education		Self Certified	2024-11-16	69.00	\$10.00	\$690.00	\$690.00	\$15,000.00	Round 1
Sales Sale	840-270843054	JOSE'S CLOSET INC	QUEEN CREEK	Arizona				Self Certified	2024-03-23	29.00	\$10.00	\$290.00	\$290.00	\$10,000.00	Round 1
States S	840-270918294	KAPPA FOUNDATION OF CARY INC	Cary	North Carolina		Education	Student Sororities, Fraternities	Self Certified	2024-09-06	27.42	\$10.00	\$274.20	\$274.20	\$15,000.00	Round 1
Sound Equiline Options States Related Allimital Protection and vertified States States Related Allimital Protection and vertified States States States Related Allimital Protection and vertified States	840-270937299	FRIENDS OF LAKES FOLSOM AND NATOMA	Orangevale	California			Nonmonetary Support N.E.C.	Self Certified	2025-01-01	158.50	\$10.00	\$1,585.00	\$1,585.00	\$10,000.00	Round 1
271098567/project/12OKM4XEV Society of America for Creating the Noble & Efficial Citizes not Tomorrow 340- 7	840-271064431	Sound Equine Options	Gresham	Oregon			Animal Protection and Welfare	Self Certified	2024-09-24	601.50	\$10.00	\$6,015.00	\$6,015.00	\$10,000.00	Round 1
#ECSA - Hindu Educational and Cultural Society of America for HECSA Food Bank Portland Oregon United States Religion-Related Hindu Self Certified 2024-08-30 105.00 \$10.00		Y Society of America for Creating the Noble &	Portland	Oregon		Religion-Related	d Hindu	Self Certified	2024-08-30	119.25	\$10.00	\$1,192.50	\$1,192.50	\$10,000.00	Round 1
840-271173539 SAVING ONE LIFE CHANDLER Arizona United States PORTIGON PORTLAND Oregon United States Port Couling Protection and Welfare Self Certified 2025-02-09 185.00 \$1,850.00 \$1,850.00 \$1,850.00 \$10,000.00 Round 1 Protection and Welfare Self Certified 2025-02-09 185.00 \$1,000 \$1,850.00 \$1,850.00 \$1,000.00 Round 1 Protection and Welfare Self Certified 2025-02-09 185.00 \$1,000 \$1,000.00 Round 1 Protection and Welfare Self Certified 2024-11-15 367.79 \$10.00 \$3,677.90 \$10,000.00 Round 1 Protection and Welfare Self Certified 2024-11-15 367.79 \$10.00 \$1,000.00 \$10,000.00 Round 1 Protection and Welfare Self Certified 2024-11-15 367.79 \$10.00 \$1,000.00 \$1,000.00 Round 1 Protection and Welfare Self Certified 2024-11-15 367.79 \$10.00 \$1,000.00 \$1,000.00 Round 1 Protection and Welfare Self Certified 2024-11-15 367.79 \$10.00 \$1,000.00 \$1,000.00 \$1,000.00 Round 1 Protection and Welfare Self Certified 2024-11-15 367.79 \$10.00 \$1,000 \$1,000.00 \$1,000.00 Round 1 Protection and Welfare Self Certified 2024-11-15 367.79 \$10.00 \$1,000 \$1,000.00 \$10,000.00 Round 1 Protection and Welfare Self Certified 2024-11-15 367.79 \$10.00 \$1,000 \$1,000.00 \$10,000.00 Round 1 Protection and Welfare Self Certified 2024-11-15 367.79 \$10.00 \$10.00 \$10,000.00 \$10,000.00 \$10,000.00 Round 1 Protection and Welfare Self Certified 2024-11-15 367.79 \$10.00 \$10.00 \$10,000.0	271098567/project/2ZCPF324V	HECSA - Hindu Educational and Cultural	Portland	Oregon		Religion-Related	d Hindu	Self Certified	2024-08-30	105.00	\$10.00	\$1,050.00	\$1,050.00	\$10,000.00	Round 1
## 840-271578339 **TRAILKEEPERS OF OREGON*** **PORTLAND*** **Oregon*** **States*** **Oregon*** **States*** **Oregon*** **States*** **Oregon*** **States*** **Oregon*** **United States*** **States*** **Prolection, and Aesthetics and Aesthetics and Aesthetics and Aesthetics and Aesthetics and Sports an		SAVING ONE LIFE	CHANDLER	Arizona			Animal Protection and Welfare	Self Certified	2025-02-09	185.00	\$10.00	\$1,850.00	\$1,850.00	\$10,000.00	Round 1
840-271334767 ALOHA LACROSSE CLUB BEAVERTON Oregon United States Arts, Culture, and Humanities Recreation and Sports Clubs, Leagues, N.E.C. 840-271359813 ARTMAX ACADEMY BEAVERTON Oregon United States Arts, Culture, and Humanities Recreation and Sports Clubs, Leagues, N.E.C. 840-271510080 Willow Creek Little League PORTLAND Oregon United States Clubs Recreation and Sports Clubs, Leagues, N.E.C. 840-271518112 CROSSROADS SCHOOL LONGMONT Colorado United States 840-271578339 EAST VALLEY BASEBALL INC CHANDLER Arizona United States Arizona 840-271578366 LAVEEN WRESTLING CLUB INC LAVEEN Recreation Recreation Recreation Recreation and Sports Sports, Leigure, Sports Clubs, Leagues, N.E.C. 840-271578366 LAVEEN WRESTLING CLUB INC LAVEEN Recreation Recreation Recreation Recreation Recreation, Sports, Leisure, Sports Clubs, Leagues, N.E.C. 840-271578379 Self Certified 2024-10-09 1091.50 \$10.0	840-271209205	TRAILKEEPERS OF OREGON	PORTLAND	Oregon		Quality,	Environmental Beautification	Self Certified	2024-11-15	367.79	\$10.00	\$3,677.90	\$3,677.90	\$10,000.00	Round 1
840-271510080 Willow Creek Little League PORTLAND Oregon United States and Humanities Baseball, Softball Self Certified 2024-10-09 1091.50 \$10.00 \$10,000.	840-271334767	ALOHA LACROSSE CLUB	BEAVERTON	Oregon		Recreation		Self Certified	2024-09-03	92.00	\$10.00	\$920.00	\$920.00	\$10,000.00	Round 1
840-271510080 Willow Creek Little League PORTLAND Oregon United States Recreation and Sports Baseball, Softball Self Certified 2024-10-10 442.00 \$10.00 \$4,420.00 \$4,420.00 \$10,000.00 Round 1 840-271518112 CROSSROADS SCHOOL LONGMONT Colorado United States Education Secondary, High School Self Certified 2024-08-19 231.00 \$10.00 \$2,310.00 \$2,310.00 \$10,000.00 Round 1 840-271578339 EAST VALLEY BASEBALL INC CHANDLER Arizona United States and Sports Baseball, Softball Self Certified 2024-07-25 104.00 \$10.00 \$1,040.00 \$1,040.00 \$10,000.00 Round 1	840-271359813	ARTMAX ACADEMY	BEAVERTON	Oregon		and	Arts Education	Self Certified	2024-10-09	1091.50	\$10.00	\$10,915.00	\$10,000.00	\$10,000.00	Round 1
840-271578339 EAST VALLEY BASEBALL INC CHANDLER Arizona United States United States Arizona United Recreation and Sports Baseball, Softball Self Certified 2024-07-25 104.00 \$10.00 \$1,040	840-271510080	Willow Creek Little League	PORTLAND	Oregon		Recreation	Baseball, Softball	Self Certified	2024-10-10	442.00	\$10.00	\$4,420.00	\$4,420.00	\$10,000.00	Round 1
States and Sports Basedail, Solidail Sell-Certified 2024-07-25 104-00 \$1,040	840-271518112	CROSSROADS SCHOOL	LONGMONT	Colorado		Education	Secondary, High School	Self Certified	2024-08-19	231.00	\$10.00	\$2,310.00	\$2,310.00	\$15,000.00	Round 1
	840-271578339	EAST VALLEY BASEBALL INC	CHANDLER	Arizona			Baseball, Softball	Self Certified	2024-07-25	104.00	\$10.00	\$1,040.00	\$1,040.00	\$10,000.00	Round 1
	840-271763646	LAVEEN WRESTLING CLUB INC	LAVEEN	Arizona				Self Certified	2024-03-13	240.00	\$10.00	\$2,400.00	\$2,400.00	\$10,000.00	Round 1
840-272088703 HELVETIA COMMUNITY ASSOCIATION HILLSBORO Oregon Value of States and Capacity (General) (General)	840-272088703	HELVETIA COMMUNITY ASSOCIATION	HILLSBORO	Oregon		Community Improvement	Development, Improvement	Self Certified	2024-10-31	70.50	\$10.00	\$705.00	\$705.00	\$10,000.00	Round 1

Cause Code	Cause Name	Cause City	Cause State or Province	Cause Country	Cause Category	Cause Subcategory	Self Certification Status	Self Certification Expiration	Volunteerd Hours	Hourly Match Rate	Total	Adjusted Total	Match Cap	Payout Round?
840-272116420	JUNIOR ROLLER DERBY ASSOCIATION	Chicago	Illinois	United States	Recreation and Sports	Recreation, Sports, Leisure, Athletics N.E.C.	Self Certified	2024-04-26	98.00	\$10.00	\$980.00	\$980.00	\$10,000.00	Round 1
840- 272196347/project/3UJDYCAA9 M	Team Red, White & Blue for Team RWB Portland Chapter	Atlanta	Georgia	United States	Public and Societal Benefit	Military, Veterans' Organizations	Self Certified	2024-09-12	48.00	\$10.00	\$480.00	\$480.00	\$10,000.00	Round 1
840-272196347	Team Red, White & Blue	Atlanta	Georgia	United States	Public and Societal Benefit	Military, Veterans' Organizations	Self Certified	2024-09-12	20.00	\$10.00	\$200.00	\$200.00	\$10,000.00	Round 1
840-272292131	FREE FALL STAGE COMPANY	FOLSOM	California	United States	Arts, Culture, and Humanities	Theater	Self Certified	2024-08-03	101.00	\$10.00	\$1,010.00	\$1,010.00	\$10,000.00	Round 1
840-272482871	FRIENDS OF HORSESHOE PARK	QUEEN CREEK	Arizona	United States	Environmental Quality, Protection,	Environmental Beautification and Aesthetics	Self Certified	2025-01-07	273.58	\$10.00	\$2,735.80	\$2,735.80	\$10,000.00	Round 1
840-272521608	POLISH FESTIVAL	PORTLAND	Oregon	United States	Arts, Culture, and Humanities	Cultural, Ethnic Awareness	Self Certified	2025-01-09	45.00	\$10.00	\$450.00	\$450.00	\$10,000.00	Round 1
840-272610935	MINNESOTA ODYSSEY OF THE MIND	EAU CLAIRE	Wisconsin	United States	Education	Education N.E.C.	Self Certified	2024-08-28	201.50	\$10.00	\$2,015.00	\$2,015.00	\$15,000.00	Round 1
840-272639791	DESERT OVERTURE LIVE CULTURAL ENTERTAINMENT	PHOENIX	Arizona	United States	Arts, Culture, and Humanities	Music Groups, Bands, Ensembles	Self Certified	2024-11-25	470.00	\$10.00	\$4,700.00	\$4,700.00	\$10,000.00	Round 1
840-272873119	BROOKWOOD BOOSTERS	HILLSBORO	Oregon	United States	Education	Sports/Booster/Club/Band	Self Certified	2024-09-11	217.00	\$10.00	\$2,170.00	\$2,170.00	\$15,000.00	Round 1
840-273009280	THE MOUNTAINEERS	Seattle	Washington	United States	Environmental Quality, Protection,	Environmental Education and Outdoor Survival Programs	Self Certified	2025-01-18	95.83	\$10.00	\$958.30	\$958.30	\$10,000.00	Round 1
840-273166713	HUMANITARIAN OPENSTREETMAP TEAM	Washington	District of Columbia	United States	Public Safety, Disaster Preparedness,	Nonmonetary Support N.E.C.	Self Certified	2024-11-14	20.57	\$10.00	\$205.70	\$205.70	\$10,000.00	Round 1
840-273291828	KYRON HORMAN FOUNDATION	HILLSBORO	Oregon	United States	Public Safety, Disaster Preparedness.	Search and Rescue Squads, Services	Self Certified	2024-10-15	146.00	\$10.00	\$1,460.00	\$1,460.00	\$10,000.00	Round 1
840-273409190	AMERICAS MIGHTY WARRIORS	SURPRISE	Arizona	United States	Human Services	Human Services - Multipurpose and Other N.E.C.	Self Certified	2024-08-17	431.00	\$10.00	\$4,310.00	\$4,310.00	\$10,000.00	Round 1
840-273446921	GLENCOE BAND AND COLOR GUARD BOOSTERS	HILLSBORO	Oregon	United States	Education	Sports/Booster/Club/Band	Self Certified	2024-06-29	40.00	\$10.00	\$400.00	\$400.00	\$15,000.00	Round 1
840-273512119	STOP SOLDIER SUICIDE	Durham	North Carolina	United States	Mental Health and Crisis Intervention	Hot Line, Crisis Intervention Services	Self Certified	2025-02-12	50.00	\$10.00	\$500.00	\$500.00	\$10,000.00	Round 1
840-273695408	A DOORWAY TO HOPE	CARY	North Carolina	United States	Human Services	Emergency Assistance (Food, Clothing, Cash)	Self Certified	2025-01-31	20.00	\$10.00	\$200.00	\$200.00	\$10,000.00	Round 1
840-273715496	SOUTH CAROLINA HISTORIC AVIATION FOUNDATION	COLUMBIA	South Carolina	United States	Arts, Culture, and Humanities	Historical Societies, Related Historical Activities	Self Certified	2025-01-21	258.00	\$10.00	\$2,580.00	\$2,580.00	\$10,000.00	Round 1
840-273723907	ARCHWAY CLASSICAL ACADEMY CHANDLER	CHANDLER	Arizona	United States	Education	Charter Schools	Self Certified	2024-08-07	42.50	\$10.00	\$425.00	\$425.00	\$15,000.00	Round 1
840-273834817	FRIENDS OF BOY SCOUT TROOP 237 - FOLSOM	FOLSOM	California	United States	Youth Development	Scouting Organizations	Self Certified	2024-09-26	586.51	\$10.00	\$5,865.10	\$5,865.10	\$10,000.00	Round 1
840-273935168	CHOWS PLUS	SACRAMENTO	California	United States	Animal- Related	Animal Protection and Welfare	Self Certified	2024-10-29	150.00	\$10.00	\$1,500.00	\$1,500.00	\$10,000.00	Round 1
840-273949804	SAN FRANCISCO INTERNATIONAL NEW CONCEPT FILM FESTIVAL	San Francisco	California	United States	Arts, Culture, and Humanities	Film, Video	Self Certified	2024-08-27	35.00	\$10.00	\$350.00	\$350.00	\$10,000.00	Round 1
840-274100081	SOUTHWEST JUDO ACADEMY INC	mesa	Arizona	United States	Recreation and Sports	Amateur Sports Clubs, Leagues, N.E.C.	Expired	2024-02-03	106.00	\$10.00	\$1,060.00	\$1,060.00	\$10,000.00	Round 1
840-274115634	VIET DREAMS	SAN JOSE	California	United States	Human Services	Human Service Organizations Multipurpose	Self Certified	2024-06-12	40.50	\$10.00	\$405.00	\$405.00	\$10,000.00	Round 1
840-274486556	Food Rescue US	Stamford	Connecticut	United States	Food, Agriculture, and Nutrition	Nutrition Programs	Self Certified	2024-11-17	20.00	\$10.00	\$200.00	\$200.00	\$10,000.00	Round 1
840-274607492	St. Thomas Aquinas Parish	RIO RANCHO	New Mexico	United States	Human Services	Human Services - Multipurpose and Other N.E.C.	Self Certified	2024-09-06	72.50	\$10.00	\$725.00	\$725.00	\$10,000.00	Round 1
840-274698031	GAMMA MU EDUCATIONAL SERVICES INC	Phoenix	Arizona	United States	Youth Development	Fund Raising and/or Fund Distribution	Self Certified	2024-03-07	72.50	\$10.00	\$725.00	\$725.00	\$10,000.00	Round 1
840-274857578	MOUNTAIN VIEW VOLLEYBALL CLUB INC	SUNNYVALE	California	United States	Recreation and Sports	Recreation, Sports, Leisure, Athletics N.E.C.	Self Certified	2024-09-02	162.33	\$10.00	\$1,623.30	\$1,623.30	\$10,000.00	Round 1
840-274884880	TEDX PORTLAND	PORTLAND	Oregon	United States	Human Services	Human Services - Multipurpose and Other N.E.C.	Self Certified	2024-06-14	35.00	\$10.00	\$350.00	\$350.00	\$10,000.00	Round 1
840-275010928	SAVE A STRAY FOUNDATION	Chandler	Arizona	United States	Animal- Related	Animal Protection and Welfare	Self Certified	2024-12-19	1010.67	\$10.00	\$10,106.70	\$10,000.00	\$10,000.00	Round 1
840-275028426	SANDE SCHOOL OF HORSEMANSHIP	WARREN	Oregon	United States	Human Services	Services to Promote the Independence of Specific Populations	Self Certified	2024-10-16	40.00	\$10.00	\$400.00	\$400.00	\$10,000.00	Round 1
840-275439694	SACRAMENTO ARADHANA	GOLD RIVER	California	United States	Arts, Culture, and Humanities	Music	Self Certified	2024-06-05	25.00	\$10.00	\$250.00	\$250.00	\$10,000.00	Round 1

Cause Code	Cause Name	Cause City	Cause State or Province	Cause Country	Cause Category	Cause Subcategory	Self Certification Status	Self Certification Expiration	Volunteerd Hours	Hourly Match Rate	Total	Adjusted Total	Match Cap	Payout Round?
840-275502745	UnChained	SOQUEL	California	United States	Animal- Related	Animal Protection and Welfare	Self Certified	2025-01-30	56.00	\$10.00	\$560.00	\$560.00	\$10,000.00	Round 1
840-300064574	Washington County Master Gardener Association	Beaverton	Oregon	United States	Environmental Quality, Protection,	Garden Club, Horticultural Program	Self Certified	2024-12-11	439.50	\$10.00	\$4,395.00	\$4,395.00	\$10,000.00	Round 1
840-300143892	OREGON INTERNATIONAL AIRSHOW HILLSBORO INC	HILLSBORO	Oregon	United States	Arts, Culture, and Humanities	Fund Raising and/or Fund Distribution	Self Certified	2024-06-29	301.00	\$10.00	\$3,010.00	\$3,010.00	\$10,000.00	Round 1
840-300240425	FIELDHAVEN FELINE CENTER	LINCOLN	California	United States	Animal- Related	Animal Protection and Welfare	Self Certified	2024-07-26	34.00	\$10.00	\$340.00	\$340.00	\$10,000.00	Round 1
840-300346663	U S NAVAL SEA CADET CORPS REGION 12	Fremont Ca.	California	United States	Youth Development	Youth Development Programs, Other	Self Certified	2024-08-11	177.50	\$10.00	\$1,775.00	\$1,775.00	\$10,000.00	Round 1
840- 300484115/project/3P93NDW38 7	Bonny Slope Community Organization for Cub Scout Pack 205	Portland	Oregon	United States	Education	Parent/Teacher Group	Self Certified	2024-10-20	22.00	\$10.00	\$220.00	\$220.00	\$15,000.00	Round 1
840-300601051	OREGON COAST ALLIANCE	ASTORIA	Oregon	United States	Environmental Quality, Protection,	Land Resources Conservation	Self Certified	2024-11-15	128.00	\$10.00	\$1,280.00	\$1,280.00	\$10,000.00	Round 1
840-300681396	BEAVERTON CRICKET CLUB	BEAVERTON	Oregon	United States	Recreation and Sports	Amateur Sports Clubs, Leagues, N.E.C.	Self Certified	2024-10-02	224.00	\$10.00	\$2,240.00	\$2,240.00	\$10,000.00	Round 1
840-300961289	LAUNDRY LOVE CITRUS HEIGHTS	FAIR OAKS	California	United States	Human Services	Homeless Persons Centers, Services	Self Certified	2024-12-11	27.00	\$10.00	\$270.00	\$270.00	\$10,000.00	Round 1
840-300966387	ROBERT E MELICAN MIDDLE SCHOOL PTO	NORTHBOROUGH	Massachusetts	United States	Education	Parent/Teacher Group	Self Certified	2024-10-12	54.00	\$10.00	\$540.00	\$540.00	\$15,000.00	Round 1
840-300986391	MASTER GARDENERS ASSOCIATION	Newberg	Oregon	United States	Environmental Quality, Protection,	Garden Club, Horticultural Program	Self Certified	2024-09-20	255.50	\$10.00	\$2,555.00	\$2,555.00	\$10,000.00	Round 1
840-301164836	WagonCon Inc	The Dalles	Oregon	United States	Recreation and Sports	Fairs, County and Other	Self Certified	2024-12-20	48.50	\$10.00	\$485.00	\$485.00	\$10,000.00	Round 1
840-310896538	Francis Parker School of Louisville	GOSHEN	Kentucky	United States	Education	Education N.E.C.	Self Certified	2024-10-11	311.25	\$10.00	\$3,112.50	\$3,112.50	\$15,000.00	Round 1
840-311395941	THE WORKS OHIO CENTER OF HISTORY ART & DECHNOLOGY	NEWARK	Ohio	United States	Arts, Culture, and Humanities	Arts, Cultural Organizations - Multipurpose	Self Certified	2025-01-15	20.00	\$10.00	\$200.00	\$200.00	\$10,000.00	Round 1
840-311443814	AMERICAN HERITAGE GIRLS INC	CINCINNATI	Ohio	United States	Youth Development	Youth Community Service Clubs	Self Certified	2024-12-05	161.00	\$10.00	\$1,610.00	\$1,610.00	\$10,000.00	Round 1
840-311600186	JACKSON BOTTOM WETLANDS PRESERVE	HILLSBORO	Oregon	United States	Environmental Quality, Protection,	Water Resource, Wetlands Conservation and Management	Self Certified	2024-05-05	502.00	\$10.00	\$5,020.00	\$5,020.00	\$10,000.00	Round 1
840-311636383	ELY CHAPMAN EDUCATION FOUNDATION	MARIETTA	Ohio	United States	Education	Services, Educational, Other	Expired	2021-08-31	150.00	\$10.00	\$1,500.00	\$1,500.00	\$15,000.00	Round 1
840-311682355	Santos Football Club	Hillsboro	Oregon	United States	Recreation and Sports	Soccer Clubs, Leagues	Self Certified	2024-07-27	1220.00	\$10.00	\$12,200.00	\$10,000.00	\$10,000.00	Round 1
840-311728916	PLACER THEATRE BALLET	Roseville	California	United States	Arts, Culture, and Humanities	Theater	Self Certified	2025-02-23	57.00	\$10.00	\$570.00	\$570.00	\$10,000.00	Round 1
840-311758772	GHS ACADEMY	EL DORADO HLS	California	United States	Education	Primary, Elementary Schools	Self Certified	2024-05-20	393.50	\$10.00	\$3,935.00	\$3,935.00	\$15,000.00	Round 1
840-316060327	HARTFORD INDEPENDENT AGRICULTURAL SOCIETY	CROTON	Ohio	United States	Food, Agriculture, and Nutrition	Agricultural Programs	Expired	2023-12-16	258.00	\$10.00	\$2,580.00	\$2,580.00	\$10,000.00	Round 1
840-320082786	Forward Stride	Beaverton	Oregon	United States	Human Services	Services to Promote the Independence of Specific Populations	Self Certified	2024-06-20	66.00	\$10.00	\$660.00	\$660.00	\$10,000.00	Round 1
840-320232205	WOODSIDE HIGH SCHOOL FOUNDATION	WOODSIDE	California	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2024-12-29	22.50	\$10.00	\$225.00	\$225.00	\$15,000.00	Round 1
840-320252462	HUGHES SPRINGS AREA FOUNDATION	HUGHES SPRINGS	Texas	United States	Education	Services, Educational, Other	Self Certified	2025-01-19	22.00	\$10.00	\$220.00	\$220.00	\$15,000.00	Round 1
840-320268455	MUSEUM FOUNDATION OF PACIFIC GROVE INC	Pacific Grove	California	United States	Arts, Culture, and Humanities	Museum, Museum Activities	Self Certified	2024-05-25	170.00	\$10.00	\$1,700.00	\$1,700.00	\$10,000.00	Round 1
840-320401621	DIAPER BANK OF NORTH CAROLINA	DURHAM	North Carolina	United States	Human Services	Human Services - Multipurpose and Other N.E.C.	Self Certified	2024-05-22	28.00	\$10.00	\$280.00	\$280.00	\$10,000.00	Round 1
840-320406126	ALL MY TOMORROWS PET RESCUE	LODI	California	United States	Animal- Related	Animal-Related N.E.C.	Self Certified	2024-11-30	128.00	\$10.00	\$1,280.00	\$1,280.00	\$10,000.00	Round 1
840-320619621	Community Loaves	Kirkland	Washington	United States	Food, Agriculture, and Nutrition	Food Banks, Food Pantries	Self Certified	2024-11-30	33.00	\$10.00	\$330.00	\$330.00	\$10,000.00	Round 1
840-320628221	WESTSIDE PLANET ALLIANCE	GASTON	Oregon	United States	Environmental Quality, Protection,	Alliance/Advocacy Organizations	Self Certified	2025-01-09	172.00	\$10.00	\$1,720.00	\$1,720.00	\$10,000.00	Round 1
840- 320646124/project/53NK6EHQX D	WEST SUPPORT INC for Aid to Israeli victims of Hamas war crimes	CASPER	Wyoming	United States	Health - General and Rehabilitative	Alliance/Advocacy Organizations	Self Certified	2025-01-12	39.00	\$10.00	\$390.00	\$390.00	\$10,000.00	Round 1
840-330122045	SHORECLIFFS MIDDLE SCHOOL PTA	SAN CLEMENTE	California	United States	Education	Parent/Teacher Group	Self Certified	2024-09-04	106.25	\$10.00	\$1,062.50	\$1,062.50	\$15,000.00	Round 1

Cause Code	Cause Name	Cause City	Cause State or Province	Cause Country	Cause Category	Cause Subcategory	Self Certification Status	Self Certification Expiration	Volunteerd Hours	Hourly Match Rate	Total	Adjusted Total	Match Cap	Payout Round?
840-330251511	CALIFORNIA SOCIETY OF THE SONS OF THE AMERICAN REVOLUTION	IRVINE	California	United States	Arts, Culture, and Humanities	Historical Societies & Historic Preservation	Self Certified	2024-08-15	1020.00	\$10.00	\$10,200.00	\$10,000.00	\$10,000.00	Round 1
840- 330414855/project/2TFY1NMX5 9	STANDUP FOR KIDS for Silicon Valley, CA	Decatur	Georgia	United States	Youth Development	Youth Development N.E.C.	Self Certified	2024-07-11	720.00	\$10.00	\$7,200.00	\$7,200.00	\$10,000.00	Round 1
840-330521448	PROJECT MEXICO OF THE ORTHODOX CHURCH	SAN DIEGO	California	United States	International, Foreign Affairs, and	International Development, Relief Services	Self Certified	2024-05-31	32.00	\$10.00	\$320.00	\$320.00	\$10,000.00	Round 1
840- 330841281/project/53N47JP5H1	PANCREATIC CANCER ACTION NETWORK INC for PurpleStride Silicon Valley 2024	MANHATTAN BEACH	California	United States	Voluntary Health Organizations	Alliance/Advocacy Organizations	Self Certified	2025-01-29	36.00	\$10.00	\$360.00	\$360.00	\$10,000.00	Round 1
840-330841281	PANCREATIC CANCER ACTION NETWORK INC	MANHATTAN BEACH	California	United States	Voluntary Health Organizations	Alliance/Advocacy Organizations	Self Certified	2025-01-29	77.00	\$10.00	\$770.00	\$770.00	\$10,000.00	Round 1
840-330860160	CALIFORNIA CREATIVITY ASSOCIATION	SAN DIEGO	California	United States	Education	Services, Educational, Other	Self Certified	2024-11-09	195.00	\$10.00	\$1,950.00	\$1,950.00	\$15,000.00	Round 1
840-330925945	DEL MAR SCHOOLS EDUCATION FOUNDATION	San Diego	California	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2024-10-09	24.51	\$10.00	\$245.10	\$245.10	\$15,000.00	Round 1
840-331069899	EAST OF EDEN K-9 RESCUE	PLEASANTON	California	United States	Animal- Related	Animal Protection and Welfare	Self Certified	2024-12-10	532.00	\$10.00	\$5,320.00	\$5,320.00	\$10,000.00	Round 1
840- 331096724/project/4QWYFF7A QB	JAIN CENTER OF GREATER SACRAMENTO for JCGS - Charitable and Cultural Community programs	Sacramento	California	United States	Religion-Related	l Hindu	Self Certified	2024-11-15	1144.00	\$10.00	\$11,440.00	\$10,000.00	\$10,000.00	Round 1
840-331104284	FIFTEENTH JUDICIAL DISTRICT CHILD ADVOCACY CENTER	LEBANON	Tennessee	United States	Crime and Legal Related	Child Abuse, Prevention of	Self Certified	2024-06-20	230.75	\$10.00	\$2,307.50	\$2,307.50	\$10,000.00	Round 1
840-331146332	ACTORS YOUTH THEATRE	Gilbert	Arizona	United States	Arts, Culture, and Humanities	Theater	Self Certified	2024-11-07	53.00	\$10.00	\$530.00	\$530.00	\$10,000.00	Round 1
840-342047687	ABOUT CARE INC	CHANDLER	Arizona	United States	Human Services	Human Service Organizations Multipurpose	Self Certified	2025-02-23	49.00	\$10.00	\$490.00	\$490.00	\$10,000.00	Round 1
840-342057272	AZRD LLC	PHOENIX	Arizona	United States	Recreation and Sports	Amateur Sports Competitions	Self Certified	2024-12-21	116.75	\$10.00	\$1,167.50	\$1,167.50	\$10,000.00	Round 1
840-352222262	CURE JM FOUNDATION	Leesburg	Virginia	United States	Voluntary Health Organizations	Nonmonetary Support N.E.C.	Self Certified	2024-05-30	817.58	\$10.00	\$8,175.80	\$8,175.80	\$10,000.00	Round 1
840-352363158	NEW EPOCH CULTURE CENTER	Portland	Oregon	United States	Arts, Culture, and Humanities	Performing Arts Organizations	Self Certified	2025-02-16	20.00	\$10.00	\$200.00	\$200.00	\$10,000.00	Round 1
840- 352451830/project/4SA99HNPU F	CHANDLER SCHOOL BOOSTERS INC for ACP Cross Country	Chandler	Arizona	United States	Education	Sports/Booster/Club/Band	Self Certified	2024-07-31	99.00	\$10.00	\$990.00	\$990.00	\$15,000.00	Round 1
840- 352451830/project/3YNSMJUB8 7	CHANDLER SCHOOL BOOSTERS INC for ACP Football Boosters	Chandler	Arizona	United States	Education	Sports/Booster/Club/Band	Self Certified	2024-07-31	577.00	\$10.00	\$5,770.00	\$5,770.00	\$15,000.00	Round 1
840- 352451830/project/4SA9BQH1J 7	CHANDLER SCHOOL BOOSTERS INC for ACP Track	Chandler	Arizona	United States	Education	Sports/Booster/Club/Band	Self Certified	2024-07-31	138.00	\$10.00	\$1,380.00	\$1,380.00	\$15,000.00	Round 1
840- 352451830/project/4U1DQJWD9 Z	CHANDLER SCHOOL BOOSTERS INC for Basha Gridiron Booster	Chandler	Arizona	United States	Education	Sports/Booster/Club/Band	Self Certified	2024-07-31	394.00	\$10.00	\$3,940.00	\$3,940.00	\$15,000.00	Round 1
840- 352451830/project/3SQKPJLVR 5	CHANDLER SCHOOL BOOSTERS INC for Casteel High School Band Booster	Chandler	Arizona	United States	Education	Sports/Booster/Club/Band	Self Certified	2024-07-31	84.75	\$10.00	\$847.50	\$847.50	\$15,000.00	Round 1
840- 352451830/project/3ZYVXMKF1 R	CHANDLER SCHOOL BOOSTERS INC for Casteel Mtn Bike Team	Chandler	Arizona	United States	Education	Sports/Booster/Club/Band	Self Certified	2024-07-31	127.00	\$10.00	\$1,270.00	\$1,270.00	\$15,000.00	Round 1
840- 352451830/project/52ZZ9Q1XS B	CHANDLER SCHOOL BOOSTERS INC for Chandler High School Choir Boosters	Chandler	Arizona	United States	Education	Sports/Booster/Club/Band	Self Certified	2024-07-31	477.00	\$10.00	\$4,770.00	\$4,770.00	\$15,000.00	Round 1
840- 352451830/project/530R2LHVZ H	CHANDLER SCHOOL BOOSTERS INC for Chandler High School Girls Volleyball Boosters	Chandler	Arizona	United States	Education	Sports/Booster/Club/Band	Self Certified	2024-07-31	21.50	\$10.00	\$215.00	\$215.00	\$15,000.00	Round 1
840- 352451830/project/3GBZ9CECL B	CHANDLER SCHOOL BOOSTERS INC for Hamilton HS Band Booster	Chandler	Arizona	United States	Education	Sports/Booster/Club/Band	Self Certified	2024-07-31	203.75	\$10.00	\$2,037.50	\$2,037.50	\$15,000.00	Round 1
840- 352451830/project/3H0KL5KA2F	CHANDLER SCHOOL BOOSTERS INC for Knox Gifted Academy PTO	Chandler	Arizona	United States	Education	Sports/Booster/Club/Band	Self Certified	2024-07-31	69.00	\$10.00	\$690.00	\$690.00	\$15,000.00	Round 1
840- 352451830/project/3GBZ4YRGZ 1	CHANDLER SCHOOL BOOSTERS INC for Perry High School Band Boosters	Chandler	Arizona	United States	Education	Sports/Booster/Club/Band	Self Certified	2024-07-31	156.00	\$10.00	\$1,560.00	\$1,560.00	\$15,000.00	Round 1
840- 352451830/project/3GBZ2RX45 1	CHANDLER SCHOOL BOOSTERS INC for Perry High School Band Boosters	Chandler	Arizona	United States	Education	Sports/Booster/Club/Band	Self Certified	2024-07-31	42.50	\$10.00	\$425.00	\$425.00	\$15,000.00	Round 1
840- 352451830/project/3P3F997A07	CHANDLER SCHOOL BOOSTERS INC for Perry High School Wrestling Booster	Chandler	Arizona	United States	Education	Sports/Booster/Club/Band	Self Certified	2024-07-31	500.00	\$10.00	\$5,000.00	\$5,000.00	\$15,000.00	Round 1
840- 352451830/project/4AEYD02LZ1	CHANDLER SCHOOL BOOSTERS INC for Weinberg Gifted Academy PTO	Chandler	Arizona	United States	Education	Sports/Booster/Club/Band	Self Certified	2024-07-31	41.00	\$10.00	\$410.00	\$410.00	\$15,000.00	Round 1
840-352511614	STOREHOUSE NEW MEXICO	Albuquerque	New Mexico	United States	Food, Agriculture, and Nutrition	Food Service, Free Food Distribution Programs	Self Certified	2025-01-24	20.00	\$10.00	\$200.00	\$200.00	\$10,000.00	Round 1
840-356002041	Purdue University	West Lafayette	Indiana	United States	Education	Higher Education Institutions	Self Certified	2025-02-23	26.00	\$10.00	\$260.00	\$260.00	\$15,000.00	Round 1

Cause Code	Cause Name	Cause City	Cause State or Province	Cause Country	Cause Category	Cause Subcategory	Self Certification Status	Self Certification Expiration	Volunteerd Hours	Hourly Match Rate	Total	Adjusted Total	Match Cap	Payout Round?
840- 362193608/project/251ZGAR6W T	SHRINERS HOSPITALS FOR CHILDREN for Shriners Hospitals for Children - Portland, OR	TAMPA	Florida	United States	Medical Research	Pediatrics Research	Self Certified	2024-09-27	108.50	\$10.00	\$1,085.00	\$1,085.00	\$10,000.00	Round 1
840-363659998	NORTH SOUTH FOUNDATION	BURR RIDGE	Illinois	United States	Education	Services, Educational, Other	Self Certified	2024-09-17	39.50	\$10.00	\$395.00	\$395.00	\$15,000.00	Round 1
840-364518066	BIGHELP FOR EDUCATION	FRANKLIN	Massachusetts	United States	Education	Services, Educational, Other	Self Certified	2024-04-30	40.00	\$10.00	\$400.00	\$400.00	\$15,000.00	Round 1
840- 364571903/project/4GDG9DT6K D	MUSLIM AMERICAN SOCIETY OF SACRAMENTO REGION for Muslim American Society Social Services Foundation	Sacramento	California	United States	Religion-Related	d Islamic	Self Certified	2024-08-08	400.00	\$10.00	\$4,000.00	\$4,000.00	\$10,000.00	Round 1
840-364591261	ARTICHOKE COMMUNITY MUSIC	PORTLAND	Oregon	United States	Arts, Culture, and Humanities	Music	Self Certified	2024-11-01	179.00	\$10.00	\$1,790.00	\$1,790.00	\$10,000.00	Round 1
840-364667290	IDAHO TRAILS ASSOCIATION	Boise	ldaho	United States	Recreation and Sports	Parks and Playgrounds	Self Certified	2024-09-22	162.00	\$10.00	\$1,620.00	\$1,620.00	\$10,000.00	Round 1
840-364799899	BLOCKS	SILVERDALE	Washington	United States	Public Safety, Disaster Preparedness.	Disaster Preparedness and Relief Services	Self Certified	2024-10-10	150.00	\$10.00	\$1,500.00	\$1,500.00	\$10,000.00	Round 1
840-364881154	YAMHILL COUNTY AMATEUR RADIO EMERGENCY SERVICES	MCMINNVILLE	Oregon	United States	Public Safety, Disaster Preparedness	Public Safety, Disaster Preparedness, and Relief	Self Certified	2024-11-17	87.42	\$10.00	\$874.20	\$874.20	\$10,000.00	Round 1
840-365010905	NORTHWEST CRICKET CLUB	HILLSBORO	Oregon	United States	Recreation and Sports	Recreation, Sports, Leisure, Athletics N.E.C.	Self Certified	2024-12-01	38.00	\$10.00	\$380.00	\$380.00	\$10,000.00	Round 1
840-371097211	LIFELINE INC	Peoria	Illinois	United States	Human Services	Transportation, Free or Subsidized	Self Certified	2024-05-22	25.50	\$10.00	\$255.00	\$255.00	\$10,000.00	Round 1
840- 371426703/project/4745X5JPTM	EAST CENTRAL MINISTRIES INC for East I Central Ministries' Food Cooperative	Albuquerque	New Mexico	United States	Religion-Related	d Christian	Self Certified	2025-02-26	174.00	\$10.00	\$1,740.00	\$1,740.00	\$10,000.00	Round 1
840-371589959	Lost Our Home Pet Foundation	Tempe	Arizona	United States	Animal- Related	Animal Protection and Welfare	Self Certified	2024-12-28	246.50	\$10.00	\$2,465.00	\$2,465.00	\$10,000.00	Round 1
840-371937764	MAITREE PDX	BEAVERTON	Oregon	United States	Arts, Culture, and Humanities	Fund Raising and/or Fund Distribution	Self Certified	2024-08-28	227.00	\$10.00	\$2,270.00	\$2,270.00	\$10,000.00	Round 1
840-382231279	SEVA FOUNDATION	BERKELEY	California	United States	International, Foreign Affairs, and	International Development, Relief Services	Self Certified	2024-12-27	405.00	\$10.00	\$4,050.00	\$4,050.00	\$10,000.00	Round 1
840-383569922	NEPHCURE KIDNEY INTERNATIONAL	King of Prussia	Pennsylvania	United States	Medical Research	Kidney Research	Self Certified	2024-09-01	81.00	\$10.00	\$810.00	\$810.00	\$10,000.00	Round 1
840-383655438	ISLAMIC SOCIAL SERVICES OF OREGON STATE	ALOHA	Oregon	United States	Human Services	Ethnic, Immigrant Centers, Services	Self Certified	2024-11-30	23.00	\$10.00	\$230.00	\$230.00	\$10,000.00	Round 1
840-383679176	UNITED PARISHES OF SOUTHBOROUGH INC	SOUTHBOROUGH	Massachusetts	United States	Food, Agriculture, and Nutrition	Food Banks, Food Pantries	Self Certified	2024-08-13	332.50	\$10.00	\$3,325.00	\$3,325.00	\$10,000.00	Round 1
840-383751672	THEATRE PRODUCTION & TECHNICAL ACADEMY INC	FOLSOM	California	United States	Arts, Culture, and Humanities	Performing Arts Centers	Self Certified	2024-04-26	252.00	\$10.00	\$2,520.00	\$2,520.00	\$10,000.00	Round 1
840- 383819380/project/54D9RV8NU T	SANTA CRUZ LODGE CHARITABLE FUND BPOE OF THE UNITED STATES OF AMERI for Santa Cruz Elks #824 Holiday Adopt Family	SANTA CRUZ	California	United States	Youth Development	Youth Development N.E.C.	Self Certified	2025-01-17	210.50	\$10.00	\$2,105.00	\$2,105.00	\$10,000.00	Round 1
840-383866651	SPARTAN YOUTH BASEBALL	Hillsboro	Oregon	United States	Recreation and Sports	Baseball, Softball	Self Certified	2024-10-04	219.00	\$10.00	\$2,190.00	\$2,190.00	\$10,000.00	Round 1
840-383912431	JAMES BOWIE HIGH SCHOOL BAND BOOSTER ASSOCIATION	MANCHACA	Texas	United States	Education	Sports/Booster/Club/Band	Self Certified	2025-01-25	40.00	\$10.00	\$400.00	\$400.00	\$15,000.00	Round 1
840-384028796	AUSTIN ASIAN AMERICAN FILM FESTIVAL	Austin	Texas	United States	Arts, Culture, and Humanities	Visual Arts Organizations	Self Certified	2024-11-07	157.00	\$10.00	\$1,570.00	\$1,570.00	\$10,000.00	Round 1
840-384138321	SAFETY FOR NONPROFITS INC	Boxborough	Massachusetts	United States	Public Safety, Disaster Preparedness	Safety Education	Self Certified	2024-09-22	65.50	\$10.00	\$655.00	\$655.00	\$10,000.00	Round 1
840-390806251	MARQUETTE UNIVERSITY	Milwaukee	Wisconsin	United States	Education	University or Technological Institute	Self Certified	2024-06-20	56.25	\$10.00	\$562.50	\$562.50	\$15,000.00	Round 1
840-391589236	FRIENDS OF LAKE WISSOTA STATE PARK INC	CHIPPEWA FALLS	Wisconsin	United States	Environmental Quality, Protection,	Fund Raising and/or Fund Distribution	Self Certified	2024-08-11	21.50	\$10.00	\$215.00	\$215.00	\$10,000.00	Round 1
840-391777651	DISASTER EMERGENCY RESPONSE ASSOCIATION INC	Longmont	Colorado	United States	Human Services	Human Service Organizations Multipurpose	Self Certified	2024-06-17	1000.00	\$10.00	\$10,000.00	\$10,000.00	\$10,000.00	Round 1
840-391994724	CREATIVITY UNLIMITED IN WISCONSIN	EAU CLAIRE	Wisconsin	United States	Education	Education N.E.C.	Self Certified	2024-08-28	51.50	\$10.00	\$515.00	\$515.00	\$15,000.00	Round 1
840-410941925	MINNETONKA YOUTH HOCKEY ASSOCIATION	MINNETONKA	Minnesota	United States	Arts, Culture, and Humanities	Music	Self Certified	2024-11-16	68.50	\$10.00	\$685.00	\$685.00	\$10,000.00	Round 1
840- 411601449/project/30GDK23EN X	Feed My Starving Children - Mesa, AZ	COON RAPIDS	Minnesota	United States	Human Services	Human Service Organizations - Multipurpose	Self Certified	2024-07-26	1704.82	\$10.00	\$17,048.20	\$10,000.00	\$10,000.00	Round 1
840-411601449	FEED MY STARVING CHILDREN	COON RAPIDS	Minnesota	United States	Human Services	Human Service Organizations Multipurpose	Self Certified	2024-07-26	98.25	\$10.00	\$982.50	\$982.50	\$10,000.00	Round 1
840-411892637	Sherburne County 4-H	Elk River	Minnesota	United States	Youth Development	Youth Development - Agricultural	Expired	2023-12-13	191.00	\$10.00	\$1,910.00	\$1,910.00	\$10,000.00	Round 1

Part	Cause Code	Cause Name	Cause City	Cause State or Province	Cause Country	Cause Category	Cause Subcategory	Self Certification Status	Self Certification Expiration	Volunteerd Hours	Hourly Match Rate	Total	Adjusted Total	Match Cap	Payout Round?
State Stat	840-412049201	BAY AREA RESCUE KEESHONDEN INC	GRASS VALLEY	California			Animal Protection and Welfare	Self Certified	2024-11-06	78.00	\$10.00	\$780.00	\$780.00	\$10,000.00	Round 1
March Marc	840-412054712	SUNFLOWER MISSION	STAFFORD	Texas		Foreign	International Relief	Self Certified	2024-10-02	197.00	\$10.00	\$1,970.00	\$1,970.00	\$10,000.00	Round 1
Column C	840-412068868	DRHS BAND PARENT ORGANIZATION	MESA	Arizona		Education	Parent/Teacher Group	Self Certified	2024-10-03	38.00	\$10.00	\$380.00	\$380.00	\$15,000.00	Round 1
Part	840-412160618	SACRAMENTO SPLASH	Rancho Cordova	California		Education	Services, Educational, Other	Self Certified	2024-07-27	119.89	\$10.00	\$1,198.90	\$1,198.90	\$15,000.00	Round 1
The Part Property The Part The Part Property The Part	840-421589919		FOLSOM	California		Education	Sports/Booster/Club/Band	Self Certified	2024-11-10	273.50	\$10.00	\$2,735.00	\$2,735.00	\$15,000.00	Round 1
March Marc	840- 421599346/project/3U1QP6WC MR		TEMPE	Arizona			Amateur Sports Competitions	Self Certified	2024-03-31	22.00	\$10.00	\$220.00	\$220.00	\$10,000.00	Round 1
Second Content of the Content of the Content of Conte	840-421599346		TEMPE	Arizona			Amateur Sports Competitions	Self Certified	2024-03-31	213.50	\$10.00	\$2,135.00	\$2,135.00	\$10,000.00	Round 1
Properties Pro	840-431209928	BOYS HOPE GIRLS HOPE	St. Louis	Missouri				Self Certified	2025-02-09	260.00	\$10.00	\$2,600.00	\$2,600.00	\$10,000.00	Round 1
Machine Mach	840-431483357	POWELL GARDENS INC	KINGSVILLE	Missouri		Quality,		Self Certified	2024-10-09	44.50	\$10.00	\$445.00	\$445.00	\$10,000.00	Round 1
School Company Compa	840-431699607	ANGEL FLIGHT CENTRAL	KANSAS CITY	Missouri		Health - General and		Self Certified	2024-08-29	28.00	\$10.00	\$280.00	\$280.00	\$10,000.00	Round 1
Selection Sele	840- 431758998/project/30FCQ2XPL P	FOUNDATION for VFW Post 2666-Hillsboro,	Kansas City	Missouri		Societal		Self Certified	2024-09-12	202.00	\$10.00	\$2,020.00	\$2,020.00	\$10,000.00	Round 1
Part	840-431758998		Kansas City	Missouri		Societal		Self Certified	2024-09-12	55.00	\$10.00	\$550.00	\$550.00	\$10,000.00	Round 1
Mode Pietro Properties Mile	840-431774314	THETA TAU EDUCATIONAL FOUNDATION	Arlington	Virginia		Education	Services, Educational, Other	Self Certified	2024-10-05	239.50	\$10.00	\$2,395.00	\$2,395.00	\$15,000.00	Round 1
	840-431959226	FRIENDS FOREVER	MILPITAS	California		Foreign		Self Certified	2024-11-30	51.00	\$10.00	\$510.00	\$510.00	\$10,000.00	Round 1
Substant Price P	840-432028118	Pets With a Mission, Inc	THE WOODLANDS	Texas		Animal-		Self Certified	2024-09-09	67.50	\$10.00	\$675.00	\$675.00	\$10,000.00	Round 1
Self-04948866 911 Day Invine California Disease and Voluntarism, Voluntarism, Voluntarism Promotion Self-Cariffed 2024-11-01 38.00 538.00 5388.00 538.000	840-432028495	LIBERTY YOUTH BASEBALL	HILLSBORO	Oregon				Expired	2023-12-09	194.50	\$10.00	\$1,945.00	\$1,945.00	\$10,000.00	Round 1
Self-Septiment Self	840-450491886	9/11 Day	Irvine	California		Voluntarism,	Voluntarism Promotion	Self Certified	2024-11-01	38.00	\$10.00	\$380.00	\$380.00	\$10,000.00	Round 1
## Self-degree 3 Self-degree	840-450501163	City View Charter School	Hillsboro	Oregon		Education	Charter Schools	Self Certified	2025-02-14	116.00	\$10.00	\$1,160.00	\$1,160.00	\$15,000.00	Round 1
ASSEZ10885project/54ACZ99WF Coloring C	840-450929096	Wellness Within Corporation	ROSEVILLE	California		General and		Self Certified	2024-10-26	500.00	\$10.00	\$5,000.00	\$5,000.00	\$10,000.00	Round 1
## ACCIPIC LEARNING ALLIANCE for Food Distribution Pleasanton California States Human Services Multipurpose Multipurpose Multipurpose Self Certified 2024-05-11 18.00 \$10.00 \$10.00 \$10.00 \$18,80.00 \$1	840- 452210885/project/54ACZ99WF V		Pleasanton	California		Human Services		Self Certified	2024-05-11	21.00	\$10.00	\$210.00	\$210.00	\$10,000.00	Round 1
## ## ## ## ## ## ## ## ## ## ## ## ##	840- 452210885/project/54ACX2FK6 T		Pleasanton	California		Human Services		Self Certified	2024-05-11	185.00	\$10.00	\$1,850.00	\$1,850.00	\$10,000.00	Round 1
### description Pacific Learning ALLiance Pleasanton California States Human Service Multipurpose Self Certified 2024-05-11 78.00 \$10.00 \$780.00 \$780.00 \$5780.00	840- 452210885/project/54AD1G47K 1		Pleasanton	California		Human Services		Self Certified	2024-05-11	217.00	\$10.00	\$2,170.00	\$2,170.00	\$10,000.00	Round 1
840- 452443839/project/4K9CMJXX3 FIRST Washington for FTC 19708-The Emerald Bots FRC9023 EMAN- 452443839/project/53QML6PH1 FIRST Washington for FUTURE MARTIANS- FRC9023 EMAN- 452443839/project/53QML6PH1 Emerald Bots FRC9023 EMAN- 452443839/project/53QML6PH1 Emerald Bots FRC9023 EMAN- 452443839/project/53QML6PH1 Emerald Bots FRC9023 EMAN- 452443839/project/53QML6PH1 Emerald Bots FRC9023 EMAN- 452443839/project/53QML6PH1 Emerald Bots FRC9023 EMAN- 452443839/project/53QML6PH1 Emerald Bots FRC9023 EMAN- 452443839/project/53QML6PH1 Emerald Bots FRC9023 EMAN- 452443839/project/53QML6PH1 Emerald Bots FRC9023 EMAN- 452443839/project/4K9CMJXX3 EMRST Washington for FTC 19708-The Emerald Bots Emerald Bots FRC9023 EMAN- 452443839/project/4K9CMJXX3 EMRST Washington for FTC 19708-The Emerald Bots Emerald Bots FRIST Washington for FUTURE MARTIANS- Emerald Bots FRIST	840- 452210885/project/54AD3NYK8 T		Pleasanton	California		Human Services		Self Certified	2024-05-11	78.00	\$10.00	\$780.00	\$780.00	\$10,000.00	Round 1
##ST Washington for F1C 19708-Tine Emeral Bots First Washington for F1C 19708-Tine Emeral Bots Mashington States Development Other	840-452210885	PACIFIC LEARNING ALLIANCE	Pleasanton	California			Human Service Organizations Multipurpose	Self Certified	2024-05-11	908.33	\$10.00	\$9,083.30	\$9,083.30	\$10,000.00	Round 1
840-452547080 LUCKY PAWS CHINDES ALLIANCE PORTLAND PORTLAND PORTLAND PORTLAND PORTLAND Program States Program S	840- 452443839/project/4K9CMJXX3 R		KENT	Washington				Self Certified	2024-06-07	400.00	\$10.00	\$4,000.00	\$4,000.00	\$10,000.00	Round 1
States Related Affiliar Protection and Weilare Self Certified 2024-09-30 \$0.00 \$10.00 \$30.00	840- 452443839/project/53QML6PH1 Z		KENT	Washington				Self Certified	2024-06-07	96.00	\$10.00	\$960.00	\$960.00	\$10,000.00	Round 1
840-452531658 FRIENDS OF FOLSOM CERT FOLSOM California Calif	840-452527080	LUCKY PAWS	CHANDLER	Arizona			Animal Protection and Welfare	Self Certified	2024-09-30	50.00	\$10.00	\$500.00	\$500.00	\$10,000.00	Round 1
840-452572924 NORTHWEST CHINESE ALLIANCE PORTLAND Oregon United States Humanities Humanities 840-452682632 LEVELING THE PLAYING FIELD INC Silver Spring Maryland United States Maryland United States Portland States Advanced States Self Certified 2024-10-14 27.00 \$10.00 \$270.00 \$270.00 \$10,000.00 \$200.00 \$10,000.00 \$1	840-452531658	FRIENDS OF FOLSOM CERT	FOLSOM	California		Disaster		Self Certified	2025-02-02	1060.25	\$10.00	\$10,602.50	\$10,000.00	\$10,000.00	Round 1
840-452682632 LEVELING THE PLAYING FIELD INC Silver Spring Maryland States and Sports Nonmonetary Support N.E.C. Self Certified 2024-06-27 22.00 \$10.00 \$220.00 \$10,000.00 Round 1	840-452572924	NORTHWEST CHINESE ALLIANCE	PORTLAND	Oregon		Arts, Culture, and	Cultural, Ethnic Awareness	Self Certified	2024-10-14	27.00	\$10.00	\$270.00	\$270.00	\$10,000.00	Round 1
ll-a-d	840-452682632	LEVELING THE PLAYING FIELD INC	Silver Spring	Maryland		Recreation	Nonmonetary Support N.E.C.	Self Certified	2024-06-27	22.00	\$10.00	\$220.00	\$220.00	\$10,000.00	Round 1
840-452701945 BLACK HAWK BAND BOOSTERS HIGLEY Arizona States Education Sports/Booster/Club/Band Self Certified 2024-08-04 394.33 \$10.00 \$3,943.30 \$15,000.00 Round 1	840-452701945	BLACK HAWK BAND BOOSTERS	HIGLEY	Arizona	United States	Education	Sports/Booster/Club/Band	Self Certified	2024-08-04	394.33	\$10.00	\$3,943.30	\$3,943.30	\$15,000.00	Round 1

Cause Code	Cause Name	Cause City	Cause State or Province	Cause Country	Cause Category	Cause Subcategory	Self Certification Status	Self Certification Expiration	Volunteerd Hours	Hourly . Match Rate	Total	Adjusted Total	Match Cap	Payout Round?
840-452864633	HOOFPRINTS IN THE SAND LLC	NEWBERG	Oregon	United States	Animal- Related	Animal Protection and Welfare	Self Certified	2024-07-19	155.50	\$10.00	\$1,555.00	\$1,555.00	\$10,000.00	Round 1
840-452888782	FOLSOM EDUCATIONAL ACADEMY	FOLSOM	California	United States	Education	Primary, Elementary Schools	Self Certified	2024-08-24	415.75	\$10.00	\$4,157.50	\$4,157.50	\$15,000.00	Round 1
840- 452901016/project/4G6VG0KN2 T	CRGC EDUCATIONAL FOUNDATION INCORPORATED for Wilsonville Trap Team	CANBY	Oregon	United States	Public Safety, Disaster Preparedness.	Safety Education	Self Certified	2024-07-26	250.00	\$10.00	\$2,500.00	\$2,500.00	\$10,000.00	Round 1
840-452995516	HOPE CHINESE CHARTER SCHOOL	Beaverton	Oregon	United States	Education	Charter Schools	Self Certified	2024-08-28	444.99	\$10.00	\$4,449.90	\$4,449.90	\$15,000.00	Round 1
840-453148916	CAKE4KIDS	SUNNYVALE	California	United States	Youth Development	Youth Development Programs, Other	Self Certified	2024-06-02	59.50	\$10.00	\$595.00	\$595.00	\$10,000.00	Round 1
840-453180318	FOOTHILL SYMPHONIC WINDS	MOUNTAIN VIEW	California	United States	Arts, Culture, and Humanities	Music	Self Certified	2025-01-03	41.00	\$10.00	\$410.00	\$410.00	\$10,000.00	Round 1
840-453452029	Gratitude Network	PLEASANTON	California	United States	Philanthropy, Voluntarism, and	Public Foundations	Self Certified	2024-12-14	169.50	\$10.00	\$1,695.00	\$1,695.00	\$10,000.00	Round 1
840-453540220	SACRAMENTO LACROSSE ASSOCIATION	SACRAMENTO	California	United States	Recreation and Sports	Tennis, Racquet Sports Clubs, Leagues	Self Certified	2024-09-22	48.00	\$10.00	\$480.00	\$480.00	\$10,000.00	Round 1
840-453556042	BEAT GOES ON MARCHING BAND	PORTLAND	Oregon	United States	Arts, Culture, and Humanities	Music Groups, Bands, Ensembles	Self Certified	2024-06-24	963.46	\$10.00	\$9,634.60	\$9,634.60	\$10,000.00	Round 1
840-453570332	CHANDANSHAMALA LIBRARY	CHANDLER	Arizona	United States	Education	Libraries	Self Certified	2025-02-01	118.25	\$10.00	\$1,182.50	\$1,182.50	\$15,000.00	Round 1
840-453599268	SAGE - Senior Advocates for Generational Equity	Portland	Oregon	United States	Human Services	Senior Continuing Care Communities	Self Certified	2024-10-27	71.00	\$10.00	\$710.00	\$710.00	\$10,000.00	Round 1
840-453674554	FRIENDS OF PORTLAND 65 SCOUTS	SHERWOOD	Oregon	United States	Youth Development	Scouting Organizations	Self Certified	2024-12-11	320.50	\$10.00	\$3,205.00	\$3,205.00	\$10,000.00	Round 1
840-453688938	BANKS YOUTH BASKETBALL ASSOCIATION	BANKS	Oregon	United States	Recreation and Sports	Basketball	Self Certified	2024-09-21	29.00	\$10.00	\$290.00	\$290.00	\$10,000.00	Round 1
840-453735061	OMEGA YOUTH LEADERSHIP ACADEMY INC	Phoenix	Arizona	United States	Youth Development	Youth Centers, Clubs, Multipurpose	Self Certified	2024-09-07	84.00	\$10.00	\$840.00	\$840.00	\$10,000.00	Round 1
840-453737474	BEAVERTON DOWNTOWN ASSOCIATION	BEAVERTON	Oregon	United States	Community Improvement and Capacity	Community, Neighborhood Development, Improvement (General)	Expired	2023-12-19	29.00	\$10.00	\$290.00	\$290.00	\$10,000.00	Round 1
840-453860067	THREE MAPLES RENAISSANCE CORPORATION	MANCHESTER	New Hampshire	United States	Arts, Culture, and Humanities	Cultural, Ethnic Awareness	Self Certified	2024-06-21	41.25	\$10.00	\$412.50	\$412.50	\$10,000.00	Round 1
840-453982713	HONORING ARIZONAS VETERANS	Scottsdale	Arizona	United States	Human Services	Human Service Organizations Multipurpose	Self Certified	2024-06-04	20.00	\$10.00	\$200.00	\$200.00	\$10,000.00	Round 1
840-454103375	Umbrella of Hope Rescue	Pittsburg	California	United States	Animal- Related	Animal Protection and Welfare	Self Certified	2024-12-01	604.00	\$10.00	\$6,040.00	\$6,040.00	\$10,000.00	Round 1
840-454422406	ROTTEN ROTTIE RESCUE INC	gilbert	Arizona	United States	Animal- Related	Animal Protection and Welfare	Self Certified	2024-07-23	409.00	\$10.00	\$4,090.00	\$4,090.00	\$10,000.00	Round 1
840-454496745	RECOVERY CAFE SAN JOSE INC	SAN JOSE	California	United States	Human Services	Services to Promote the Independence of Specific Populations	Self Certified	2025-02-12	279.00	\$10.00	\$2,790.00	\$2,790.00	\$10,000.00	Round 1
840-454641631	CONTRA COSTA RABBIT RESCUE	ANTIOCH	California	United States	Animal- Related	Animal Protection and Welfare	Self Certified	2025-01-04	260.00	\$10.00	\$2,600.00	\$2,600.00	\$10,000.00	Round 1
840-454661746	FRONT RANGERS JUNIORS CYCLING	COLORADO SPGS	Colorado	United States	Recreation and Sports	Amateur Sports Clubs, Leagues, N.E.C.	Self Certified	2024-09-13	201.25	\$10.00	\$2,012.50	\$2,012.50	\$10,000.00	Round 1
840-454965420	RED ROCK SEARCH AND RESCUE	LAS VEGAS	Nevada	United States	Public Safety, Disaster Preparedness,	Search and Rescue Squads, Services	Self Certified	2024-08-15	314.00	\$10.00	\$3,140.00	\$3,140.00	\$10,000.00	Round 1
840-455008348	PORTLAND KANNADA KOOTA	Hillsboro	Oregon	United States	Arts, Culture, and Humanities	Cultural, Ethnic Awareness	Self Certified	2024-05-02	207.00	\$10.00	\$2,070.00	\$2,070.00	\$10,000.00	Round 1
840-455043190	SAINT JOSEPHS GAELIC ATHLETIC ASSOCIATION	San Francisco	California	United States	Recreation and Sports	Football Clubs, Leagues	Self Certified	2024-10-02	198.00	\$10.00	\$1,980.00	\$1,980.00	\$10,000.00	Round 1
840-455309302	HEART OF HOPE ASIAN AMERICAN HOSPICE CARE A NONPROFIT CORP	San Jose	California	United States	Human Services	Hospice	Self Certified	2024-06-06	45.00	\$10.00	\$450.00	\$450.00	\$10,000.00	Round 1
840-455572893	CAT'S CRADLE RESCUE	HILLSBORO	Oregon	United States	Animal- Related	Animal Protection and Welfare	Self Certified	2024-08-05	100.00	\$10.00	\$1,000.00	\$1,000.00	\$10,000.00	Round 1
840-460336514	SIOUX YMCA	DUPREE	South Dakota	United States	Human Services	Young Men's or Women's Associations (YMCA, YWCA, YWHA, YMHA)	Self Certified	2024-11-21	98.00	\$10.00	\$980.00	\$980.00	\$10,000.00	Round 1
840-460546048	SAN MATEO SEARCH AND RESCUE INC	San Mateo	California	United States	Human Services	Human Services - Multipurpose and Other N.E.C.	Self Certified	2024-05-04	72.50	\$10.00	\$725.00	\$725.00	\$10,000.00	Round 1
840-460583196	SOUTHWEST ENGLISH SETTER RESCUE INC	BOERNE	Texas	United States	Animal- Related	Animal Protection and Welfare	Self Certified	2024-08-07	91.00	\$10.00	\$910.00	\$910.00	\$10,000.00	Round 1
840-460720140	BE KIND PEOPLE PROJECT FOUNDATION	PHOENIX	Arizona	United States	Education	Education N.E.C.	Self Certified	2024-12-05	181.00	\$10.00	\$1,810.00	\$1,810.00	\$15,000.00	Round 1

Section Sect	Cause Code	Cause Name	Cause City	Cause State or Province	Cause Country	Cause Category	Cause Subcategory	Self Certification Status	Self Certification Expiration	Volunteerd Hours	Hourly Match Rate	Total	Adjusted Total	Match Cap	Payout Round?
Companies Comp	840-460736773		San Jose	California		Foreign	International Relief	Self Certified	2024-08-09	650.00	\$10.00	\$6,500.00	\$6,500.00	\$10,000.00	Round 1
Part	840-460965351	POLO CARES	SCOTTSDALE	Arizona			Equestrian, Riding	Self Certified	2024-09-15	33.50	\$10.00	\$335.00	\$335.00	\$10,000.00	Round 1
Part	840-460965772	FUZZ BALL ANIMAL RESCUE	HERMISTON	Oregon			Animal Protection and Welfare	Self Certified	2024-06-11	30.00	\$10.00	\$300.00	\$300.00	\$10,000.00	Round 1
March Marc	840-461135641	TEAM4TECH FOUNDATION	Menlo Park	California		Education	Education N.E.C.	Self Certified	2024-07-17	30.00	\$10.00	\$300.00	\$300.00	\$15,000.00	Round 1
Control Cont	840-461226267	Underdogs Rock! Rescue	Portland	Oregon			Animal Protection and Welfare	Self Certified	2024-09-20	354.00	\$10.00	\$3,540.00	\$3,540.00	\$10,000.00	Round 1
Property (Property (Prop	840-461308704	LAKE OSWEGO ROBOTICS	Lake Oswego	Oregon		Education	Sports/Booster/Club/Band	Self Certified	2024-10-07	530.50	\$10.00	\$5,305.00	\$5,305.00	\$15,000.00	Round 1
Marcia M	840- 461323531/project/3TZWLHG96 T		Richmond	California				Self Certified	2024-06-20	155.00	\$10.00	\$1,550.00	\$1,550.00	\$10,000.00	Round 1
Activation Company C	840-461336590		Muncie	Indiana		and	Museum, Museum Activities	Self Certified	2025-01-24	260.08	\$10.00	\$2,600.80	\$2,600.80	\$10,000.00	Round 1
Color: C	840- 461509111/project/3R79N6BAV V		GLENDALE	Arizona		Religion-Related	Protestant	Self Certified	2024-08-01	518.00	\$10.00	\$5,180.00	\$5,180.00	\$10,000.00	Round 1
State Stat	840-461594296	CARDZ FOR KIDZ NFP	CHICAGO	Illinois		Societal Benefit		Self Certified	2024-09-01	92.58	\$10.00	\$925.80	\$925.80	\$10,000.00	Round 1
Secretary Secr	840-461947669		PORTLAND	Oregon		and			2025-01-21	170.00	\$10.00	\$1,700.00	\$1,700.00	\$10,000.00	Round 1
Property	840-461985478	Winged Hope Family Advocacy Foundation	Gilbert	Arizona			Human Service Organizations Multipurpose	Expired	2024-02-08	68.00	\$10.00	\$680.00	\$680.00	\$10,000.00	Round 1
## Accordance Control	840-462050895	PITTIE ME RESCUE	GILBERT	Arizona			Animal Protection and Welfare	Self Certified	2025-01-17	294.00	\$10.00	\$2,940.00	\$2,940.00	\$10,000.00	Round 1
Pale	840-462142225	SOLDIER STRONG INC	STAMFORD	Connecticut		Education	Services, Educational, Other	Self Certified	2024-10-02	142.00	\$10.00	\$1,420.00	\$1,420.00	\$15,000.00	Round 1
State Stat	840-462167263	FOOTHILL DOG RESCUE OF THE SIERRAS	SHINGLE SPRINGS	California			Animal-Related N.E.C.	Self Certified	2024-04-27	430.00	\$10.00	\$4,300.00	\$4,300.00	\$10,000.00	Round 1
### AND PARK ARSSENIAL CLUB AND CRIPT OF CHILDRENS CANCER Flore Park Cappen Ca	840-462174148	SHOOTING STARS FOUNDATION INC	Fremont	California		Education	Services, Educational, Other	Self Certified	2024-08-14	135.00	\$10.00	\$1,350.00	\$1,350.00	\$15,000.00	Round 1
SCHOLARSHIP FIND POR CHILDRENS CANCER SHOULD STANDARD SALES SECURITION SERVICE, EQUIDATION, USE SERVICENTING AUX-11-103 34-0 54-00 554-00 554-00 510,000 Round 1 SHANDARD SALES SHOULD SERVICE, EQUIDATION, USE SERVICENTING AUX-11-103 34-0 54-00 554-00 554-00 554-00 70 70 70 70 70 70 70 70 70 70 70 70 7	840-462192713	ARIZONA ARSENAL SOCCER CLUB	PHOENIX	Arizona			Soccer Clubs, Leagues	Self Certified	2024-07-25	52.00	\$10.00	\$520.00	\$520.00	\$10,000.00	Round 1
Redundaries Recommendation Recomme	840-462428202		PORTLAND	Oregon			Services, Educational, Other	Self Certified	2024-11-03	54.00	\$10.00	\$540.00	\$540.00	\$15,000.00	Round 1
Accessoration Accessoratio	840-462488422	LEADERSHIP MISSION INTERNATIONAL	Seattle	Washington		Foreign	International Relief	Self Certified	2024-12-20	305.50	\$10.00	\$3,055.00	\$3,055.00	\$10,000.00	Round 1
States Art Stat	840- 462543282/project/4HN80WKF0 T		Beaverton	Oregon		Religion-Related	Hindu	Self Certified	2024-07-23	190.00	\$10.00	\$1,900.00	\$1,900.00	\$10,000.00	Round 1
States S	840-462797090	PIKES PEAK POWER BASEBALL CLUB AAU	Gilbert	Arizona				Self Certified	2024-07-01	1000.00	\$10.00	\$10,000.00	\$10,000.00	\$10,000.00	Round 1
## HERO-UP FOR CHILDRENS CANCER Sherwood Oregon States Sta	840-462800398	MOTHER LODE RUGBY FOOTBALL CLUB	Cameron Park	California				Self Certified	2024-08-22	142.00	\$10.00	\$1,420.00	\$1,420.00	\$10,000.00	Round 1
States Services Infirit Snops Self Certified 2024-10-20 30.00 \$10.00 \$2,365.00 \$10.00 \$300.00 \$10,000 \$10.00 \$300.00 \$10,000 \$10.00 \$10	840-462800694	HERO-UP FOR CHILDRENS CANCER	Sherwood	Oregon		Health		Self Certified	2024-08-01	26.00	\$10.00	\$260.00	\$260.00	\$10,000.00	Round 1
States Sta	840-462869595	With Love Oregon	Tigard	Oregon			Thrift Shops	Self Certified	2024-12-04	236.50	\$10.00	\$2,365.00	\$2,365.00	\$10,000.00	Round 1
### Add-462913223 WATERLOO WIND BAND AUSTIN Texas States and Humanities Ensembles States Legislon-Related Hindu Self Certified 2025-03-02 135.00 \$10.00 \$1,350.00 \$1,350.00 \$10,000.00 Round 1 \$1,000.00 Round 1 \$	840-462884436	MISSION CITY COMMUNITY FOUNDATION	Santa Clara	California			Services, Educational, Other	Self Certified	2024-10-20	30.00	\$10.00	\$300.00	\$300.00	\$15,000.00	Round 1
462938268/project/31F5WNWJJ Jaya Hanuman Temple - Teaching at BELLEVUE Washington States Religion-Related Hindu Self Certified 2024-10-27 287.00 \$10.00 \$2,870.00 \$2,870.00 \$10,000 \$2,870.00 \$2,870.00 \$10,000 \$2,870.00 \$10,000 \$2,870.00 \$10,000 \$2,870.00 \$10,000 \$2,870.00 \$10,000 \$2,870.00 \$10,000 \$10,	840-462913223		AUSTIN	Texas		and		Self Certified	2025-03-02	135.00	\$10.00	\$1,350.00	\$1,350.00	\$10,000.00	Round 1
PARENT BOOSTER COUNCIL 840-463038992 COMMUNITY SEVA INC SAN JOSE California United States States California United States Agriculture, and Nutrition and Sports Recreation Sports, Leisure, Athletics N.E.C. Self Certified 2024-01-22 282.00 \$10.00 \$2,820.00 \$2,8	840- 462938268/project/31F5WNWJJ T	Jaya Hanuman Temple - Teaching at	BELLEVUE	Washington		Religion-Related	Hindu	Self Certified	2024-10-27	287.00	\$10.00	\$2,870.00	\$2,870.00	\$10,000.00	Round 1
## Agriculture, and Nutrition States Self Certified 2024-11-28 117.00 \$10.00 \$1,170.00 \$1,170.00 \$10.00 \$1,170.00 \$10.00 \$1,170.00 \$10.00 \$1,170.00 \$10.00 \$1,170.00 \$10.00	840-462989648		QUEEN CREEK	Arizona			Sports/Booster/Club/Band	Self Certified	2024-05-02	282.00	\$10.00	\$2,820.00	\$2,820.00	\$15,000.00	Round 1
840- 463068853/project/2YGMDZFP0 CHINMAYA MISSION PORTLAND for 463068853/project/2YGMDZFP0 CMPortland Relayibar Cultural Education Hillsboro Cregon States and Sports Athletics N.E.C. Self Certified 2024-04-22 20.00 \$10.00 \$200.00	840-463038992	COMMUNITY SEVA INC	SAN JOSE	California		Agriculture,		Self Certified	2024-11-28	117.00	\$10.00	\$1,170.00	\$1,170.00	\$10,000.00	Round 1
463068853/project/2YGMDZFP0 CMPortland Balabins (Cultural Education Hillsboro Oregon United Heligion-Hindu Self Certified 2024-11-21 550.50 \$10.00 \$5,505.00 \$10,000.00 Round 1	840-463066590	FLYING PANTHERS FOUNDATION	CITRUS HEIGHTS	California				Self Certified	2024-04-22	20.00	\$10.00	\$200.00	\$200.00	\$10,000.00	Round 1
	840- 463068853/project/2YGMDZFP0 K		Hillsboro	Oregon			Hindu	Self Certified	2024-11-21	550.50	\$10.00	\$5,505.00	\$5,505.00	\$10,000.00	Round 1

Cause Code	Cause Name	Cause City	Cause State or Province	Cause Country	Cause Category	Cause Subcategory	Self Certification Status	Self Certification Expiration	Volunteerd Hours	Hourly Match Rate	Total	Adjusted Total	Match Cap	Payout Round?
840-463071251	PALO ALTO HIGH SCHOOL FIERY ARTS BOOSTER CLUB	PALO ALTO	California	United States	Arts, Culture, and Humanities	Sports/Booster/Club/Band	Self Certified	2024-10-18	174.00	\$10.00	\$1,740.00	\$1,740.00	\$10,000.00	Round 1
840-463102278	The First Tee of Silicon Valley	Santa Clara	California	United States	Recreation and Sports	Golf	Self Certified	2024-10-02	50.00	\$10.00	\$500.00	\$500.00	\$10,000.00	Round 1
840-463107429	BASIS AHWATUKEE BOOSTERS	PHOENIX	Arizona	United States	Education	Sports/Booster/Club/Band	Self Certified	2024-11-16	134.50	\$10.00	\$1,345.00	\$1,345.00	\$15,000.00	Round 1
840-463162458	HEART OF GANESH	Vancouver	Washington	United States	Animal- Related	Wildlife Preservation, Protection	Self Certified	2025-02-10	65.00	\$10.00	\$650.00	\$650.00	\$10,000.00	Round 1
840-463163709	COCHISE CANINE RESCUE	POMERENE	Arizona	United States	Animal- Related	Animal Protection and Welfare	Self Certified	2024-06-26	156.00	\$10.00	\$1,560.00	\$1,560.00	\$10,000.00	Round 1
840-463188184	HUNTING WITH HEROES INC	CASPER	Wyoming	United States	Public and Societal Benefit	Military, Veterans' Organizations	Self Certified	2025-01-16	78.00	\$10.00	\$780.00	\$780.00	\$10,000.00	Round 1
840-463507564	LOVE AND SECOND CHANCES	SAN RAMON	California	United States	Animal- Related	Animal Protection and Welfare	Self Certified	2024-08-15	168.00	\$10.00	\$1,680.00	\$1,680.00	\$10,000.00	Round 1
840-463603014	CHARUSAT EDUCATION FOUNDATION INC	ALBUQUERQUE	New Mexico	United States	Education	Services, Educational, Other	Self Certified	2024-12-10	240.00	\$10.00	\$2,400.00	\$2,400.00	\$15,000.00	Round 1
840-463630141	AMERICAN RIVER FUTBOL CLUB	FAIR OAKS	California	United States	Recreation and Sports	Soccer Clubs, Leagues	Self Certified	2024-12-13	380.00	\$10.00	\$3,800.00	\$3,800.00	\$10,000.00	Round 1
840-463711288	WESTVIEW YOUTH BASEBALL	Portland	Oregon	United States	Recreation and Sports	Baseball, Softball	Self Certified	2025-02-07	46.75	\$10.00	\$467.50	\$467.50	\$10,000.00	Round 1
840-463804049	ITS BETTER TO GIVE	LAVEEN	Arizona	United States	Social Science	Social Science Research Institutes, Services N.E.C.	Self Certified	2024-11-26	687.16	\$10.00	\$6,871.60	\$6,871.60	\$10,000.00	Round 1
840-463846713	ANGEL BLANKETS	HOPEWELL JCT	New York	United States	Human Services	Gift Distribution	Self Certified	2024-12-30	60.00	\$10.00	\$600.00	\$600.00	\$10,000.00	Round 1
840-463876220	ROOT & REBOUND	Oakland	California	United States	Crime and Legal Related	Rehabilitation Services for Offenders	Self Certified	2024-11-17	177.50	\$10.00	\$1,775.00	\$1,775.00	\$10,000.00	Round 1
840-464014410	BUILDING BLOCKS TO SUCCESS CORPORATION	PORTLAND	Oregon	United States	Youth Development	Youth Development Programs, Other	Self Certified	2025-03-01	84.00	\$10.00	\$840.00	\$840.00	\$10,000.00	Round 1
840- 464190513/project/45Z1UQAFB D	VILLAGES NW - METRO for Village at the Falls	PORTLAND	Oregon	United States	Human Services	Human Service Organizations Multipurpose	Self Certified	2024-11-22	385.50	\$10.00	\$3,855.00	\$3,855.00	\$10,000.00	Round 1
840-464190513	VILLAGES NW - METRO	PORTLAND	Oregon	United States	Human Services	Human Service Organizations Multipurpose	Self Certified	2024-11-22	842.00	\$10.00	\$8,420.00	\$8,420.00	\$10,000.00	Round 1
840-464244957	COTTONTOWN BELLEVUE HISTORIC DISTRICT NEIGHBORHOOD ASSOCIATION	COLUMBIA	South Carolina	United States	Mutual and Membership Benefit	Single Organization Support	Self Certified	2024-08-10	52.00	\$10.00	\$520.00	\$520.00	\$10,000.00	Round 1
840- 464276182/project/3PCEM0FYY B	OREGON ROBOTICS TOURNAMENT & OUTREACH PROGRAM for FIRST LEGO League - Oregon	Portland	Oregon	United States	Medical Research	Medical Research N.E.C.	Self Certified	2024-09-06	106.50	\$10.00	\$1,065.00	\$1,065.00	\$10,000.00	Round 1
840- 464276182/project/3PCEP7AAK 5	OREGON ROBOTICS TOURNAMENT & OUTREACH PROGRAM for FIRST Tech Challenge-Oregon	Portland	Oregon	United States	Medical Research	Medical Research N.E.C.	Self Certified	2024-09-06	462.25	\$10.00	\$4,622.50	\$4,622.50	\$10,000.00	Round 1
840-464276182	OREGON ROBOTICS TOURNAMENT & OUTREACH PROGRAM	Portland	Oregon	United States	Medical Research	Medical Research N.E.C.	Self Certified	2024-09-06	1273.25	\$10.00	\$12,732.50	\$10,000.00	\$10,000.00	Round 1
840-464300973	KNITTED KNOCKERS CHARITIES LLC	TEMPE	Arizona	United States	Philanthropy, Voluntarism, and	Public Foundations	Self Certified	2024-06-12	423.00	\$10.00	\$4,230.00	\$4,230.00	\$10,000.00	Round 1
840-464747933	HELENS HOPE CHEST	MESA	Arizona	United States	Philanthropy, Voluntarism, and	Fund Raising Organizations That Cross Categories	Self Certified	2024-05-01	73.00	\$10.00	\$730.00	\$730.00	\$10,000.00	Round 1
840-464943070	POSITIVE PATHS	Mesa	Arizona	United States	Education	Services, Educational, Other	Self Certified	2024-06-27	357.50	\$10.00	\$3,575.00	\$3,575.00	\$15,000.00	Round 1
840-465015461	iUrban Teen	Renton	Washington	United States	Education	Specialized Education Institutions	Self Certified	2024-05-01	25.50	\$10.00	\$255.00	\$255.00	\$15,000.00	Round 1
840-465039599	CRISIS TEXT LINE	NEW YORK	New York	United States	Mental Health and Crisis Intervention	Hot Line, Crisis Intervention Services	Self Certified	2024-07-17	62.00	\$10.00	\$620.00	\$620.00	\$10,000.00	Round 1
840-465081463	EL DORADO BEEKEEPERS	PLACERVILLE	California	United States	Education	Education N.E.C.	Self Certified	2024-06-12	119.00	\$10.00	\$1,190.00	\$1,190.00	\$15,000.00	Round 1
840-465144754	NORTHERN CALIFORNIA BORDER COLLIE RESCUE AND ADOPTIONS	CORNING	California	United States	Animal- Related	Animal Protection and Welfare	Self Certified	2025-01-24	975.00	\$10.00	\$9,750.00	\$9,750.00	\$10,000.00	Round 1
840-465178920	FORUM86	Portland	Oregon	United States	Arts, Culture, and Humanities	Cultural, Ethnic Awareness	Self Certified	2024-08-31	50.00	\$10.00	\$500.00	\$500.00	\$10,000.00	Round 1
840-465588852	SOUTH WHIDBEY HOMELESS COALITION	Langley	Washington	United States	Housing and Shelter	Homeless, Temporary Shelter For	Expired	2024-01-31	65.00	\$10.00	\$650.00	\$650.00	\$10,000.00	Round 1
840-465594832	KALADHAARA ARTS ACADEMY	RNCHO CORDOVA	California	United States	Arts, Culture, and Humanities	Performing Arts Centers	Self Certified	2024-12-04	200.00	\$10.00	\$2,000.00	\$2,000.00	\$10,000.00	Round 1
840-465620501	CHAPARRAL HIGH SCHOOL BOYS BASKETBA	PHOENIX	Arizona	United States	Education	Sports/Booster/Club/Band	Self Certified	2024-11-21	64.00	\$10.00	\$640.00	\$640.00	\$15,000.00	Round 1
													•	

Cause Code	Cause Name	Cause City	Cause State or Province	Cause Country	Cause Category	Cause Subcategory	Self Certification Status		Volunteerd Hours Ma	ourly atch Rate	Total	Adjusted Total	Match Cap	Payout Round
840-465696871	NM HEAT BASKETBALL	ALBUQUERQUE	New Mexico	United States	Recreation and Sports	Basketball	Self Certified	2024-09-15	155.00	\$10.00	\$1,550.00	\$1,550.00	\$10,000.00	Round 1
840-465738577	IGNITED TECH	PORTLAND	Oregon	United States	Science and Technology	Computer Science	Self Certified	2024-10-06	78.00	\$10.00	\$780.00	\$780.00	\$10,000.00	Round 1
840-465765753	STUDENT CLOTHING BANK	ALBUQUERQUE	New Mexico	United States	Human Services	Children's, Youth Services	Self Certified	2024-11-26	106.50	\$10.00	\$1,065.00	\$1,065.00	\$10,000.00	Round 1
840-470946537	KANNADA SANGHA OF SACRAMENTO	Sacramento	California	United States	Arts, Culture, and Humanities	Cultural, Ethnic Awareness	Self Certified	2024-10-26	75.00	\$10.00	\$750.00	\$750.00	\$10,000.00	Round 1
840- 470954500/project/3P6HELHHS B	Boy Scouts Troop 645 via LAKEVIEW ELEMENTARY P T O	EL DORADO HLS	California	United States	Education	Scouting Organizations	Self Certified	2024-07-31	409.25	\$10.00	\$4,092.50	\$4,092.50	\$15,000.00	Round 1
840-470958489	Placer Family Housing dba Acres of Hope	Auburn	California	United States	Housing and Shelter	Low-Cost Temporary Housing	Self Certified	2024-08-15	96.00	\$10.00	\$960.00	\$960.00	\$10,000.00	Round 1
840-471015808	NSBE PORTLAND PROFESSIONALS	Portland	Oregon	United States	Social Science	Professional Societies, Associations	Self Certified	2024-07-29	274.00	\$10.00	\$2,740.00	\$2,740.00	\$10,000.00	Round 1
840-471301718	SES ROBOTICS INC	SACRAMENTO	California	United States	Education	Services, Educational, Other	Self Certified	2025-01-19	56.00	\$10.00	\$560.00	\$560.00	\$15,000.00	Round 1
340-471458980	SAMHITA CULTURAL ASSOCIATION OF ARIZONA	CHANDLER	Arizona	United States	Arts, Culture, and Humanities	Cultural, Ethnic Awareness	Self Certified	2024-10-09	172.00	\$10.00	\$1,720.00	\$1,720.00	\$10,000.00	Round 1
40-471558120	CATS AND DOGS FOREVER SANCTUARY	La Vernia	Texas	United States	Animal- Related	Animal Protection and Welfare	Self Certified	2024-10-05	212.33	\$10.00	\$2,123.30	\$2,123.30	\$10,000.00	Round 1
340-471570314	ORGANIZATION FOR NONPROFIT EXCELLENCE INC	WORCESTER	Massachusetts	United States	Community Improvement and Capacity	Nonprofit Management	Self Certified	2024-09-06	29.00	\$10.00	\$290.00	\$290.00	\$10,000.00	Round 1
40-471580783	CAMAS ROBOTICS BOOSTER CLUB	Camas	Washington	United States	Education	Sports/Booster/Club/Band	Self Certified	2025-02-27	539.00	\$10.00	\$5,390.00	\$5,390.00	\$15,000.00	Round 1
40-471639266	FURFRIENDS ANIMAL RESCUE INC	Saint Helens	Oregon	United States	Animal- Related	Animal Protection and Welfare	Self Certified	2024-08-20	920.00	\$10.00	\$9,200.00	\$9,200.00	\$10,000.00	Round 1
40-471674469	LINCOLN PREPARATORY ACADEMY	PHOENIX	Arizona	United States	Education	Charter Schools	Self Certified	2024-08-07	20.00	\$10.00	\$200.00	\$200.00	\$15,000.00	Round 1
40-471826506	BLACK EDUCATIONAL ACHIEVEMENT MOVEMENT	Portland	Oregon	United States	Education	Services, Educational, Other	Self Certified	2025-01-14	56.00	\$10.00	\$560.00	\$560.00	\$15,000.00	Round 1
40-471842500	NEWBERG AMBUSH FASTPITCH SOFTBALL ASSOCIATION	Dundee	Oregon	United States	Recreation and Sports	Baseball, Softball	Self Certified	2024-11-16	30.00	\$10.00	\$300.00	\$300.00	\$10,000.00	Round 1
40-471988910	RAJYOGA MEDITATION & RESEARCH CENTER	MILPITAS	California	United States	Human Services	Personal Social Services	Self Certified	2024-06-30	1512.00	\$10.00	\$15,120.00	\$10,000.00	\$10,000.00	Round 1
40-472022300	BEAVERTON HIGH SCHOOL SUCCESS FUND	Beaverton	Oregon	United States	Education	Parent/Teacher Group	Self Certified	2024-05-24	114.75	\$10.00	\$1,147.50	\$1,147.50	\$15,000.00	Round 1
840-472229298	WESTVIEW WRESTLING	BEAVERTON	Oregon	United States	Recreation and Sports	Amateur Sports Clubs, Leagues, N.E.C.	Self Certified	2025-02-19	75.00	\$10.00	\$750.00	\$750.00	\$10,000.00	Round 1
340-472245351	DUEKER RANCH INC	Star Valley	Arizona	United States	Health - General and Rehabilitative	Rehabilitative Medical Services	Self Certified	2024-06-13	595.08	\$10.00	\$5,950.80	\$5,950.80	\$10,000.00	Round 1
340-472315634	EXPERIENCE THEATRE PROJECT	BEAVERTON	Oregon	United States	Arts, Culture, and Humanities	Theater	Self Certified	2024-11-30	20.00	\$10.00	\$200.00	\$200.00	\$10,000.00	Round 1
40-472449671	Arizona Cycling Association	SCOTTSDALE	Arizona	United States	Recreation and Sports	Recreation, Sports, Leisure, Athletics N.E.C.	Self Certified	2024-07-31	192.00	\$10.00	\$1,920.00	\$1,920.00	\$10,000.00	Round 1
40-472496798	Second Chance German Shepherd Rescue	Auburn	California	United States	Animal- Related	Animal Protection and Welfare	Expired	2023-12-25	22.50	\$10.00	\$225.00	\$225.00	\$10,000.00	Round 1
40-472976903	CDS AZTEC LACROSSE CLUB	TEMPE	Arizona	United States	Recreation and Sports	Amateur Sports Clubs, Leagues, N.E.C.	Self Certified	2024-06-04	197.00	\$10.00	\$1,970.00	\$1,970.00	\$10,000.00	Round 1
40- .73055211/project/31E5CQAZX	CHINMAYA MISSION SACRAMENTO for Culturals Programs - Chinmaya Mission Sacramento	Sacramento	California	United States	Religion- Related	Hindu	Self Certified	2025-01-15	598.50	\$10.00	\$5,985.00	\$5,985.00	\$10,000.00	Round 1
40-473208534	ODISSI DANCE COMPANY	AUSTIN	Texas	United States	Arts, Culture, and Humanities	Performing Arts Organizations	Self Certified	2024-03-21	125.00	\$10.00	\$1,250.00	\$1,250.00	\$10,000.00	Round 1
40-473269908	KAWANGWARE KIDS	PORTLAND	Oregon	United States	International, Foreign Affairs, and	International Relief	Self Certified	2024-11-12	420.00	\$10.00	\$4,200.00	\$4,200.00	\$10,000.00	Round 1
40-473437813	CITY HOPE	CHANDLER	Arizona	United States	Food, Agriculture, and Nutrition	Food Banks, Food Pantries	Self Certified	2025-01-30	232.00	\$10.00	\$2,320.00	\$2,320.00	\$10,000.00	Round 1
40-473548647	ORANGEVALE COMMUNITY FOUNDATION	ORANGEVALE	California	United States	Food, Agriculture, and Nutrition	Food Service, Free Food Distribution Programs	Self Certified	2024-07-26	30.00	\$10.00	\$300.00	\$300.00	\$10,000.00	Round 1
40-473599171	MOUNTAIN POINTE HIGH SCHOOL BAND BOOSTERS	Phoenix	Arizona	United States	Education	Sports/Booster/Club/Band	Self Certified	2024-06-27	50.50	\$10.00	\$505.00	\$505.00	\$15,000.00	Round 1
840-473612482	ALOHA COMMUNITY FARMERS MARKET	Beaverton	Oregon	United States	Food, Agriculture, and Nutrition	Food Service, Free Food Distribution Programs	Self Certified	2024-08-16	113.00	\$10.00	\$1,130.00	\$1,130.00	\$10,000.00	Round 1

Cause Code	Cause Name	Cause City	Cause State or Province	Cause Country	Cause Category	Cause Subcategory	Self Certification Status	Self Certification Expiration	Volunteerd Hours	Hourly Match Rate	Total	Adjusted Total	Match Cap	Payout Round
840-473640687	NATIONAL CHARITY LEAGUE INC EL DORADO HILLS CHAPTER	EL DORADO HLS	California	United States	Philanthropy, Voluntarism, and	Philanthropy, Charity, Voluntarism Promotion, General	Self Certified		23.50	\$10.00	\$235.00	\$235.00	\$10,000.00	Round 1
840-473725301	FRIENDS OF TEACH FOR INDIA INC	New York	New York	United States	Education	Services, Educational, Other	Self Certified	2025-02-07	540.00	\$10.00	\$5,400.00	\$5,400.00	\$15,000.00	Round 1
840-473755556	STATE OF BLACK ARIZONA	PHOENIX	Arizona	United States	Human Services	Human Service Organizations Multipurpose	Self Certified	2024-09-01	20.00	\$10.00	\$200.00	\$200.00	\$10,000.00	Round 1
840-474028147	GEORGE MIDDLE SCHOOL PTA	PORTLAND	Oregon	United States	Education	Parent/Teacher Group	Self Certified	2024-06-19	42.00	\$10.00	\$420.00	\$420.00	\$15,000.00	Round 1
840-474044510	COMFORT FOOD PANTRY INC	CHANDLER	Arizona	United States	Food, Agriculture, and Nutrition	Food Banks, Food Pantries	Self Certified	2024-08-03	25.25	\$10.00	\$252.50	\$252.50	\$10,000.00	Round 1
840-474067812	HUMANITY BEYOND BARRIERS INC	DAVIS	California	United States	International, Foreign Affairs, and	International Relief	Self Certified	2024-06-21	60.00	\$10.00	\$600.00	\$600.00	\$10,000.00	Round 1
840-474071744	MAUPIN AREA CHAMBER ENDOWMENT	MAUPIN	Oregon	United States	Human Services	Fund Raising and/or Fund Distribution	Self Certified	2024-08-12	42.50	\$10.00	\$425.00	\$425.00	\$10,000.00	Round 1
840- 474077312/project/3GYGA17K4 B	DARSHAN2DIVINITY for Outside2Inside	SANTA CLARA	California	United States	Religion- Related	Hindu	Self Certified	2024-09-04	1007.00	\$10.00	\$10,070.00	\$10,000.00	\$10,000.00	Round 1
840-474078112	ELEVATE A GIRL FOUNDATION INC	NORTH PLAINS	Oregon	United States	Education	Services, Educational, Other	Self Certified	2024-08-23	326.00	\$10.00	\$3,260.00	\$3,260.00	\$15,000.00	Round 1
840-474159875	OUTSIDE THE FRAME	Portland	Oregon	United States	Arts, Culture, and Humanities	Film, Video	Self Certified	2025-01-02	60.00	\$10.00	\$600.00	\$600.00	\$10,000.00	Round 1
840- 474299311/project/4FJBPYXAD D	WHITNEY ATHLETICS BOOSTER for Track And Field	ROCKLIN	California	United States	Education	Sports/Booster/Club/Band	Self Certified	2024-10-17	155.00	\$10.00	\$1,550.00	\$1,550.00	\$15,000.00	Round 1
840- 474299311/project/4HK6EJCGG F	WHITNEY ATHLETICS BOOSTER for Women's Basketball	ROCKLIN	California	United States	Education	Sports/Booster/Club/Band	Self Certified	2024-10-17	80.00	\$10.00	\$800.00	\$800.00	\$15,000.00	Round 1
840-474299311	WHITNEY ATHLETICS BOOSTER	ROCKLIN	California	United States	Education	Sports/Booster/Club/Band	Self Certified	2024-10-17	29.00	\$10.00	\$290.00	\$290.00	\$15,000.00	Round 1
840-474359159	Century Band Boosters	Hillsboro	Oregon	United States	Education	Sports/Booster/Club/Band	Self Certified	2024-11-04	642.75	\$10.00	\$6,427.50	\$6,427.50	\$15,000.00	Round 1
840-474447950	KITTEN CATTITUDE RESCUE	BOULDER CREEK	California	United States	Animal- Related	Animal Protection and Welfare	Self Certified	2024-08-06	210.00	\$10.00	\$2,100.00	\$2,100.00	\$10,000.00	Round 1
840-474478153	TAMIL ARAMBAP PALLI	PORTLAND	Oregon	United States	Education	Education N.E.C.	Self Certified	2024-10-02	126.16	\$10.00	\$1,261.60	\$1,261.60	\$15,000.00	Round 1
840-474504650	PALLIUM INDIA INC	Charlotte	North Carolina	United States	Health - General and Rehabilitative	Health - General and Rehabilitative N.E.C.	Self Certified	2024-11-01	72.00	\$10.00	\$720.00	\$720.00	\$10,000.00	Round 1
840-474514381	GLENCOE YOUTH BASKETBALL	HILLSBORO	Oregon	United States	Recreation and Sports	Recreation, Sports, Leisure, Athletics N.E.C.	Self Certified	2024-05-18	112.00	\$10.00	\$1,120.00	\$1,120.00	\$10,000.00	Round 1
840-474662793	MCCLINTOCK HIGH SCHOOL MASQUE AND G	Tempe	Arizona	United States	Education	Services, Educational, Other	Self Certified	2024-10-31	186.00	\$10.00	\$1,860.00	\$1,860.00	\$15,000.00	Round 1
840-474687471	FAMILY JUSTICE CENTER OF WASHINGTON COUNTY	Beaverton	Oregon	United States	Crime and Legal Related	Protection Against, Prevention of Neglect, Abuse, Exploitation	Self Certified	2024-12-20	411.59	\$10.00	\$4,115.90	\$4,115.90	\$10,000.00	Round 1
840-474732040	THE UPPER ROOM DINING HALL INC	Placerville	California	United States	Food, Agriculture, and Nutrition	Food Service, Free Food Distribution Programs	Self Certified	2024-10-11	45.50	\$10.00	\$455.00	\$455.00	\$10,000.00	Round 1
840-474946931	CVHS BAND BOOSTER ORGANIZATION	GILBERT	Arizona	United States	Education	Sports/Booster/Club/Band	Self Certified	2025-02-08	58.00	\$10.00	\$580.00	\$580.00	\$15,000.00	Round 1
840-475005730	Arlington Eats Inc	Arlington	Massachusetts	United States	Food, Agriculture, and Nutrition	Food Banks, Food Pantries	Self Certified	2024-10-05	255.75	\$10.00	\$2,557.50	\$2,557.50	\$10,000.00	Round 1
840-475009018	SAI SEVA SADAN	Rancho Cordova	California	United States	Arts, Culture, and Humanities	Arts, Cultural Organizations - Multipurpose	Self Certified	2024-07-12	124.00	\$10.00	\$1,240.00	\$1,240.00	\$10,000.00	Round 1
840- 475046861/project/2YGJ133W8 K	CONGREGATION BETH TEFILLAH OF ARIZONA for Kosher Food Bank	SCOTTSDALE	Arizona	United States	Religion- Related	Jewish	Self Certified	2024-11-29	20.00	\$10.00	\$200.00	\$200.00	\$10,000.00	Round 1
840-475231938	OREGON ROWING UNLIMITED-PDX	Beaverton	Oregon	United States	Recreation and Sports	Swimming, Water Recreation	Self Certified	2024-12-08	50.00	\$10.00	\$500.00	\$500.00	\$10,000.00	Round 1
840-475284354	FALLEN OUTDOORS	Brush Prairie	Washington	United States	Recreation and Sports	Fishing, Hunting Clubs	Self Certified	2024-06-14	59.00	\$10.00	\$590.00	\$590.00	\$10,000.00	Round 1
840-475311420	CROSSING GUARDIANS	CHULA VISTA	California	United States	Animal- Related	Animal-Related N.E.C.	Self Certified	2024-08-22	480.09	\$10.00	\$4,800.90	\$4,800.90	\$10,000.00	Round 1
840-475418950	BIKE CAMPAIGN	DAVIS	California	United States	Recreation and Sports	Physical Fitness and Community Recreational Facilities	Self Certified	2025-02-16	214.50	\$10.00	\$2,145.00	\$2,145.00	\$10,000.00	Round 1
840-475429192	Justice At Last Inc	San Carlos	California	United States	Crime and Legal Related	Protection Against, Prevention		2024-10-06	58.00	\$10.00	\$580.00	\$580.00	\$10,000.00	Round 1
840-475470724	ONE TEAM LACROSSE INC	Peoria	Arizona	United States	Recreation and Sports	Amateur Sports Clubs, Leagues, N.E.C.	Self Certified	2024-08-30	479.00	\$10.00	\$4,790.00	\$4,790.00	\$10,000.00	Round 1

Cause Code	Cause Name	Cause City	Cause State or Province	Cause Country	Cause Category	Cause Subcategory	Self Certification Status	Self Certification Expiration	Volunteerd Hours	Hourly Match Rate	Total	Adjusted Total	Match Cap	Payout Round?
840-475555815	FRIENDS OF FE VIVA INC	NASHVILLE	Tennessee	United States	International, Foreign Affairs, and	Fund Raising and/or Fund Distribution	Self Certified	2024-07-12	22.00	\$10.00	\$220.00	\$220.00	\$10,000.00	Round 1
840-481272724	El Dorado County German Shepherd Rescue	Shingle Springs	California	United States	Animal- Related	Animal Protection and Welfare	Self Certified	2024-09-17	87.00	\$10.00	\$870.00	\$870.00	\$10,000.00	Round 1
	BULLIS-PURISSIMA ELEMENTARY SCHOOL FOUNDATION	LOS ALTOS	California	United States	Education	Services, Educational, Other	Self Certified	2025-02-28	622.25	\$10.00	\$6,222.50	\$6,222.50	\$15,000.00	Round 1
840-481307899	BANGLADESH THEATER OF ARIZONA	Chandler	Arizona	United States	Arts, Culture, and Humanities	Cultural, Ethnic Awareness	Self Certified	2024-09-25	971.00	\$10.00	\$9,710.00	\$9,710.00	\$10,000.00	Round 1
840-510138643	CALIFORNIA MUSIC CENTER	SAN FRANCISCO	California	United States	Arts, Culture, and Humanities	Performing Arts Schools	Self Certified	2024-07-31	105.00	\$10.00	\$1,050.00	\$1,050.00	\$10,000.00	Round 1
840-510141214	Center for Hope & Safety	SALEM	Oregon	United States	Human Services	Family Violence Shelters, Services	Self Certified	2024-09-05	132.50	\$10.00	\$1,325.00	\$1,325.00	\$10,000.00	Round 1
840-510142808	CHORAL ARTS ENSEMBLE OF PORTLAND	PORTLAND	Oregon	United States	Arts, Culture, and Humanities	Arts, Culture, and Humanities N.E.C.	Self Certified	2024-07-06	103.00	\$10.00	\$1,030.00	\$1,030.00	\$10,000.00	Round 1
840-510169319	PHOENIX SISTER CITIES INC	PHOENIX	Arizona	United States	International, Foreign Affairs, and	Promotion of International Understanding	Self Certified	2024-06-01	30.00	\$10.00	\$300.00	\$300.00	\$10,000.00	Round 1
	WOMENS RECOVERY SERVICES A UNIQUE PLACE	Santa Rosa	California	United States	Mental Health and Crisis Intervention	Mental Health Treatment - Multipurpose and N.E.C.	Self Certified	2024-04-04	130.00	\$10.00	\$1,300.00	\$1,300.00	\$10,000.00	Round 1
840-510180514	Oregon Ki Society	TIGARD	Oregon	United States	Recreation and Sports	Amateur Sports Clubs, Leagues, N.E.C.	Self Certified	2024-09-19	527.00	\$10.00	\$5,270.00	\$5,270.00	\$10,000.00	Round 1
	FRIENDS OF THE HILLSBORO PUBLIC LIBRARY	HILLSBORO	Oregon	United States	Education	Libraries	Self Certified	2025-01-11	379.00	\$10.00	\$3,790.00	\$3,790.00	\$15,000.00	Round 1
	TEMPE COMMUNITY COUNCIL INCORPORATED	TEMPE	Arizona	United States	Community Improvement and Capacity	Neighborhood, Block Associations	Self Certified	2024-12-21	40.00	\$10.00	\$400.00	\$400.00	\$10,000.00	Round 1
	JACK AND JILL OF AMERICA FOUNDATION INC	WASHINGTON	District of Columbia	United States	Youth Development	Youth Development Programs, Other	Self Certified	2024-09-11	34.00	\$10.00	\$340.00	\$340.00	\$10,000.00	Round 1
	WHITE SALMON VALLEY K-8 PARENT- TEACHER ORGANIZATION	WHITE SALMON	Washington	United States	Education	Parent/Teacher Group	Self Certified	2024-08-02	1040.00	\$10.00	\$10,400.00	\$10,000.00	\$15,000.00	Round 1
	ALLEY CATS AND ANGELS	APEX	North Carolina	United States	Animal- Related	Animal Protection and Welfare	Self Certified	2025-01-21	324.00	\$10.00	\$3,240.00	\$3,240.00	\$10,000.00	Round 1
	AARP FOUNDATION for AARP Foundation Tax-Aide Program	WASHINGTON	District of Columbia	United States	Human Services	Senior Centers, Services	Self Certified	2024-09-18	156.00	\$10.00	\$1,560.00	\$1,560.00	\$10,000.00	Round 1
840- 520882226/project/4FL46532M5	AMERICAN NEAR EAST REFUGEE AID INC for Emergency Relief in Gaza	WASHINGTON	District of Columbia	United States	International, Foreign Affairs, and	International Development, Relief Services	Self Certified	2025-01-09	300.00	\$10.00	\$3,000.00	\$3,000.00	\$10,000.00	Round 1
840-521014754	LAW FOUNDATION OF SILICON VALLEY	SAN JOSE	California	United States	Crime and Legal Related	Legal Services	Self Certified	2025-02-09	48.00	\$10.00	\$480.00	\$480.00	\$10,000.00	Round 1
	NATIONAL VETERANS LEGAL SERVICES PROGRAM INC	Arlington	Virginia	United States	Crime and Legal Related	Legal Services	Self Certified	2025-02-15	35.00	\$10.00	\$350.00	\$350.00	\$10,000.00	Round 1
840-521334719	ADDICTIONS REFERRAL CENTER INC	Marlborough	Massachusetts	United States	Mental Health and Crisis Intervention	Mental Health Association, Multipurpose	Self Certified	2024-06-28	823.75	\$10.00	\$8,237.50	\$8,237.50	\$10,000.00	Round 1
840-521469738	Equal Justice Works	Washington	District of Columbia	United States	Crime and Legal Related	Single Organization Support	Self Certified	2024-12-22	71.50	\$10.00	\$715.00	\$715.00	\$10,000.00	Round 1
	DISABLED AMERICAN VETERANS CHARITABLE SERVICE TRUST	Erlanger	Kentucky	United States	Public and Societal Benefit	Single Organization Support	Self Certified	2024-09-12	101.00	\$10.00	\$1,010.00	\$1,010.00	\$10,000.00	Round 1
840-521647017	HINDU SWAYAMSEVAK SANGH U S A INC	ROCKAWAY	New Jersey	United States	Human Services	Human Services - Multipurpose and Other N.E.C.	Self Certified	2025-02-11	25.00	\$10.00	\$250.00	\$250.00	\$10,000.00	Round 1
840-521656369	SUNSET YOUTH FOOTBALL	PORTLAND	Oregon	United States	Recreation and Sports	Football Clubs, Leagues	Self Certified	2024-11-06	202.00	\$10.00	\$2,020.00	\$2,020.00	\$10,000.00	Round 1
840-521962712	SCORE FOUNDATION	HERNDON	Virginia	United States	Philanthropy, Voluntarism, and	Fund Raising and/or Fund Distribution	Self Certified	2025-02-06	401.00	\$10.00	\$4,010.00	\$4,010.00	\$10,000.00	Round 1
	PRO BONO INSTITUTE	WASHINGTON	District of Columbia	United States	Crime and Legal Related	Legal Services	Self Certified	2024-11-28	90.00	\$10.00	\$900.00	\$900.00	\$10,000.00	Round 1
840-522103204	Arizona Golf and Life Skills, Inc. dba. First Tee - Phoenix	PHOENIX	Arizona	United States	Recreation and Sports	Golf	Self Certified	2024-06-06	35.00	\$10.00	\$350.00	\$350.00	\$10,000.00	Round 1
840-522153488	CALIFORNIA DRAGON BOAT ASSOCIATION	San Francisco	California	United States	Recreation and Sports	Amateur Sports Clubs, Leagues, N.E.C.	Self Certified	2024-07-18	47.00	\$10.00	\$470.00	\$470.00	\$10,000.00	Round 1
	INTERNATIONAL ASSOCIATION FOR HUMAN VALUES (IAHV)	WASHINGTON	District of Columbia	United States	International, Foreign Affairs, and	International Development, Relief Services	Self Certified	2025-01-24	139.00	\$10.00	\$1,390.00	\$1,390.00	\$10,000.00	Round 1
	GERMAN SHEPHERD RESCUE OF NORTHERN CALIFORNIA	CUPERTINO	California	United States	Animal- Related	Animal Protection and Welfare			95.00	\$10.00	\$950.00	\$950.00	\$10,000.00	Round 1
	NATIONAL COLLEGIATE TABLE TENNIS ASSOCIATION	SAINT PETERS	Missouri	United States	Recreation and Sports	Tennis, Racquet Sports Clubs, Leagues	Self Certified	2024-08-14	52.57	\$10.00	\$525.70	\$525.70	\$10,000.00	Round 1

Cause Code	Cause Name	Cause City	Cause State or Province	Cause Country	Cause Category	Cause Subcategory	Self Certification Status	Self Certification Expiration	Volunteerd Hours	Hourly Match Rate	Total	Adjusted Total	Match Cap	Payout Round?
840-530196483	SOCIETY FOR SCIENCE & THE PUBLIC	WASHINGTON	District of Columbia	United States	Science and Technology	Professional Societies, Associations	Self Certified	2024-06-02	36.00	\$10.00	\$360.00	\$360.00	\$10,000.00	Round 1
	AMERICAN RED CROSS for American Red Cross of Central and Northern Arizona - 03008	Washington	District of Columbia	United States	Public Safety, Disaster Preparedness,	Disaster Preparedness and Relief Services	Self Certified	2024-06-28	52.25	\$10.00	\$522.50	\$522.50	\$10,000.00	Round 1
	AMERICAN RED CROSS for American Red Cross of Northwest Oregon - 37104	Washington	District of Columbia	United States	Public Safety, Disaster Preparedness,	Disaster Preparedness and Relief Services	Self Certified	2024-06-28	91.00	\$10.00	\$910.00	\$910.00	\$10,000.00	Round 1
840- 530196605/project/4MPNX7MD7 R	AMERICAN RED CROSS for Blood Services	Washington	District of Columbia	United States	Public Safety, Disaster Preparedness,	Disaster Preparedness and Relief Services	Self Certified	2024-06-28	326.09	\$10.00	\$3,260.90	\$3,260.90	\$10,000.00	Round 1
840- 530196605/project/3ZSQZYYR1 D	AMERICAN RED CROSS for Disaster Relief	Washington	District of Columbia	United States	Public Safety, Disaster Preparedness,	Disaster Preparedness and Relief Services	Self Certified	2024-06-28	249.50	\$10.00	\$2,495.00	\$2,495.00	\$10,000.00	Round 1
	AMERICAN RED CROSS for Where It is Needed Most	Washington	District of Columbia	United States	Public Safety, Disaster Preparedness,	Disaster Preparedness and Relief Services	Self Certified	2024-06-28	418.91	\$10.00	\$4,189.10	\$4,189.10	\$10,000.00	Round 1
	AMERICAN RED CROSS for Your Local Chapter	Washington	District of Columbia	United States	Public Safety, Disaster Preparedness,	Disaster Preparedness and Relief Services	Self Certified	2024-06-28	437.58	\$10.00	\$4,375.80	\$4,375.80	\$10,000.00	Round 1
	St Pius X Church for St. Pius X Community Outreach	Portland	Oregon	United States	Religion-Related	Christian	Self Certified	2024-07-27	142.50	\$10.00	\$1,425.00	\$1,425.00	\$10,000.00	Round 1
840-530196617_023020	St Mary-Basha Catholic Elementary	Chandler	Arizona	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2024-06-16	26.00	\$10.00	\$260.00	\$260.00	\$15,000.00	Round 1
840-530196617_023614	St John's-Notre Dame School	Folsom	California	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2024-06-29	2311.25	\$10.00	\$23,112.50	\$15,000.00	\$15,000.00	Round 1
840-530196617_024391	St Frances Cabrini High School	Allen Park	Michigan	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2025-03-01	87.00	\$10.00	\$870.00	\$870.00	\$15,000.00	Round 1
840-530196617_024759	Seton Catholic Preparatory High School	Chandler	Arizona	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2024-10-17	25.25	\$10.00	\$252.50	\$252.50	\$15,000.00	Round 1
840-530196617_024820	JSerra Catholic High School	San Juan Capistrano	California	United States	Education	Secondary, High School	Self Certified	2024-08-12	21.00	\$10.00	\$210.00	\$210.00	\$15,000.00	Round 1
530196617_030604/project/4CM	St. Andrew Dung-Lac Mission Southeast Asian Vicariate /Our Lady of Lavang Parish for St. Andrew Dung-Lac Mission Vietnamese	Aloha	Oregon	United States	Religion-Related	Christian	Self Certified	2024-10-01	489.50	\$10.00	\$4,895.00	\$4,895.00	\$10,000.00	Round 1
840-530196617_031312	Marist School	ATLANTA	Georgia	United States	Education	Secondary, High School	Self Certified	2024-12-11	48.00	\$10.00	\$480.00	\$480.00	\$15,000.00	Round 1
840-530196617_031667	ST. JOSEPH CATHOLIC SCHOOL	Richardson	Texas	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2025-03-01	61.00	\$10.00	\$610.00	\$610.00	\$15,000.00	Round 1
VH	Nature Conservancy for The Nature Conservancy in Oregon	Arlington	Virginia	United States	Environmental Quality, Protection, and	Natural Resources Conservation and Protection	Self Certified	2024-04-27	34.75	\$10.00	\$347.50	\$347.50	\$10,000.00	Round 1
M	Nature Conservancy for The Nature Conservancy in Washington	Arlington	Virginia	United States	Environmental Quality, Protection, and	Natural Resources Conservation and Protection	Self Certified	2024-04-27	194.00	\$10.00	\$1,940.00	\$1,940.00	\$10,000.00	Round 1
540734117/project/3WMJUCLQ	THE COLLEGE OF WILLIAM & MARY FOUNDATION for William and Mary Business School Foundation	WILLIAMSBURG	Virginia	United States	Education	Services, Educational, Other	Self Certified	2024-11-30	130.00	\$10.00	\$1,300.00	\$1,300.00	\$15,000.00	Round 1
840-541115312	AFCEA EDUCATIONAL FOUNDATION	FAIRFAX	Virginia	United States	Education	Services, Educational, Other	Self Certified	2024-06-07	63.00	\$10.00	\$630.00	\$630.00	\$15,000.00	Round 1
840-541295407	MATHCOUNTS FOUNDATION	ALEXANDRIA	Virginia	United States	Science and Technology	Mathematics	Self Certified	2024-11-08	26.50	\$10.00	\$265.00	\$265.00	\$10,000.00	Round 1
	DENTON COUNTY MASTER GARDENER ASSOCIATION	DENTON	Texas	United States	Environmental Quality, Protection,	Garden Club, Horticultural Program	Self Certified	2024-07-15	846.92	\$10.00	\$8,469.20	\$8,469.20	\$10,000.00	Round 1
840- 550886675/project/457K8XQ66F	SUSTAINABLE COMMUNITY GARDENS for Charles Street Gardens	SUNNYVALE	California	United States	Food, Agriculture, and Nutrition	Agricultural Programs	Self Certified	2024-08-10	61.00	\$10.00	\$610.00	\$610.00	\$10,000.00	Round 1
840-550909203	193005 QUEEN CREEK LL	QUEEN CREEK	Arizona	United States	Recreation and Sports	Baseball, Softball	Self Certified	2024-11-06	391.00	\$10.00	\$3,910.00	\$3,910.00	\$10,000.00	Round 1
840-560532129	DUKE UNIVERSITY	Durham	North Carolina	United States	Education	University or Technological Institute	Self Certified	2024-09-29	38.98	\$10.00	\$389.80	\$389.80	\$15,000.00	Round 1
560591307/project/3FLRHWEK5	THE YOUNG MENS CHRISTIAN ASSOCIATION OF THE TRIANGLE AREA for Y Guides Annual Campaign	RALEIGH	North Carolina	United States	Human Services	Young Men's or Women's Associations (YMCA, YWCA, YWHA, YMHA)	Self Certified	2024-11-25	20.00	\$10.00	\$200.00	\$200.00	\$10,000.00	Round 1
840-561479794	PRANCING HORSE INC	Southern Pines	North Carolina	United States	Health - General and Rehabilitative	Rehabilitative Medical Services	Self Certified	2024-12-19	77.50	\$10.00	\$775.00	\$775.00	\$10,000.00	Round 1
840-562121381	RALEIGH CHARTER HIGH SCHOOL	RALEIGH	North Carolina	United States	Education	Charter Schools	Self Certified	2024-04-17	83.37	\$10.00	\$833.70	\$833.70	\$15,000.00	Round 1
840-562340917	SHARE YOUR CARE INC	Greensboro	North Carolina	United States	Employment	Employment Procurement Assistance, Job Training	Self Certified	2024-05-20	210.00	\$10.00	\$2,100.00	\$2,100.00	\$10,000.00	Round 1
840-562650476	BAG AND BAGGAGE PRODUCTIONS	HILLSBORO	Oregon	United States	Arts, Culture, and Humanities	Theater	Self Certified	2024-12-21	60.00	\$10.00	\$600.00	\$600.00	\$10,000.00	Round 1
840-566001393	University of North Carolina at Chapel Hill	Chapel Hill	North Carolina	United States	Education	University or Technological Institute	Self Certified	2024-08-31	401.00	\$10.00	\$4,010.00	\$4,010.00	\$15,000.00	Round 1

Cause Code	Cause Name	Cause City	Cause State or Province	Cause Country	Cause Category	Cause Subcategory	Self Certification Status	Self Certification Expiration	Volunteerd Hours	Hourly . Match Rate	Total	Adjusted Total	Match Cap	Payout Round?
840-566046987	NC STATE ENGINEERING FOUNDATION INC	Raleigh	North Carolina	United States	Education	Services, Educational, Other	Self Certified	2024-06-23	815.30	\$10.00	\$8,153.00	\$8,153.00	\$15,000.00	Round 1
840- 570815818/project/3U9L0M9KR 5	SHARING GODS LOVE INC for Sharing God's Love helps families in crisis with food, clothing, and financial assistance with utility bills	IRMO	South Carolina	United States	Religion-Related	Religion Related, Spiritual Development N.E.C.	Self Certified	2024-12-27	112.00	\$10.00	\$1,120.00	\$1,120.00	\$10,000.00	Round 1
840-570907043	PALMETTO CONSERVATION FOUNDATION	COLUMBIA	South Carolina	United States	Environmental Quality, Protection,	Land Resources Conservation	Self Certified	2024-10-09	189.00	\$10.00	\$1,890.00	\$1,890.00	\$10,000.00	Round 1
840-571203333	NATIONAL CHARITY LEAGUE INC SAN TAN CHAPTER	CHANDLER	Arizona	United States	Human Services	Services to Promote the Independence of Specific Populations	Self Certified	2024-06-23	419.00	\$10.00	\$4,190.00	\$4,190.00	\$10,000.00	Round 1
840-581592891	DeKalb Symphony Orchestra Inc.	Tucker	Georgia	United States	Arts, Culture, and Humanities	Performing Arts Organizations	Self Certified	2024-12-19	39.00	\$10.00	\$390.00	\$390.00	\$10,000.00	Round 1
840-582404616	DEKALB LIBRARY FOUNDATION INC	Decatur	Georgia	United States	Education	Libraries	Self Certified	2024-11-14	22.33	\$10.00	\$223.30	\$223.30	\$15,000.00	Round 1
840-582518640	TOCCOA-STEPHENS COUNTY FOUNDATION INC	TOCCOA	Georgia	United States	Community Improvement and Capacity	Community Improvement, Capacity Building N.E.C.	Self Certified	2024-11-11	70.00	\$10.00	\$700.00	\$700.00	\$10,000.00	Round 1
840- 582678580/project/4X6E6F1CT9	Bridge to Turkiye Fund for Turkey Earthquake Relief Fund	Chapel Hill	North Carolina	United States	Education	Services, Educational, Other	Self Certified	2024-07-02	20.00	\$10.00	\$200.00	\$200.00	\$15,000.00	Round 1
840-582678580	Bridge to Turkiye Fund	Chapel Hill	North Carolina	United States	Education	Services, Educational, Other	Self Certified	2024-07-02	25.00	\$10.00	\$250.00	\$250.00	\$15,000.00	Round 1
840-586043294	GEORGIA TECH FOUNDATION INC	ATLANTA	Georgia	United States	Education	Services, Educational, Other	Self Certified	2024-10-12	545.00	\$10.00	\$5,450.00	\$5,450.00	\$15,000.00	Round 1
840-592846212	DAILY BREAD INC	Melbourne	Florida	United States	Food, Agriculture, and Nutrition	Congregate Meals	Self Certified	2024-09-01	20.00	\$10.00	\$200.00	\$200.00	\$10,000.00	Round 1
840-593711800	CONDUCTIVE EDUCATION CENTER OF ORLANDO INC	WINTER PARK	Florida	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2025-02-20	80.00	\$10.00	\$800.00	\$800.00	\$15,000.00	Round 1
840-611394934	CONNECTED NATION INC	BOWLING GREEN	Kentucky	United States	Education	Education N.E.C.	Self Certified	2024-10-17	98.00	\$10.00	\$980.00	\$980.00	\$15,000.00	Round 1
840-611427206	COLORADO AMERICAN AND CHINESE PROFESSIONAL ASSOCIATION	FT COLLINS	Colorado	United States	Arts, Culture, and Humanities	Cultural, Ethnic Awareness	Self Certified	2024-10-30	25.00	\$10.00	\$250.00	\$250.00	\$10,000.00	Round 1
840-611431341	TUALATIN HILLS WATER POLO CLUB INC	BEAVERTON	Oregon	United States	Recreation and Sports	Amateur Sports Clubs, Leagues, N.E.C.	Self Certified	2024-04-24	69.75	\$10.00	\$697.50	\$697.50	\$10,000.00	Round 1
840-611472800	WALK WITH SALLY	El Segundo	California	United States	Human Services	Children's, Youth Services	Self Certified	2024-07-05	35.00	\$10.00	\$350.00	\$350.00	\$10,000.00	Round 1
840-611621209	JAIN SOCIETY OF OREGON AND SW WASHINGTON	Portland	Oregon	United States	Arts, Culture, and Humanities	Cultural, Ethnic Awareness	Self Certified	2024-09-30	605.00	\$10.00	\$6,050.00	\$6,050.00	\$10,000.00	Round 1
840-611658907	APPLEGATE TRAILS ASSOCIATION	JACKSONVILLE	Oregon	United States	Environmental Quality, Protection,	Natural Resources Conservation and Protection	Self Certified	2025-03-01	105.00	\$10.00	\$1,050.00	\$1,050.00	\$10,000.00	Round 1
840- 621513463/project/4TV5YVY69 M	MISSION ONE INC for Pokot All-Girls School	PHOENIX	Arizona	United States	Religion-Related	Protestant	Self Certified	2025-01-29	40.00	\$10.00	\$400.00	\$400.00	\$10,000.00	Round 1
840-621794866	ISHA FOUNDATION INC	MCMINNVILLE	Tennessee	United States	Education	Adult, Continuing Education	Self Certified	2024-10-27	333.00	\$10.00	\$3,330.00	\$3,330.00	\$15,000.00	Round 1
840-631260575	BOYKIN SPANIEL RESCUE	Boiling Springs	South Carolina	United States	Animal- Related	Animal Protection and Welfare	Self Certified	2024-03-27	24.00	\$10.00	\$240.00	\$240.00	\$10,000.00	Round 1
840- 636052990/project/3T63LJPAW B	CIVITAN INTERNATIONAL for Albuquerque Civitan Community Projects Association	BIRMINGHAM	Alabama	United States	Philanthropy, Voluntarism, and	Voluntarism Promotion	Self Certified	2024-11-01	115.98	\$10.00	\$1,159.80	\$1,159.80	\$10,000.00	Round 1
840-651209796	EVERGREEN CURLING CLUB	Beaverton	Oregon	United States	Recreation and Sports	Winter Sports (Snow and Ice)	Self Certified	2024-10-25	769.25	\$10.00	\$7,692.50	\$7,692.50	\$10,000.00	Round 1
840-651249528	OLD DOG HAVEN	Oak Harbor	Washington	United States	Animal- Related	Animal Protection and Welfare	Self Certified	2024-12-17	318.00	\$10.00	\$3,180.00	\$3,180.00	\$10,000.00	Round 1
840-651259371	Healing Hearts Animal Rescue & Refuge	Cave Creek	Arizona	United States	Animal- Related	Animal Protection and Welfare	Self Certified	2024-09-20	210.00	\$10.00	\$2,100.00	\$2,100.00	\$10,000.00	Round 1
840-651265196	LITTLE LEAGUE BASEBALL INC	Danville	California	United States	Recreation and Sports	Baseball, Softball	Self Certified	2024-11-18	365.00	\$10.00	\$3,650.00	\$3,650.00	\$10,000.00	Round 1
840-651283923	CUP WITH LOVE PROJECT	ELK GROVE	California	United States	Voluntary Health Organizations	Cancer	Self Certified	2025-02-22	250.00	\$10.00	\$2,500.00	\$2,500.00	\$10,000.00	Round 1
840-680004288	NATIONAL SOCIETY OF THE SONS OF THE AMERICAN REVOLUTION	FOLSOM	California	United States	Arts, Culture, and Humanities	Historical Societies, Related Historical Activities	Self Certified	2025-01-23	1080.00	\$10.00	\$10,800.00	\$10,000.00	\$10,000.00	Round 1
840-680032838	SIERRA MARLINS SWIM TEAM USS	Folsom	California	United States	Recreation and Sports	Swimming, Water Recreation	Self Certified	2024-08-07	722.00	\$10.00	\$7,220.00	\$7,220.00	\$10,000.00	Round 1
840-680073346	NAMI EL DORADO COUNTY WESTERN SLOPE AND SOUTH LAKE TAHOE	EL DORADO	California	United States	Mental Health and Crisis Intervention	Mental Health Association, Multipurpose	Self Certified	2024-08-25	410.00	\$10.00	\$4,100.00	\$4,100.00	\$10,000.00	Round 1
840-680085804	Habitat for Humanity of Greater Sacramento	SACRAMENTO	California	United States	Housing and Shelter	Housing Development, Construction, Management	Self Certified	2024-06-13	207.58	\$10.00	\$2,075.80	\$2,075.80	\$10,000.00	Round 1

Cause Code	Cause Name	Cause City	Cause State or Province	Cause Country	Cause Category	Cause Subcategory	Self Certification Status	Self Certification Expiration	Volunteerd Hours	Hourly Match Rate	Total	Adjusted Total	Match Cap	Payout Round?
840-680097526	EL DORADO COUNTY SEARCH AND RESCUE COUNCIL INC	Placerville	California	United States	Public Safety, Disaster Preparedness,	Management & Technical Assistance	Self Certified		22.00	\$10.00	\$220.00	\$220.00	\$10,000.00	Round 1
840-680132934	Saint John's Program for Real Change	Sacramento	California	United States	Human Services	Family Violence Shelters, Services	Self Certified	2024-07-06	135.50	\$10.00	\$1,355.00	\$1,355.00	\$10,000.00	Round 1
840-680153141	SOLAR COOKERS INTERNATIONAL	SACRAMENTO	California	United States	Environmental Quality, Protection,	Energy Resources Conservation and Development	Self Certified	2025-01-22	185.00	\$10.00	\$1,850.00	\$1,850.00	\$10,000.00	Round 1
840-680179973	GREENHAVEN SOCCER CLUB OF SACRAMENTO	SACRAMENTO	California	United States	Recreation and Sports	Soccer Clubs, Leagues	Self Certified	2024-08-30	69.00	\$10.00	\$690.00	\$690.00	\$10,000.00	Round 1
840-680195729	FOLSOM BAND BOOSTERS	FOLSOM	California	United States	Education	Sports/Booster/Club/Band	Self Certified	2024-05-08	91.00	\$10.00	\$910.00	\$910.00	\$15,000.00	Round 1
840-680197798	OAK RIDGE HIGH SCHOOL MUSIC BOOSTERS	EL DORADO HILLS	California	United States	Education	Sports/Booster/Club/Band	Self Certified	2024-07-27	173.50	\$10.00	\$1,735.00	\$1,735.00	\$15,000.00	Round 1
840-680205405	ST VINCENT DE PAUL SOCIETY ROSEVILLE AREA CONFERENCE INC	ROSEVILLE	California	United States	Human Services	Human Services - Multipurpose and Other N.E.C.	Self Certified	2024-11-12	184.26	\$10.00	\$1,842.60	\$1,842.60	\$10,000.00	Round 1
840-680220604	COSUMNES RIVER AQUATICS	ELK GROVE	California	United States	Recreation and Sports	Swimming, Water Recreation	Self Certified	2024-06-09	448.00	\$10.00	\$4,480.00	\$4,480.00	\$10,000.00	Round 1
840-680222952	DELTA CHILDRENS BALLET THEATRE	PITTSBURG	California	United States	Arts, Culture, and Humanities	Ballet	Self Certified	2024-06-01	22.00	\$10.00	\$220.00	\$220.00	\$10,000.00	Round 1
840-680225605	TWIN LAKES FOOD BANK	Folsom	California	United States	Food, Agriculture, and Nutrition	Food, Agriculture, and Nutrition N.E.C.	Self Certified	2025-02-13	197.00	\$10.00	\$1,970.00	\$1,970.00	\$10,000.00	Round 1
840-680227233	ESKATON FOUNDATION	Carmichael	California	United States	Philanthropy, Voluntarism, and	Public Foundations	Self Certified	2025-01-18	27.00	\$10.00	\$270.00	\$270.00	\$10,000.00	Round 1
840-680233148	SACRAMENTO YOUTH SYMPHONY	SACRAMENTO	California	United States	Arts, Culture, and Humanities	Symphony Orchestras	Self Certified	2024-05-03	43.00	\$10.00	\$430.00	\$430.00	\$10,000.00	Round 1
840-680239312	EL DORADO NORDIC SKI PATROL INC	PLACERVILLE	California	United States	Education	Education N.E.C.	Self Certified	2024-11-28	93.33	\$10.00	\$933.30	\$933.30	\$15,000.00	Round 1
840-680240002	DAVIS SENIOR HIGH SCHOOL BAND BOOSTERS	DAVIS	California	United States	Arts, Culture, and Humanities	Single Organization Support	Self Certified	2024-11-09	20.00	\$10.00	\$200.00	\$200.00	\$10,000.00	Round 1
840-680240594	FOLSOM SEA OTTER SWIM CLUB	FOLSOM	California	United States	Recreation and Sports	Swimming, Water Recreation	Self Certified	2024-08-01	124.50	\$10.00	\$1,245.00	\$1,245.00	\$10,000.00	Round 1
840-680246355	REBUILDING TOGETHER SACRAMENTO	Sacramento	California	United States	Housing and Shelter	Housing Rehabilitation	Self Certified	2025-01-02	87.00	\$10.00	\$870.00	\$870.00	\$10,000.00	Round 1
840- 680255556/project/4RNGS8AG H1	EL DORADO COMMUNITY FOUNDATION for Project Green	PLACERVILLE	California	United States	Philanthropy, Voluntarism, and	Community Foundations	Self Certified	2024-12-28	59.25	\$10.00	\$592.50	\$592.50	\$10,000.00	Round 1
840-680257139	SACRAMENTO COURT APPOINTED SPECIAL ADVOCATE PROGRAM INC	SACRAMENTO	California	United States	Civil Rights, Social Action, and Advocacy	Civil Rights, Advocacy for Specific Groups	Self Certified	2025-01-22	24.00	\$10.00	\$240.00	\$240.00	\$10,000.00	Round 1
840-680259665	GOLD COUNTRY WILDLIFE RESCUE INC	AUBURN	California	United States	Animal- Related	Wildlife Preservation, Protection	Self Certified	2025-02-27	33.00	\$10.00	\$330.00	\$330.00	\$10,000.00	Round 1
840-680272499	ANIMAL OUTREACH OF THE MOTHER LODE	DIAMOND SPRINGS	California	United States	Animal- Related	Animal Protection and Welfare	Self Certified	2025-02-05	463.00	\$10.00	\$4,630.00	\$4,630.00	\$10,000.00	Round 1
840-680317836	FOLSOM YOUTH BASKETBALL ASSOCIATION	FOLSOM	California	United States	Youth Development	Youth Centers, Clubs, Multipurpose	Self Certified	2024-03-13	102.00	\$10.00	\$1,020.00	\$1,020.00	\$10,000.00	Round 1
840-680338324	BOYS AND GIRLS CLUBS OF GREATER SACRAMENTO	SACRAMENTO	California	United States	Youth Development	Boys and Girls Clubs (Combined)	Expired	2023-10-21	44.88	\$10.00	\$448.80	\$448.80	\$10,000.00	Round 1
840-680339768	LITTLE LEAGUE BASEBALL INC	FOLSOM	California	United States	Recreation and Sports	Baseball, Softball	Self Certified	2024-12-05	336.50	\$10.00	\$3,365.00	\$3,365.00	\$10,000.00	Round 1
840-680348084	NATIONAL SOCIETY OF THE SONS OF THE AMERICAN REVOLUTION	ROCKLIN	California	United States	Arts, Culture, and Humanities	Historical Societies, Related Historical Activities	Self Certified	2024-06-20	100.00	\$10.00	\$1,000.00	\$1,000.00	\$10,000.00	Round 1
840- 680351133/project/31UGXMKTJ X	SAIVA SIDDHANTHA ASHRAM for Annadanam @ Shiva Murugan Temple	CONCORD	California	United States	Religion-Related	Religion Related, Spiritual Development N.E.C.	Self Certified	2024-09-10	42.00	\$10.00	\$420.00	\$420.00	\$10,000.00	Round 1
840-680363121	SPECIAL OLYMPICS NORTHERN CALIFORNIA INC	Pleasant Hill	California	United States	Recreation and Sports	Olympics Committees and Related International Competitions	Self Certified	2025-01-24	94.00	\$10.00	\$940.00	\$940.00	\$10,000.00	Round 1
840-680374719	FRIENDS OF WINDSOR LIBRARY	Windsor	California	United States	Education	Libraries	Self Certified	2024-03-28	86.49	\$10.00	\$864.90	\$864.90	\$15,000.00	Round 1
840-680399212	ROTARY CLUB OF CAMERON PARK FOUNDATION	CAMERON PARK	California	United States	Philanthropy, Voluntarism, and	Fund Raising Organizations That Cross Categories	Self Certified	2024-09-11	396.00	\$10.00	\$3,960.00	\$3,960.00	\$10,000.00	Round 1
840-680411901	EL DORADO HILLS SOCCER CLUB	El Dorado Hills	California	United States	Recreation and Sports	Soccer Clubs, Leagues	Self Certified	2025-02-11	84.00	\$10.00	\$840.00	\$840.00	\$10,000.00	Round 1
840-680413691	MURER HOUSE FOUNDATION	FOLSOM	California	United States	Arts, Culture, and Humanities	Historical Societies, Related Historical Activities	Self Certified	2024-09-12	61.00	\$10.00	\$610.00	\$610.00	\$10,000.00	Round 1
840-680415463	NATIONAL SOCIETY OF THE SONS OF THE AMERICAN REVOLUTION	Patterson	California	United States	Arts, Culture, and Humanities	Historical Societies, Related Historical Activities	Self Certified	2024-09-14	100.00	\$10.00	\$1,000.00	\$1,000.00	\$10,000.00	Round 1

Cause Code	Cause Name	Cause City	Cause State or Province	Cause Country	Cause Category	Cause Subcategory	Self Certification Status	Self Certification Expiration	Volunteerd H Hours M	ourly atch Rate	Total	Adjusted Total	Match Cap	Payout Round
40-680429128	SONOMA VALLEY MENTORING ALLIANCE INC	SONOMA	California	United States	Education	Services, Educational, Other	Self Certified	2024-09-01	59.00	\$10.00	\$590.00	\$590.00	\$15,000.00	Round 1
40-680442702	HOMEWARD BOUND GOLDEN RETRIEVER RESCUE AND SANCTUARY INC	ELVERTA	California	United States	Animal- Related	Animal Protection and Welfare	Self Certified	2024-09-12	38.00	\$10.00	\$380.00	\$380.00	\$10,000.00	Round 1
40-680442928	MARIN COUNTY SHERIFFS OFFICE SEARCH & RESCUE UNIT	SAN RAFAEL	California	United States	Public Safety, Disaster Preparedness	Services	Self Certified	2024-07-12	511.00	\$10.00	\$5,110.00	\$5,110.00	\$10,000.00	Round 1
40-680469386	SACRAMENTO TAMIL MANDRUM	Granite Bay	California	United States	Arts, Culture, and Humanities	Cultural, Ethnic Awareness	Self Certified	2025-02-01	387.00	\$10.00	\$3,870.00	\$3,870.00	\$10,000.00	Round 1
40-680474221	HORIZON CHARTER SCHOOL	Lincoln	California	United States	Education	Charter Schools	Self Certified	2024-03-09	350.00	\$10.00	\$3,500.00	\$3,500.00	\$15,000.00	Round 1
340-680477042	Friends of Front Street Shelter	Sacramento	California	United States	Animal- Related	Animal Protection and Welfare	Self Certified	2024-08-31	144.00	\$10.00	\$1,440.00	\$1,440.00	\$10,000.00	Round 1
40-680480143	RECONCILIATION SINGERS VOICES OF PEACE	FAIR OAKS	California	United States	Arts, Culture, and Humanities	Music Groups, Bands, Ensembles	Self Certified	2024-05-04	173.00	\$10.00	\$1,730.00	\$1,730.00	\$10,000.00	Round 1
340-680488670	LINCOLN HILLS FOUNDATION	LINCOLN	California	United States	Human Services	Senior Centers, Services	Self Certified	2024-07-05	1838.00	\$10.00	\$18,380.00	\$10,000.00	\$10,000.00	Round 1
40-680518096	FRIENDS OF THE NORTH PLAINS PUBLIC LIBRARY	North Plains	Oregon	United States	Education	Libraries	Self Certified	2024-08-01	188.83	\$10.00	\$1,888.30	\$1,888.30	\$15,000.00	Round 1
40-680590056	DIVINE CANINES	AUSTIN	Texas	United States	Animal- Related	Animal Protection and Welfare	Self Certified	2024-06-01	43.75	\$10.00	\$437.50	\$437.50	\$10,000.00	Round 1
40-680649738	UNITED CHINESE ASSOCIATION OF ARIZONA	TEMPE	Arizona	United States	Human Services	Ethnic, Immigrant Centers, Services	Self Certified	2024-08-07	310.00	\$10.00	\$3,100.00	\$3,100.00	\$10,000.00	Round 1
40-721601389	OREGON HOPE CHINESE SCHOOL	PORTLAND	Oregon	United States	Education	Specialized Education Institutions	Self Certified	2024-09-24	297.33	\$10.00	\$2,973.30	\$2,973.30	\$15,000.00	Round 1
40-731023474	AMERICAN INDIAN SCIENCE AND ENGINEERING SOCIETY	Albuquerque	New Mexico	United States	Science and Technology	Science and Technology Research Institutes, Services N.E.C.	Self Certified	2024-05-03	21.00	\$10.00	\$210.00	\$210.00	\$10,000.00	Round 1
40-731272099	CRYPTIC MASONS MEDICAL RESEARCH FOUNDATION INC	BROWNSBURG	Indiana	United States	Medical Research	Fund Raising and/or Fund Distribution	Self Certified	2024-05-29	71.75	\$10.00	\$717.50	\$717.50	\$10,000.00	Round 1
10-731642472	MONTESSORI PROJECT FOUNDATION	Orangevale	California	United States	Philanthropy, Voluntarism, and	Single Organization Support	Self Certified	2024-09-06	200.50	\$10.00	\$2,005.00	\$2,005.00	\$10,000.00	Round 1
0-731651482	UVCE FOUNDATION US	CUPERTINO	California	United States	Education	Education N.E.C.	Self Certified	2025-01-17	40.00	\$10.00	\$400.00	\$400.00	\$15,000.00	Round 1
0-731692658	VERNONIA FRIENDSHIP JAMBOREE AND LOGGING SHOW	VERNONIA	Oregon	United States	Arts, Culture, and Humanities	Arts, Cultural Organizations - Multipurpose	Self Certified	2024-06-01	47.00	\$10.00	\$470.00	\$470.00	\$10,000.00	Round 1
0-731731210	MOUNTAIN VIEW SPEEDSKATING CLUB	Vancouver	Washington	United States	Recreation and Sports	Winter Sports (Snow and Ice)	Self Certified	2024-05-01	30.75	\$10.00	\$307.50	\$307.50	\$10,000.00	Round 1
40-736108657	FEED THE CHILDREN INC	OKLAHOMA CITY	Oklahoma	United States	International, Foreign Affairs, and	International Relief	Self Certified	2024-10-16	34.00	\$10.00	\$340.00	\$340.00	\$10,000.00	Round 1
40-741109644	GIRL SCOUTS OF CENTRAL TEXAS INC	AUSTIN	Texas	United States	Youth Development	Girl Scouts of the U.S.A.	Self Certified	2024-11-28	30.00	\$10.00	\$300.00	\$300.00	\$10,000.00	Round 1
40-741366292	We Are Blood	AUSTIN	Texas	United States	Health - General and Rehabilitative	Blood Supply Related	Self Certified	2025-01-10	20.00	\$10.00	\$200.00	\$200.00	\$10,000.00	Round 1
40-741839536	EL PASO COMMUNITY FOUNDATION	EL PASO	Texas	United States	Philanthropy, Voluntarism, and	Community Foundations	Self Certified	2024-07-06	45.00	\$10.00	\$450.00	\$450.00	\$10,000.00	Round 1
0-741844898	AUSTIN CIVIC WIND ENSEMBLE	AUSTIN	Texas	United States	Arts, Culture, and Humanities	Arts, Culture, and Humanities N.E.C.	Self Certified	2025-01-07	154.00	\$10.00	\$1,540.00	\$1,540.00	\$10,000.00	Round 1
0-742050021	HABITAT FOR HUMANITY OF METRO DENVER INC	DENVER	Colorado	United States	Housing and Shelter	Housing Development, Construction, Management	Self Certified	2024-10-24	248.00	\$10.00	\$2,480.00	\$2,480.00	\$10,000.00	Round 1
0-742168895	VOLUNTEER LEGAL SERVICES OF CENTRAL TEXAS	AUSTIN	Texas	United States	Crime and Legal Related	Legal Services	Self Certified	2024-10-27	75.50	\$10.00	\$755.00	\$755.00	\$10,000.00	Round 1
0-742325340	GUNNISON COUNCIL FOR THE ARTS INC	Gunnison	Colorado	United States	Arts, Culture, and	Arts Council/Agency	Self Certified	2024-11-28	678.00	\$10.00	\$6,780.00	\$6,780.00	\$10,000.00	Round 1
0-742336171	FOOD BANK FOR LARIMER COUNTY	LOVELAND	Colorado	United States	Humanities Food, Agriculture, and Nutrition	Food Banks, Food Pantries	Self Certified	2024-10-19	20.25	\$10.00	\$202.50	\$202.50	\$10,000.00	Round 1
0- 2355411/project/3QGXB4XZF	HONORHEALTH FOUNDATION for Desert Mission	Scottsdale	Arizona	United States	Health - Genera and	Fund Raising and/or Fund Distribution	Self Certified	2024-10-02	277.00	\$10.00	\$2,770.00	\$2,770.00	\$10,000.00	Round 1
0-742355411	HONORHEALTH FOUNDATION	Scottsdale	Arizona	United States	Rehabilitative Health - General and	Fund Raising and/or Fund Distribution	Self Certified	2024-10-02	62.42	\$10.00	\$624.20	\$624.20	\$10,000.00	Round 1
0-742377902	LAUREL MOUNTAIN ELEMENTARY PTA	AUSTIN	Texas	United States	Rehabilitative Education	Parent/Teacher Group	Self Certified	2024-05-01	20.00	\$10.00	\$200.00	\$200.00	\$15,000.00	Round 1
	League of Women Voters of Arizona Education	1	Arizona	United	Civil Rights, Social Action.	Voter Education, Registration	Solf Cortified	2024-10-22	55.00	\$10.00	\$550.00	\$550.00	\$10,000.00	Pound 1

Cause Code	Cause Name	Cause City	Cause State or Province	Cause Country	Cause Category	Cause Subcategory	Self Certification Status	Self Certification Expiration	Volunteerd Hours M	ourly atch Rate	Total	Adjusted Total	Match Cap	Payout Round
840-742401708	HABITAT FOR HUMANITY CENTRAL ARIZONA	Phoenix	Arizona	United States	Community Improvement and Capacity	Community, Neighborhood Development, Improvement (General)	Self Certified		1038.50	\$10.00	\$10,385.00	\$10,000.00	\$10,000.00	Round 1
840-742538528	CHANDLER CULTURAL FOUNDATION	CHANDLER	Arizona	United States	Arts, Culture, and Humanities	Arts, Cultural Organizations - Multipurpose	Self Certified	2024-09-18	107.00	\$10.00	\$1,070.00	\$1,070.00	\$10,000.00	Round 1
840-742542664	BOOKSPRING	AUSTIN	Texas	United States	Education	Remedial Reading, Reading Encouragement	Self Certified	2024-08-18	20.00	\$10.00	\$200.00	\$200.00	\$15,000.00	Round 1
840-742551686	CHANDLER LIONS CLUB FOUNDATION	CHANDLER	Arizona	United States	Community Improvement and Capacity	Community Service Clubs	Self Certified	2024-11-30	131.00	\$10.00	\$1,310.00	\$1,310.00	\$10,000.00	Round 1
840-742569827	TREE FOLKS INC	Austin	Texas	United States	Environmental Quality, Protection,	Forest Conservation	Self Certified	2024-09-22	24.00	\$10.00	\$240.00	\$240.00	\$10,000.00	Round 1
840-742603144	BARTON CREEK ELEMENTARY BOOSTER CLUB	AUSTIN	Texas	United States	Education	Sports/Booster/Club/Band	Self Certified	2024-06-17	360.00	\$10.00	\$3,600.00	\$3,600.00	\$15,000.00	Round 1
340-742627305	FRIENDS OF THE GEORGETOWN PUBLIC LIBRARY	GEORGETOWN	Texas	United States	Education	Libraries	Self Certified	2024-09-29	20.00	\$10.00	\$200.00	\$200.00	\$15,000.00	Round 1
840-742699667	AUSTIN MONTESSORI SCHOOL INC	AUSTIN	Texas	United States	Education	Kindergarten, Preschool, Nursery School, Early Admissions	Self Certified	2024-12-11	127.00	\$10.00	\$1,270.00	\$1,270.00	\$15,000.00	Round 1
840-742743333	BREAST CANCER RESOURCE CENTER, INC	Austin	Texas	United States	Voluntary Health Organizations	Cancer	Self Certified	2024-05-31	26.00	\$10.00	\$260.00	\$260.00	\$10,000.00	Round 1
340-742858317	AUSTIN PEACE ACADEMY	AUSTIN	Texas	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2024-09-13	690.00	\$10.00	\$6,900.00	\$6,900.00	\$15,000.00	Round 1
840-742887589	CEDAR PARK HIGH SCHOOL BAND BOOSTERS	CEDAR PARK	Texas	United States	Education	Sports/Booster/Club/Band	Self Certified	2024-08-29	20.83	\$10.00	\$208.30	\$208.30	\$15,000.00	Round 1
40-742888129	FRIENDS OF THE DRIPPING SPRINGS COMMUNITY LIBRARY INC	DRIPPING SPGS	Texas	United States	Education	Libraries	Self Certified	2024-08-01	55.00	\$10.00	\$550.00	\$550.00	\$15,000.00	Round 1
340-742893360	AUSTIN PETS ALIVE	Dallas	Texas	United States	Animal- Related	Animal Protection and Welfare	Self Certified	2024-10-12	211.00	\$10.00	\$2,110.00	\$2,110.00	\$10,000.00	Round 1
40-742912743	ROCKDALE HISTORICAL SOCIETY	ROCKDALE	Texas	United States	Arts, Culture, and Humanities	Historical Societies, Related Historical Activities	Self Certified	2024-09-12	146.00	\$10.00	\$1,460.00	\$1,460.00	\$10,000.00	Round 1
40-742964260	Central Texas Food Bank Foundation	AUSTIN	Texas	United States	Food, Agriculture, and Nutrition	Single Organization Support	Self Certified	2024-09-19	25.25	\$10.00	\$252.50	\$252.50	\$10,000.00	Round 1
40- 43020467/project/3LKTL1QRS	HOLY CROSS COPTIC ORTHODOX CHURCH OF AUSTIN for Holy Cross Coptic Church - HOPE Social Services	Round Rock	Texas	United States	Religion-Related	Protestant	Self Certified	2024-09-29	46.00	\$10.00	\$460.00	\$460.00	\$10,000.00	Round 1
40-743052925	LOWER NEHALEM COMMUNITY TRUST	MANZANITA	Oregon	United States	Animal- Related	Wildlife Preservation, Protection	Self Certified	2025-01-29	22.50	\$10.00	\$225.00	\$225.00	\$10,000.00	Round 1
40-743058786	SOUTHERN OREGON CENTER FOR COMMUNITY PARTNERSHIPS	CENTRAL POINT	Oregon	United States	Human Services	Human Service Organizations - Multipurpose	Self Certified	2025-02-14	117.70	\$10.00	\$1,177.00	\$1,177.00	\$10,000.00	Round 1
340-743207794	Girls on the Run Greater Oregon	Portland	Oregon	United States	Recreation and Sports	Amateur Sports Clubs, Leagues, N.E.C.	Self Certified	2024-12-11	86.00	\$10.00	\$860.00	\$860.00	\$10,000.00	Round 1
40-743247113	OUT TO PASTURE ANIMAL SANCTUARY	ESTACADA	Oregon	United States	Animal- Related	Animal Protection and Welfare	Self Certified	2024-05-04	20.00	\$10.00	\$200.00	\$200.00	\$10,000.00	Round 1
40-751035606	Carter BloodCare	Bedford	Texas	United States	Health - General and Rehabilitative	Blood Supply Related	Self Certified	2024-12-11	21.00	\$10.00	\$210.00	\$210.00	\$10,000.00	Round 1
40-753141599	UPAKRITI	SUNNYVALE	California	United States	International, Foreign Affairs, and	International Relief	Self Certified	2024-08-02	210.00	\$10.00	\$2,100.00	\$2,100.00	\$10,000.00	Round 1
40- 56037853/project/4LSBH3M4V	CIVIL AIR PATROL for NCR-MN-040 Skyhawk Composite Squadron	Maxwell AFB	Alabama	United States	Public Safety, Disaster Preparedness,	Search and Rescue Squads, Services	Self Certified	2024-12-05	778.50	\$10.00	\$7,785.00	\$7,785.00	\$10,000.00	Round 1
40- 56037853/project/3QCLX2W8U	CIVIL AIR PATROL for PCR-OR-034 Washington County Composite Squadron	Maxwell AFB	Alabama	United States	Public Safety, Disaster Preparedness,	Search and Rescue Squads, Services	Self Certified	2024-12-05	928.00	\$10.00	\$9,280.00	\$9,280.00	\$10,000.00	Round 1
	CIVIL AIR PATROL for RMR-ID-049-Twin Falls Composite Squadron	Maxwell AFB	Alabama	United States	Public Safety, Disaster Preparedness.	Search and Rescue Squads,	Self Certified	2024-12-05	220.00	\$10.00	\$2,200.00	\$2,200.00	\$10,000.00	Round 1
40- 56037853/project/44CKD9B7D	CIVIL AIR PATROL for RMR-UT-083	Maxwell AFB	Alabama	United States	Public Safety, Disaster Preparedness,	Search and Rescue Squads, Services	Self Certified	2024-12-05	800.00	\$10.00	\$8,000.00	\$8,000.00	\$10,000.00	Round 1
10-756037853	CIVIL AIR PATROL	Maxwell AFB	Alabama	United States	Public Safety, Disaster Preparedness,	Search and Rescue Squads, Services	Self Certified	2024-12-05	52.00	\$10.00	\$520.00	\$520.00	\$10,000.00	Round 1
40-760620808	PRATHAM USA	HOUSTON	Texas	United States	Philanthropy, Voluntarism, and	Public Foundations	Self Certified	2024-11-03	384.00	\$10.00	\$3,840.00	\$3,840.00	\$10,000.00	Round 1
.0- :0722335/project/4B0Z68PEU7	TOASTMASTERS INTERNATIONAL for 7 Toastmasters Insiders Club Officer hours	SANTA CLARA	California	United States	Recreation and Sports	Recreational, Pleasure, or Social Club	Self Certified	2024-11-17	78.08	\$10.00	\$780.80	\$780.80	\$10,000.00	Round 1
40-760800619	PORTLAND COMMUNITY WIND BAND	PORTLAND	Oregon	United States	Arts, Culture, and Humanities	Music Groups, Bands, Ensembles	Self Certified	2025-02-12	163.51	\$10.00	\$1,635.10	\$1,635.10	\$10,000.00	Round 1
340-770048512	BAY AREA PRABASI INC	Fremont	California	United States	Arts, Culture, and Humanities	Arts, Culture, and Humanities N.E.C.	Self Certified	2024-06-14	24.00	\$10.00	\$240.00	\$240.00	\$10,000.00	Round 1

Cause Code	Cause Name	Cause City	Cause State or Province	Cause Country	Cause Category	Cause Subcategory	Self Certification Status	Self Certification Expiration	Volunteerd Hours	Hourly Match Rate	Total	Adjusted Total	Match Cap	Payout Round?
840-770101107	Silicon Valley Pride	SAN JOSE	California	United States	Civil Rights, Social Action, and Advocacy	Lesbian, Gay Rights	Self Certified	2024-11-14	51.00	\$10.00	\$510.00	\$510.00	\$10,000.00	Round 1
840-770187890	VALLEY HEALTH FOUNDATION	San Jose	California	United States	Health - General and Rehabilitative	Health Support Services	Self Certified	2024-11-21	175.00	\$10.00	\$1,750.00	\$1,750.00	\$10,000.00	Round 1
840-770230275	SILICON VALLEY BASKETBALL CLUB SVBC	San Jose	California	United States	Recreation and Sports	Basketball	Self Certified	2024-08-11	30.00	\$10.00	\$300.00	\$300.00	\$10,000.00	Round 1
840- 770240101/project/4YK294NN3 V	ART OF LIVING FOUNDATION for World Culture Festival (WCF)	Cupertino	California	United States	Education	Services, Educational, Other	Self Certified	2024-08-11	25.50	\$10.00	\$255.00	\$255.00	\$15,000.00	Round 1
840-770240101	ART OF LIVING FOUNDATION	Cupertino	California	United States	Education	Services, Educational, Other	Self Certified	2024-08-11	665.00	\$10.00	\$6,650.00	\$6,650.00	\$15,000.00	Round 1
840-770241187	SAN JOSE METROPOLITAN BAND	SAN JOSE	California	United States	Arts, Culture, and Humanities	Music Groups, Bands, Ensembles	Self Certified	2024-10-15	233.00	\$10.00	\$2,330.00	\$2,330.00	\$10,000.00	Round 1
840-770256346	FOUNDATION FOR THE MONTEREY COUNTY FREE LIBRARIES	SALINAS	California	United States	Education	Education N.E.C.	Self Certified	2025-01-08	86.00	\$10.00	\$860.00	\$860.00	\$15,000.00	Round 1
840-770276309	BUBB ELEMENTARY PTA	MOUNTAIN VIEW	California	United States	Education	Parent/Teacher Group	Self Certified	2025-01-13	155.00	\$10.00	\$1,550.00	\$1,550.00	\$15,000.00	Round 1
840-770286675	MONTCLAIRE PARENT TEACHER ORGANIZATION	Los Altos	California	United States	Education	Parent/Teacher Group	Self Certified	2024-06-07	50.00	\$10.00	\$500.00	\$500.00	\$15,000.00	Round 1
840-770287771	THE KING'S ACADEMY	SUNNYVALE	California	United States	Education	Secondary, High School	Self Certified	2024-12-12	339.00	\$10.00	\$3,390.00	\$3,390.00	\$15,000.00	Round 1
840-770295494	SUNNYVALE ALLIANCE SOCCER CLUB	SUNNYVALE	California	United States	Recreation and Sports	Soccer Clubs, Leagues	Self Certified	2025-01-14	25.50	\$10.00	\$255.00	\$255.00	\$10,000.00	Round 1
840-770318470	John Sinnott Elementary School PTA	MILPITAS	California	United States	Education	Parent/Teacher Group	Self Certified	2024-08-19	40.00	\$10.00	\$400.00	\$400.00	\$15,000.00	Round 1
840-770319757	NORTH AMERICAN TAIWANESE ENGINEERS ASSOCIATION	Sunnyvale	California	United States	Community Improvement and Capacity	Business and Industry	Self Certified	2024-08-22	51.00	\$10.00	\$510.00	\$510.00	\$10,000.00	Round 1
840- 770336405/project/2TW8VHA08 K	Boy Scouts Troop 340 - San Jose via Guadalupe Home & School Club	SAN JOSE	California	United States	Education	Scouting Organizations	Self Certified	2024-11-15	204.00	\$10.00	\$2,040.00	\$2,040.00	\$15,000.00	Round 1
840-770338658	SILICON VALLEY BICYCLE COALITION	San Jose	California	United States	Community Improvement and Capacity	Alliance/Advocacy Organizations	Self Certified	2024-12-27	20.00	\$10.00	\$200.00	\$200.00	\$10,000.00	Round 1
840-770341030	HOMESTEAD HIGH SCHOOL MUSIC BOOSTERS	Sunnyvale	California	United States	Education	Sports/Booster/Club/Band	Self Certified	2024-05-09	240.00	\$10.00	\$2,400.00	\$2,400.00	\$15,000.00	Round 1
840-770342966	BRET HARTE EDUCATIONAL ASSOCIATION	SAN JOSE	California	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2024-05-23	50.00	\$10.00	\$500.00	\$500.00	\$15,000.00	Round 1
840-770350131	SAN JOSE WIND SYMPHONY	SAN JOSE	California	United States	Arts, Culture, and Humanities	Music	Self Certified	2025-02-15	25.00	\$10.00	\$250.00	\$250.00	\$10,000.00	Round 1
840-770365627	RESOURCE AREA FOR TEACHING	San Jose	California	United States	Education	Services, Educational, Other	Self Certified	2025-03-01	369.00	\$10.00	\$3,690.00	\$3,690.00	\$15,000.00	Round 1
840-770371911	OUR CITY FOREST	San Jose	California	United States	Environmental Quality, Protection,	Forest Conservation	Self Certified	2024-04-17	48.00	\$10.00	\$480.00	\$480.00	\$10,000.00	Round 1
840-770375856	BLOSSOM HILL SCHOOL HOME AND SCHOOL CLUB INC	LOS GATOS	California	United States	Education	Sports/Booster/Club/Band	Self Certified	2025-01-21	24.00	\$10.00	\$240.00	\$240.00	\$15,000.00	Round 1
840-770378066	WILDLIFE CENTER OF SILICON VALLEY	San Jose	California	United States	Animal- Related	Wildlife Sanctuary, Refuge	Self Certified	2024-11-29	71.00	\$10.00	\$710.00	\$710.00	\$10,000.00	Round 1
840-770399086	FRIENDS OF MASTER GARDENERS OF SANTA CLARA COUNTY	SAN JOSE	California	United States	Arts, Culture, and Humanities	Arts, Culture, and Humanities N.E.C.	Self Certified	2024-09-14	240.50	\$10.00	\$2,405.00	\$2,405.00	\$10,000.00	Round 1
840- 770411194/project/3UJKS02YE X	COUNCIL ON AMERICAN-ISLAMIC RELATIONS CALIFORNIA for CAIR- Sacramento Valley	Santa Clara	California	United States	Arts, Culture, and Humanities	History Museums	Self Certified	2024-11-16	120.00	\$10.00	\$1,200.00	\$1,200.00	\$10,000.00	Round 1
840-770412332	SILVER OAK EDUCATIONAL PARTNERSHIP INC	SAN JOSE	California	United States	Education	Parent/Teacher Group	Self Certified	2025-03-01	198.00	\$10.00	\$1,980.00	\$1,980.00	\$15,000.00	Round 1
840- 770448212/project/2CGGNUUE QK	CAMBRIAN EDUCATIONAL FOUNDATION for The Farnham Home and School Club	SAN JOSE	California	United States	Education	Sports/Booster/Club/Band	Self Certified	2024-11-06	77.00	\$10.00	\$770.00	\$770.00	\$15,000.00	Round 1
840-770458001	Village School PTA	CAMPBELL	California	United States	Education	Parent/Teacher Group	Self Certified	2025-02-09	21.00	\$10.00	\$210.00	\$210.00	\$15,000.00	Round 1
840-770460698	UNITED STATES YOUTH VOLLEYBALL LEAGUE	TORRANCE	California	United States	Youth Development	Youth Development Programs, Other	Self Certified	2024-11-08	54.00	\$10.00	\$540.00	\$540.00	\$10,000.00	Round 1
840- 770463781/project/2HMT2662H D	INTERNATIONAL SOCIETY FOR KRISHNA CONSCIOUSNESS OF SILICON VALLEY for Ahimsa Milk and Cruelty Free Animals	Mountain View	California	United States	Religion-Related	d Hindu	Self Certified	2024-04-24	1010.00	\$10.00	\$10,100.00	\$10,000.00	\$10,000.00	Round 1
840-	INTERNATIONAL SOCIETY FOR KRISHNA	Mountain View	California	United States	Religion-Related	d Hindu	Self Certified	2024-04-24	1001.00	\$10.00	\$10,010.00	\$10,000.00	\$10,000.00	Round 1
840-	INTERNATIONAL SOCIETY FOR KRISHNA	Mountain View	California	United States	Religion-Related	d Hindu	Self Certified	2024-04-24	1004.00	\$10.00	\$10,040.00	\$10,000.00	\$10,000.00	Round 1

Cause Code	Cause Name	Cause City	Cause State or Province	Cause Country	Cause Category	Cause Subcategory	Self Certification Status	Self Certification Expiration	Volunteerd Hours	Hourly Match Rate	Total	Adjusted Total	Match Cap	Payout Round?
840-770479128	SPAANDANB	SUNNYVALE	California	United States	International, Foreign Affairs, and	International Relief	Self Certified	2024-08-29	58.00	\$10.00	\$580.00	\$580.00	\$10,000.00	Round 1
840-770507525	COMPUTER HISTORY MUSEUM	MOUNTAIN VIEW	California	United States	Arts, Culture, and Humanities	History Museums	Self Certified	2024-05-11	52.00	\$10.00	\$520.00	\$520.00	\$10,000.00	Round 1
840-770526958	CHINESE AMERICAN SCOUTING ASSOCIATION	SAN JOSE	California	United States	Youth Development	Boy Scouts of America	Self Certified	2024-12-26	264.00	\$10.00	\$2,640.00	\$2,640.00	\$10,000.00	Round 1
840-770545072	Samskrita Bharati	Bellevue	Washington	United States	Arts, Culture, and Humanities	Humanities Organizations	Self Certified	2024-10-08	433.25	\$10.00	\$4,332.50	\$4,332.50	\$10,000.00	Round 1
840-770554248	EKAL VIDYALAYA FOUNDATION OF USA INC	Houston	Texas	United States	Education	Services, Educational, Other	Self Certified	2025-02-12	90.00	\$10.00	\$900.00	\$900.00	\$15,000.00	Round 1
840-770578707	SILICON ANDHRA	Milpitas	California	United States	Arts, Culture, and Humanities	Cultural, Ethnic Awareness	Self Certified	2024-09-14	122.00	\$10.00	\$1,220.00	\$1,220.00	\$10,000.00	Round 1
840-770608521	PHOENIX CHINESE ART ENSEMBLE	MESA	Arizona	United States	Arts, Culture, and Humanities	Music	Self Certified	2024-08-24	54.00	\$10.00	\$540.00	\$540.00	\$10,000.00	Round 1
840-776141976	SANKARA EYE FOUNDATION USA	Milpitas	California	United States	Health - General and Rehabilitative	Hospital, Specialty	Self Certified	2024-07-30	700.00	\$10.00	\$7,000.00	\$7,000.00	\$10,000.00	Round 1
840-800001275	EL DORADO MUSICAL THEATRE	EL DORADO HILLS	California	United States	Arts, Culture, and Humanities	Theater	Self Certified	2025-01-12	100.00	\$10.00	\$1,000.00	\$1,000.00	\$10,000.00	Round 1
840-800012098	NEPALI ASSOCIATION OF OREGON	BEAVERTON	Oregon	United States	Arts, Culture, and Humanities	Cultural, Ethnic Awareness	Self Certified	2024-03-28	512.50	\$10.00	\$5,125.00	\$5,125.00	\$10,000.00	Round 1
840-800062977	PONDEROSA HIGH SCHOOL FOUNDATION	Shingle Springs	California	United States	Education	Services, Educational, Other	Self Certified	2024-05-24	22.00	\$10.00	\$220.00	\$220.00	\$15,000.00	Round 1
840-800076080	COYOTES CURLING CLUB	TEMPE	Arizona	United States	Recreation and Sports	Winter Sports (Snow and Ice)	Self Certified	2024-06-03	216.50	\$10.00	\$2,165.00	\$2,165.00	\$10,000.00	Round 1
840-800196526	Arizona Association of Fine Woodworkers	Gilbert	Arizona	United States	Education	Adult, Continuing Education	Self Certified	2024-06-24	337.00	\$10.00	\$3,370.00	\$3,370.00	\$15,000.00	Round 1
840-800220452	NATIONAL ASSISTANCE LEAGUE	El Dorado Hills	California	United States	Human Services	Children's, Youth Services	Self Certified	2024-07-23	359.00	\$10.00	\$3,590.00	\$3,590.00	\$10,000.00	Round 1
840-800221753	Greater Portland Hillel	Portland	Oregon	United States	Education	Services, Educational, Other	Self Certified	2024-08-07	48.00	\$10.00	\$480.00	\$480.00	\$15,000.00	Round 1
840-800229948	CATALYST PARTNERSHIPS	BEAVERTON	Oregon	United States	Housing and Shelter	Home Improvement and Repairs	Self Certified	2024-05-08	36.50	\$10.00	\$365.00	\$365.00	\$10,000.00	Round 1
840-800244665	MY VOICE MUSIC	Portland	Oregon	United States	Arts, Culture, and Humanities	Singing, Choral	Self Certified	2024-08-28	43.50	\$10.00	\$435.00	\$435.00	\$10,000.00	Round 1
840-800276926	ARIZONA GIRLS LACROSSE ASSOCIATION	PHOENIX	Arizona	United States	Recreation and Sports	Amateur Sports Clubs, Leagues, N.E.C.	Self Certified	2024-06-17	230.58	\$10.00	\$2,305.80	\$2,305.80	\$10,000.00	Round 1
840-800276934	PINNACLE GIRLS LACROSSE INC	Scottsdale	Arizona	United States	Recreation and Sports	Amateur Sports Clubs, Leagues, N.E.C.	Self Certified	2024-05-15	58.00	\$10.00	\$580.00	\$580.00	\$10,000.00	Round 1
840-800351691	SANTA CRUZ ADVOCATES FOR THE ARTS	Nogales	Arizona	United States	Arts, Culture, and Humanities	Music Groups, Bands, Ensembles	Self Certified	2024-06-15	20.00	\$10.00	\$200.00	\$200.00	\$10,000.00	Round 1
840-800360134	Ethnographic Praxis in Industry Conference	Portland	Oregon	United States	Education	Education N.E.C.	Self Certified	2025-01-23	115.00	\$10.00	\$1,150.00	\$1,150.00	\$15,000.00	Round 1
840- 800724615/project/422ALDXSE 7	Zeitgeist Northwest for Sophie Scholl Schule	Portland	Oregon	United States	Arts, Culture, and Humanities	Cultural, Ethnic Awareness	Self Certified	2024-08-12	113.00	\$10.00	\$1,130.00	\$1,130.00	\$10,000.00	Round 1
840-800917981	BASIS MESA BOOSTERS CLUB INC	MESA	Arizona	United States	Education	Sports/Booster/Club/Band	Self Certified	2024-09-30	75.00	\$10.00	\$750.00	\$750.00	\$15,000.00	Round 1
840-810417210	MISSOULA HORSE COUNCIL	MISSOULA	Montana	United States	Recreation and Sports	Community Recreational Centers	Self Certified	2024-11-18	56.00	\$10.00	\$560.00	\$560.00	\$10,000.00	Round 1
840-810485430	MISSOULA STRIKERS SOCCER	MISSOULA	Montana	United States	Recreation and Sports	Soccer Clubs, Leagues	Self Certified	2024-12-13	88.00	\$10.00	\$880.00	\$880.00	\$10,000.00	Round 1
840-810614228	GALLARDO PTA	FOLSOM	California	United States	Education	Parent/Teacher Group	Self Certified	2024-10-26	20.00	\$10.00	\$200.00	\$200.00	\$15,000.00	Round 1
840-810656875	Glencoe Youth Baseball	HILLSBORO	Oregon	United States	Recreation and Sports	Baseball, Softball	Self Certified	2024-11-19	235.00	\$10.00	\$2,350.00	\$2,350.00	\$10,000.00	Round 1
840-810920389	FIRST CALIFORNIA ROBOTICS	Sacramento	California	United States	Youth Development	Youth Development Programs, Other	Self Certified	2025-01-11	86.50	\$10.00	\$865.00	\$865.00	\$10,000.00	Round 1
840-811027393	ARIZONA MUSHROOM SOCIETY INC	PHOENIX	Arizona	United States	Environmental Quality, Protection,	Botanical Gardens, Arboreta and Botanical Organizations	Self Certified	2024-11-22	710.00	\$10.00	\$7,100.00	\$7,100.00	\$10,000.00	Round 1
840-811170893	BLITZ HOME BUILDERS INC	Phoenix	Arizona	United States	Housing and Shelter	Housing Support Services Other	Self Certified	2024-07-06	160.00	\$10.00	\$1,600.00	\$1,600.00	\$10,000.00	Round 1
840-811208403	FEED THE MASS	Portland	Oregon	United States	Food, Agriculture, and Nutrition	Food, Agriculture, and Nutrition N.E.C.	Self Certified	2024-06-01	63.00	\$10.00	\$630.00	\$630.00	\$10,000.00	Round 1

Section Sect	Cause Code	Cause Name	Cause City	Cause State or Province	Cause Country	Cause Category	Cause Subcategory	Self Certification Status	Self Certification Expiration	Volunteerd Hours	Hourly Match Rate	Total	Adjusted Total	Match Cap	Payout Round?
State Stat	840-811289828	BEAVERTON PUBLIC SCHOOLS ROBOTICS	PORTLAND	Oregon				Self Certified	2024-10-02	642.08	\$10.00	\$6,420.80	\$6,420.80	\$10,000.00	Round 1
Part	840-811291495	STREET SAVVY DOG RESCUE	Milwaukie	Oregon			Animal Protection and Welfare	Self Certified	2024-11-04	1020.00	\$10.00	\$10,200.00	\$10,000.00	\$10,000.00	Round 1
Section Sect	840-811438957	INTERNATIONAL PERFORMING ARTS	PORTLAND	Oregon		and	Performing Arts Organizations	Self Certified	2024-11-22	120.50	\$10.00	\$1,205.00	\$1,205.00	\$10,000.00	Round 1
Company Comp	840-811441427	Valor Christian School International	Beaverton	Oregon		Education		Self Certified	2024-09-07	219.25	\$10.00	\$2,192.50	\$2,192.50	\$15,000.00	Round 1
Section Sect	840-811442667	OVAZU FOUNDATION	PORTLAND	Oregon		Foreign		Self Certified	2024-11-28	150.00	\$10.00	\$1,500.00	\$1,500.00	\$10,000.00	Round 1
REFERENCE PROJECTION STATE OF THE BYTEN ATTENDED AND ADDRESS AND A	840-811553490	Greene Scholars	Santa Clara	California		Education	Services, Educational, Other	Self Certified	2025-01-14	470.00	\$10.00	\$4,700.00	\$4,700.00	\$15,000.00	Round 1
Properties Pro	840-811843680		PORTLAND	Oregon		Human Services		Expired	2024-02-12	42.50	\$10.00	\$425.00	\$425.00	\$10,000.00	Round 1
Properties Pro	840- 812081610/project/4VQEE2HHA K		Mesa	Arizona		and Humanities	Performing Arts Organizations	Self Certified	2024-08-21	21.00	\$10.00	\$210.00	\$210.00	\$10,000.00	Round 1
Section Programme Programme Section	840-812189349	BORDERPLEX PROGRESS321	EL PASO	Texas		Improvement	Single Organization Support	Self Certified	2025-01-04	56.00	\$10.00	\$560.00	\$560.00	\$10,000.00	Round 1
Part Secretary Part Secretary Part Secretary Secreta	840-812451936	Ping Pong Community	San Jose	California		and Sports		Self Certified	2024-08-02	172.00	\$10.00	\$1,720.00	\$1,720.00	\$10,000.00	Round 1
Part	840-812548045	BRING SMILES TO SENIORS INC	ODESSA	Florida		Societal	Multipurpose and Other N.E.C.	Self Certified	2024-07-25	215.50	\$10.00	\$2,155.00	\$2,155.00	\$10,000.00	Round 1
State Patients Patient Patients Pa	840-812621880		BEAVERTON	Oregon		Education	Nursery School, Early	Self Certified	2025-02-03	48.00	\$10.00	\$480.00	\$480.00	\$15,000.00	Round 1
Security	840-812796888	FAT KITTY CITY HUMANE SOCIETY	El Dorado Hills	California			Animal Protection and Welfare	Self Certified	2024-09-24	116.00	\$10.00	\$1,160.00	\$1,160.00	\$10,000.00	Round 1
MARICOPA PINTRY MARICOPA PINTRY MARICOPA PINTRY MARICOPA Avisona Sales Education Services Education Services Calculational Conference Services	840-812822196	ODYSSEY PTA	PORTLAND	Oregon		Education	Parent/Teacher Group	Self Certified	2024-12-08	88.00	\$10.00	\$880.00	\$880.00	\$15,000.00	Round 1
MARICOPA PANTRY MARICOPA Arizona Sulfer Sulfe	840-812938005	WATERSHED COLLABORATIVE INC	BROOKLYN	New York		Education	Services, Educational, Other	Self Certified	2024-12-04	22.00	\$10.00	\$220.00	\$220.00	\$15,000.00	Round 1
Massachusetts	840-813081927	MARICOPA PANTRY	MARICOPA	Arizona		Agriculture,	Food Banks, Food Pantries	Self Certified	2024-10-31	242.50	\$10.00	\$2,425.00	\$2,425.00	\$10,000.00	Round 1
ARTS ASSOCIATION SINGLE EDUCATION SINGLE EDUCATION SINGLE EDUCATION SINGLE EDUCATION SINGLE EDUCATION SET CENTER 1. SINGLE EDUCATION SINGLE EDUCATION SET CENTER 1. SINGLE EDUCATION SET C	840-813160296	HOPE FOR HAITIANS INC	Rockford	Illinois				Self Certified	2024-12-12	42.00	\$10.00	\$420.00	\$420.00	\$10,000.00	Round 1
State Services Multipurpose Self Certified 2024-91-77 48.00 \$10.00 \$340,000 \$340,	840-813251040		SHREWSBURY	Massachusetts		Education	Parent/Teacher Group	Self Certified	2024-03-19	57.25	\$10.00	\$572.50	\$572.50	\$15,000.00	Round 1
State Stat	840-813449804	HER RIGHTS INC	CHANDLER	Arizona				Self Certified	2024-11-07	48.00	\$10.00	\$480.00	\$480.00	\$10,000.00	Round 1
States S	840-813611590	Cool Islam	Keizer	Oregon				Self Certified	2024-09-07	1470.00	\$10.00	\$14,700.00	\$10,000.00	\$10,000.00	Round 1
State Development Touri Development To	840-813680155		PHOENIX	Arizona		Education	Sports/Booster/Club/Band	Self Certified	2024-12-08	41.00	\$10.00	\$410.00	\$410.00	\$15,000.00	Round 1
States St	840-813680165	Global Pearls Inc.	Albuquerque	New Mexico			Youth Development N.E.C.	Self Certified	2024-09-15	38.00	\$10.00	\$380.00	\$380.00	\$10,000.00	Round 1
SAVINCE ORGANIZATION SAN JOSE California States Sta	840-813890881	Guinea Promise	Cumming	Georgia		Education	Education N.E.C.	Self Certified	2024-06-18	260.00	\$10.00	\$2,600.00	\$2,600.00	\$15,000.00	Round 1
Name	840-813979499	SJVRC ORGANIZATION	SAN JOSE	California		Voluntarism,	Grantmaking Foundations	Self Certified	2024-08-18	50.00	\$10.00	\$500.00	\$500.00	\$10,000.00	Round 1
States Education Services, Education Services Ser	840-814102475	KITS FOR KIDS	MARLBOROUGH	Massachusetts		Human		Self Certified	2025-02-06	26.00	\$10.00	\$260.00	\$260.00	\$10,000.00	Round 1
Disaster Services	840-814177005	JOULE FOUNDATION INC	NORWOOD	Massachusetts		Education	Services, Educational, Other	Self Certified	2024-08-01	221.00	\$10.00	\$2,210.00	\$2,210.00	\$15,000.00	Round 1
### 2008-14451566 THE WATERSTRONG INITIATIVE PORT I AND WITH MY PACK INC California States Civil Rights, Social Action, and Advocacy Organizations Self Certified 2024-07-14 814.00 \$10.00 \$8,140.00 \$10,000.00 Round 1 \$10,00	840-814204641		SCOTTSDALE	Arizona		Disaster	Saninas	Self Certified	2024-10-17	82.50	\$10.00	\$825.00	\$825.00	\$10,000.00	Round 1
840-814233577 GEARTICKS INC LINCOLN Massachusetts United States Education Services, Educational, Other Self Certified 2025-01-31 218.50 \$10.00 \$2,185.00 \$515,000.00 Round 1 1 STAND WITH MY PACK INC Culver City California United States Related Animal Protection and Welfare Self Certified 2024-07-16 455.00 \$10.00 \$4,550.00 \$4,550.00 \$10,000.00 Round 1 1 STAND WITH MY PACK INC United Recreation Summing Water Recreation	840- 814221641/project/4B10DHEQJ F	Boy Scouts Troop 911 via QUENCHING WELL	West Sacramento	California		Civil Rights, Social Action,		Self Certified	2024-07-14	814.00	\$10.00	\$8,140.00	\$8,140.00	\$10,000.00	Round 1
States Related Affiling Protection and Welfare Sen Certified 2024-07-16 435.00 \$10.00 \$4,350.00 \$40,000.00 Round 1 States Related Affiling Protection and Welfare Sen Certified 2024-07-16 435.00 \$10.00 \$4,350.00 \$40,000.00 Round 1 States Related Affiling Protection and Welfare Sen Certified 2024-07-16 435.00 \$10.00 \$4,350.0	840-814233577	GEARTICKS INC	LINCOLN	Massachusetts			Services, Educational, Other	Self Certified	2025-01-31	218.50	\$10.00	\$2,185.00	\$2,185.00	\$15,000.00	Round 1
	840-814291281	I STAND WITH MY PACK INC	Culver City	California			Animal Protection and Welfare	Self Certified	2024-07-16	455.00	\$10.00	\$4,550.00	\$4,550.00	\$10,000.00	Round 1
CIAICO AITA OPOTO	840-814451506	THE WATERSTRONG INITIATIVE	PORTLAND	Oregon	United States	Recreation and Sports	Swimming, Water Recreation	Self Certified	2024-08-11	21.00	\$10.00	\$210.00	\$210.00	\$10,000.00	Round 1

Cause Code	Cause Name	Cause City	Cause State or Province	Cause Country	Cause Category	Cause Subcategory	Self Certification Status		Volunteerd Hours	Hourly Match Rate	Total	Adjusted Total	Match Cap	Payout Round?
D	ZaiGeZaiGu 【Spring Festival Gala】	Sunnyvale	California	United States	Community Improvement and Capacity	Community, Neighborhood Development, Improvement (General)	Self Certified	2024-05-08	21.50	\$10.00	\$215.00	\$215.00	\$10,000.00	Round 1
814807188/project/3R0A2SWQS P	EDUCATION EMPOWERS INC for Afterschool STEM, Robotics, Coding, supporting Boys & Girls clubs of America	CHANDLER	Arizona	United States	Education	Services, Educational, Other	Self Certified	2024-09-06	1004.16	\$10.00	\$10,041.60	\$10,000.00	\$15,000.00	Round 1
814807188/project/3RR640N9C P	EDUCATION EMPOWERS INC for STEM, Coding and Robotics activities for all girls and Girls Scouts	CHANDLER	Arizona	United States	Education	Services, Educational, Other	Self Certified	2024-09-06	753.16	\$10.00	\$7,531.60	\$7,531.60	\$15,000.00	Round 1
3	kids and schools	CHANDLER	Arizona	United States	Education	Services, Educational, Other	Self Certified	2024-09-06	1220.16	\$10.00	\$12,201.60	\$10,000.00	\$15,000.00	Round 1
814807188/project/436QDY6A1 Z	EDUCATION EMPOWERS INC for STEM, Coding and Robotics for California Community kids EDUCATION EMPOWERS INC for STEM,	CHANDLER	Arizona	United States	Education	Services, Educational, Other	Self Certified	2024-09-06	380.00	\$10.00	\$3,800.00	\$3,800.00	\$15,000.00	Round 1
814807188/project/3XVB1C311 V	Coding and Robotics for Native American Youth EDUCATION EMPOWERS INC for STEM,	CHANDLER	Arizona	United States	Education	Services, Educational, Other	Self Certified	2024-09-06	1548.00	\$10.00	\$15,480.00	\$10,000.00	\$15,000.00	Round 1
	Coding and Robotics for Orogan Community	CHANDLER	Arizona	United States	Education	Services, Educational, Other	Self Certified	2024-09-06	332.83	\$10.00	\$3,328.30	\$3,328.30	\$15,000.00	Round 1
814807188/project/3SSHKNGG	Volunteering for the First Lego League Regional Tournament	CHANDLER	Arizona	United States	Education	Services, Educational, Other	Self Certified	2024-09-06	467.58	\$10.00	\$4,675.80	\$4,675.80	\$15,000.00	Round 1
840-814834326	STEM NEXT OPPORTUNITY FUND	San Diego	California	United States	Education	Services, Educational, Other	Self Certified	2024-06-09	369.50	\$10.00	\$3,695.00	\$3,695.00	\$15,000.00	Round 1
840-814843211	COMMUNITY HORSE SANCTUARY INC	HILLSBORO	Oregon	United States	Animal- Related	Animal Protection and Welfare	Self Certified	2024-08-06	83.00	\$10.00	\$830.00	\$830.00	\$10,000.00	Round 1
840-815079519	CAMPERSAND CO	Albuquerque	New Mexico	United States	Science and Technology Arts, Culture.	Mathematics	Self Certified	2024-11-28	414.00	\$10.00	\$4,140.00	\$4,140.00	\$10,000.00	Round 1
840-815151048	GRIT ART & TECH ASSOCIATION	Sunnyvale	California	United States	and Humanities	Arts Education	Self Certified	2024-06-16	78.00	\$10.00	\$780.00	\$780.00	\$10,000.00	Round 1
	ELK MOUNTAIN ACADEMY	CENTRALIA	Washington	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2024-09-02	151.00	\$10.00	\$1,510.00	\$1,510.00	\$15,000.00	Round 1
840- 820639698/project/3LBC84FV5V	INDIA HERITAGE FOUNDATION BOSTON for Free food distribution	Shrewsbury	Massachusetts	United States	Religion-Related Philanthropy,	d Hindu	Self Certified	2024-12-04	20.00	\$10.00	\$200.00	\$200.00	\$10,000.00	Round 1
840-820656910	Women Of MENA In Technology	Coto De Caza	California	United States	Voluntarism, and	Public Foundations	Self Certified	2024-11-08	60.00	\$10.00	\$600.00	\$600.00	\$10,000.00	Round 1
840-820657516	EAST LONGMEADOW YOUTH FOOTBALL	E LONGMEADOW	Massachusetts	United States	Recreation and Sports	Football Clubs, Leagues	Self Certified	2024-07-01	278.00	\$10.00	\$2,780.00	\$2,780.00	\$10,000.00	Round 1
840-820740059	Blossom Foundation Inc	Graham	Texas	United States	Human Services Arts, Culture,	Human Service Organizations Multipurpose	Self Certified	2025-01-06	96.00	\$10.00	\$960.00	\$960.00	\$10,000.00	Round 1
840-821027620	Oregon Chinese Coalition	Beaverton,	Oregon	United States	and Humanities	Cultural, Ethnic Awareness	Self Certified	2024-08-04	337.50	\$10.00	\$3,375.00	\$3,375.00	\$10,000.00	Round 1
840-821078462	KIDS IN NEED FOUNDATION	ROSEVILLE	Minnesota	United States	Education	Services, Educational, Other	Self Certified	2024-10-25	20.00	\$10.00	\$200.00	\$200.00	\$15,000.00	Round 1
840-821196929	Mountainside Mavericks Band Boosters (MBB)	BEAVERTON	Oregon	United States	Education	Parent/Teacher Group	Self Certified	2024-11-10	194.25	\$10.00	\$1,942.50	\$1,942.50	\$15,000.00	Round 1
840-821252920	LI-A-PING FINANCIAL	BALTIMORE	Maryland	United States	Youth Development	Youth Development - Business	Self Certified	2024-10-03	141.50	\$10.00	\$1,415.00	\$1,415.00	\$10,000.00	Round 1
840-821298953	MOUNTAINSIDE LACROSSE	BEAVERTON	Oregon	United States	Recreation and Sports	Amateur Sports Clubs, Leagues, N.E.C.	Self Certified	2024-12-08	108.50	\$10.00	\$1,085.00	\$1,085.00	\$10,000.00	Round 1
840-821537229	MOUNTAINSIDE JBO	BEAVERTON	Oregon	United States	Youth Development	Single Organization Support	Self Certified	2024-11-27	225.00	\$10.00	\$2,250.00	\$2,250.00	\$10,000.00	Round 1
840-821561949	Life Athletix Inc.	Tucson	Arizona	United States	Recreation and Sports Public and	Single Organization Support	Self Certified	2024-08-30	296.00	\$10.00	\$2,960.00	\$2,960.00	\$10,000.00	Round 1
840-821566302 840-	Friends of the Vet Center Inc	Mountain View	California	United States	Societal Benefit	Military, Veterans' Organizations	Self Certified	2024-09-08	417.50	\$10.00	\$4,175.00	\$4,175.00	\$10,000.00	Round 1
921596479/project/2WZAD7WG	MOUNTAINSIDE PACT for MHS Graduation Night Event	Beaverton	Oregon	United States	Education Environmental	Sports/Booster/Club/Band	Self Certified	2024-07-27	171.00	\$10.00	\$1,710.00	\$1,710.00	\$15,000.00	Round 1
840-821664765	ARIZONA SUSTAINABILITY ALLIANCE	Tempe	Arizona	United States	Quality, Protection, Arts, Culture,	Alliance/Advocacy Organizations	Self Certified	2024-06-19	43.00	\$10.00	\$430.00	\$430.00	\$10,000.00	Round 1
840-821708155	PLAY IT FORWARD	PORTLAND	Oregon	United States	and Humanities Community	Music	Self Certified	2024-09-12	25.00	\$10.00	\$250.00	\$250.00	\$10,000.00	Round 1
840-821732941	PAN AFRICAN FESTIVAL	BEAVERTON	Oregon	United States	Improvement and Capacity Arts, Culture,	Economic Development	Expired	2019-01-31	270.00	\$10.00	\$2,700.00	\$2,700.00	\$10,000.00	Round 1
840-821822242	Juneteenth OR	Fairview	Oregon	United States	and Humanities	Cultural, Ethnic Awareness	Self Certified	2024-10-06	82.00	\$10.00	\$820.00	\$820.00	\$10,000.00	Round 1
840-822012198	MOVE MOUNTAIN VIEW	MOUNTAIN VIEW	California	United States	Housing and Shelter	Homeless, Temporary Shelter For	Self Certified	2024-10-31	52.00	\$10.00	\$520.00	\$520.00	\$10,000.00	Round 1

Cause Code	Cause Name	Cause City	Cause State or Province	Cause Country	Cause Category	Cause Subcategory	Self Certification Status	Self Certification Expiration	Volunteerd Hours	Hourly Match Rate	Total	Adjusted Total	Match Cap	Payout Round?
840-822083462	Sanatana Yaksha Ranga Cultural Center Inc	San Jose	California	United States	Arts, Culture, and Humanities	Arts, Cultural Organizations - Multipurpose	Self Certified	2024-05-24	24.00	\$10.00	\$240.00	\$240.00	\$10,000.00	Round 1
840-822089735	Yoga of Love Inc	Chandler	Arizona	United States	Human Services	Personal Social Services	Self Certified	2024-08-02	991.00	\$10.00	\$9,910.00	\$9,910.00	\$10,000.00	Round 1
840-822227831	PCSO Citizens On Patrol	Gold Canyon	Arizona	United States	Public Safety, Disaster Preparedness	Public Safety, Disaster Preparedness, and Relief , N.E.C.	Self Certified	2024-11-27	552.83	\$10.00	\$5,528.30	\$5,528.30	\$10,000.00	Round 1
840-822259843	HART OF FOLSOM	Folsom	California	United States	Human Services	Human Service Organizations Multipurpose	Self Certified	2024-07-13	28.00	\$10.00	\$280.00	\$280.00	\$10,000.00	Round 1
840-822267227	Sato Elementary Community Organization	Portland	Oregon	United States	Education	Services, Educational, Other	Self Certified	2024-05-10	85.49	\$10.00	\$854.90	\$854.90	\$15,000.00	Round 1
840-822306156	NAYA UJALLA INC	Gilbert	Arizona	United States	Education	Services, Educational, Other	Self Certified	2025-02-05	1150.00	\$10.00	\$11,500.00	\$10,000.00	\$15,000.00	Round 1
840-822358193	STEM SANTA FE	Santa Fe	New Mexico	United States	Education	Services, Educational, Other	Self Certified	2024-11-25	50.08	\$10.00	\$500.80	\$500.80	\$15,000.00	Round 1
840-822423561	NORCAL SPINAL CORD INJURY FOUNDATION	LOS GATOS	California	United States	Human Services	Human Services - Multipurpose and Other N.E.C	Self Certified	2025-02-15	22.00	\$10.00	\$220.00	\$220.00	\$10,000.00	Round 1
840-822461537	Chetana Global Foundation	Portland	Oregon	United States	International, Foreign Affairs, and	International Relief	Self Certified	2024-09-28	20.00	\$10.00	\$200.00	\$200.00	\$10,000.00	Round 1
840-822567938	Gaston Scout Support Club	Gaston	Oregon	United States	Youth Development	Scouting Organizations	Self Certified	2024-05-18	1198.50	\$10.00	\$11,985.00	\$10,000.00	\$10,000.00	Round 1
840-822693844	DAVIS BLUE DEVIL ATHLETIC BOOSTERS	DAVIS	California	United States	Recreation and Sports	Fund Raising and/or Fund Distribution	Self Certified	2024-07-17	30.00	\$10.00	\$300.00	\$300.00	\$10,000.00	Round 1
840-822705408	DRIPPING SPRINGS HIGH SCHOOL ENGINEERING BOOSTERS INC	Dripping Springs	Texas	United States	Education	Secondary, High School	Self Certified	2024-12-10	235.00	\$10.00	\$2,350.00	\$2,350.00	\$15,000.00	Round 1
840-822729340	iRobotics	Sun Prairie	Wisconsin	United States	Science and Technology	Engineering	Self Certified	2024-07-10	96.00	\$10.00	\$960.00	\$960.00	\$10,000.00	Round 1
840-822730001	BACK THE BLUE PET RESCUE	Queen Creek	Arizona	United States	Animal- Related	Animal Protection and Welfare	Self Certified	2025-01-23	70.00	\$10.00	\$700.00	\$700.00	\$10,000.00	Round 1
840-822875379	Sacramento Tamil Academy	Folsom	California	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2024-10-13	1026.00	\$10.00	\$10,260.00	\$10,260.00	\$15,000.00	Round 1
840-822953212	STEM LIKE A GIRL	Portland	Oregon	United States	Youth Development	Youth Development Programs, Other	Self Certified	2024-07-05	34.00	\$10.00	\$340.00	\$340.00	\$10,000.00	Round 1
840-822961180	ANGEL ARMY MINISTRIES	Chandler	Arizona	United States	Youth Development	Youth Development N.E.C.	Self Certified	2024-10-16	637.00	\$10.00	\$6,370.00	\$6,370.00	\$10,000.00	Round 1
840-823072078	MUSLIM OUTREACH AND VOLUNTEER ENTERPRISE INC (MOVE)	Chandler	Arizona	United States	Community Improvement and Capacity	Community, Neighborhood Development, Improvement (General)	Self Certified	2024-12-05	474.00	\$10.00	\$4,740.00	\$4,740.00	\$10,000.00	Round 1
840-823187296	FOREST GROVE LITTLE LEAGUE GIRLS SOFTBALL	FOREST GROVE	Oregon	United States	Recreation and Sports	Baseball, Softball	Self Certified	2025-02-27	221.67	\$10.00	\$2,216.70	\$2,216.70	\$10,000.00	Round 1
840-823248881	TUALATIN VALLEY BEEKEEPERS ASSOCIATION	Hillsboro	Oregon	United States	Food, Agriculture, and Nutrition	Livestock Breeding, Development, Management	Self Certified	2024-10-17	293.00	\$10.00	\$2,930.00	\$2,930.00	\$10,000.00	Round 1
840-823419935	GIFT USA FOUNDATION INC	NEWARK	California	United States	Philanthropy, Voluntarism, and	Fund Raising and/or Fund Distribution	Self Certified	2024-11-19	90.00	\$10.00	\$900.00	\$900.00	\$10,000.00	Round 1
840-823515438	FOOTHILL GOLD SOFTBALL LEAGUE	El Dorado Hills	California	United States	Recreation and Sports	Baseball, Softball	Self Certified	2024-10-26	401.00	\$10.00	\$4,010.00	\$4,010.00	\$10,000.00	Round 1
840-823838234	FILLING EMPTY BELLIES	Astoria	Oregon	United States	Human Services	Homeless Persons Centers, Services	Self Certified	2024-09-25	53.25	\$10.00	\$532.50	\$532.50	\$10,000.00	Round 1
840-823974314	NUSTIAN	Surprise	Arizona	United States	Education	Education N.E.C.	Self Certified	2024-06-02	40.00	\$10.00	\$400.00	\$400.00	\$15,000.00	Round 1
840-824002434	Community Mentor Network	Albuquerque	New Mexico	United States	Philanthropy, Voluntarism, and	Philanthropy, Charity, Voluntarism Promotion, General	Self Certified	2024-12-04	321.50	\$10.00	\$3,215.00	\$3,215.00	\$10,000.00	Round 1
840-824129819	VISIONS IN EDUCATION	SACRAMENTO	California	United States	Education	Charter Schools	Self Certified	2024-06-27	94.00	\$10.00	\$940.00	\$940.00	\$15,000.00	Round 1
840-824275144	SUNSET WOMENS BASKETBALL CLUB	PORTLAND	Oregon	United States	Recreation and Sports	Basketball	Self Certified	2025-01-21	212.00	\$10.00	\$2,120.00	\$2,120.00	\$10,000.00	Round 1
840-824323396	WILSON JUNIOR BASEBALL	PORTLAND	Oregon	United States	Recreation and Sports	Baseball, Softball	Self Certified	2025-02-11	283.00	\$10.00	\$2,830.00	\$2,830.00	\$10,000.00	Round 1
840-824325263	Oregon Basketball Club	Beaverton	Oregon	United States	Recreation and Sports	Amateur Sports Clubs, Leagues, N.E.C.	Self Certified	2024-09-14	1099.00	\$10.00	\$10,990.00	\$10,000.00	\$10,000.00	Round 1
840-824539636	Immigrant Story	Hillsboro	Oregon	United States	Human Services	Ethnic, Immigrant Centers, Services	Self Certified	2024-12-12	1135.00	\$10.00	\$11,350.00	\$10,000.00	\$10,000.00	Round 1
840-824659391	SCUBA ACCESS FOR EVERYONE	HILLSBORO	Oregon	United States	Recreation and Sports	Single Organization Support	Self Certified	2024-11-09	55.00	\$10.00	\$550.00	\$550.00	\$10,000.00	Round 1

Cause Code	Cause Name	Cause City	Cause State or Province	Cause Country	Cause Category	Cause Subcategory	Self Certification Status	Self Certification Expiration	Volunteerd Hours	Hourly Match Rate	Total	Adjusted Total	Match Cap	Payout Round?
840-824695438	LAKE OSWEGO RENEGADES SOFTBALL	PORTLAND	Oregon	United States	Recreation and Sports	Baseball, Softball	Self Certified	2024-09-05	605.00	\$10.00	\$6,050.00	\$6,050.00	\$10,000.00	Round 1
840-824819299	HUTCHINSON BELL INC	Gilbert	Arizona	United States	Education	Alumni Associations	Expired	2024-01-28	67.50	\$10.00	\$675.00	\$675.00	\$15,000.00	Round 1
840-824881882	MAKE YOU THINK INC	PORTLAND	Oregon	United States	Education	Adult, Continuing Education	Self Certified	2024-10-27	62.75	\$10.00	\$627.50	\$627.50	\$15,000.00	Round 1
840-824918388	Tilikum Chamber Orchestra	Beaverton	Oregon	United States	Arts, Culture, and Humanities	Symphony Orchestras	Self Certified	2024-06-28	28.25	\$10.00	\$282.50	\$282.50	\$10,000.00	Round 1
840-824957052	CARLTON OBSERVATORY	Carlton	Oregon	United States	Science and Technology	Astronomy	Self Certified	2024-11-21	21.00	\$10.00	\$210.00	\$210.00	\$10,000.00	Round 1
840-825102393	NW INTEGRITY ATHLETICS	SALEM	Oregon	United States	Recreation and Sports	Baseball, Softball	Self Certified	2024-08-18	618.00	\$10.00	\$6,180.00	\$6,180.00	\$10,000.00	Round 1
840-825106807	CASCADIA CLUSTERS	Portland	Oregon	United States	Housing and Shelter	Homeless, Temporary Shelter For	Self Certified	2024-10-22	247.09	\$10.00	\$2,470.90	\$2,470.90	\$10,000.00	Round 1
840-825513595	FFLV USA	the Woodlands	Texas	United States	International, Foreign Affairs, and	International Relief	Self Certified	2024-10-06	142.00	\$10.00	\$1,420.00	\$1,420.00	\$10,000.00	Round 1
840-830349998	CLASS ACADEMY PARENT ASSOCIATION INC	Portland	Oregon	United States	Education	Parent/Teacher Group	Self Certified	2024-08-04	26.00	\$10.00	\$260.00	\$260.00	\$15,000.00	Round 1
840-830433165	SALMON CREEK HOSPITAL FOUNDATION	Portland	Oregon	United States	Health - General and Rehabilitative	Fund Raising and/or Fund Distribution	Self Certified	2025-02-07	210.00	\$10.00	\$2,100.00	\$2,100.00	\$10,000.00	Round 1
840-830687334	EAST MOUNTAIN FOOD PANTRY INC	TIJERAS	New Mexico	United States	Food, Agriculture, and Nutrition	Food Banks, Food Pantries	Self Certified	2025-01-04	20.00	\$10.00	\$200.00	\$200.00	\$10,000.00	Round 1
840-830696720	JSIM HOPE FOUNDATION	MERCER ISLAND	Washington	United States	International, Foreign Affairs, and	International Development, Relief Services	Self Certified	2024-10-25	40.00	\$10.00	\$400.00	\$400.00	\$10,000.00	Round 1
840-830742996	CENTRAL TEXAS FRC ALLIANCE	DRIPPING SPGS	Texas	United States	Philanthropy, Voluntarism, and	Alliance/Advocacy Organizations	Self Certified	2024-09-25	76.00	\$10.00	\$760.00	\$760.00	\$10,000.00	Round 1
840-830860093	WESTSIDE FOOD BRIGADE	BEAVERTON	Oregon	United States	Food, Agriculture, and Nutrition	Food Banks, Food Pantries	Self Certified	2024-06-16	92.00	\$10.00	\$920.00	\$920.00	\$10,000.00	Round 1
840-830960972	Tigard CERT Inc	Beaverton	Oregon	United States	Public Safety, Disaster Preparedness,	Disaster Preparedness and Relief Services	Self Certified	2024-06-14	36.00	\$10.00	\$360.00	\$360.00	\$10,000.00	Round 1
840-830997873	MARICOPA BAND BOOSTERS INC	MARICOPA	Arizona	United States	Education	Sports/Booster/Club/Band	Self Certified	2025-02-14	176.00	\$10.00	\$1,760.00	\$1,760.00	\$15,000.00	Round 1
840-831244786	Suvidha International Foundation	Folsom	California	United States	International, Foreign Affairs, and	International Development, Relief Services	Self Certified	2024-07-05	798.10	\$10.00	\$7,981.00	\$7,981.00	\$10,000.00	Round 1
840-831295077	BANKS FIREFIGHTERS ASSOCIATION	BANKS	Oregon	United States	Community Improvement and Capacity	Community Service Clubs	Self Certified	2024-08-28	1550.42	\$10.00	\$15,504.20	\$10,000.00	\$10,000.00	Round 1
840-831390678	SHPE OREGON PROFESSIONAL CHAPTER	Tigard	Oregon	United States	Education	Services, Educational, Other	Self Certified	2025-02-07	248.75	\$10.00	\$2,487.50	\$2,487.50	\$15,000.00	Round 1
840-831629578	FOSSIL RIDGE BAND BOOSTERS	FORT COLLINS	Colorado	United States	Education	Sports/Booster/Club/Band	Self Certified	2024-09-08	218.50	\$10.00	\$2,185.00	\$2,185.00	\$15,000.00	Round 1
840-831629904	WALLFLOWERS SHINE PROJECT	JUNCTION CITY	Oregon	United States	Animal- Related	Animal Protection and Welfare	Self Certified	2025-02-28	25.00	\$10.00	\$250.00	\$250.00	\$10,000.00	Round 1
840-831828262	Thunder Vista PTO	Broomfield	Colorado	United States	Education	Parent/Teacher Group	Self Certified	2024-03-27	32.50	\$10.00	\$325.00	\$325.00	\$15,000.00	Round 1
840-831836650	ROTARY CLUB OF SHREWSBURY FOUNDATION INC	Holden	Massachusetts	United States	Community Improvement and Capacity	Community Service Clubs	Expired	2024-02-21	34.00	\$10.00	\$340.00	\$340.00	\$10,000.00	Round 1
840-832034494	GREY WATER PROJECT INC	FREMONT	California	United States	Environmental Quality, Protection,	Alliance/Advocacy Organizations	Self Certified	2024-08-01	80.00	\$10.00	\$800.00	\$800.00	\$10,000.00	Round 1
840-832368603	Pacer Baseline Club, Inc.	LAKE OSWEGO	Oregon	United States	Education	Sports/Booster/Club/Band	Self Certified	2024-12-08	36.00	\$10.00	\$360.00	\$360.00	\$15,000.00	Round 1
840-832493386	Mercy and Peace	Santa Clara	California	United States	Philanthropy, Voluntarism, and	Philanthropy, Charity, Voluntarism Promotion, General	Self Certified	2024-08-09	32.00	\$10.00	\$320.00	\$320.00	\$10,000.00	Round 1
840-832727724	ADOPT ONE BLOCK	Portland	Oregon	United States	Environmental Quality, Protection,	Environmental Beautification and Aesthetics	Self Certified		104.58	\$10.00	\$1,045.80	\$1,045.80	\$10,000.00	Round 1
840-833066046	HAPPY HOOVES	PHOENIX	Arizona	United States	Human Services	Human Service Organizations Multipurpose	Self Certified	2025-01-30	201.00	\$10.00	\$2,010.00	\$2,010.00	\$10,000.00	Round 1
840-833085880	NU ART EDUCATION INC	sacramento	California	United States	Education	Services, Educational, Other	Self Certified	2024-10-30	40.00	\$10.00	\$400.00	\$400.00	\$15,000.00	Round 1
840-833220393	PINK SPACE THEORY	WOODBRIDGE	Virginia	United States	Science and Technology	Engineering and Technology Research, Services	Self Certified	2024-06-29	138.00	\$10.00	\$1,380.00	\$1,380.00	\$10,000.00	Round 1
840-833297727	FLAVOR CONTINUES	Malden	Massachusetts	United States	Arts, Culture, and Humanities	Dance	Self Certified	2024-04-28	106.00	\$10.00	\$1,060.00	\$1,060.00	\$10,000.00	Round 1

Cause Code	Cause Name	Cause City	Cause State or Province	Cause Country	Cause Category	Cause Subcategory	Self Certification Status	Self Certification Expiration	Volunteerd Hours	Hourly . Match Rate	Total	Adjusted Total	Match Cap	Payout Round?
840-833316746	NAMI-CO LARIMER	Loveland	Colorado	United States	Mental Health and Crisis Intervention	Mental Health Association, Multipurpose	Self Certified	2024-08-09	332.00	\$10.00	\$3,320.00	\$3,320.00	\$10,000.00	Round 1
840-833347624	RASAMANJARI	SAN RAMON	California	United States	Arts, Culture, and Humanities	Arts, Cultural Organizations - Multipurpose	Self Certified	2024-08-20	42.00	\$10.00	\$420.00	\$420.00	\$10,000.00	Round 1
840-833393692	Oregon Turkish American Association	Portland	Oregon	United States	Arts, Culture, and Humanities	Arts, Cultural Organizations - Multipurpose	Self Certified	2024-09-06	308.75	\$10.00	\$3,087.50	\$3,087.50	\$10,000.00	Round 1
840-833523903	STEM C	GILBERT	Arizona	United States	Education	Services, Educational, Other	Self Certified	2024-08-03	84.50	\$10.00	\$845.00	\$845.00	\$15,000.00	Round 1
840-833602641	FERAL CAT PROJECT	CLATSKANIE	Oregon	United States	Animal- Related	Animal Protection and Welfare	Self Certified	2024-10-16	104.00	\$10.00	\$1,040.00	\$1,040.00	\$10,000.00	Round 1
840-833822973	FUR LOVE HAVEN	PORTLAND	Oregon	United States	Animal- Related	Animal Protection and Welfare	Self Certified	2024-12-10	596.75	\$10.00	\$5,967.50	\$5,967.50	\$10,000.00	Round 1
840-833965559	WORKING THEORY FARM	HILLSBORO	Oregon	United States	Youth Development	Youth Development Programs, Other	Self Certified	2024-11-29	91.08	\$10.00	\$910.80	\$910.80	\$10,000.00	Round 1
840-834016511	Trinity Robotics Club	Chandler	Arizona	United States	Science and Technology	Engineering and Technology Research, Services	Self Certified	2024-06-20	533.00	\$10.00	\$5,330.00	\$5,330.00	\$10,000.00	Round 1
840-834283919	SOUTHWEST OASIS LABRADOR RESCUE INC	TUCSON	Arizona	United States	Animal- Related	Animal Protection and Welfare	Expired	2024-01-16	222.50	\$10.00	\$2,225.00	\$2,225.00	\$10,000.00	Round 1
840-834287184	Lake Oswego Composite Mountain Bike Team	BEND	Oregon	United States	Recreation and Sports	Recreation, Sports, Leisure, Athletics N.E.C.	Self Certified	2025-01-16	357.00	\$10.00	\$3,570.00	\$3,570.00	\$10,000.00	Round 1
840-834340329	YOUTH ARTISTS DEVELOPMENT ASSOCIATION	CHANDLER	Arizona	United States	Youth Development	Youth Development Programs, Other	Self Certified	2024-07-25	926.00	\$10.00	\$9,260.00	\$9,260.00	\$10,000.00	Round 1
840-834354181	Hope3 Foundation	Sammamish	Washington	United States	Education	Services, Educational, Other	Self Certified	2024-09-14	886.00	\$10.00	\$8,860.00	\$8,860.00	\$15,000.00	Round 1
840-834631139	SAN FRANCISCO BRASS BAND INC	Lodi	California	United States	Arts, Culture, and Humanities	Music Groups, Bands, Ensembles	Self Certified	2024-07-27	27.00	\$10.00	\$270.00	\$270.00	\$10,000.00	Round 1
840-834637716	PROJECT HOMELESS CONNECT WASHINGTON COUNTY	HILLSBORO	Oregon	United States	Housing and Shelter	Homeless, Temporary Shelter For	Self Certified	2025-01-04	108.00	\$10.00	\$1,080.00	\$1,080.00	\$10,000.00	Round 1
840-840645455	LONGMONT HUMANE SOCIETY INC	LONGMONT	Colorado	United States	Animal- Related	Animal Protection and Welfare	Self Certified	2024-12-04	108.83	\$10.00	\$1,088.30	\$1,088.30	\$10,000.00	Round 1
840- 841032435/project/4M6160FN3 H	Boy Scouts Troop 194 via 10674 GLENEAGLE SERTOMA CLUB	Colorado Springs	Colorado	United States	Philanthropy, Voluntarism, and	Scouting Organizations	Self Certified	2024-10-15	473.00	\$10.00	\$4,730.00	\$4,730.00	\$10,000.00	Round 1
840-841068223	DURANGO NORDIC SKI CLUB INC	DURANGO	Colorado	United States	Recreation and Sports	Winter Sports (Snow and Ice)	Self Certified	2024-10-10	25.00	\$10.00	\$250.00	\$250.00	\$10,000.00	Round 1
840-841085784	LARIMER COUNTY DIVE RESCUE TEAM	FORT COLLINS	Colorado	United States	Public Safety, Disaster Preparedness,	Search and Rescue Squads, Services	Self Certified	2025-01-05	39.00	\$10.00	\$390.00	\$390.00	\$10,000.00	Round 1
840-841472407	DOUGLAS COUNTY SEARCH AND RESCUE TEAM INC	CASTLE ROCK	Colorado	United States	Health - General and Rehabilitative	Ambulance, Emergency Medical Transport Services	Self Certified	2024-11-12	363.00	\$10.00	\$3,630.00	\$3,630.00	\$10,000.00	Round 1
840- 841493585/project/4BHHPB7SM V	COLORADO NONPROFIT DEVELOPMENT CENTER for Encore Network	DENVER	Colorado	United States	Community Improvement and Capacity	Management & Technical Assistance	Self Certified	2025-01-04	25.00	\$10.00	\$250.00	\$250.00	\$10,000.00	Round 1
840-841555092	POUDRE SCHOOL DISTRICT FOUNDATION INC	Fort Collins	Colorado	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2025-01-12	58.00	\$10.00	\$580.00	\$580.00	\$15,000.00	Round 1
840-841566880	ALLIANCE SPORTS ASSOCIATION	Denver	Colorado	United States	Recreation and Sports	Soccer Clubs, Leagues	Self Certified	2024-12-16	202.00	\$10.00	\$2,020.00	\$2,020.00	\$10,000.00	Round 1
840-841568566	Project C.U.R.E. (BENEVOLENT HEALTHCARE FOUNDATION)	Centennial	Colorado	United States	Voluntary Health Organizations	Nonmonetary Support N.E.C.	Self Certified	2025-02-01	63.84	\$10.00	\$638.40	\$638.40	\$10,000.00	Round 1
840-841689255	WASHINGTON LADYHAWKS FASTPITCH ORGANIZATION	Dupont	Washington	United States	Recreation and Sports	Soccer Clubs, Leagues	Self Certified		300.50	\$10.00	\$3,005.00	\$3,005.00	\$10,000.00	Round 1
840-841725967	SEMA FOUNDATION	Chandler	Arizona	United States	Human Services	Human Service Organizations Multipurpose	Self Certified	2024-07-11	1050.00	\$10.00	\$10,500.00	\$10,000.00	\$10,000.00	Round 1
840-841733286	Folsom Cultural Center	Folsom	California	United States	Arts, Culture, and Humanities	Cultural, Ethnic Awareness	Self Certified	2024-06-05	47.00	\$10.00	\$470.00	\$470.00	\$10,000.00	Round 1
840-841869020	Cooper Mountain Elementary Chess Club	Beaverton	Oregon	United States	Recreation and Sports	Recreational, Pleasure, or Social Club	Self Certified	2024-10-09	45.00	\$10.00	\$450.00	\$450.00	\$10,000.00	Round 1
840-841871699	US KIDS 4 WATER	Schaumburg	Illinois	United States	Environmental Quality, Protection,	Water Resource, Wetlands Conservation and Management	Self Certified	2025-01-23	22.00	\$10.00	\$220.00	\$220.00	\$10,000.00	Round 1
840-841892894	Global Mentorship Initiative	Bellevue	Washington	United States	Youth Development	Youth Development - Business	Self Certified	2024-05-02	127.00	\$10.00	\$1,270.00	\$1,270.00	\$10,000.00	Round 1
840-841952241	American Legion Post 199 BSA Troop 411 Foundation	Carnation	Washington	United States	Youth Development	Boy Scouts of America	Self Certified	2024-07-26	563.50	\$10.00	\$5,635.00	\$5,635.00	\$10,000.00	Round 1
840-841995842	LOS ALTOS AMERICAN LEGION CHARITIES	Los Altos	California	United States	Public and Societal Benefit	Military, Veterans' Organizations	Self Certified	2024-11-16	122.00	\$10.00	\$1,220.00	\$1,220.00	\$10,000.00	Round 1

Cause Code	Cause Name	Cause City	Cause State or Province	Cause Country	Cause Category	Cause Subcategory	Self Certification Status	Self Certification Expiration	Volunteerd Hours	Hourly Match Rate	Total	Adjusted Total	Match Cap	Payout Round?
840-842078469	AMERICAN BEIYINU ALUMNAE FOUNDATION	Walnut	California	United States	Human Services	Human Service Organizations Multipurpose	Self Certified	2025-01-02	51.00	\$10.00	\$510.00	\$510.00	\$10,000.00	Round 1
840-842133333	ARIZONA TENNIS CHARITIES	Phoenix	Arizona	United States	Recreation and Sports	Fund Raising and/or Fund Distribution	Self Certified	2025-02-13	55.00	\$10.00	\$550.00	\$550.00	\$10,000.00	Round 1
840-842268357	DEEPALAYA FOUNDATION INC	PEARLAND	Texas	United States	Human Services	Human Service Organizations Multipurpose	Self Certified	2024-08-11	40.00	\$10.00	\$400.00	\$400.00	\$10,000.00	Round 1
840-842327428	ARMER FOUNDATION FOR KIDS	PHOENIX	Arizona	United States	Voluntary Health Organizations	Fund Raising and/or Fund Distribution	Self Certified	2024-12-29	35.00	\$10.00	\$350.00	\$350.00	\$10,000.00	Round 1
840-842731132	WARRIOR PARENT BOOSTER CLUB	MESA	Arizona	United States	Education	Sports/Booster/Club/Band	Self Certified	2024-10-03	170.00	\$10.00	\$1,700.00	\$1,700.00	\$15,000.00	Round 1
840-842838534	CONTROL ALT DELETE LLC	Mesa	Arizona	United States	Crime and Legal Related	Spouse Abuse, Prevention of	Self Certified	2024-09-15	33.00	\$10.00	\$330.00	\$330.00	\$10,000.00	Round 1
840-842926669	CHANDLER MUSEUM FOUNDATION	CHANDLER	Arizona	United States	Arts, Culture, and Humanities	Single Organization Support	Self Certified	2025-01-02	172.00	\$10.00	\$1,720.00	\$1,720.00	\$10,000.00	Round 1
840-843031919	The Harvest Fund	Washington	District of Columbia	United States	Food, Agriculture, and Nutrition	Agricultural Programs	Self Certified	2024-10-27	45.00	\$10.00	\$450.00	\$450.00	\$10,000.00	Round 1
840-843062878	GRATEFUL HEARTS ANIMAL RESCUE	QUEEN CREEK	Arizona	United States	Animal- Related	Animal Protection and Welfare	Self Certified	2024-07-27	115.00	\$10.00	\$1,150.00	\$1,150.00	\$10,000.00	Round 1
840-843303003	E2NDOPINION	FOLSOM	California	United States	Health - General and Rehabilitative	Public Health Program (Includes General Health and Wellness Promotion Services)	Self Certified	2024-08-08	50.00	\$10.00	\$500.00	\$500.00	\$10,000.00	Round 1
840-843414231	Lake Oswego Chinese Council	Lake Oswego	Oregon	United States	Arts, Culture, and Humanities	Cultural, Ethnic Awareness	Self Certified	2025-01-23	63.50	\$10.00	\$635.00	\$635.00	\$10,000.00	Round 1
840-843627570	SATYEN BOSE CLUB	BEAVERTON	Oregon	United States	Science and Technology	Science, General	Self Certified	2025-01-31	395.00	\$10.00	\$3,950.00	\$3,950.00	\$10,000.00	Round 1
840-843676912	FRIENDS OF BRUNET ISLAND STATE PARK INC	Cornell	Wisconsin	United States	Environmental Quality, Protection,	Environmental Education and Outdoor Survival Programs	Expired	2024-02-07	227.50	\$10.00	\$2,275.00	\$2,275.00	\$10,000.00	Round 1
840-843946242	FURNISH HOPE	Bend	Oregon	United States	Human Services	Personal Social Services	Self Certified	2024-05-22	182.00	\$10.00	\$1,820.00	\$1,820.00	\$10,000.00	Round 1
840-844041132	Oregon Science Olympiad	Lebanon	Oregon	United States	Science and Technology	Science, General	Self Certified	2024-11-06	79.50	\$10.00	\$795.00	\$795.00	\$10,000.00	Round 1
840-844137596	WOMEN IN BIG DATA INC	PALO ALTO	California	United States	Science and Technology	Computer Science	Self Certified	2024-11-19	1498.25	\$10.00	\$14,982.50	\$10,000.00	\$10,000.00	Round 1
840-844181341	PAYSON HOMELESS & HOMELESS VETERANS INITIATIVE	PAYSON	Arizona	United States	Housing and Shelter	Homeless, Temporary Shelter For	Self Certified	2025-02-18	160.00	\$10.00	\$1,600.00	\$1,600.00	\$10,000.00	Round 1
840-844264530	MUSLIM CORPS OF VOLUNTEERS	CHANDLER	Arizona	United States	Community Improvement and Capacity	Community Improvement, Capacity Building N.E.C.	Self Certified	2024-12-11	654.00	\$10.00	\$6,540.00	\$6,540.00	\$10,000.00	Round 1
840-844350859	CHANDLER HAM RADIO CLUB	CHANDLER	Arizona	United States	Arts, Culture, and Humanities	Radio	Self Certified	2024-11-15	75.00	\$10.00	\$750.00	\$750.00	\$10,000.00	Round 1
840- 844420944/project/49EEUDJJF H	INPROTED for Advanced programming for high schoolers	PORTLAND	Oregon	United States	Education	Education N.E.C.	Self Certified	2025-02-14	70.00	\$10.00	\$700.00	\$700.00	\$15,000.00	Round 1
840-844454663	Rio Salado Target Terminators Inc	Gilbert	Arizona	United States	Youth Development	Youth Development N.E.C.	Self Certified	2024-11-29	40.00	\$10.00	\$400.00	\$400.00	\$10,000.00	Round 1
840-844474447	FRIENDS OF CPC BSA CLIMBING	TUALATIN	Oregon	United States	Youth Development	Youth Development Programs, Other	Self Certified	2024-11-12	854.00	\$10.00	\$8,540.00	\$8,540.00	\$10,000.00	Round 1
840-844642923	FRIENDS OF LEEDY GRANGE SCOUTS	PORTLAND	Oregon	United States	Youth Development	Boy Scouts of America	Self Certified	2024-05-08	1188.92	\$10.00	\$11,889.20	\$10,000.00	\$10,000.00	Round 1
840-850162247	ST JOHNS COLLEGE IN SANTA FE	Santa Fe	New Mexico	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2024-08-03	20.00	\$10.00	\$200.00	\$200.00	\$15,000.00	Round 1
840-850229205	Roadrunner LITTLE LEAGUE BASEBALL INC	ALBUQUERQUE	New Mexico	United States	Recreation and Sports	Baseball, Softball	Self Certified	2024-11-01	258.50	\$10.00	\$2,585.00	\$2,585.00	\$10,000.00	Round 1
840-850275408	UNIVERSITY OF NEW MEXICO FOUNDATION INCORPORATED	ALBUQUERQUE	New Mexico	United States	Education	University or Technological Institute	Self Certified	2025-01-26	94.00	\$10.00	\$940.00	\$940.00	\$15,000.00	Round 1
840-850275454	NAVY LEAGUE OF THE UNITED STATES - NEW MEXICO COUNCIL	ALBUQUERQUE	New Mexico	United States	Public and Societal Benefit	Military, Veterans' Organizations	Self Certified	2024-09-15	60.00	\$10.00	\$600.00	\$600.00	\$10,000.00	Round 1
840-850278525	ROADRUNNER FOOD BANK INC	Albuquerque	New Mexico	United States	Food, Agriculture, and Nutrition	Food Banks, Food Pantries	Self Certified	2024-12-07	409.15	\$10.00	\$4,091.50	\$4,091.50	\$10,000.00	Round 1
840-850279898	SILVER HORIZON NEW MEXICO INC	ALBUQUERQUE	New Mexico	United States	Human Services	Senior Centers, Services	Expired	2024-01-24	43.00	\$10.00	\$430.00	\$430.00	\$10,000.00	Round 1
840-850283204	RONALD MCDONALD HOUSE CHARITIES OF NEW MEXICO	Albuquerque	New Mexico	United States	Health - General and Rehabilitative	Patient Services - Entertainment, Recreation	Self Certified	2024-11-28	54.50	\$10.00	\$545.00	\$545.00	\$10,000.00	Round 1
840-850296318	ALBUQUERQUE CHRISTIAN SCHOOL	Albuquerque	New Mexico	United States	Education	Primary, Elementary Schools	Self Certified	2025-02-14	34.00	\$10.00	\$340.00	\$340.00	\$15,000.00	Round 1

Cause Code	Cause Name	Cause City	Cause State or Province	Cause Country	Cause Category	Cause Subcategory	Self Certification Status	Self Certification Expiration	Volunteerd H Hours M	ourly atch Rate	Total	Adjusted Total	Match Cap	Payout Round
840-850331596	NEW MEXICO AMATEUR HOCKEY ASSOCIATION	Rio Rancho	New Mexico	United States	Recreation and Sports	Winter Sports (Snow and Ice)	Self Certified	2024-09-01	108.00	\$10.00	\$1,080.00	\$1,080.00	\$10,000.00	Round 1
840-850335056	NATIONAL HISPANIC CULTURAL CENTER FOUNDATION	ALBUQUERQUE	New Mexico	United States	Arts, Culture, and Humanities	Single Organization Support	Expired	2024-01-03	41.13	\$10.00	\$411.30	\$411.30	\$10,000.00	Round 1
840-850359138	Greater Albuquerque HABITAT FOR HUMANITY	ALBUQUERQUE	New Mexico	United States	Housing and Shelter	Housing Development, Construction, Management	Self Certified	2025-02-27	303.68	\$10.00	\$3,036.80	\$3,036.80	\$10,000.00	Round 1
840-850366029	CUIDANDO LOS NINOS INC	ALBUQUERQUE	New Mexico	United States	Human Services	Child Day Care	Self Certified	2024-10-10	112.00	\$10.00	\$1,120.00	\$1,120.00	\$10,000.00	Round 1
840-850368743	SOUTHWEST ORGANIZING PROJECT	ALBUQUERQUE	New Mexico	United States	Civil Rights, Social Action, and Advocacy	Civil Rights, Advocacy for Specific Groups	Self Certified	2024-11-09	20.00	\$10.00	\$200.00	\$200.00	\$10,000.00	Round 1
840-850400450	STOREHOUSE WEST INC	RIO RANCHO	New Mexico	United States	Human Services	Human Service Organizations Multipurpose	Expired	2023-11-17	127.50	\$10.00	\$1,275.00	\$1,275.00	\$10,000.00	Round 1
840-850407376	ST FELIX PANTRY INC	RIO RANCHO	New Mexico	United States	Human Services	Human Service Organizations Multipurpose	Self Certified	2024-10-23	139.50	\$10.00	\$1,395.00	\$1,395.00	\$10,000.00	Round 1
840-850418661	HAWKS ALOFT INC	Albuquerque	New Mexico	United States	Animal- Related	Bird Sanctuary, Preserve	Self Certified	2025-02-07	1011.48	\$10.00	\$10,114.80	\$10,000.00	\$10,000.00	Round 1
840-850422830	HAVEN HOUSE INC	RIO RANCHO	New Mexico	United States	Crime and Legal Related	Crime Prevention N.E.C.	Self Certified	2024-11-06	53.00	\$10.00	\$530.00	\$530.00	\$10,000.00	Round 1
840-850434438	ALBUQUERQUE PUBLIC SCHOOLS FOUNDATION	ALBUQUERQUE	New Mexico	United States	Education	Services, Educational, Other	Self Certified	2024-12-11	33.00	\$10.00	\$330.00	\$330.00	\$15,000.00	Round 1
840-850435305	ZIA SOCCER CLUB INC	Albuquerque	New Mexico	United States	Recreation and Sports	Soccer Clubs, Leagues	Self Certified	2025-01-23	600.00	\$10.00	\$6,000.00	\$6,000.00	\$10,000.00	Round 1
840-850442062	EXPLORA SCIENCE CENTER & CHILDRENS MUSEUM OF ALBUQUERQUE	ALBUQUERQUE	New Mexico	United States	Arts, Culture, and Humanities	Children's Museums	Self Certified	2024-11-29	20.00	\$10.00	\$200.00	\$200.00	\$10,000.00	Round 1
340-850448641	CROSSROADS FOR WOMEN	ALBUQUERQUE	New Mexico	United States	Crime and Legal Related	Services to Prisoners and Families - Multipurpose	Self Certified	2024-11-21	39.00	\$10.00	\$390.00	\$390.00	\$10,000.00	Round 1
40-850484035	SANDOVAL COUNTY AMATEUR RADIO EMERGENCY SERVICE INCORPORATED	RIO RANCHO	New Mexico	United States	Public Safety, Disaster Preparedness	Disaster Preparedness and Relief Services	Self Certified	2025-01-03	109.50	\$10.00	\$1,095.00	\$1,095.00	\$10,000.00	Round 1
40-850502796	RECLAIMING HOPE RANCH	Hillsboro	Oregon	United States	Public and Societal Benefit	Public, Society Benefit - Multipurpose and Other N.E.C.	Self Certified	2024-06-10	93.67	\$10.00	\$936.70	\$936.70	\$10,000.00	Round 1
40-850521323	ARIZONA BANGLA ARTS AND CULTURE	CHANDLER	Arizona	United States	Arts, Culture, and Humanities	Arts, Cultural Organizations - Multipurpose	Self Certified	2024-12-13	380.00	\$10.00	\$3,800.00	\$3,800.00	\$10,000.00	Round 1
40-850798517	STEMARTS LAB	EL PRADO	New Mexico	United States	Arts, Culture, and Humanities	Arts Education	Self Certified	2024-11-22	87.00	\$10.00	\$870.00	\$870.00	\$10,000.00	Round 1
40-850849757	GREAT PYRS & PAWS RESCUE	BEND	Oregon	United States	Animal- Related	Animal Protection and Welfare	Self Certified	2024-08-26	1616.50	\$10.00	\$16,165.00	\$10,000.00	\$10,000.00	Round 1
40-850943678	TROJAN AQUATIC CLUB	YORK	Pennsylvania	United States	Recreation and Sports	Swimming, Water Recreation	Self Certified	2024-10-22	29.17	\$10.00	\$291.70	\$291.70	\$10,000.00	Round 1
40-851031712	BRIDGING TECH CHARITABLE FUND	Stanford	California	United States	Human Services	Human Service Organizations Multipurpose	Self Certified	2024-05-31	940.00	\$10.00	\$9,400.00	\$9,400.00	\$10,000.00	Round 1
840-851124915	SONRISE BOXING TEAM	BEAVERTON	Oregon	United States	Recreation and Sports	Fund Raising and/or Fund Distribution	Self Certified	2024-10-10	995.00	\$10.00	\$9,950.00	\$9,950.00	\$10,000.00	Round 1
340- 351128778/project/4T497ETQ99	STRAY ANIMAL FOUNDATION OF INDIA for Animal Sanctuary for disabled	Jacksonville	Florida	United States	Animal-Related	Fund Raising and/or Fund Distribution	Self Certified	2025-01-30	215.00	\$10.00	\$2,150.00	\$2,150.00	\$10,000.00	Round 1
40-851311305	CULTIVATE INITIATIVES	PORTLAND	Oregon	United States	Housing and Shelter	Homeless, Temporary Shelter For	Self Certified	2024-08-25	33.00	\$10.00	\$330.00	\$330.00	\$10,000.00	Round 1
840- 851387794/project/4C2EWKNV JK	AUM EDUCATION SOCIETY OF AMERICA for Curriculum Development	Sugar Land	Texas	United States	Religion- Related	Hindu	Self Certified	2024-09-05	251.00	\$10.00	\$2,510.00	\$2,510.00	\$10,000.00	Round 1
340- 351387794/project/4C2EXWS6J 3	AUM EDUCATION SOCIETY OF AMERICA for Virtual Program	Sugar Land	Texas	United States	Religion- Related	Hindu	Self Certified	2024-09-05	128.00	\$10.00	\$1,280.00	\$1,280.00	\$10,000.00	Round 1
40-851396835	FOSTERING RESILIENCY INTERNATIONAL	Austin	Texas	United States	Youth Development	Youth Development Programs, Other	Self Certified	2024-07-18	29.00	\$10.00	\$290.00	\$290.00	\$10,000.00	Round 1
40-851460608	VOTER CHOICE ARIZONA	PHOENIX	Arizona	United States	Public and Societal Benefit	Citizen Participation	Self Certified	2025-01-11	760.00	\$10.00	\$7,600.00	\$7,600.00	\$10,000.00	Round 1
40-851944328	HAZELS HOUSE RESCUE	NEWBERG	Oregon	United States	Animal- Related	Animal Protection and Welfare	Self Certified	2024-12-17	243.00	\$10.00	\$2,430.00	\$2,430.00	\$10,000.00	Round 1
40-852097076	EVERY BODY ATHLETICS	PORTLAND	Oregon	United States	Human Services	Developmentally Disabled Centers, Services	Self Certified	2024-11-27	82.00	\$10.00	\$820.00	\$820.00	\$10,000.00	Round 1
840-852726854	YOUTH CYBER DEFENDER	Portland	Oregon	United States	Education	Services, Educational, Other	Self Certified	2024-06-06	400.50	\$10.00	\$4,005.00	\$4,005.00	\$15,000.00	Round 1
840-852802972	LOVE OUR CITY INC	PORTLAND	Oregon	United States	Community Improvement	Community, Neighborhood Development, Improvement	Self Certified	2024-12-13	25.00	\$10.00	\$250.00	\$250.00	\$10,000.00	Round 1

Cause Code	Cause Name	Cause City	Cause State or Province	Cause Country	Cause Category	Cause Subcategory	Self Certification Status	Self Certification Expiration	Volunteerd Hours	Hourly Match Rate	Total	Adjusted Total	Match Cap	Payout Round?
840-853204753	USA WORKING EQUITATION	BOULDER	Colorado	United States	Recreation and Sports	Equestrian, Riding	Self Certified	2024-11-24	35.00	\$10.00	\$350.00	\$350.00	\$10,000.00	Round 1
840-853279561	Greater Beaverton K-12 Swim Team	Portland	Oregon	United States	Recreation and Sports	Swimming, Water Recreation	Self Certified	2024-10-25	149.00	\$10.00	\$1,490.00	\$1,490.00	\$10,000.00	Round 1
840-853364743	NEW ALBANY PARKS AND RECREATION FOUNDATION	NEW ALBANY	Ohio	United States	Recreation and Sports	Parks and Playgrounds	Self Certified	2024-10-24	31.00	\$10.00	\$310.00	\$310.00	\$10,000.00	Round 1
840-853525197	LUKMAN AWOYODE FOUNDATION LAM	PORTLAND	Oregon	United States	Philanthropy, Voluntarism, and	Philanthropy, Charity, Voluntarism Promotion, General	Self Certified	2024-08-14	42.08	\$10.00	\$420.80	\$420.80	\$10,000.00	Round 1
840-853755344	Peoples Foundation for Better Oregon	Beaverton	Oregon	United States	Community Improvement and Capacity	Community, Neighborhood Development, Improvement (General)	Self Certified	2024-04-28	123.00	\$10.00	\$1,230.00	\$1,230.00	\$10,000.00	Round 1
840-853844528	KINDESS FARM LLC	PORTLAND	Oregon	United States	Food, Agriculture, and Nutrition	Agricultural Programs	Self Certified	2024-10-02	84.70	\$10.00	\$847.00	\$847.00	\$10,000.00	Round 1
840-854012838	CARM SAFETY FOUNDATION	Beaverton	Oregon	United States	Public and Societal Benefit	Consumer Protection, Safety	Self Certified	2025-01-31	60.00	\$10.00	\$600.00	\$600.00	\$10,000.00	Round 1
840-854098318	TOGETHER WE ARE ONE	Phoenix	Arizona	United States	Human Services	Human Service Organizations Multipurpose	Self Certified	2024-09-01	91.00	\$10.00	\$910.00	\$910.00	\$10,000.00	Round 1
840-854214216	KEEP TEMPE BEAUTIFUL	TEMPE	Arizona	United States	Environmental Quality, Protection,	Environmental Beautification and Aesthetics	Self Certified	2024-12-21	53.42	\$10.00	\$534.20	\$534.20	\$10,000.00	Round 1
840-856005755	ARCA	ALBUQUERQUE	New Mexico	United States	Human Services	Services to Promote the Independence of Specific Populations	Self Certified	2024-09-11	126.50	\$10.00	\$1,265.00	\$1,265.00	\$10,000.00	Round 1
840-856016041	PRESBYTERIAN HEALTHCARE FOUNDATION	ALBUQUERQUE	New Mexico	United States	Health - General and Rehabilitative	Single Organization Support	Self Certified	2024-07-10	131.50	\$10.00	\$1,315.00	\$1,315.00	\$10,000.00	Round 1
840-860096789	DIOCESAN COUNCIL FOR THE SOCIETY OF ST VINCENT DE PAUL DIOCESE PHOENIX	PHOENIX	Arizona	United States	Human Services	Human Service Organizations Multipurpose	Self Certified	2024-08-28	83.75	\$10.00	\$837.50	\$837.50	\$10,000.00	Round 1
X	VALLEY OF THE SUN YOUNG MENS CHRISTIAN ASSOCIATION for Ahwatukee Foothills Family YMCA	PHOENIX	Arizona	United States	Human Services	Young Men's or Women's Associations (YMCA, YWCA, YWHA, YMHA)	Self Certified	2025-02-06	973.00	\$10.00	\$9,730.00	\$9,730.00	\$10,000.00	Round 1
840- 860098929/project/3SWQ3N0TT M	. Vitalant (formerly Blood Systems) for Vitalant, Albuquerque	SCOTTSDALE	Arizona	United States	Health - General and Rehabilitative	Blood Supply Related	Self Certified	2024-10-24	101.98	\$10.00	\$1,019.80	\$1,019.80	\$10,000.00	Round 1
840- 860098929/project/3V78R0WSJ 7	Vitalant (formerly Blood Systems) for Vitalant, Las Vegas	SCOTTSDALE	Arizona	United States	Health - General and Rehabilitative	Blood Supply Related	Self Certified	2024-10-24	28.50	\$10.00	\$285.00	\$285.00	\$10,000.00	Round 1
840- 860098929/project/3GAVDDP28 K	Vitalant (formerly Blood Systems) for Vitalant, Phoenix	SCOTTSDALE	Arizona	United States	Health - General and Rehabilitative	Blood Supply Related	Self Certified	2024-10-24	54.49	\$10.00	\$544.90	\$544.90	\$10,000.00	Round 1
840- 860098929/project/3A2PF395VV	Vitalant (formerly Blood Systems) for Vitalant, Sacramento	SCOTTSDALE	Arizona	United States	Health - General and Rehabilitative	Blood Supply Related	Self Certified	2024-10-24	216.25	\$10.00	\$2,162.50	\$2,162.50	\$10,000.00	Round 1
840- 860098929/project/2YW5TUQ94 F	Vitalant (formerly Blood Systems) for Vitalant, San Francisco	SCOTTSDALE	Arizona	United States	Health - General and Rehabilitative	Blood Supply Related	Self Certified	2024-10-24	25.00	\$10.00	\$250.00	\$250.00	\$10,000.00	Round 1
840-860098929	Vitalant (formerly Blood Systems)	SCOTTSDALE	Arizona	United States	Health - General and Rehabilitative	Blood Supply Related	Self Certified	2024-10-24	308.48	\$10.00	\$3,084.80	\$3,084.80	\$10,000.00	Round 1
840-860098936	ARIZONA YWCA METROPOLITAN PHOENIX	Glendale	Arizona	United States	Human Services	Young Men's or Women's Associations (YMCA, YWCA, YWHA, YMHA)	Self Certified	2024-08-08	144.50	\$10.00	\$1,445.00	\$1,445.00	\$10,000.00	Round 1
840-860104419	VALLEY OF THE SUN UNITED WAY	PHOENIX	Arizona	United States	Philanthropy, Voluntarism, and	Fund Raising Organizations That Cross Categories	Self Certified	2024-06-26	39.50	\$10.00	\$395.00	\$395.00	\$10,000.00	Round 1
840-860119984	BROPHY COLLEGE PREPARATORY	PHOENIX	Arizona	United States	Education	Secondary, High School	Self Certified	2024-09-12	75.00	\$10.00	\$750.00	\$750.00	\$15,000.00	Round 1
840- 860133397/project/3E395533VV	Girl Scouts ACPC Troop #1211 via GIRL SCOUTS-ARIZONA CACTUS PINE COUNCIL INC	PHOENIX	Arizona	United States	Youth Development	Girl Scouts of the U.S.A.	Self Certified	2024-10-03	31.00	\$10.00	\$310.00	\$310.00	\$10,000.00	Round 1
840- 860133397/project/472MGE5TF R	INC	PHOENIX	Arizona	United States	Youth Development	Girl Scouts of the U.S.A.	Self Certified	2024-10-03	196.50	\$10.00	\$1,965.00	\$1,965.00	\$10,000.00	Round 1
840- 860133397/project/4KADS6VZU P	Girl Scouts ACPC Troop #3050 via GIRL SCOUTS-ARIZONA CACTUS PINE COUNCIL INC	PHOENIX	Arizona	United States	Youth Development	Girl Scouts of the U.S.A.	Self Certified	2024-10-03	20.00	\$10.00	\$200.00	\$200.00	\$10,000.00	Round 1
R	Girl Scouts ACPC Troop #4295 via GIRL SCOUTS-ARIZONA CACTUS PINE COUNCIL INC	PHOENIX	Arizona	United States	Youth Development	Girl Scouts of the U.S.A.	Self Certified	2024-10-03	20.00	\$10.00	\$200.00	\$200.00	\$10,000.00	Round 1
Т	INC	PHOENIX	Arizona	United States	Youth Development	Girl Scouts of the U.S.A.	Self Certified	2024-10-03	113.50	\$10.00	\$1,135.00	\$1,135.00	\$10,000.00	Round 1
840- 860133397/project/4USS7PVFG 7	Girl Scouts ACPC Troop #6720 via GIRL SCOUTS-ARIZONA CACTUS PINE COUNCIL INC	PHOENIX	Arizona	United States	Youth Development	Girl Scouts of the U.S.A.	Self Certified	2024-10-03	178.00	\$10.00	\$1,780.00	\$1,780.00	\$10,000.00	Round 1
840- 860133397/project/3E397BXFAT	Girl Scouts ACPC Troop #763 via GIRL SCOUTS-ARIZONA CACTUS PINE COUNCIL INC	PHOENIX	Arizona	United States	Youth Development	Girl Scouts of the U.S.A.	Self Certified	2024-10-03	650.00	\$10.00	\$6,500.00	\$6,500.00	\$10,000.00	Round 1
840-860133397	GIRL SCOUTS-ARIZONA CACTUS PINE COUNCIL INC	PHOENIX	Arizona	United States	Youth Development	Girl Scouts of the U.S.A.	Self Certified	2024-10-03	155.50	\$10.00	\$1,555.00	\$1,555.00	\$10,000.00	Round 1
840-860135567	ARIZONA HUMANE SOCIETY	Phoenix	Arizona	United States	Animal- Related	Animal Protection and Welfare	Self Certified	2024-08-04	550.00	\$10.00	\$5,500.00	\$5,500.00	\$10,000.00	Round 1

Cause Code	Cause Name	Cause City	Cause State or Province	Cause Country	Cause Category	Cause Subcategory	Self Certification Status	Self Certification Expiration	Volunteerd Hours	Hourly Match Rate	Total	Adjusted Total	Match Cap	Payout Round?
840-860136925	DESERT BOTANICAL GARDEN	PHOENIX	Arizona	United States	Environmental Quality, Protection,	Botanical Gardens, Arboreta and Botanical Organizations	Self Certified	2024-12-01	243.00	\$10.00	\$2,430.00	\$2,430.00	\$10,000.00	Round 1
840-860138459	St Johns High School Scholarship Fund	Johns Island	South Carolina	United States	Education	Services, Educational, Other	Self Certified	2024-09-01	264.00	\$10.00	\$2,640.00	\$2,640.00	\$15,000.00	Round 1
840-860138459	SUN ANGEL FOUNDATION INC	Johns Island	South Carolina	United States	Education	Services, Educational, Other	Self Certified	2024-06-06	192.00	\$10.00	\$1,920.00	\$1,920.00	\$15,000.00	Round 1
840-860166615	COMMUNITY LEGAL SERVICES	PHOENIX	Arizona	United States	Crime and Legal Related	Public Interest Law, Litigation	Self Certified	2024-11-14	139.50	\$10.00	\$1,395.00	\$1,395.00	\$10,000.00	Round 1
840- 860182990/project/3P694DEAJ7	Boy Scouts Troop #283 via CHANDLER UNITED METHODIST CHURCH INC	CHANDLER	Arizona	United States	Religion- Related	Scouting Organizations	Self Certified	2024-03-10	1659.00	\$10.00	\$16,590.00	\$10,000.00	\$10,000.00	Round 1
840- 860182990/project/3P696L8MJF	Cub Scouts Pack #524 via CHANDLER UNITED METHODIST CHURCH INC	CHANDLER	Arizona	United States	Religion- Related	Scouting Organizations	Self Certified	2024-03-10	40.00	\$10.00	\$400.00	\$400.00	\$10,000.00	Round 1
840-860184349	JUNIOR ACHIEVEMENT OF ARIZONA	TEMPE	Arizona	United States	International, Foreign Affairs, and	International Economic Development	Self Certified	2024-05-30	32.75	\$10.00	\$327.50	\$327.50	\$10,000.00	Round 1
840-860196532	SUNSHINE ACRES CHILDRENS HOME INC	MESA	Arizona	United States	Human Services	Residential, Custodial Care	Self Certified	2024-12-01	170.50	\$10.00	\$1,705.00	\$1,705.00	\$10,000.00	Round 1
840-860205254	BIG BROTHERS BIG SISTERS OF CENTRAL ARIZONA	Phoenix	Arizona	United States	Youth Development	Big Brothers, Big Sisters	Self Certified	2024-06-20	33.00	\$10.00	\$330.00	\$330.00	\$10,000.00	Round 1
840- 860223999/project/3UK8864BJB	My Sisters Place - Catholic Charities 3 Community Services	Phoenix	Arizona	United States	Human Services	Human Service Organizations Multipurpose	Self Certified	2025-01-29	209.50	\$10.00	\$2,095.00	\$2,095.00	\$10,000.00	Round 1
840-860256667	A NEW LEAF INC	MESA	Arizona	United States	Mental Health and Crisis Intervention	Alcohol, Drug and Substance Abuse, Dependency Prevention and Treatment	Self Certified	2024-09-07	247.08	\$10.00	\$2,470.80	\$2,470.80	\$10,000.00	Round 1
840-860287464	ARIZONA HUMANITIES COUNCIL	Phoenix	Arizona	United States	Arts, Culture, and Humanities	Humanities Organizations	Self Certified	2024-12-12	31.14	\$10.00	\$311.40	\$311.40	\$10,000.00	Round 1
840-860307564	SPECIAL OLYMPICS ARIZONA INC	Goodyear	Arizona	United States	Recreation and Sports	Special Olympics	Self Certified	2025-01-09	93.50	\$10.00	\$935.00	\$935.00	\$10,000.00	Round 1
840-860324144	Child Crisis Arizona	Mesa	Arizona	United States	Human Services	Human Service Organizations Multipurpose	Self Certified	2025-01-16	37.50	\$10.00	\$375.00	\$375.00	\$10,000.00	Round 1
840- 860327449/project/3L5DR82A67	Changler Gilbert Community College -	TEMPE	Arizona	United States	Education	Community or Junior Colleges	Self Certified	2024-08-09	95.75	\$10.00	\$957.50	\$957.50	\$15,000.00	Round 1
840- 860327449/project/3L5DP17T9Z	MARICOPA COUNTY COMMUNITY , COLLEGE DISTRICT FOUNDATION for Phoenix College -Hermanas	TEMPE	Arizona	United States	Education	Community or Junior Colleges	Self Certified	2024-08-09	24.00	\$10.00	\$240.00	\$240.00	\$15,000.00	Round 1
840-860327449	MARICOPA COUNTY COMMUNITY COLLEGE DISTRICT FOUNDATION	TEMPE	Arizona	United States	Education	Community or Junior Colleges	Self Certified	2024-08-09	60.00	\$10.00	\$600.00	\$600.00	\$15,000.00	Round 1
840-860338886	HOSPICE OF THE VALLEY	PHOENIX	Arizona	United States	Human Services	Hospice	Self Certified	2025-01-12	127.00	\$10.00	\$1,270.00	\$1,270.00	\$10,000.00	Round 1
840-860390558	ARIZONA SCIENCE CENTER	PHOENIX	Arizona	United States	Arts, Culture, and Humanities	Science and Technology Museums	Self Certified	2024-11-02	447.75	\$10.00	\$4,477.50	\$4,477.50	\$10,000.00	Round 1
840-860395005	ARCADIA SCOTTSDALE UNITED SOCCER CLUB	Scottsdale	Arizona	United States	Recreation and Sports	Soccer Clubs, Leagues	Self Certified	2024-08-18	56.00	\$10.00	\$560.00	\$560.00	\$10,000.00	Round 1
840-860409636	MAKE A WISH FOUNDATION OF ARIZONA INC	Scottsdale	Arizona	United States	Health - General and Rehabilitative	Patient Services - Entertainment, Recreation	Self Certified	2024-08-29	700.00	\$10.00	\$7,000.00	\$7,000.00	\$10,000.00	Round 1
840-860422559	PHOENIX CHILDRENS HOSPITAL	Phoenix	Arizona	United States	Health - General and Rehabilitative	Hospital, Specialty	Self Certified	2024-10-30	30.00	\$10.00	\$300.00	\$300.00	\$10,000.00	Round 1
840-860428780	AZCEND	Chandler	Arizona	United States	Human Services	Neighborhood Centers, Settlement Houses	Self Certified	2025-02-23	214.25	\$10.00	\$2,142.50	\$2,142.50	\$10,000.00	Round 1
840-860430037	CHRISTIAN FAMILY CARE AGENCY INC	PHOENIX	Arizona	United States	Human Services	Family Counseling	Self Certified	2024-07-26	34.00	\$10.00	\$340.00	\$340.00	\$10,000.00	Round 1
840-860453769	SANDPIPER ELEMENTARY SCHOOL PARENT TEACHER ORGANIZATION	SCOTTSDALE	Arizona	United States	Education	Parent/Teacher Group	Self Certified	2024-07-24	125.00	\$10.00	\$1,250.00	\$1,250.00	\$15,000.00	Round 1
840- 860469139/project/3V77ZHXDU 3	Boy Scouts of America Troop 379 via DESERT CROSS LUTHERAN CHURCH	Tempe	Arizona	United States	Religion-Related	Scouting Organizations	Expired	2020-03-01	129.00	\$10.00	\$1,290.00	\$1,290.00	\$10,000.00	Round 1
840-860481746	GENERAL FEDERATED WOMANS CLUB MORRISTOWN INCORPORATED	MORRISTOWN	Arizona	United States	Education	Services, Educational, Other	Self Certified	2024-08-24	135.00	\$10.00	\$1,350.00	\$1,350.00	\$15,000.00	Round 1
840-860483792	Ronald McDonald House Charities of Central and Northern Arizona	PHOENIX	Arizona	United States	Health - General and Rehabilitative	Patient Services - Entertainment, Recreation	Self Certified	2024-09-19	72.00	\$10.00	\$720.00	\$720.00	\$10,000.00	Round 1
840-860486447	ABILITY360	PHOENIX	Arizona	United States	Human Services	Services to Promote the Independence of Specific Populations	Self Certified	2025-01-05	80.00	\$10.00	\$800.00	\$800.00	\$10,000.00	Round 1
840-860505273	UNITED FOOD BANK	MESA	Arizona	United States	Food, Agriculture, and Nutrition	Food Banks, Food Pantries	Self Certified	2024-12-28	125.34	\$10.00	\$1,253.40	\$1,253.40	\$10,000.00	Round 1
840-860508608	ARIZONA ACADEMIC DECATHLON	TEMPE	Arizona	United States	Education	Adult, Continuing Education	Self Certified	2024-05-04	588.66	\$10.00	\$5,886.60	\$5,886.60	\$15,000.00	Round 1

Cause Code	Cause Name	Cause City	Cause State or Province	Cause Country	Cause Category	Cause Subcategory	Self Certification Status	Self Certification Expiration	Volunteerd Hours	Hourly Match Rate	Total	Adjusted Total	Match Cap	Payout Round?
840-860521062	UMOM NEW DAY CENTERS INC	Phoenix	Arizona	United States	Housing and Shelter	Homeless, Temporary Shelter For	Self Certified	2024-06-23	21.50	\$10.00	\$215.00	\$215.00	\$10,000.00	Round 1
840-860528953	AID TO WOMEN CENTER	Tempe	Arizona	United States	Human Services	Human Services - Multipurpose and Other N.E.C.	Self Certified	2024-04-04	42.00	\$10.00	\$420.00	\$420.00	\$10,000.00	Round 1
840-860589677	Chandler Education Foundation	CHANDLER	Arizona	United States	Education	Services, Educational, Other	Self Certified	2024-10-02	59.00	\$10.00	\$590.00	\$590.00	\$15,000.00	Round 1
840-860613635	GYSA	GILBERT	Arizona	United States	Recreation and Sports	Soccer Clubs, Leagues	Expired	2023-05-14	55.00	\$10.00	\$550.00	\$550.00	\$10,000.00	Round 1
840-860645210	SOCIETY OF WOMEN ENGINEERS PHOENIX SECTION	PHOENIX	Arizona	United States	Community Improvement and Capacity	Promotion of Business	Self Certified	2024-07-10	371.00	\$10.00	\$3,710.00	\$3,710.00	\$10,000.00	Round 1
840-860653338	Chandler National Little League	CHANDLER	Arizona	United States	Recreation and Sports	Baseball, Softball	Self Certified	2024-12-16	552.00	\$10.00	\$5,520.00	\$5,520.00	\$10,000.00	Round 1
840-860665712	SAVE THE FAMILY FOUNDATION OF ARIZONA	MESA	Arizona	United States	Housing and Shelter	Housing Development, Construction, Management	Self Certified	2025-02-28	306.50	\$10.00	\$3,065.00	\$3,065.00	\$10,000.00	Round 1
840-860674350	MCDOWELL SONORAN CONSERVANCY	Scottsdale	Arizona	United States	Environmental Quality, Protection,	Land Resources Conservation	Self Certified	2024-06-21	124.42	\$10.00	\$1,244.20	\$1,244.20	\$10,000.00	Round 1
840-860680607	REBUILDING TOGETHER VALLEY OF THE SUN INC	Mesa	Arizona	United States	Human Services	Human Service Organizations Multipurpose	Self Certified	2024-12-19	20.00	\$10.00	\$200.00	\$200.00	\$10,000.00	Round 1
840-860702806	Ahwatukee American Little League	PHOENIX	Arizona	United States	Recreation and Sports	Baseball, Softball	Self Certified	2024-10-11	832.50	\$10.00	\$8,325.00	\$8,325.00	\$10,000.00	Round 1
840-860717841	ANDRE HOUSE OF ARIZONA INC	PHOENIX	Arizona	United States	Housing and Shelter	Low-Cost Temporary Housing	Self Certified	2025-01-16	242.67	\$10.00	\$2,426.70	\$2,426.70	\$10,000.00	Round 1
840-860726443	FRIENDS FOR LIFE ANIMAL RESCUE	GILBERT	Arizona	United States	Animal- Related	Animal Protection and Welfare	Self Certified	2024-10-03	343.00	\$10.00	\$3,430.00	\$3,430.00	\$10,000.00	Round 1
840-860739613	Free Arts for Abused Children of Arizona	Phoenix	Arizona	United States	Crime and Legal Related	Child Abuse, Prevention of	Self Certified	2024-04-28	376.50	\$10.00	\$3,765.00	\$3,765.00	\$10,000.00	Round 1
840-860749879	THE ARIZONA CHEETAHS TRACK CLUB	CHANDLER	Arizona	United States	Youth Development	Youth Centers, Clubs, Multipurpose	Self Certified	2025-02-05	36.50	\$10.00	\$365.00	\$365.00	\$10,000.00	Round 1
840-860754864	THE PACIFIC SOUTHWEST MINORITY SUPPLIER DEVELOPMENT COUNCIL	PHOENIX	Arizona	United States	Community Improvement and Capacity	Management Services for Small Business, Entrepreneurs	Self Certified	2024-10-25	83.50	\$10.00	\$835.00	\$835.00	\$10,000.00	Round 1
840-860757062	Heritage Academy	Mesa	Arizona	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2025-01-22	260.25	\$10.00	\$2,602.50	\$2,602.50	\$15,000.00	Round 1
840-860761030	ICAN	CHANDLER	Arizona	United States	Youth Development	Youth Centers, Clubs, Multipurpose	Self Certified	2025-01-11	218.50	\$10.00	\$2,185.00	\$2,185.00	\$10,000.00	Round 1
840-860762149	ARIZONA TRAIL ASSOCIATION	Tucson	Arizona	United States	Public and Societal Benefit	Leadership Development	Self Certified	2025-02-23	79.00	\$10.00	\$790.00	\$790.00	\$10,000.00	Round 1
840-860765240	FRIENDS OF THE FOREST INC	SEDONA	Arizona	United States	Housing and Shelter	Housing Owners, Renters Organizations	Self Certified	2024-08-01	213.00	\$10.00	\$2,130.00	\$2,130.00	\$10,000.00	Round 1
840-860770883	WILD AT HEART INC	Cave Creek	Arizona	United States	Animal- Related	Wildlife Sanctuary, Refuge	Self Certified		22.50	\$10.00	\$225.00	\$225.00	\$10,000.00	Round 1
840-860780695	NEPALIS AND FRIENDS ASSOCIATION	TUCSON	Arizona	United States	Human Services	Human Service Organizations Multipurpose	Self Certified	2025-01-24	80.50	\$10.00	\$805.00	\$805.00	\$10,000.00	Round 1
840-860803070	CORONA DEL SOL BAND BOOSTERS INC	TEMPE	Arizona	United States	Education	Sports/Booster/Club/Band	Self Certified	2025-02-03	24.00	\$10.00	\$240.00	\$240.00	\$15,000.00	Round 1
840-860808609	SOLID ROCK FOUNDATION	PHOENIX	Arizona	United States	Youth Development	Youth Centers, Clubs, Multipurpose	Self Certified	2024-11-06	100.50	\$10.00	\$1,005.00	\$1,005.00	\$10,000.00	Round 1
840-860809620	RIO SALADO ROWING CLUB INC	TEMPE	Arizona	United States	Recreation and Sports	Swimming, Water Recreation	Self Certified	2025-02-07	131.75	\$10.00	\$1,317.50	\$1,317.50	\$10,000.00	Round 1
840-860815349	Saguaros Children Charities Inc	SCOTTSDALE	Arizona	United States	Philanthropy, Voluntarism, and	Fund Raising Organizations That Cross Categories	Expired	2024-01-10	200.00	\$10.00	\$2,000.00	\$2,000.00	\$10,000.00	Round 1
840-860821140	Horizon Community Learning Center	Phoenix	Arizona	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2025-02-20	511.00	\$10.00	\$5,110.00	\$5,110.00	\$15,000.00	Round 1
840-860823085	Light Up Ahwatukee Association	PHOENIX	Arizona	United States	Community Improvement and Capacity	Community Coalitions	Self Certified	2024-04-05	134.00	\$10.00	\$1,340.00	\$1,340.00	\$10,000.00	Round 1
840-860832160	HALO HELPING ANIMALS LIVE ON	PHOENIX	Arizona	United States	Animal- Related	Animal Protection and Welfare	Self Certified	2024-08-31	282.00	\$10.00	\$2,820.00	\$2,820.00	\$10,000.00	Round 1
840-860833997	CONTEMPORARY CHINESE SCHOOL OF ARIZ	TEMPE	Arizona	United States	Education	Education N.E.C.	Self Certified	2025-01-12	993.00	\$10.00	\$9,930.00	\$9,930.00	\$15,000.00	Round 1
840-860835463	PHOENIX PUBLIC LIBRARY FOUNDATION	PHOENIX	Arizona	United States	Education	Libraries	Expired	2023-08-30	20.00	\$10.00	\$200.00	\$200.00	\$15,000.00	Round 1
840-860887562	CULTURAL COALITION INC	Mesa	Arizona	United States	Arts, Culture, and Humanities	Cultural, Ethnic Awareness	Self Certified	2024-06-21	23.00	\$10.00	\$230.00	\$230.00	\$10,000.00	Round 1

Cause Code	Cause Name	Cause City	Cause State or Province	Cause Country	Cause Category	Cause Subcategory	Self Certification Status	Self Certification Expiration	Volunteerd Hours	Hourly Match Rate	Total	Adjusted Total	Match Cap	Payout Round?
840-860890531	TEMPE CHINESE SCHOOL	CHANDLER	Arizona	United States	Education	Services, Educational, Other	Self Certified	2024-08-13	1276.00	\$10.00	\$12,760.00	\$10,000.00	\$15,000.00	Round 1
840-860904478	BHAKTIVEDANTA CULTURAL CENTER ISKCON OF PHOENIX INC	PHOENIX	Arizona	United States	International, Foreign Affairs, and	International Cultural Exchange	Self Certified	2024-09-30	45.00	\$10.00	\$450.00	\$450.00	\$10,000.00	Round 1
840-860906022	SUN SOUNDS FOUNDATION	TEMPE	Arizona	United States	Arts, Culture, and Humanities	Single Organization Support	Self Certified	2024-07-12	117.00	\$10.00	\$1,170.00	\$1,170.00	\$10,000.00	Round 1
840- 860908854/project/2XHKC7TNK R	BASIS CHARTER SCHOOLS INC for BASIS Mesa	SCOTTSDALE	Arizona	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2024-11-07	165.00	\$10.00	\$1,650.00	\$1,650.00	\$15,000.00	Round 1
840-860921384	ARIZONA ALOHA FESTIVALS INC	TEMPE	Arizona	United States	Arts, Culture, and Humanities	Cultural, Ethnic Awareness	Self Certified	2024-09-13	29.00	\$10.00	\$290.00	\$290.00	\$10,000.00	Round 1
840-860922834	SI SE PUEDE FOUNDATION	Chandler	Arizona	United States	Human Services	Children's, Youth Services	Self Certified	2024-05-22	964.50	\$10.00	\$9,645.00	\$9,645.00	\$10,000.00	Round 1
840-860930096	IRISH CULTURAL AND LEARNING FOUNDATION	PHOENIX	Arizona	United States	Human Services	Single Organization Support	Self Certified	2025-03-01	760.50	\$10.00	\$7,605.00	\$7,605.00	\$10,000.00	Round 1
840-860934323	CHILDRENS MUSEUM OF PHOENIX	Phoenix	Arizona	United States	Arts, Culture, and Humanities	Museum, Museum Activities	Self Certified	2024-08-22	75.00	\$10.00	\$750.00	\$750.00	\$10,000.00	Round 1
840-860944607	MARINE CORPS LEAGUE CHARITIES CORPORATION	FLAGSTAFF	Arizona	United States	Human Services	Gift Distribution	Self Certified	2024-08-31	68.00	\$10.00	\$680.00	\$680.00	\$10,000.00	Round 1
840-860946869	WICKENBURG CULTURAL AND CONSERVATION FOUNDATION	Wickenburg	Arizona	United States	Recreation and Sports	Community Recreational Centers	Self Certified	2024-08-25	587.00	\$10.00	\$5,870.00	\$5,870.00	\$10,000.00	Round 1
840-860946968	COYOTES AMATEUR HOCKEY ASSOCIATION	SCOTTSDALE	Arizona	United States	Recreation and Sports	Winter Sports (Snow and Ice)	Self Certified	2024-08-10	30.00	\$10.00	\$300.00	\$300.00	\$10,000.00	Round 1
840-860959271	ARIZONA SOCIETY OF HOMEBREWERS	TEMPE	Arizona	United States	Arts, Culture, and Humanities	Arts Education	Self Certified	2025-01-03	208.00	\$10.00	\$2,080.00	\$2,080.00	\$10,000.00	Round 1
840-860977732	ARIZONA STRUT STUDENTS RECYCLING USED TECHNOLOGY	MESA	Arizona	United States	Education	Services, Educational, Other	Self Certified	2025-01-11	75.50	\$10.00	\$755.00	\$755.00	\$15,000.00	Round 1
840- 860987383/project/31TZWC1VJ B	MAHA GANAPATI TEMPLE OF ARIZONA for Food Donation	Chandler	Arizona	United States	Religion-Related	Hindu	Self Certified	2024-07-31	39.50	\$10.00	\$395.00	\$395.00	\$10,000.00	Round 1
840- 860987383/project/31TZYJW69 R	MAHA GANAPATI TEMPLE OF ARIZONA for KALASRUSHTI - Cultural Program	Chandler	Arizona	United States	Religion-Related	Hindu	Self Certified	2024-07-31	78.50	\$10.00	\$785.00	\$785.00	\$10,000.00	Round 1
840-860993983	ARIZONA WOMENS BUSINESS ENTERPRISE COUNCIL	MESA	Arizona	United States	Community Improvement and Capacity	Professional Societies, Associations	Self Certified	2024-05-23	26.50	\$10.00	\$265.00	\$265.00	\$10,000.00	Round 1
840-860996647	WILDHORSE RANCH RESCUE INC	GILBERT	Arizona	United States	Animal- Related	Animal Protection and Welfare	Self Certified	2024-06-25	723.00	\$10.00	\$7,230.00	\$7,230.00	\$10,000.00	Round 1
840-860998307	ARIZONA ACADEMY OF THE PERFORMING ARTS INC	TEMPE	Arizona	United States	Arts, Culture, and Humanities	Performing Arts Organizations	Self Certified	2025-02-08	98.50	\$10.00	\$985.00	\$985.00	\$10,000.00	Round 1
840-861008453	ARIZONA FRIENDS OF TALKING BOOKS	PHOENIX	Arizona	United States	Education	Services, Educational, Other	Self Certified	2025-01-31	435.08	\$10.00	\$4,350.80	\$4,350.80	\$15,000.00	Round 1
840-861012666	PHOENIX FILM FOUNDATION	PHOENIX	Arizona	United States	Arts, Culture, and Humanities	Film, Video	Self Certified	2024-10-26	23.50	\$10.00	\$235.00	\$235.00	\$10,000.00	Round 1
840-861012694	Summit School of Ahwatukee	Phoenix	Arizona	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2024-11-30	38.00	\$10.00	\$380.00	\$380.00	\$15,000.00	Round 1
840-861023772	HOPE FOR CATS	CHANDLER	Arizona	United States	Animal- Related	Animal Protection and Welfare	Self Certified	2024-06-24	95.00	\$10.00	\$950.00	\$950.00	\$10,000.00	Round 1
840-861035639	Arizona Elk Society	Peoria	Arizona	United States	Animal- Related	Single Organization Support	Self Certified	2024-06-26	48.00	\$10.00	\$480.00	\$480.00	\$10,000.00	Round 1
840-861043004	Tempe South Little League	TEMPE	Arizona	United States	Recreation and Sports	Baseball, Softball	Self Certified	2024-11-17	105.00	\$10.00	\$1,050.00	\$1,050.00	\$10,000.00	Round 1
840-861050607	NEWFOUNDLAND HEALTH AND RESCUE INC	Castro Valley	California	United States	Animal- Related	Animal Protection and Welfare	Self Certified	2024-09-17	130.00	\$10.00	\$1,300.00	\$1,300.00	\$10,000.00	Round 1
840-861079919	PEOPLE HELPING PEOPLE	RIO RANCHO	New Mexico	United States	Human Services	Emergency Assistance (Food, Clothing, Cash)	Self Certified	2024-09-07	220.24	\$10.00	\$2,202.40	\$2,202.40	\$10,000.00	Round 1
840-861130479	NORTHWEST TRAIL ALLIANCE INC	PORTLAND	Oregon	United States	Recreation and Sports	Nonmonetary Support N.E.C.	Self Certified	2024-08-14	102.00	\$10.00	\$1,020.00	\$1,020.00	\$10,000.00	Round 1
840-861166255	MINDS MATTER OF PORTLAND INC	Portland	Oregon	United States	Youth Development	Youth Development Programs, Other	Self Certified	2024-10-11	1107.50	\$10.00	\$11,075.00	\$10,000.00	\$10,000.00	Round 1
840-861467088	LOVE AND CARE KITTEN ADOPTION	Beaverton	Oregon	United States	Animal- Related	Animal Protection and Welfare	Self Certified	2024-09-12	204.50	\$10.00	\$2,045.00	\$2,045.00	\$10,000.00	Round 1
840- 861602295/project/4HHR56QJQ F	Nishmat Adin for Nishmat Adin -Shalhevet Scottsdale High School - Giving Back in the Community	Scottsdale	Arizona	United States	Religion-Related	Jewish	Self Certified	2024-11-29	25.00	\$10.00	\$250.00	\$250.00	\$10,000.00	Round 1
840-861829593	PORTLAND ARGENTINIAN FESTIVAL	Portland	Oregon	United States	Arts, Culture, and Humanities	Cultural, Ethnic Awareness	Self Certified	2024-05-18	40.00	\$10.00	\$400.00	\$400.00	\$10,000.00	Round 1

Cause Code	Cause Name	Cause City	Cause State or Province	Cause Country	Cause Category	Cause Subcategory	Self Certification Status	Self Certification Expiration	Volunteerd Hours	Hourly Match Rate	Total	Adjusted Total	Match Cap	Payout Round?
840-862056360	CHILDRENS HEALTH DEFENSE OREGON	ASHLAND	Oregon	United States	Environmental Quality, Protection,	Pollution Abatement and Control Services	Self Certified	2024-12-15	218.00	\$10.00	\$2,180.00	\$2,180.00	\$10,000.00	Round 1
840-862176186	The Young Artists Club	Hillsboro	Oregon	United States	Arts, Culture, and Humanities	Arts, Culture, and Humanities N.E.C.	Self Certified	2025-02-28	72.00	\$10.00	\$720.00	\$720.00	\$10,000.00	Round 1
840-862180135	GAYATRI FINE ARTS GLOBAL CORP	Canton	Michigan	United States	Arts, Culture, and Humanities	Performing Arts Organizations	Self Certified	2024-11-24	70.00	\$10.00	\$700.00	\$700.00	\$10,000.00	Round 1
840-862365156	REAL SALT LAKE AZ	Tempe	Arizona	United States	Recreation and Sports	Amateur Sports Clubs, Leagues, N.E.C.	Self Certified	2024-07-14	339.17	\$10.00	\$3,391.70	\$3,391.70	\$10,000.00	Round 1
840-862513698	JUSTICE CODE	Albuquerque	New Mexico	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2024-05-12	43.00	\$10.00	\$430.00	\$430.00	\$15,000.00	Round 1
840-862681768	ASHA HOPE AMANAKI	HILLSBORO	Oregon	United States	Human Services	Human Service Organizations Multipurpose	Self Certified	2024-06-02	1143.00	\$10.00	\$11,430.00	\$10,000.00	\$10,000.00	Round 1
840-863225617	Nakshatra Inc	Hillsboro	Oregon	United States	Arts, Culture, and Humanities	Arts, Cultural Organizations - Multipurpose	Self Certified	2024-12-01	27.00	\$10.00	\$270.00	\$270.00	\$10,000.00	Round 1
840-863365383	ACCENT NETWORK	PORTLAND	Oregon	United States	Human Services	Ethnic, Immigrant Centers, Services	Self Certified	2024-04-27	68.00	\$10.00	\$680.00	\$680.00	\$10,000.00	Round 1
840-863534993	BATSQUATCH SOFTBALL ORGANIZATION	HILLSBORO	Oregon	United States	Recreation and Sports	Baseball, Softball	Self Certified	2024-11-28	616.00	\$10.00	\$6,160.00	\$6,160.00	\$10,000.00	Round 1
840-863836459	WISHBONE FOUNDATION LIMITED	MORGAN HILL	California	United States	Animal- Related	Animal Protection and Welfare	Self Certified	2024-07-31	108.00	\$10.00	\$1,080.00	\$1,080.00	\$10,000.00	Round 1
840-866000134	PHOENIX SYMPHONY ASSOCIATION	PHOENIX	Arizona	United States	Arts, Culture, and Humanities	Symphony Orchestras	Self Certified	2024-09-26	314.25	\$10.00	\$3,142.50	\$3,142.50	\$10,000.00	Round 1
840-866006566	PHOENIX INDIAN CENTER	PHOENIX	Arizona	United States	Human Services	Ethnic, Immigrant Centers, Services	Self Certified	2024-12-07	30.00	\$10.00	\$300.00	\$300.00	\$10,000.00	Round 1
840-866041595	10282 SERTOMA CLUB OF MESA	Mesa	Arizona	United States	Philanthropy, Voluntarism, and	Public Foundations	Self Certified	2024-11-10	162.00	\$10.00	\$1,620.00	\$1,620.00	\$10,000.00	Round 1
840-866050388	UNIVERSITY OF ARIZONA FOUNDATION	TUCSON	Arizona	United States	Education	University or Technological Institute	Self Certified	2024-06-08	39.00	\$10.00	\$390.00	\$390.00	\$15,000.00	Round 1
840- 866050982/project/46RXRE1HC B	Greasepaint routileatie Programming	SCOTTSDALE	Arizona	United States	Arts, Culture, and Humanities	Theater	Self Certified	2024-11-07	57.00	\$10.00	\$570.00	\$570.00	\$10,000.00	Round 1
840- 866051042/project/3SCN1763G T	ASU Los Diablos Alumni Association	TEMPE	Arizona	United States	Education	University or Technological Institute	Self Certified	2024-06-19	305.50	\$10.00	\$3,055.00	\$3,055.00	\$15,000.00	Round 1
840- 866051042/project/3V8AVLKX2 P	ARIZONA STATE UNIVERSITY FOUNDATION FOR A NEW AMERICAN UNIVERSITY for W.P. Carey School of Business	TEMPE	Arizona	United States	Education	University or Technological Institute	Self Certified	2024-06-19	37.33	\$10.00	\$373.30	\$373.30	\$15,000.00	Round 1
840-866051093	ARIZONA INTERSCHOLASTIC ASSOCIATION INC	Phoenix	Arizona	United States	Recreation and Sports	Sports Training Facilities, Agencies	Self Certified	2024-09-26	48.00	\$10.00	\$480.00	\$480.00	\$10,000.00	Round 1
840-866051930	CHANDLER SERVICE CLUB	CHANDLER	Arizona	United States	Community Improvement and Capacity	Community Service Clubs	Self Certified	2025-01-26	826.00	\$10.00	\$8,260.00	\$8,260.00	\$10,000.00	Round 1
840-866053762	VNSA VOLUNTEER NONPROFIT SERVICE ASSOC	PHOENIX	Arizona	United States	Community Improvement and Capacity	Nonprofit Management	Self Certified	2024-10-12	184.00	\$10.00	\$1,840.00	\$1,840.00	\$10,000.00	Round 1
840-870212453	UTAH FOOD BANK	SALT LAKE CTY	Utah	United States	Human Services	Emergency Assistance (Food, Clothing, Cash)	Self Certified	2024-10-26	42.00	\$10.00	\$420.00	\$420.00	\$10,000.00	Round 1
840-870555261	Latter Day Saints Charities (Humanitarian Services)	Provo	Utah	United States	Public Safety, Disaster Preparedness	Disaster Preparedness and Relief Services	Self Certified	2025-01-22	171.00	\$10.00	\$1,710.00	\$1,710.00	\$10,000.00	Round 1
840-871166884	PR SARKAR ARCHIVES INCORPORATED	Warren	Vermont	United States	Education	Libraries	Self Certified	2024-10-12	55.00	\$10.00	\$550.00	\$550.00	\$15,000.00	Round 1
840-871380669	TUMWATER MIDDLE SCHOOL PARENT TEACHER ORGANIZATION	PORTLAND	Oregon	United States	Education	Parent/Teacher Group	Self Certified	2024-11-07	102.00	\$10.00	\$1,020.00	\$1,020.00	\$15,000.00	Round 1
840-871494818	OREGON REIGN FASTPITCH SOFTBALL	FOREST GROVE	Oregon	United States	Recreation and Sports	Baseball, Softball	Self Certified	2024-11-25	91.00	\$10.00	\$910.00	\$910.00	\$10,000.00	Round 1
840-871544510	KODC	GILBERT	Arizona	United States	Environmental Quality, Protection,	Environmental Quality, Protection, and Beautification N.E.C.	Self Certified	2024-11-28	22.50	\$10.00	\$225.00	\$225.00	\$10,000.00	Round 1
840-871858117	SOUTH MOUNTAIN GIRLS LACROSSE ASSOCIATION	PHOENIX	Arizona	United States	Recreation and Sports	Recreation, Sports, Leisure, Athletics N.E.C.	Self Certified	2024-09-22	742.00	\$10.00	\$7,420.00	\$7,420.00	\$10,000.00	Round 1
840-872232150	Ohana Warriors Softball	El Dorado Hills	California	United States	Recreation and Sports	Baseball, Softball	Self Certified	2024-11-11	34.00	\$10.00	\$340.00	\$340.00	\$10,000.00	Round 1
840-872276590	BOWIE HIGH SCHOOL ORCHESTRA BOOSTER CLUB	Austin	Texas	United States	Arts, Culture, and Humanities	Sports/Booster/Club/Band	Self Certified	2024-10-18	40.00	\$10.00	\$400.00	\$400.00	\$10,000.00	Round 1
840-872520514	MESQUITE BOYS BASKETBALL BOOSTERS	gilbert	Arizona	United States	Education	Sports/Booster/Club/Band	Self Certified	2025-02-24	89.00	\$10.00	\$890.00	\$890.00	\$15,000.00	Round 1
840-872656941	Altoponix	Palo Alto	California	United States	Environmental Quality, Protection,	Natural Resources Conservation and Protection	Self Certified	2024-11-01	262.00	\$10.00	\$2,620.00	\$2,620.00	\$10,000.00	Round 1

Cause Code	Cause Name	Cause City	Cause State or Province	Cause Country	Cause Category	Cause Subcategory	Self Certification Status	Self Certification Expiration	Volunteerd H Hours M	ourly atch Rate	Total	Adjusted Total	Match Cap	Payout Round
840-872716426	Fremont Robotics Academy	Fremont	California	United States	Education	Elementary, Secondary Education, K - 12	Self Certified		22.00	\$10.00	\$220.00	\$220.00	\$15,000.00	Round 1
840-872852437	NORTHWEST DIAMOND DAWGS	VANCOUVER	Washington	United States	Recreation and Sports	Baseball, Softball	Self Certified	2024-12-06	105.50	\$10.00	\$1,055.00	\$1,055.00	\$10,000.00	Round 1
840-872943251	Metal Maniacs	Folsom	California	United States	Science and Technology	Alliance/Advocacy Organizations	Self Certified	2024-09-07	219.00	\$10.00	\$2,190.00	\$2,190.00	\$10,000.00	Round 1
840-873187174	ST ANNE FRIENDS OF THE NEEDY	GILBERT	Arizona	United States	Human Services	Human Service Organizations Multipurpose	Expired	2024-02-04	32.25	\$10.00	\$322.50	\$322.50	\$10,000.00	Round 1
340-873507844	BHARAT HERITAGE ORGANIZATION	CHANDLER	Arizona	United States	Arts, Culture, and Humanities	Cultural, Ethnic Awareness	Self Certified	2024-09-07	445.00	\$10.00	\$4,450.00	\$4,450.00	\$10,000.00	Round 1
40-874264114	IRISE FOUNDATION	Phoenix	Arizona	United States	Education	Services, Educational, Other	Self Certified	2024-09-13	402.00	\$10.00	\$4,020.00	\$4,020.00	\$15,000.00	Round 1
40-874766081	BRIDGE TO LIFE MINISTRIES LIMITED	BOISE	ldaho	United States	Food, Agriculture, and Nutrition	Congregate Meals	Self Certified	2024-11-06	80.00	\$10.00	\$800.00	\$800.00	\$10,000.00	Round 1
40-876000535	WEBER STATE UNIVERSITY	Ogden	Utah	United States	Education	University or Technological Institute	Self Certified	2024-11-17	1576.00	\$10.00	\$15,760.00	\$10,000.00	\$15,000.00	Round 1
40-880061520	BOYCE THOMPSON SOUTHWESTERN ARBORETUM	Superior	Arizona	United States	Food, Agriculture, and Nutrition	Research Institutes and/or Public Policy Analysis	Self Certified	2024-12-15	500.00	\$10.00	\$5,000.00	\$5,000.00	\$10,000.00	Round 1
40-880203211	Nevada Northern Railway Foundation	ELY	Nevada	United States	Arts, Culture, and Humanities	History Museums	Self Certified	2024-12-01	647.75	\$10.00	\$6,477.50	\$6,477.50	\$10,000.00	Round 1
40-880880739	AKSHAYA PAATRA INC	CHARLOTTE	North Carolina	United States	Human Services	Human Services - Multipurpose and Other N.E.C.	Self Certified	2025-02-22	20.00	\$10.00	\$200.00	\$200.00	\$10,000.00	Round 1
40-880910557	BECHINATOWN	SAN FRANCISCO	California	United States	Public and Societal Benefit	Public, Society Benefit - Multipurpose and Other N.E.C.	Self Certified	2024-08-02	63.00	\$10.00	\$630.00	\$630.00	\$10,000.00	Round 1
40-881124290	VOICES OF GRIEF SUPPORT AND EDUCATION CENTER	COLORADO SPRINGS	Colorado	United States	Human Services	Human Service Organizations Multipurpose	Self Certified	2024-05-15	1078.00	\$10.00	\$10,780.00	\$10,000.00	\$10,000.00	Round 1
0-881178862	ORP CHARITABLE FOUNDATION	CYPRESS	Texas	United States	Human Services	Human Services - Multipurpose and Other N.E.C.	Self Certified	2024-10-19	35.00	\$10.00	\$350.00	\$350.00	\$10,000.00	Round 1
0-881481054	TOUTLE LAKE VOLUNTEER FIRE ASSOCIATION	TOUTLE	Washington	United States	Public Safety, Disaster Preparedness	Fire Prevention, Protection, Control	Self Certified	2024-10-23	122.00	\$10.00	\$1,220.00	\$1,220.00	\$10,000.00	Round 1
0-881891761	PONTE EN MIS ZAPATOS	Gaston	Oregon	United States	Youth Development	Youth Development Programs, Other	Self Certified	2024-08-09	313.50	\$10.00	\$3,135.00	\$3,135.00	\$10,000.00	Round 1
0-882166144	VSAA ARTS BOOSTER CLUB	VANCOUVER	Washington	United States	Education	Sports/Booster/Club/Band	Self Certified	2024-11-24	200.00	\$10.00	\$2,000.00	\$2,000.00	\$15,000.00	Round 1
0-882348951	DESERT FARMS2TABLE	GLENDALE	Arizona	United States	Food, Agriculture, and Nutrition	Food Banks, Food Pantries	Self Certified	2024-10-16	129.00	\$10.00	\$1,290.00	\$1,290.00	\$10,000.00	Round 1
40- 32403551/project/4UXTC19XD	Helping Souls of North America for HSNA Youth Club Initiative	Beaverton	Oregon	United States	Community Improvement and Capacity	Community, Neighborhood Development, Improvement (General)	Self Certified	2024-06-20	50.00	\$10.00	\$500.00	\$500.00	\$10,000.00	Round 1
0-882403551	Helping Souls of North America	Beaverton	Oregon	United States	Community Improvement and Capacity	Community, Neighborhood Development, Improvement (General)	Self Certified	2024-06-20	29.00	\$10.00	\$290.00	\$290.00	\$10,000.00	Round 1
10-882444342	BRAHMAVIDYA FOUNDATION INC	Parsippany	New Jersey	United States	Arts, Culture, and Humanities	Humanities Organizations	Self Certified	2024-11-27	24.00	\$10.00	\$240.00	\$240.00	\$10,000.00	Round 1
0-882466761	SONGJOGFOUNDATION	BEAVERTON	Oregon	United States	International, Foreign Affairs, and	International Development, Relief Services	Self Certified	2024-05-31	995.50	\$10.00	\$9,955.00	\$9,955.00	\$10,000.00	Round 1
10-883282557	Friends of Hihiri Pipiri	Hillsboro	Oregon	United States	Arts, Culture, and Humanities	Fund Raising and/or Fund Distribution	Self Certified	2024-08-28	723.71	\$10.00	\$7,237.10	\$7,237.10	\$10,000.00	Round 1
0-883510379	TOUMUI FOUNDATION	Santa Clara	California	United States	Recreation and Sports	Recreation, Sports, Leisure, Athletics N.E.C.	Self Certified		843.50	\$10.00	\$8,435.00	\$8,435.00	\$10,000.00	Round 1
0-883601882	BEAVERTON YOUTH TRACK CLUB	BEAVERTON	Oregon	United States	Recreation and Sports	Amateur Sports Competitions	Self Certified	2025-02-08	92.50	\$10.00	\$925.00	\$925.00	\$10,000.00	Round 1
0-884173728	VIBE FASTPITCH SOFTBALL INC	GILBERT	Arizona	United States	Recreation and Sports	Baseball, Softball	Self Certified	2024-11-16	30.00	\$10.00	\$300.00	\$300.00	\$10,000.00	Round 1
0-900082596	ARIZONA HIGH SCHOOL WATER POLO	MESA	Arizona	United States	Recreation and Sports	Swimming, Water Recreation	Self Certified	2024-07-11	124.00	\$10.00	\$1,240.00	\$1,240.00	\$10,000.00	Round 1
0-900131614	ROCKY MOUNTAIN RAPTOR PROGRAM	FORT COLLINS	Colorado	United States	Environmental Quality, Protection,	Recycling Programs	Self Certified	2024-09-26	249.50	\$10.00	\$2,495.00	\$2,495.00	\$10,000.00	Round 1
0-900208522	Newberg Animal Shelter Friends	Newberg	Oregon	United States	Animal- Related	Animal Protection and Welfare	Self Certified	2024-11-29	131.50	\$10.00	\$1,315.00	\$1,315.00	\$10,000.00	Round 1
40-900452824	SONAR BANGLA FOUNDATION	SANTA CLARA	California	United States	Health - General and Rehabilitative	Single Organization Support	Self Certified	2024-09-27	182.00	\$10.00	\$1,820.00	\$1,820.00	\$10,000.00	Round 1
40-900470136	PHOENIX CHILDRENS CHORUS INC	PHOENIX	Arizona	United States	Arts, Culture, and Humanities	Singing, Choral	Self Certified	2024-07-17	109.00	\$10.00	\$1,090.00	\$1,090.00	\$10,000.00	Round 1

Cause Code	Cause Name	Cause City	Cause State or Province	Cause Country	Cause Category	Cause Subcategory	Self Certification Status		Volunteerd Hours	Hourly Match Rate	Total	Adjusted Total	Match Cap	Payout Round?
840-900642485	EMBRACE COMPASSION	Wilsonville	Oregon	United States	International, Foreign Affairs, and	International Development, Relief Services	Self Certified	2024-09-20	132.50	\$10.00	\$1,325.00	\$1,325.00	\$10,000.00	Round 1
840-900646381	CYCLING DEVELOPMENT	EL DORADO HLS	California	United States	Recreation and Sports	Amateur Sports Clubs, Leagues, N.E.C.	Self Certified	2024-12-17	23.50	\$10.00	\$235.00	\$235.00	\$10,000.00	Round 1
840-900830517	KITTS KITTEN RESCUE INC	MESA	Arizona	United States	Animal- Related	Animal-Related N.E.C.	Self Certified	2024-08-07	246.00	\$10.00	\$2,460.00	\$2,460.00	\$10,000.00	Round 1
840-900840393	CIBOLA WRESTLING BOOSTER	Albuquerque	New Mexico	United States	Recreation and Sports	Fund Raising and/or Fund Distribution	Self Certified	2025-01-20	929.50	\$10.00	\$9,295.00	\$9,295.00	\$10,000.00	Round 1
840-900874423	FASTPITCH CARES	PORTLAND	Oregon	United States	Recreation and Sports	Baseball, Softball	Self Certified	2024-06-26	24.00	\$10.00	\$240.00	\$240.00	\$10,000.00	Round 1
840-901120661	TOASTMASTERS INTERNATIONAL	Folsom	California	United States	Recreation and Sports	Recreational, Pleasure, or Social Club	Self Certified	2024-07-25	200.75	\$10.00	\$2,007.50	\$2,007.50	\$10,000.00	Round 1
840- 910724638/project/2QKKZLEQC 7	St. Louise Parish for St. Louise Parish School	Bellevue	Washington	United States	Religion-Related	I Christian	Self Certified	2024-09-29	47.00	\$10.00	\$470.00	\$470.00	\$10,000.00	Round 1
840-910759124	VANCOUVER HUMANE SOCIETY & S P C A	VANCOUVER	Washington	United States	Animal- Related	Animal Protection and Welfare	Self Certified	2024-10-24	22.20	\$10.00	\$222.00	\$222.00	\$10,000.00	Round 1
840-910977467	BAINBRIDGE ISLAND PARENT-TEACHER- STUDENT ORGANIZATION	BAINBRIDGE IS	Washington	United States	Education	Parent/Teacher Group	Self Certified	2025-02-23	25.00	\$10.00	\$250.00	\$250.00	\$15,000.00	Round 1
840-911019655	BLOODWORKS NORTHWEST	Seattle	Washington	United States	Health - General and Rehabilitative	Blood Supply Related	Self Certified	2024-12-01	20.00	\$10.00	\$200.00	\$200.00	\$10,000.00	Round 1
840-911075542	Washington State University Foundation	Pullman	Washington	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2025-01-02	24.75	\$10.00	\$247.50	\$247.50	\$15,000.00	Round 1
840-911156519	SEATTLE CHILDRENS HOSPITAL FOUNDATION	SEATTLE	Washington	United States	Health - General and Rehabilitative	Single Organization Support	Self Certified	2024-05-31	190.00	\$10.00	\$1,900.00	\$1,900.00	\$10,000.00	Round 1
840-911170795	PLEASANT VALLEY PTA	VANCOUVER	Washington	United States	Education	Parent/Teacher Group	Self Certified	2025-01-28	47.00	\$10.00	\$470.00	\$470.00	\$15,000.00	Round 1
840-911175537	RIDGEFIELD BOOSTERS	RIDGEFIELD	Washington	United States	Education	Sports/Booster/Club/Band	Self Certified	2024-07-24	441.00	\$10.00	\$4,410.00	\$4,410.00	\$15,000.00	Round 1
840-911198391	NOURISH PIERCE COUNTY	TACOMA	Washington	United States	Food, Agriculture, and Nutrition	Food, Agriculture, and Nutrition N.E.C.	Self Certified	2024-07-05	99.50	\$10.00	\$995.00	\$995.00	\$10,000.00	Round 1
840-911214781	CLARK CO 4H HORSE LEADERS	VANCOUVER	Washington	United States	Youth Development	Youth Development - Agricultural	Expired	2024-02-06	188.00	\$10.00	\$1,880.00	\$1,880.00	\$10,000.00	Round 1
840-911214867	CHAM REFUGEES COMMUNITY	Seattle	Washington	United States	International, Foreign Affairs, and	International Development, Relief Services	Self Certified	2024-07-07	20.00	\$10.00	\$200.00	\$200.00	\$10,000.00	Round 1
840-911311805	SPIRIT OF PROPELLER	AUBURN	Washington	United States	Youth Development	Youth Development Programs, Other	Self Certified	2024-07-08	141.00	\$10.00	\$1,410.00	\$1,410.00	\$10,000.00	Round 1
840-911312923	VANCOUVER SVDP SOCIETY CONFERENCE	Vancouver	Washington	United States	Human Services	Human Services - Multipurpose and Other N.E.C.	Self Certified	2025-02-15	24.50	\$10.00	\$245.00	\$245.00	\$10,000.00	Round 1
840-911338816	QUILTERS ANONYMOUS	Lynnwood	Washington	United States	Education	Education N.E.C.	Self Certified	2024-09-04	106.00	\$10.00	\$1,060.00	\$1,060.00	\$15,000.00	Round 1
840-911377493	THE JEFFERSON COUNTY FOOD BANK ASSOCIATION	Port Hadlock	Washington	United States	Food, Agriculture, and Nutrition	Food Banks, Food Pantries	Self Certified	2024-04-10	52.00	\$10.00	\$520.00	\$520.00	\$10,000.00	Round 1
840-911386855	WAVE AQUATICS	KIRKLAND	Washington	United States	Recreation and Sports	Swimming, Water Recreation	Self Certified	2024-05-18	304.25	\$10.00	\$3,042.50	\$3,042.50	\$10,000.00	Round 1
840-911394056	SEATTLE CHILDRENS HOSPITAL GUILD ASSOCIATION	SEATTLE	Washington	United States	Health - General and Rehabilitative	Single Organization Support	Self Certified	2024-05-31	48.00	\$10.00	\$480.00	\$480.00	\$10,000.00	Round 1
840-911445981	PACIFIC SOCCER CLUB	BRUSH PRAIRIE	Washington	United States	Recreation and Sports	Soccer Clubs, Leagues	Self Certified	2024-10-05	342.00	\$10.00	\$3,420.00	\$3,420.00	\$10,000.00	Round 1
840-911506224	LITTLE LEAGUE BASEBALL 4470413 HAZEL DELL LL	VANCOUVER	Washington	United States	Recreation and Sports	Baseball, Softball	Self Certified	2024-10-19	252.00	\$10.00	\$2,520.00	\$2,520.00	\$10,000.00	Round 1
840-911569993	Mount St. Helens Institute	Amboy	Washington	United States	Education	Education N.E.C.	Self Certified	2024-06-08	297.00	\$10.00	\$2,970.00	\$2,970.00	\$15,000.00	Round 1
840-911646894	HEARTS & HAMMERS	Langley	Washington	United States	Community Improvement and Capacity	Community Service Clubs	Self Certified	2025-01-02	40.00	\$10.00	\$400.00	\$400.00	\$10,000.00	Round 1
840-911647663	WHIDBEY ISLAND CENTER FOR THE ARTS	LANGLEY	Washington	United States	Arts, Culture, and Humanities	Performing Arts Organizations	Self Certified	2025-02-14	23.00	\$10.00	\$230.00	\$230.00	\$10,000.00	Round 1
840-911743945	TEAM SURVIVOR NORTHWEST	SEATTLE	Washington	United States	Health - General and Rehabilitative	Public Health Program (Includes General Health and Wellness Promotion Services)	Self Certified	2025-01-19	805.00	\$10.00	\$8,050.00	\$8,050.00	\$10,000.00	Round 1
840-911752133	WASHINGTON COUNTY FAMILIES FOR INDEPENDENT LIVING	BEAVERTON	Oregon	United States	Human Services	Developmentally Disabled Centers, Services	Self Certified	2024-10-16	29.00	\$10.00	\$290.00	\$290.00	\$10,000.00	Round 1
840-911752615	WELLSPRING WOMEN'S CENTER	Sacramento	California	United States	Human Services	Services to Promote the Independence of Specific Populations	Self Certified	2024-09-11	35.50	\$10.00	\$355.00	\$355.00	\$10,000.00	Round 1

ause Code	Cause Name	Cause City	Cause State or Province	Cause Country	Cause Category	Cause Subcategory	Self Certification Status		Volunteerd Hours	Hourly Match Rate	otal	Adjusted Total	Match Cap	Payout Round?
0-911766978	METZGER ELEMENTARY PSO FOUNDATION	PORTLAND	Oregon	United States	Education	Parent/Teacher Group	Self Certified		88.00	\$10.00	\$880.00	\$880.00	\$15,000.00	Round 1
-911779425	Hillsboro Schools Foundation	Hillsboro	Oregon	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2024-11-20	151.75	\$10.00	\$1,517.50	\$1,517.50	\$15,000.00	Round 1
-911786694	PROFILE THEATRE PROJECT	Portland	Oregon	United States	Arts, Culture, and Humanities	Theater	Self Certified	2024-12-12	20.00	\$10.00	\$200.00	\$200.00	\$10,000.00	Round 1
- 790903/project/41JE6SK0UX	METRO LEAGUE INTERSCHOLASTIC SKI RACING ASSOCIATION for Alpine Ski Racing	Beaverton	Oregon	United States		Amateur Sports Clubs, Leagues, N.E.C.	Self Certified	2025-02-28	117.00	\$10.00	\$1,170.00	\$1,170.00	\$10,000.00	Round 1
)-911792443	CAMERON HIGHLANDERS OF THE NORTHWEST	Troutdale	Oregon	United States	Arts, Culture, and Humanities	Historical Societies, Related Historical Activities	Self Certified	2024-12-10	798.50	\$10.00	\$7,985.00	\$7,985.00	\$10,000.00	Round 1
- 807646/project/4U1NW689H	SWORAM INC for SWORAM Cultural Programs	HILLSBORO	Oregon	United States	Arts, Culture, and Humanities	Cultural, Ethnic Awareness	Self Certified	2024-07-20	44.00	\$10.00	\$440.00	\$440.00	\$10,000.00	Round 1
307646/project/4U1NTZDXQ	SWORAM INC for SWORAM Malayalam Class	HILLSBORO	Oregon	United States	Arts, Culture, and Humanities	Cultural, Ethnic Awareness	Self Certified	2024-07-20	75.00	\$10.00	\$750.00	\$750.00	\$10,000.00	Round 1
-911825374	TEACHING EVERYONE ANIMALS MATTER	SACRAMENTO	California	United States	Animal- Related	Animal Protection and Welfare	Self Certified	2024-11-19	26.00	\$10.00	\$260.00	\$260.00	\$10,000.00	Round 1
911828325	WESTERN VALLEY WALDORF ASSOC INC CEDARWOOD SCHOOL	Portland	Oregon	United States	Education	Primary, Elementary Schools	Self Certified	2024-07-10	30.00	\$10.00	\$300.00	\$300.00	\$15,000.00	Round 1
- 835082/project/3QDEFC6YS	Boy Scouts - Findley Elem Cub Scout Pack 718 via Findley Elementary PTO Inc.	Portland	Oregon	United States	Education	Parent/Teacher Group	Self Certified	2024-09-19	281.07	\$10.00	\$2,810.70	\$2,810.70	\$15,000.00	Round 1
911835082	Findley Elementary PTO Inc.	Portland	Oregon	United States	Education	Parent/Teacher Group	Self Certified	2024-09-19	20.24	\$10.00	\$202.40	\$202.40	\$15,000.00	Round 1
911877049	SUNRISE CHRISTIAN FOOD MINISTRY	CITRUS HTS	California	United States	Food, Agriculture, and Nutrition	Food Banks, Food Pantries	Self Certified	2024-10-08	391.00	\$10.00	\$3,910.00	\$3,910.00	\$10,000.00	Round 1
911882464	PUG RESCUE OF NORTHERN CALIFORNIA	CONCORD	California	United States	Animal- Related	Animal Protection and Welfare	Self Certified	2024-03-25	75.00	\$10.00	\$750.00	\$750.00	\$10,000.00	Round 1
911898141	SPARK MUSEUM OF ELECTRICAL INVENTION	BELLINGHAM	Washington	United States	Arts, Culture, and Humanities	Science and Technology Museums	Self Certified	2024-09-24	357.00	\$10.00	\$3,570.00	\$3,570.00	\$10,000.00	Round 1
911910904	TOWN HALL ASSOCIATION	SEATTLE	Washington	United States	Arts, Culture, and Humanities	Historical Societies, Related Historical Activities	Self Certified	2024-06-05	21.00	\$10.00	\$210.00	\$210.00	\$10,000.00	Round 1
911968512	MONA FOUNDATION	Bellevue	Washington	United States	Philanthropy, Voluntarism, and	Public Foundations	Self Certified	2024-12-28	233.00	\$10.00	\$2,330.00	\$2,330.00	\$10,000.00	Round 1
911978646	BOYS & GIRLS CLUBS OF SOUTHWEST WASHINGTON	Vancouver	Washington	United States	Youth Development	Boys and Girls Clubs (Combined)	Self Certified	2024-08-07	63.00	\$10.00	\$630.00	\$630.00	\$10,000.00	Round 1
911980299	ASIA-NORTHWEST CULTURAL EDUCATION ASSOCIATION	TACOMA	Washington	United States	Arts, Culture, and Humanities	Arts, Cultural Organizations - Multipurpose	Self Certified	2025-01-03	138.00	\$10.00	\$1,380.00	\$1,380.00	\$10,000.00	Round 1
912002817	FURRY FRIENDS	VANCOUVER	Washington	United States	Animal- Related	Animal Protection and Welfare	Self Certified	2024-08-17	32.75	\$10.00	\$327.50	\$327.50	\$10,000.00	Round 1
912010492	FRIENDS OF FORT FLAGLER STATE PARK	NORDLAND	Washington	United States	Environmental Quality,		Self Certified	2024-11-11	96.00	\$10.00	\$960.00	\$960.00	\$10,000.00	Round 1
912014664	NORTH AUSTIN SOCCER ALLIANCE INC	AUSTIN	Texas	United States	Protection, Recreation and Sports	Soccer Clubs, Leagues	Self Certified	2024-07-29	38.00	\$10.00	\$380.00	\$380.00	\$10,000.00	Round 1
912125234	SANTA CLARA CITY LIBRARY FOUNDATION AND FRIENDS	SANTA CLARA	California	United States	Education	Libraries	Self Certified	2024-06-07	52.00	\$10.00	\$520.00	\$520.00	\$15,000.00	Round 1
916032976	Symphony Tacoma	Tacoma	Washington	United States	Arts, Culture, and	Symphony Orchestras	Self Certified	2024-12-15	860.00	\$10.00	\$8,600.00	\$8,600.00	\$10,000.00	Round 1
916057670	UNITED STATES POWER SQUADRONS	VANCOUVER	Washington	United States	Humanities Public Safety, Disaster Proparedness	Safety Education	Self Certified	2024-09-27	1120.00	\$10.00	\$11,200.00	\$10,000.00	\$10,000.00	Round 1
916066667	POINT DEFIANCE ZOOLOGICAL SOCIETY	Tacoma	Washington	United States	Preparedness, Animal- Related	Single Organization Support	Self Certified	2024-12-04	99.00	\$10.00	\$990.00	\$990.00	\$10,000.00	Round 1
920189840	TELUGU ASSOC OF GREATER SACRAMENTO	FOLSOM	California	United States	Arts, Culture, and	Cultural, Ethnic Awareness	Self Certified	2024-04-11	81.50	\$10.00	\$815.00	\$815.00	\$10,000.00	Round 1
920291555	PUDDLETOWN CHESS	PORTLAND	Oregon	United States	Humanities Youth Development	Youth Development Programs, Other	Self Certified	2024-08-29	55.00	\$10.00	\$550.00	\$550.00	\$10,000.00	Round 1
920364475	SeniorTechPal	El Dorado Hills	California	United States	Public and Societal	Public Society Repofit	Self Certified	2024-07-19	737.33	\$10.00	\$7,373.30	\$7,373.30	\$10,000.00	Round 1
920476786	ROAR, Inc	Gilbert	Arizona	United States	Benefit Animal- Related	Animal Protection and Welfare	Self Certified	2024-10-18	1460.00	\$10.00	\$14,600.00	\$10,000.00	\$10,000.00	Round 1
920740023	Sunset High School Ski Team Inc	Portland	Oregon	United States	Recreation and Sports	Winter Sports (Snow and Ice)	Self Certified	2024-09-25	650.50	\$10.00	\$6,505.00	\$6,505.00	\$10,000.00	Round 1
920808825	JEMEZ ANGEL CAT RESCUE INC	JEMEZ PUEBLO	New Mexico	United States	Animal- Related	Animal Protection and Welfare	Self Certified	2024-07-16	1089.00	\$10.00	\$10,890.00	\$10,000.00	\$10,000.00	Round 1
				Jiaies	, iciaicu									

Cause Code	Cause Name	Cause City	Cause State or Province	Cause Country	Cause Category	Cause Subcategory	Self Certification Status	Self Certification Expiration	Volunteerd Hours	Hourly Match Rate	Total	Adjusted Total	Match Cap	Payout Round?
840-920831933	LIGHTNING SQUARE	SAN JOSE	California	United States	Recreation and Sports	Recreational, Pleasure, or Social Club	Self Certified	2024-12-12	38.08	\$10.00	\$380.80	\$380.80	\$10,000.00	Round 1
840-920968836	FRIENDS OF LAWS FOR PAWS VIETNAM	REDMOND	Washington	United States	Animal- Related	Animal Protection and Welfare	Self Certified	2024-09-07	90.00	\$10.00	\$900.00	\$900.00	\$10,000.00	Round 1
840-921226491	A CREATIVE PAUSE INC	Portland	Oregon	United States	Human Services	Human Services - Multipurpose and Other N.E.C.	Self Certified	2024-07-14	181.00	\$10.00	\$1,810.00	\$1,810.00	\$10,000.00	Round 1
840-921684586	Sonoma Chicks Rescue and Sanctuary	Sonoma	California	United States	Animal- Related	Single Organization Support	Self Certified	2024-09-27	74.00	\$10.00	\$740.00	\$740.00	\$10,000.00	Round 1
840-921862355	ORTHMANN FOUNDATION INC	PORTLAND	Oregon	United States	Education	Alliance/Advocacy Organizations	Self Certified	2024-08-08	28.50	\$10.00	\$285.00	\$285.00	\$15,000.00	Round 1
840-922309877	Small Farms Big Minds	Phoenix	Arizona	United States	Food, Agriculture, and Nutrition	Agricultural Programs	Self Certified	2024-03-17	68.00	\$10.00	\$680.00	\$680.00	\$10,000.00	Round 1
840-922474917	Brian Boru GAA Club	Tempe	Arizona	United States	Recreation and Sports	Amateur Sports Competitions	Self Certified	2024-11-08	336.00	\$10.00	\$3,360.00	\$3,360.00	\$10,000.00	Round 1
840-922650369	NA LEO O KE KAI OUTRIGGER CANOE CLUB	GILBERT	Arizona	United States	Recreation and Sports	Recreational, Pleasure, or Social Club	Self Certified	2024-04-20	227.08	\$10.00	\$2,270.80	\$2,270.80	\$10,000.00	Round 1
840-923192318	HEALTH FOR HUMANITY CORP	San Jose	California	United States	Health - General and Rehabilitative	Community Health Systems	Self Certified	2024-09-08	110.00	\$10.00	\$1,100.00	\$1,100.00	\$10,000.00	Round 1
840-930115448	TOY & JOY COMPASSION IN ACTION OF CLACKAMAS COUNTY	Oregon City	Oregon	United States	Youth Development	Fund Raising and/or Fund Distribution	Self Certified	2024-10-13	362.00	\$10.00	\$3,620.00	\$3,620.00	\$10,000.00	Round 1
840-930140220	CITY CLUB OF PORTLAND	PORTLAND	Oregon	United States	Community Improvement and Capacity	Community Service Clubs	Self Certified	2024-07-31	110.00	\$10.00	\$1,100.00	\$1,100.00	\$10,000.00	Round 1
840- 930229514/project/3R0BHN5VS B	Washington County 4-H Assn for Dairy Creek 4 H Club	- Beaverton	Oregon	United States	Youth Development	Youth Development - Agricultural	Self Certified	2024-09-06	167.25	\$10.00	\$1,672.50	\$1,672.50	\$10,000.00	Round 1
840- 930229514/project/4TZ2HXZA1 R	Washington County 4-H Assn for First Tech Challenge Robotics Team - Mechanical Mages	Beaverton	Oregon	United States	Youth Development	Youth Development - Agricultural	Self Certified	2024-09-06	520.00	\$10.00	\$5,200.00	\$5,200.00	\$10,000.00	Round 1
840- 930229514/project/4J33VZSRAF	Washington County 4-H Assn for High Voltage (Team 18108)	Beaverton	Oregon	United States	Youth Development	Youth Development - Agricultural	Self Certified	2024-09-06	166.00	\$10.00	\$1,660.00	\$1,660.00	\$10,000.00	Round 1
840- 930229514/project/3R0B9QY0C P	Washington County 4-H Assn for Hillsboro Sharp Shooters 4-H Club	Beaverton	Oregon	United States	Youth Development	Youth Development - Agricultural	Self Certified	2024-09-06	23.83	\$10.00	\$238.30	\$238.30	\$10,000.00	Round 1
840- 930229514/project/3NUMB17VE 7	Washington County 4-H Assn for Mariachi STEAM Summer Camp	Beaverton	Oregon	United States	Youth Development	Youth Development - Agricultural	Self Certified	2024-09-06	244.00	\$10.00	\$2,440.00	\$2,440.00	\$10,000.00	Round 1
840-930333036	PORTLAND ROSE FESTIVAL FOUNDATION	PORTLAND	Oregon	United States	Arts, Culture, and Humanities	Arts, Cultural Organizations - Multipurpose	Self Certified	2024-06-30	450.00	\$10.00	\$4,500.00	\$4,500.00	\$10,000.00	Round 1
840-930384007	JUNIOR ACHIEVEMENT OF OREGON AND SW WASHINGTON INC	PORTLAND	Oregon	United States	International, Foreign Affairs, and	International Economic Development	Self Certified	2025-02-02	119.25	\$10.00	\$1,192.50	\$1,192.50	\$10,000.00	Round 1
840- 930386801/project/1VW38FFFD H	My Sisters Place - Catholic Charities Community Services	Portland	Oregon	United States	Religion- Related	Christian	Self Certified	2024-07-17	61.50	\$10.00	\$615.00	\$615.00	\$10,000.00	Round 1
840- 930386803/project/3BWY8PU17 1	CATHOLIC YOUTH ORGANIZATION/CAMP HOWARD for Champions of Faith	PORTLAND	Oregon	United States	Youth Development	Youth Development Programs, Other	Self Certified	2024-05-26	98.75	\$10.00	\$987.50	\$987.50	\$10,000.00	Round 1
840- 930386803/project/3E5V5J12HF	CATHOLIC YOUTH ORGANIZATION/CAMP R HOWARD for St. Pius X CYO Club	PORTLAND	Oregon	United States	Youth Development	Youth Development Programs, Other	Self Certified	2024-05-26	260.00	\$10.00	\$2,600.00	\$2,600.00	\$10,000.00	Round 1
840-930386803	CATHOLIC YOUTH ORGANIZATION/CAMP HOWARD	PORTLAND	Oregon	United States	Youth Development	Youth Development Programs, Other	Self Certified	2024-05-26	71.00	\$10.00	\$710.00	\$710.00	\$10,000.00	Round 1
840-930386839	George Fox University	Newberg	Oregon	United States	Education	University or Technological Institute	Self Certified	2024-09-11	60.50	\$10.00	\$605.00	\$605.00	\$15,000.00	Round 1
840-930386860	LUTHERAN COMMUNITY SERVICES NORTHWEST	SeaTac	Washington	United States	Human Services	Human Service Organizations Multipurpose	Self Certified	2024-09-05	76.50	\$10.00	\$765.00	\$765.00	\$10,000.00	Round 1
840-930386875	Neighborhood House - Portland	Portland	Oregon	United States	Human Services	Neighborhood Centers, Settlement Houses	Self Certified	2024-09-01	39.50	\$10.00	\$395.00	\$395.00	\$10,000.00	Round 1
840-930386880	Oregon Humane Society	Portland	Oregon	United States	Animal- Related	Animal Protection and Welfare	Self Certified	2024-10-17	202.17	\$10.00	\$2,021.70	\$2,021.70	\$10,000.00	Round 1
840-930386885	EasterSeals Oregon	Portland	Oregon	United States	Health - General and Rehabilitative	Rehabilitative Medical Services	Self Certified	2024-06-02	35.00	\$10.00	\$350.00	\$350.00	\$10,000.00	Round 1
840- 930386892/project/4GZMH2HFJ T	PACIFIC UNIVERSITY for NHOH	FOREST GROVE	Oregon	United States	Education	University or Technological Institute	Self Certified	2024-12-19	720.50	\$10.00	\$7,205.00	\$7,205.00	\$15,000.00	Round 1
840- 930386901/project/3C9TWQA62 7	CAMP FIRE COLUMBIA for Camp Namanu - Overnight Camp	PORTLAND	Oregon	United States	Youth Development	Camp Fire	Self Certified	2024-07-06	43.50	\$10.00	\$435.00	\$435.00	\$10,000.00	Round 1
, 840-930386915	Oregon Episcopal School	Portland	Oregon	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2024-08-22	157.50	\$10.00	\$1,575.00	\$1,575.00	\$15,000.00	Round 1
840-930386918	St. Mary's Academy	Portland	Oregon	United States	Education	Secondary, High School	Self Certified	2024-07-05	129.00	\$10.00	\$1,290.00	\$1,290.00	\$15,000.00	Round 1

Cause Code	Cause Name	Cause City	Cause State or Province	Cause Country	Cause Category	Cause Subcategory	Self Certification Status	Self Certification Expiration	Volunteerd Hours	Hourly Match Rate	Total	Adjusted Total	Match Cap	Payout Round?
840- 930386981/project/3X4VWSWV 2X	YMCA of Columbia-Willamette for Beaverton Hoop YMCA	Portland	Oregon	United States	Human Services	Young Men's or Women's Associations (YMCA, YWCA, YWHA, YMHA)	Self Certified	2024-05-31	65.75	\$10.00	\$657.50	\$657.50	\$10,000.00	Round 1
840-930391586	Linfield University	MCMINNVILLE	Oregon	United States	Education	Undergraduate College (4- year)	Self Certified	2024-11-16	61.00	\$10.00	\$610.00	\$610.00	\$15,000.00	Round 1
840-930391604	Portland Art Museum	Portland	Oregon	United States	Arts, Culture, and Humanities	Art Museums	Self Certified	2024-07-21	66.00	\$10.00	\$660.00	\$660.00	\$10,000.00	Round 1
840-930395590	URBAN LEAGUE OF PORTLAND	PORTLAND	Oregon	United States	Human Services	Urban League	Self Certified	2024-08-18	83.50	\$10.00	\$835.00	\$835.00	\$10,000.00	Round 1
840-930397825	Metropolitan Family Service	Portland	Oregon	United States	Human Services	Family Counseling	Self Certified	2024-09-28	383.66	\$10.00	\$3,836.60	\$3,836.60	\$10,000.00	Round 1
840- 930399051/project/52BEN60MN K	Mountaindale North Day Camp via Girl Scouts of Oregon and SW Washington	Portland	Oregon	United States	Youth Development	Girl Scouts of the U.S.A.	Self Certified	2024-08-01	122.00	\$10.00	\$1,220.00	\$1,220.00	\$10,000.00	Round 1
840- 930399051/project/3E4H7RN5X Z	Mountaindale West Day Camp via Girl Scouts of Oregon and SW Washington	Portland	Oregon	United States	Youth Development	Girl Scouts of the U.S.A.	Self Certified	2024-08-01	280.00	\$10.00	\$2,800.00	\$2,800.00	\$10,000.00	Round 1
840- 930399051/project/45TRD5FVV M	Girl Scouts Troop 10415 via Girl Scouts of Oregon and SW Washington	Portland	Oregon	United States	Youth Development	Girl Scouts of the U.S.A.	Self Certified	2024-08-01	205.00	\$10.00	\$2,050.00	\$2,050.00	\$10,000.00	Round 1
840- 930399051/project/3GHXEWNW D9	Girl Scouts Troop 10647 via Girl Scouts of Oregon and SW Washington	Portland	Oregon	United States	Youth Development	Girl Scouts of the U.S.A.	Self Certified	2024-08-01	221.50	\$10.00	\$2,215.00	\$2,215.00	\$10,000.00	Round 1
840- 930399051/project/3E4XTUNU8 F	Girl Scouts Troop 40151 via Girl Scouts of Oregon and SW Washington	Portland	Oregon	United States	Youth Development	Girl Scouts of the U.S.A.	Self Certified	2024-08-01	1013.00	\$10.00	\$10,130.00	\$10,000.00	\$10,000.00	Round 1
840-930399051	Girl Scouts of Oregon and SW Washington	Portland	Oregon	United States	Youth Development	Girl Scouts of the U.S.A.	Self Certified	2024-08-01	176.50	\$10.00	\$1,765.00	\$1,765.00	\$10,000.00	Round 1
840-930401258	UNION GOSPEL MISSION	PORTLAND	Oregon	United States	Housing and Shelter	Homeless, Temporary Shelter For	Self Certified	2024-07-26	144.50	\$10.00	\$1,445.00	\$1,445.00	\$10,000.00	Round 1
840-930402877	Oregon Museum of Science and Industry (OMSI)	Portland	Oregon	United States	Arts, Culture, and Humanities	Science and Technology Museums	Self Certified	2025-01-31	143.25	\$10.00	\$1,432.50	\$1,432.50	\$10,000.00	Round 1
840-930408077	MAZAMAS	PORTLAND	Oregon	United States	Environmental Quality, Protection,	Environmental Education and Outdoor Survival Programs	Self Certified	2024-11-20	1299.49	\$10.00	\$12,994.90	\$10,000.00	\$10,000.00	Round 1
840-930430029	TUALITY HEALTHCARE	Hillsboro	Oregon	United States	Health - General and Rehabilitative	Hospital, General	Self Certified	2024-12-29	269.00	\$10.00	\$2,690.00	\$2,690.00	\$10,000.00	Round 1
840-930448866	Jesuit High School	Portland	Oregon	United States	Education	Secondary, High School	Self Certified	2024-09-13	624.58	\$10.00	\$6,245.80	\$6,245.80	\$15,000.00	Round 1
840- 930456525/project/30GL9YKFS P	St. Vincent de Paul Portland Council for St Matthews Conf-St Vincent DePaul	Portland	Oregon	United States	Human Services	Emergency Assistance (Food, Clothing, Cash)	Self Certified	2024-06-14	505.50	\$10.00	\$5,055.00	\$5,055.00	\$10,000.00	Round 1
840-930456525	St. Vincent de Paul Portland Council	Portland	Oregon	United States	Human Services	Emergency Assistance (Food, Clothing, Cash)	Self Certified	2024-06-14	259.00	\$10.00	\$2,590.00	\$2,590.00	\$10,000.00	Round 1
840-930474800	Boys & Girls Clubs of Portland Metropolitan Area	Portland	Oregon	United States	Youth Development	Boys and Girls Clubs (Combined)	Self Certified	2025-01-17	32.50	\$10.00	\$325.00	\$325.00	\$10,000.00	Round 1
840-930479886	VISITATION CATHOLIC CHURCH and SCHOOL	Forest Grove	Oregon	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2024-10-23	118.50	\$10.00	\$1,185.00	\$1,185.00	\$15,000.00	Round 1
840- 930494093/project/3976JL1XK9	•	Beaverton	Oregon	United States	Religion-Related	l Christian	Self Certified	2024-07-11	48.00	\$10.00	\$480.00	\$480.00	\$10,000.00	Round 1
840- 930498683/project/3LKDHK6Q2 P	ST MATTHEW LUTHERAN CHURCH for Cars for Success	BEAVERTON	Oregon	United States	Religion-Related	I Protestant	Self Certified	2024-06-08	261.00	\$10.00	\$2,610.00	\$2,610.00	\$10,000.00	Round 1
840- 930498683/project/3LKDFCCCN R	ST MATTHEW LUTHERAN CHURCH for Food Pantry	BEAVERTON	Oregon	United States	Religion-Related	I Protestant	Self Certified	2024-06-08	83.25	\$10.00	\$832.50	\$832.50	\$10,000.00	Round 1
840- 930498683/project/4MUH3KTLZ R	Boy Scouts Troop 124 & Troop 5124 via ST MATTHEW LUTHERAN CHURCH	BEAVERTON	Oregon	United States	Religion-Related	Scouting Organizations	Self Certified	2024-06-08	686.16	\$10.00	\$6,861.60	\$6,861.60	\$10,000.00	Round 1
840- 930499327/project/54A2RXWDX D	BETHANY PRESBYTERIAN CHURCH for Monthly dinners for Doreen's Place (Transition Projects)	PORTLAND	Oregon	United States	Religion- Related	Religion Related, Spiritual Development N.E.C.	Self Certified	2025-02-23	30.00	\$10.00	\$300.00	\$300.00	\$10,000.00	Round 1
840- 930502822/project/3U9S1QU9F 1	LIFEWORKS NW for Children's Relief Nursery St. Johns site	PORTLAND	Oregon	United States	Mental Health and Crisis Intervention	Mental Health Treatment - Multipurpose and N.E.C.	Self Certified	2025-03-01	127.08	\$10.00	\$1,270.80	\$1,270.80	\$10,000.00	Round 1
840- 930503374/project/31E9M35579	HELVETIA COMMUNITY CHURCH for Blanket Coverage Soup Kitchen	HILLSBORO	Oregon	United States	Religion-Related	Religion Related, Spiritual Development N.E.C.	Self Certified	2024-09-20	30.00	\$10.00	\$300.00	\$300.00	\$10,000.00	Round 1
840- 930507554/project/4W4KTZQ5U T	Boy Scouts of America Troop 5868 via BETHLEHEM LUTHERAN CHURCH	ALOHA	Oregon	United States	Religion- Related	Scouting Organizations	Self Certified	2024-09-26	251.08	\$10.00	\$2,510.80	\$2,510.80	\$10,000.00	Round 1
840- 930509798/project/3XW1HR313 R	Northwest Christian Church for Community Kitchen	NEWBERG	Oregon	United States	Religion-Related	l Christian	Self Certified	2025-02-13	30.00	\$10.00	\$300.00	\$300.00	\$10,000.00	Round 1
840- 930509798/project/3XW1E7CPE 3	Northwest Christian Church for The Zone	NEWBERG	Oregon	United States	Religion-Related	l Christian	Self Certified	2025-02-13	140.00	\$10.00	\$1,400.00	\$1,400.00	\$10,000.00	Round 1
840-930554941	Community Action Organization	Hillsboro	Oregon	United States	Human Services	Services to Promote the Independence of Specific Populations	Self Certified	2024-07-18	65.25	\$10.00	\$652.50	\$652.50	\$10,000.00	Round 1

Cause Code	Cause Name	Cause City	Cause State or Province	Cause Country	Cause Category	Cause Subcategory	Self Certification Status	Self Certification Expiration	Volunteerd Hours	Hourly Match Rate	Total	Adjusted Total	Match Cap	Payout Round?
840-930567861	NATIONAL RAILWAY HISTORICAL SOCIETY PACIFIC NORTHWEST CHAPTER	PORTLAND	Oregon	United States	Arts, Culture, and Humanities	Historical Societies & Historic Preservation	Self Certified	2024-07-22	1000.00	\$10.00	\$10,000.00	\$10,000.00	\$10,000.00	Round 1
840-930572590	CAMP SOLOMON SCHECHTER INC	SEATTLE	Washington	United States	Recreation and Sports	Recreational and Sporting Camps	Self Certified	2024-07-11	29.00	\$10.00	\$290.00	\$290.00	\$10,000.00	Round 1
840- 930575982/project/3V54GTVSJ7	PROVIDENCE ST VINCENT MEDICAL FOUNDATION for Providence St. Vincent NICU	PORTLAND	Oregon	United States	Health - Genera and Rehabilitative	Single Organization Support	Self Certified	2024-08-28	42.25	\$10.00	\$422.50	\$422.50	\$10,000.00	Round 1
840-930575982	PROVIDENCE ST VINCENT MEDICAL FOUNDATION	PORTLAND	Oregon	United States	Health - General and Rehabilitative	Single Organization Support	Self Certified	2024-08-28	2118.91	\$10.00	\$21,189.10	\$10,000.00	\$10,000.00	Round 1
840-930579286	SOLVE	Portland	Oregon	United States	Environmental Quality, Protection,	Environmental Beautification and Aesthetics	Self Certified	2024-07-26	154.58	\$10.00	\$1,545.80	\$1,545.80	\$10,000.00	Round 1
840-930584318	Meals on Wheels People	Portland	Oregon	United States	Food, Agriculture, and Nutrition	Food Service, Free Food Distribution Programs	Self Certified	2024-07-26	537.33	\$10.00	\$5,373.30	\$5,373.30	\$10,000.00	Round 1
840-930606729	Centro Cultural de Washington County	Cornelius	Oregon	United States	Human Services	Ethnic, Immigrant Centers, Services	Self Certified	2024-12-27	98.50	\$10.00	\$985.00	\$985.00	\$10,000.00	Round 1
840-930608936	CORRIB THEATRE	PORTLAND	Oregon	United States	Arts, Culture, and Humanities	Performing Arts Organizations	Self Certified	2024-08-24	20.00	\$10.00	\$200.00	\$200.00	\$10,000.00	Round 1
840-930612379	NWDA COMMUNITY ORGANIZATION FOR NORTHWEST PORTLAND INC	PORTLAND	Oregon	United States	Human Services	Neighborhood Centers, Settlement Houses	Self Certified	2024-09-25	260.00	\$10.00	\$2,600.00	\$2,600.00	\$10,000.00	Round 1
840-930616957	HUMANE SOCIETY OF CENTRAL OREGON SPCA	Bend	Oregon	United States	Animal- Related	Animal Protection and Welfare	Self Certified	2024-08-04	75.00	\$10.00	\$750.00	\$750.00	\$10,000.00	Round 1
840- 930619733/project/3NT49U661Z	Portland State University Foundation for Northwest Science Expo for 5th-12th Grade Students	Portland	Oregon	United States	Education	University or Technological Institute	Self Certified	2024-09-20	127.50	\$10.00	\$1,275.00	\$1,275.00	\$15,000.00	Round 1
840- 930619733/project/3BVCP723L X	Portland State University Foundation for Oregon MESA: STEM Education for Underserved Students	Portland	Oregon	United States	Education	University or Technological Institute	Self Certified	2024-09-20	27.00	\$10.00	\$270.00	\$270.00	\$15,000.00	Round 1
840- 930619733/project/3VN2REYQU 3	Portland State University Foundation for Portland Metro STEM Partnership	Portland	Oregon	United States	Education	University or Technological Institute	Self Certified	2024-09-20	136.00	\$10.00	\$1,360.00	\$1,360.00	\$15,000.00	Round 1
840-930619733	Portland State University Foundation	Portland	Oregon	United States	Education	University or Technological Institute	Self Certified	2024-09-20	21.00	\$10.00	\$210.00	\$210.00	\$15,000.00	Round 1
840- 930625359/project/3AXC0XDVY K	ECUMENICAL MINISTRIES OF OREGON for NEFP	PORTLAND	Oregon	United States	Religion-Related	Religion Related, Spiritual Development N.E.C.	Self Certified	2024-08-08	68.00	\$10.00	\$680.00	\$680.00	\$10,000.00	Round 1
840- 930625359/project/3AXBYQKJY B	ECUMENICAL MINISTRIES OF OREGON for Second Home	PORTLAND	Oregon	United States	Religion-Related	Religion Related, Spiritual Development N.E.C.	Self Certified	2024-08-08	972.00	\$10.00	\$9,720.00	\$9,720.00	\$10,000.00	Round 1
840- 930625359/project/41QTURLVV 5	ECUMENICAL MINISTRIES OF OREGON for SOAR Immigration Legal Services	PORTLAND	Oregon	United States	Religion-Related	Religion Related, Spiritual Development N.E.C.	Self Certified	2024-08-08	39.50	\$10.00	\$395.00	\$395.00	\$10,000.00	Round 1
840-930653280	FOREST GROVE SWIM CLUB INC	FOREST GROVE	Oregon	United States	Recreation and Sports	Sports/Booster/Club/Band	Self Certified	2025-02-06	157.00	\$10.00	\$1,570.00	\$1,570.00	\$10,000.00	Round 1
840-930665804	DOMESTIC VIOLENCE RESOURCE CENTER INC	Hillsboro	Oregon	United States	Human Services	Family Violence Shelters, Services	Self Certified	2025-01-02	176.22	\$10.00	\$1,762.20	\$1,762.20	\$10,000.00	Round 1
840-930679056	ASCM Oregon Chapter	PORTLAND	Oregon	United States	Community Improvement and Capacity	Promotion of Business	Self Certified	2024-06-14	63.00	\$10.00	\$630.00	\$630.00	\$10,000.00	Round 1
840-930699211	NATIONAL SOCIETY OF THE DAUGHTERS OF THE AMERICAN REVOLUTION	Portland	Oregon	United States	Arts, Culture, and Humanities	Historical Societies, Related Historical Activities	Self Certified	2024-05-26	103.00	\$10.00	\$1,030.00	\$1,030.00	\$10,000.00	Round 1
840-930700108	LAKEWOOD THEATRE COMPANY	LAKE OSWEGO	Oregon	United States	Arts, Culture, and Humanities	Theater	Self Certified	2025-01-02	25.00	\$10.00	\$250.00	\$250.00	\$10,000.00	Round 1
840-930715635	HILLSBORO PARENT PRE-SCHOOL	HILLSBORO	Oregon	United States	Education	Kindergarten, Preschool, Nursery School, Early Admissions	Self Certified	2024-06-10	74.50	\$10.00	\$745.00	\$745.00	\$15,000.00	Round 1
840-930717013	SOUTHWEST NEIGHBORHOODS INC	PORTLAND	Oregon	United States	Community Improvement and Capacity	Nonmonetary Support N.E.C.	Expired	2023-12-15	305.92	\$10.00	\$3,059.20	\$3,059.20	\$10,000.00	Round 1
840-930718337	Oregon Zoo Foundation	Portland	Oregon	United States	Animal- Related	Single Organization Support	Self Certified	2024-07-06	160.57	\$10.00	\$1,605.70	\$1,605.70	\$10,000.00	Round 1
840-930722366	ST HELENS SENIOR CENTER	ST HELENS	Oregon	United States	Human Services	Senior Centers, Services	Self Certified	2024-07-03	75.00	\$10.00	\$750.00	\$750.00	\$10,000.00	Round 1
840-930738797	French International School of Oregon	Portland	Oregon	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2024-08-14	267.58	\$10.00	\$2,675.80	\$2,675.80	\$15,000.00	Round 1
840-930750342	SOCIETY OF WOMEN ENGINEERS	PORTLAND	Oregon	United States	Community Improvement and Capacity	Promotion of Business	Self Certified	2025-01-02	179.00	\$10.00	\$1,790.00	\$1,790.00	\$10,000.00	Round 1
840-930751507	Tuality Healthcare Foundation	Hillsboro	Oregon	United States	Health - General and Rehabilitative	Fund Raising and/or Fund Distribution	Self Certified	2024-12-29	291.00	\$10.00	\$2,910.00	\$2,910.00	\$10,000.00	Round 1
840-930751998	OREGON COUNTRY FAIR	Eugene	Oregon	United States	Arts, Culture, and Humanities	Arts, Cultural Organizations - Multipurpose	Self Certified	2024-10-26	519.50	\$10.00	\$5,195.00	\$5,195.00	\$10,000.00	Round 1
840-930752969	Special Olympics Oregon	Beaverton	Oregon	United States	Recreation and Sports	Amateur Sports Competitions	Self Certified	2024-11-02	93.50	\$10.00	\$935.00	\$935.00	\$10,000.00	Round 1

Cause Code	Cause Name	Cause City	Cause State or Province	Cause Country	Cause Category	Cause Subcategory	Self Certification Status	Self Certification Expiration	Volunteerd Hours	Hourly . Match Rate	Total	Adjusted Total	Match Cap	Payout Round?
840-930771865	BIRTHRIGHT OF HILLSBORO	HILLSBORO	Oregon	United States	Health - General and Rehabilitative	Reproductive Health Care Facilities and Allied Services	Self Certified	2024-06-27	228.00	\$10.00	\$2,280.00	\$2,280.00	\$10,000.00	Round 1
840-930776052	INDIA CULTURAL ASSOCIATION	BEAVERTON	Oregon	United States	Arts, Culture, and Humanities	Commemorative Events	Self Certified	2025-02-26	87.00	\$10.00	\$870.00	\$870.00	\$10,000.00	Round 1
840- 930785442/project/3H2FAAUNH Z	SONRISE CHURCH - SOS & Other Programs for Community Kitchen	HILLSBORO	Oregon	United States	Religion-Related	Protestant	Self Certified	2025-02-22	563.00	\$10.00	\$5,630.00	\$5,630.00	\$10,000.00	Round 1
840- 930785442/project/2ZCETX586 P	SONRISE CHURCH - SOS & Other Programs for Mercy Fund	HILLSBORO	Oregon	United States	Religion-Related	Protestant	Self Certified	2025-02-22	688.00	\$10.00	\$6,880.00	\$6,880.00	\$10,000.00	Round 1
840- 930785786/project/3RQSAT72S 7	OREGON FOOD BANK INC	Portland	Oregon	United States	Nutrition	Food Banks, Food Pantries	Self Certified	2024-11-09	389.33	\$10.00	\$3,893.30	\$3,893.30	\$10,000.00	Round 1
840-930785786	OREGON FOOD BANK INC	Portland	Oregon	United States	Food, Agriculture, and Nutrition	Food Banks, Food Pantries	Self Certified	2024-11-09	1177.03	\$10.00	\$11,770.30	\$10,000.00	\$10,000.00	Round 1
840-930797197	WETLANDS CONSERVANCY INC	Portland	Oregon	United States	Environmental Quality, Protection,	Water Resource, Wetlands Conservation and Management	Self Certified	2024-06-26	36.33	\$10.00	\$363.30	\$363.30	\$10,000.00	Round 1
840-930800483	WAMIC RURAL FIRE FOUNDATION	Tygh Valley	Oregon	United States	Public Safety, Disaster Preparedness,	Fire Prevention, Protection, Control	Self Certified	2025-01-01	44.00	\$10.00	\$440.00	\$440.00	\$10,000.00	Round 1
	HABITAT FOR HUMANITY PORTLAND REGION	Portland	Oregon	United States	Housing and Shelter	Housing Development, Construction, Management	Self Certified	2025-01-25	621.89	\$10.00	\$6,218.90	\$6,218.90	\$10,000.00	Round 1
840-930806295	Immigrant and Refugee Community Organization	Portland	Oregon	United States	Human Services	Human Services - Multipurpose and Other N.E.C.	Self Certified	2024-05-22	58.50	\$10.00	\$585.00	\$585.00	\$10,000.00	Round 1
840-930806912	Ronald McDonald House Charities of Oregon and Southwest Washington	PORTLAND	Oregon	United States	Health - General and Rehabilitative	Patient Services - Entertainment, Recreation	Self Certified	2024-08-29	80.50	\$10.00	\$805.00	\$805.00	\$10,000.00	Round 1
840- 930811291/project/1VQZJJV367	Portland Community College Foundation for Portland Community College	Portland	Oregon	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2025-01-25	32.50	\$10.00	\$325.00	\$325.00	\$15,000.00	Round 1
840-930811291	Portland Community College Foundation	Portland	Oregon	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2025-01-25	77.50	\$10.00	\$775.00	\$775.00	\$15,000.00	Round 1
840-930816337	Beaverton Band Boosters	Beaverton	Oregon	United States	Arts, Culture, and Humanities	Music Groups, Bands, Ensembles	Self Certified	2024-12-24	81.00	\$10.00	\$810.00	\$810.00	\$10,000.00	Round 1
840-930830583	BEAVERTON BASEBALL ASSOCIATION	BEAVERTON	Oregon	United States	Recreation and Sports	Baseball, Softball	Self Certified	2025-02-26	180.00	\$10.00	\$1,800.00	\$1,800.00	\$10,000.00	Round 1
840- 930833241/project/1VTAZ67PL7	The Dougy Center for The Dougy Center peer grief support groups	Portland	Oregon	United States	Human Services	Human Services - Multipurpose and Other N.E.C.	Self Certified	2024-11-21	203.50	\$10.00	\$2,035.00	\$2,035.00	\$10,000.00	Round 1
840-930836166	Care Partners	Portland	Oregon	United States	Human Services	Hospice	Self Certified	2024-12-15	60.00	\$10.00	\$600.00	\$600.00	\$10,000.00	Round 1
840-930842634	GRANT WATTS PARENTS ORGANIZATION	SCAPPOOSE	Oregon	United States	Education	Parent/Teacher Group	Self Certified	2025-01-24	22.33	\$10.00	\$223.30	\$223.30	\$15,000.00	Round 1
840-930852551	LAKE OSWEGO SWIM CLUB	LAKE OSWEGO	Oregon	United States	Recreation and Sports	Swimming, Water Recreation	Self Certified	2024-05-12	72.99	\$10.00	\$729.90	\$729.90	\$10,000.00	Round 1
840-930853686	COLUMBIA COUNTY 4-H ASSOCIATION	Saint Helens	Oregon	United States	Youth Development	Youth Development - Agricultural	Self Certified	2024-05-04	56.00	\$10.00	\$560.00	\$560.00	\$10,000.00	Round 1
840-930854225	REEDVILLE BASEBALL INC	ALOHA	Oregon	United States	Recreation and Sports	Baseball, Softball	Self Certified	2024-08-14	407.50	\$10.00	\$4,075.00	\$4,075.00	\$10,000.00	Round 1
840-930858034	BANKS BUXTON ELEMENTARY SCHOOLS PARENT TEACHER ORGANIZATION	BANKS	Oregon	United States	Education	Parent/Teacher Group	Self Certified	2025-02-15	24.00	\$10.00	\$240.00	\$240.00	\$15,000.00	Round 1
840-930860753	Bienestar	Hillsboro	Oregon	United States	Housing and Shelter	Housing Development, Construction, Management	Self Certified	2024-04-25	141.25	\$10.00	\$1,412.50	\$1,412.50	\$10,000.00	Round 1
	ROCK CREEK COMMUNITY CHURCH INC for Rock Creek Pantry, helping to end hunger in Washington County.	PORTLAND	Oregon	United States	Religion-Related	Religion Related, Spiritual Development N.E.C.	Self Certified	2025-01-16	20.00	\$10.00	\$200.00	\$200.00	\$10,000.00	Round 1
840-930864873	Westridge Elementary School PTSO	Lake Oswego	Oregon	United States	Education	Parent/Teacher Group	Self Certified	2025-01-22	25.00	\$10.00	\$250.00	\$250.00	\$15,000.00	Round 1
840-930868697	SUNSET HIGH SCHOOL PARENT TEACHER ORGANISATION	PORTLAND	Oregon	United States	Education	Parent/Teacher Group	Self Certified	2024-06-07	20.00	\$10.00	\$200.00	\$200.00	\$15,000.00	Round 1
840-930881060	BEAVERTON COMMUNITY BAND	BEAVERTON	Oregon	United States	Arts, Culture, and Humanities	Music Groups, Bands, Ensembles	Self Certified	2025-01-22	401.00	\$10.00	\$4,010.00	\$4,010.00	\$10,000.00	Round 1
840-930881703	RECOVERY CLUB OF BEAVERTON	Aloha	Oregon	United States	Mental Health and Crisis Intervention	Alcohol, Drug Abuse, Treatment Only	Self Certified	2024-12-08	209.00	\$10.00	\$2,090.00	\$2,090.00	\$10,000.00	Round 1
840-930884453	HARDY PLANT SOCIETY OF OREGON	PORTLAND	Oregon	United States	Environmental Quality, Protection,	Garden Club, Horticultural Program	Self Certified	2025-01-10	76.50	\$10.00	\$765.00	\$765.00	\$10,000.00	Round 1
840-930888347	FOOD for Lane County	EUGENE	Oregon	United States	Food, Agriculture, and Nutrition	Food, Agriculture, and Nutrition N.E.C.	Self Certified	2025-02-13	30.60	\$10.00	\$306.00	\$306.00	\$10,000.00	Round 1
840-930893329	MASTER GARDENER ASSOCIATION	Redmond	Oregon	United States	Environmental Quality, Protection,	Garden Club, Horticultural Program	Expired	2023-11-04	226.00	\$10.00	\$2,260.00	\$2,260.00	\$10,000.00	Round 1

Part	Cause Code	Cause Name	Cause City	Cause State or Province	Cause Country	Cause Category	Cause Subcategory	Self Certification Status	Self Certification Expiration	Volunteerd Hours	Hourly Match Rate	Total	Adjusted Total	Match Cap	Payout Round?
Section Sect	840-930893514	LINCOLN YOUTH SOCCER	PORTLAND	Oregon			Soccer Clubs, Leagues	Self Certified	2024-09-12	228.50	\$10.00	\$2,285.00	\$2,285.00	\$10,000.00	Round 1
Security	840-930894937	Metropolitan Alliance for Common Good	PORTLAND	Oregon				Self Certified	2024-08-29	82.00	\$10.00	\$820.00	\$820.00	\$10,000.00	Round 1
Section Substitute Substi	840-930900111	In4AII	BEAVERTON	Oregon		Education	Services, Educational, Other	Self Certified	2024-11-01	97.50	\$10.00	\$975.00	\$975.00	\$15,000.00	Round 1
Part	840-930900119	CLACKAMAS WOMEN'S SERVICES	Oregon City	Oregon				Self Certified	2024-08-31	194.00	\$10.00	\$1,940.00	\$1,940.00	\$10,000.00	Round 1
Post	840-930900864	Youth, Rights & Justice	Portland	Oregon		Social Action, and Advocacy		Self Certified	2025-02-01	48.00	\$10.00	\$480.00	\$480.00	\$10,000.00	Round 1
PRITECTION CLUBALLAM RETER CERT Part Post P	840-930901924	PORTLAND BAROQUE ORCHESTRA	PORTLAND	Oregon		and	Symphony Orchestras	Self Certified	2024-07-26	82.00	\$10.00	\$820.00	\$820.00	\$10,000.00	Round 1
Separation Property Propert	840-930902308	OREGON CHORALE	HILLSBORO	Oregon		and	Singing, Choral	Self Certified	2024-08-07	20.50	\$10.00	\$205.00	\$205.00	\$10,000.00	Round 1
MARCH PREVIOUR ONLY CONTINUED CONT	840-930906775		Portland	Oregon		Foreign		Self Certified	2024-11-08	150.00	\$10.00	\$1,500.00	\$1,500.00	\$10,000.00	Round 1
Process Proc	840-930907543	MIRACLE THEATRE GROUP	PORTLAND	Oregon		and	Theater	Self Certified	2024-10-20	20.00	\$10.00	\$200.00	\$200.00	\$10,000.00	Round 1
Properties Pro	840-930919495		PORTLAND	Oregon		Quality,		Self Certified	2024-09-19	749.00	\$10.00	\$7,490.00	\$7,490.00	\$10,000.00	Round 1
List Use Politard	840-930921893	BEAVERTON ROTARY FOUNDATION INC	Beaverton	Oregon		Foreign		Self Certified	2025-01-09	43.00	\$10.00	\$430.00	\$430.00	\$10,000.00	Round 1
Second Accordance Community Controlled Company C	840-930923775	Lift Urban Portland	Portland	Oregon		Improvement		Self Certified	2024-08-15	117.00	\$10.00	\$1,170.00	\$1,170.00	\$10,000.00	Round 1
No.	840-930923866		Portland	Oregon		Social Action,		Self Certified	2024-10-30	28.00	\$10.00	\$280.00	\$280.00	\$10,000.00	Round 1
Second Processed School Processed Region Processed Region Region Processed Region Processed Region Processed Region Region Process	840-930929508		Tigard	Oregon				Self Certified	2024-05-08	24.00	\$10.00	\$240.00	\$240.00	\$10,000.00	Round 1
Page	840- 930931059/project/4DTVVGWA 5V	Hillsboro Community Foundation Inc for Hillsboro Arts and Culture Endowment	Hillsboro	Oregon		Voluntarism, and	Community Foundations	Self Certified	2024-09-06	50.00	\$10.00	\$500.00	\$500.00	\$10,000.00	Round 1
State And Sports Leagues Seal Centre 2004-01-02 140-00 314-75 510.00 514-750 514-750 514-	840- 930931059/project/4C9YZQYTP D	Hillsboro Community Foundation Inc for Hillsboro Community Gardens	Hillsboro	Oregon		Voluntarism,	Community Foundations	Self Certified	2024-09-06	30.50	\$10.00	\$305.00	\$305.00	\$10,000.00	Round 1
## Self-Self-Self-Self-Certified 2024-01-06 314-75 \$10.00 \$31,47.5	840-930936464	Hillsboro HEAT Swim Team	Hillsboro	Oregon				Self Certified	2024-08-29	140.50	\$10.00	\$1,405.00	\$1,405.00	\$10,000.00	Round 1
State Substitution Subs	840-930937031	OREGON SYMPHONIC BAND INC	Beaverton	Oregon		and		Self Certified	2024-11-06	314.75	\$10.00	\$3,147.50	\$3,147.50	\$10,000.00	Round 1
States and Sports BAVERTON SYMPHONY ORCHESTRA Beaverton Oregon United States ATS. Culture, and Humanities Humanities FC PORTLAND SOCCER ACADEMY HILLSBORD Oregon United States States FC PORTLAND SOCCER ACADEMY HILLSBORD Oregon United States States FORD THANN Oregon United States FORD THANN OREGON FORD THANN FORD THANN FORD THANN OREGON FORD THANN FORD THANN OREGON FORD THANN FORD THANN OREGON FORD THANN FORE	840-930954555	Montessori School of Beaverton	Portland	Oregon		Education		Self Certified	2025-02-05	81.00	\$10.00	\$810.00	\$810.00	\$15,000.00	Round 1
### Sequence of the properties	840-930961858	BANKS SUMMER BASEBALL	BANKS	Oregon			Baseball, Softball	Self Certified	2024-05-01	275.75	\$10.00	\$2,757.50	\$2,757.50	\$10,000.00	Round 1
States Education Parenti leacher viroup Self Certified 2024-08-24 12.75 510.00 51,277.50	840-930987753	BEAVERTON SYMPHONY ORCHESTRA	Beaverton	Oregon		and	Symphony Orchestras	Self Certified	2024-09-29	499.41	\$10.00	\$4,994.10	\$4,994.10	\$10,000.00	Round 1
States and Sports Society Clubs, Leagues Self Certified 2024-10-09 87.50 \$10.00 \$20.00 \$30,000 \$0.000 \$10.0000 \$10.000 \$10.0000 \$10.00	840-930988350	TERRA LINDA PARENT TEACHER CLUB	PORTLAND	Oregon		Education	Parent/Teacher Group	Self Certified	2024-06-24	127.75	\$10.00	\$1,277.50	\$1,277.50	\$15,000.00	Round 1
States	840-930996918	F C PORTLAND SOCCER ACADEMY	HILLSBORO	Oregon			Soccer Clubs, Leagues	Self Certified	2024-04-13	29.00	\$10.00	\$290.00	\$290.00	\$10,000.00	Round 1
Environmental Deadunication States	840-930999814	ST HELENS BAND PATRONS	SAINT HELENS	Oregon		Education	Sports/Booster/Club/Band	Self Certified	2024-10-09	87.50	\$10.00	\$875.00	\$875.00	\$15,000.00	Round 1
Lincoln Youth Baseball and Softball PORTLAND Oregon United States Recreation and Sports Baseball, Softball Self Certified 2025-01-09 132.00 \$1,320.00 \$1,320.00 \$1,320.00 \$10,000.00 Round 1	840-930999999	FRIENDS OF TREES	Portland	Oregon		Quality,		Self Certified	2024-12-26	111.00	\$10.00	\$1,110.00	\$1,110.00	\$10,000.00	Round 1
States Shelter Construction, Management Self-Certified 2025-01-29 24.00 310.00 3240.00 310,000.00 Round 1 WARRIORS BAND AND AUXILIARY BEAVERTON Oregon United States ### Additional Control of States Shelter Construction, Management Self-Certified 2024-06-04 43.00 \$10.00 \$430.00 \$430.00 \$15,000.00 Round 1 ### Additional Control of States Shelter Construction, Management Self-Certified 2024-06-04 43.00 \$10.00 \$430.00 \$430.00 \$15,000.00 Round 1 ### Additional Control of States Shelter Construction, Management Self-Certified 2024-06-04 43.00 \$10.00 \$10.00 \$430.00 \$15,000.00 Round 1 ### Additional Control of States Shelter Construction, Management Self-Certified 2024-06-04 43.00 \$10.00 \$	840-931015321	Lincoln Youth Baseball and Softball	PORTLAND	Oregon		Recreation	Baseball, Softball	Self Certified	2025-01-09	132.00	\$10.00	\$1,320.00	\$1,320.00	\$10,000.00	Round 1
PARENTS INC States Education Parent/ reactive Group Self Certified 2024-08-16 318.00 \$10.00 \$3,180.00 \$10,000.00 Round 1	840-931025835	McMinnville Area Habitat For Humanity	McMinnville	Oregon				Self Certified	2025-01-29	24.00	\$10.00	\$240.00	\$240.00	\$10,000.00	Round 1
States and Sports Basebart, orderlined 2024-00-16 310.00 35,100.00	840-931038512		BEAVERTON	Oregon		Education	Parent/Teacher Group	Self Certified	2024-06-04	43.00	\$10.00	\$430.00	\$430.00	\$15,000.00	Round 1
## SMART Reading Portland Oregon States Education Nursery School, Early Self Certified 2025-01-25 278.84 \$10.00 \$2,788.40 \$15,000.00 Round 1 ### SMART Reading Portland Oregon States Education Nursery School, Early Self Certified 2025-01-25 278.84 \$10.00 \$2,788.40 \$15,000.00 Round 1 #### SMART Reading Portland Oregon United Education Nursery School, Early Self Certified 2025-01-25 278.84 \$10.00 \$2,788.40 \$15,000.00 Round 1 ###################################	840-931045175	LITTLE LEAGUE BASEBALL INC	PORTLAND	Oregon			Baseball, Softball	Self Certified	2024-08-16	318.00	\$10.00	\$3,180.00	\$3,180.00	\$10,000.00	Round 1
840.931053438 Jackson Flamentary School PTA HILL SROBO Organs United Education Parent/Teacher Group Self Certified 2024.09.04 112.00 \$10.00 \$120.00 \$120.00 \$120.00 \$15.000.00 Round 1	840-931051724	SMART Reading	Portland	Oregon		Education	Nursery School, Early	Self Certified	2025-01-25	278.84	\$10.00	\$2,788.40	\$2,788.40	\$15,000.00	Round 1
	840-931053438	Jackson Elementary School PTA	HILLSBORO	Oregon		Education		Self Certified	2024-09-04	112.00	\$10.00	\$1,120.00	\$1,120.00	\$15,000.00	Round 1

Cause Code	Cause Name	Cause City	Cause State or Province	Cause Country	Cause Category	Cause Subcategory	Self Certification Status		Volunteerd Hours Ma	ourly atch Rate	Total	Adjusted Total	Match Cap	Payout Round?
840-931057493	Columbia River Orienteering Club	Lake Oswego	Oregon	United States	Recreation and Sports	Amateur Sports Competitions	Self Certified	2024-03-05	109.00	\$10.00	\$1,090.00	\$1,090.00	\$10,000.00	Round 1
840-931057665	PALESTINE CHILDRENS RELIEF FUND	Los Angeles	California	United States	International, Foreign Affairs, and	International Development, Relief Services	Self Certified	2024-08-03	130.00	\$10.00	\$1,300.00	\$1,300.00	\$10,000.00	Round 1
840-931060938	Maybelle Center for Community	PORTLAND	Oregon	United States	Human Services	Human Services - Multipurpose and Other N.E.C.	Self Certified	2025-02-21	34.00	\$10.00	\$340.00	\$340.00	\$10,000.00	Round 1
840-931065518	KIDSPIRE	PORTLAND	Oregon	United States	Human Services	Adoption	Self Certified	2024-12-13	297.00	\$10.00	\$2,970.00	\$2,970.00	\$10,000.00	Round 1
840-931069099	BROADWAY ROSE THEATRE CO	TIGARD	Oregon	United States	Arts, Culture, and Humanities	Performing Arts Organizations	Self Certified	2024-07-24	25.00	\$10.00	\$250.00	\$250.00	\$10,000.00	Round 1
840-931069203	EVERGREEN AVIATION AND SPACE MUSEUM AND THE CAPTAIN MICHAEL KING SMITH	MCMINNVILLE	Oregon	United States	Arts, Culture, and Humanities	Science and Technology Museums	Self Certified	2024-12-13	562.75	\$10.00	\$5,627.50	\$5,627.50	\$10,000.00	Round 1
840-931069589	BLANKET COVERAGE	STEVENSON	Washington	United States	Human Services	Human Service Organizations Multipurpose	Self Certified	2024-11-22	184.00	\$10.00	\$1,840.00	\$1,840.00	\$10,000.00	Round 1
840-931075047	ECOCHALLENGE.ORG	PORTLAND	Oregon	United States	Environmental Quality, Protection,	Environmental Education and Outdoor Survival Programs	Self Certified	2024-10-04	32.00	\$10.00	\$320.00	\$320.00	\$10,000.00	Round 1
840-931076649	PORTLAND KAYAK AND CANOE TEAM INC	PORTLAND	Oregon	United States	Recreation and Sports	Amateur Sports Clubs, Leagues, N.E.C.	Self Certified	2024-08-25	45.08	\$10.00	\$450.80	\$450.80	\$10,000.00	Round 1
840-931078791	West Tuality Habitat for Humanity	Forest Grove	Oregon	United States	Housing and Shelter	Housing Development, Construction, Management	Self Certified	2024-12-18	464.50	\$10.00	\$4,645.00	\$4,645.00	\$10,000.00	Round 1
840-931112566	GOLDEN BOND RESCUE OF OREGON INC	PORTLAND	Oregon	United States	Animal- Related	Animal Protection and Welfare	Self Certified	2024-12-15	20.00	\$10.00	\$200.00	\$200.00	\$10,000.00	Round 1
840-931114503	CEDAR PARK PARENT-TEACHER CLUB	PORTLAND	Oregon	United States	Education	Parent/Teacher Group	Self Certified	2024-08-25	43.46	\$10.00	\$434.60	\$434.60	\$15,000.00	Round 1
340-931118766	BANKS YOUTH SOCCER ASSOCIATION	BANKS	Oregon	United States	Recreation and Sports	Soccer Clubs, Leagues	Self Certified	2024-12-05	92.00	\$10.00	\$920.00	\$920.00	\$10,000.00	Round 1
340-931122656	CHINESE FRIENDSHIP ASSOCIATION OF PORTLAND	TIGARD	Oregon	United States	Education	Services, Educational, Other	Self Certified	2024-04-26	336.00	\$10.00	\$3,360.00	\$3,360.00	\$15,000.00	Round 1
340-931122701	COOPER MOUNTAIN ELEMENTARY SCHOOL PARENT TEACHER ORGANIZATION	BEAVERTON	Oregon	United States	Education	Parent/Teacher Group	Self Certified	2024-09-14	117.22	\$10.00	\$1,172.20	\$1,172.20	\$15,000.00	Round 1
840-931123991	NORTH COUNTY FOOD BANK	WHEELER	Oregon	United States	Food, Agriculture, and Nutrition	Food Banks, Food Pantries	Self Certified	2024-08-19	20.33	\$10.00	\$203.30	\$203.30	\$10,000.00	Round 1
840-931129694	GUILD OF OREGON WOODWORKERS	Portland	Oregon	United States	Recreation and Sports	Recreational, Pleasure, or Social Club	Self Certified	2024-06-04	171.00	\$10.00	\$1,710.00	\$1,710.00	\$10,000.00	Round 1
340-931130051	TOASTMASTERS INTERNATIONAL	PORTLAND	Oregon	United States	Community Improvement and Capacity	Community Service Clubs	Self Certified	2024-09-11	223.00	\$10.00	\$2,230.00	\$2,230.00	\$10,000.00	Round 1
840-931134582	WESTSIDE METROS SOCCER CLUB	Beaverton	Oregon	United States	Recreation and Sports	Soccer Clubs, Leagues	Self Certified	2024-08-28	56.00	\$10.00	\$560.00	\$560.00	\$10,000.00	Round 1
840-931134865	PORTLAND CENTER STAGE	PORTLAND	Oregon	United States	Arts, Culture, and Humanities	Theater	Self Certified	2024-11-28	62.00	\$10.00	\$620.00	\$620.00	\$10,000.00	Round 1
840-931138085	RIVERSWEST SMALL CRAFT CENTER INC	PORTLAND	Oregon	United States	Recreation and Sports	Swimming, Water Recreation	Self Certified	2024-12-27	219.00	\$10.00	\$2,190.00	\$2,190.00	\$10,000.00	Round 1
840-931139782	PORTLAND SYMPHONIC GIRLCHOIR	PORTLAND	Oregon	United States	Arts, Culture, and Humanities	Singing, Choral	Self Certified	2024-09-13	329.00	\$10.00	\$3,290.00	\$3,290.00	\$10,000.00	Round 1
840-931140242	Willamette Falls Symphony Orchestra	Oregon City	Oregon	United States	Arts, Culture, and Humanities	Symphony Orchestras	Self Certified	2025-02-22	114.00	\$10.00	\$1,140.00	\$1,140.00	\$10,000.00	Round 1
840-931140644	Bridlemile Foundation	Portland	Oregon	United States	Arts, Culture, and Humanities	Fund Raising and/or Fund Distribution	Self Certified	2024-06-04	50.00	\$10.00	\$500.00	\$500.00	\$10,000.00	Round 1
840-931148572	WESTVIEW WILDCAT BAND & AUXILIARY PARENTS INC	PORTLAND	Oregon	United States	Education	Parent/Teacher Group	Self Certified	2024-11-22	147.50	\$10.00	\$1,475.00	\$1,475.00	\$15,000.00	Round 1
840- 931150959/project/3MGFGD533 D	Boy Scouts - Troop 605 via CONESTOGA COMMUNITY ORGANIZATION INC	Beaverton	Oregon	United States	Education	Scouting Organizations	Self Certified	2024-09-27	472.00	\$10.00	\$4,720.00	\$4,720.00	\$15,000.00	Round 1
340-931151949	MUSLIM EDUCATIONAL TRUST INC	PORTLAND	Oregon	United States	Education	Fund Raising and/or Fund Distribution	Self Certified	2024-08-03	29.00	\$10.00	\$290.00	\$290.00	\$15,000.00	Round 1
340-931157902	CHRISTMAS SHIPS INC	PORTLAND	Oregon	United States	Community Improvement and Capacity	Community Improvement, Capacity Building N.E.C.	Self Certified	2024-10-05	46.00	\$10.00	\$460.00	\$460.00	\$10,000.00	Round 1
840- 931158574/project/52WY9M0DX	SILVER BULLETS SOFTBALL ASSOCIATION for Carbullido	BEAVERTON	Oregon	United States	Recreation and Sports	Baseball, Softball	Self Certified	2024-08-01	36.00	\$10.00	\$360.00	\$360.00	\$10,000.00	Round 1
9 840-931166559	WEST TUALATIN VIEW SCHOOL PARENT- TEACHER CLUB INC	PORTLAND	Oregon	United States	Education	Parent/Teacher Group	Self Certified	2025-02-28	28.83	\$10.00	\$288.30	\$288.30	\$15,000.00	Round 1
840-931167487	PRIDE NORTHWEST INC	PORTLAND	Oregon	United States	Civil Rights, Social Action, and Advocacy	Intergroup, Race Relations	Self Certified	2025-02-20	59.00	\$10.00	\$590.00	\$590.00	\$10,000.00	Round 1

Cause Code	Cause Name	Cause City	Cause State or Province	Cause Country	Cause Category	Cause Subcategory	Self Certification Status	Self Certification Expiration	Volunteerd Hours	Hourly Match Rate	Total	Adjusted Total	Match Cap	Payout Round?
840-931168679	HILLSBORO HIGH SCHOOL DRUG & ALCOHOL FREE GRAD PARTY FOUNDATION	HILLSBORO	Oregon	United States	Education	Sports/Booster/Club/Band	Self Certified	2024-08-06	65.00	\$10.00	\$650.00	\$650.00	\$15,000.00	Round 1
840-931168909	TUALATIN VALLEY COMMUNITY BAND	TIGARD	Oregon	United States	Arts, Culture, and Humanities	Music Groups, Bands, Ensembles	Self Certified	2024-11-08	122.00	\$10.00	\$1,220.00	\$1,220.00	\$10,000.00	Round 1
840-931169794	FIR GROVE ELEMENTARY SCHOOL PARENT TEACHER ORGANIZATION INC	BEAVERTON	Oregon	United States	Education	Parent/Teacher Group	Self Certified	2024-05-03	25.00	\$10.00	\$250.00	\$250.00	\$15,000.00	Round 1
840-931170509	WILSONVILLE HIGH SCHOOL BOOSTER CLUB	WILSONVILLE	Oregon	United States	Education	Sports/Booster/Club/Band	Expired	2023-12-12	24.50	\$10.00	\$245.00	\$245.00	\$15,000.00	Round 1
840-931172563	Thanhouser Company Film Preservation, Inc.	PORTLAND	Oregon	United States	Arts, Culture, and Humanities	Film, Video	Self Certified	2024-10-03	92.00	\$10.00	\$920.00	\$920.00	\$10,000.00	Round 1
840-931174901	SHERIFFS OFFICE FOUNDATION OF WASHINGTON COUNTY OREGON	HILLSBORO	Oregon	United States	Community Improvement and Capacity	Community Service Clubs	Self Certified	2024-10-04	416.50	\$10.00	\$4,165.00	\$4,165.00	\$10,000.00	Round 1
840-931175815	ELMONICA PARENT TEACHER ORGANIZATION	BEAVERTON	Oregon	United States	Education	Parent/Teacher Group	Self Certified	2024-11-30	61.00	\$10.00	\$610.00	\$610.00	\$15,000.00	Round 1
840-931177836	Oregon Parks Forever	Portland	Oregon	United States	Environmental Quality, Protection,	Natural Resources Conservation and Protection	Self Certified	2025-01-16	674.00	\$10.00	\$6,740.00	\$6,740.00	\$10,000.00	Round 1
840-931178397	GERMAN-AMERICAN SCHOOL OF PORTLAND	BEAVERTON	Oregon	United States	Education	Primary, Elementary Schools	Self Certified	2024-06-28	73.00	\$10.00	\$730.00	\$730.00	\$15,000.00	Round 1
840-931180465	TUALATIN YOUTH BASKETBALL ASSOCIATION	TUALATIN	Oregon	United States	Recreation and Sports	Basketball	Self Certified	2024-09-20	20.00	\$10.00	\$200.00	\$200.00	\$10,000.00	Round 1
840-931185524	NAMI WASHINGTON COUNTY	ALOHA	Oregon	United States	Mental Health and Crisis Intervention	Alliance/Advocacy Organizations	Self Certified	2024-12-05	72.00	\$10.00	\$720.00	\$720.00	\$10,000.00	Round 1
840-931187965	Tualatin Hills United Soccer Club DBA Northwest Elite FC	BEAVERTON	Oregon	United States	Recreation and Sports	Soccer Clubs, Leagues	Self Certified	2024-08-25	211.13	\$10.00	\$2,111.30	\$2,111.30	\$10,000.00	Round 1
840- 931188397/project/3FCXUQUR YF	MEADOW PARK PARENT TEACHER ORGANIZATION for Band Play-A-Thon	BEAVERTON	Oregon	United States	Education	Sports/Booster/Club/Band	Self Certified	2024-10-24	23.67	\$10.00	\$236.70	\$236.70	\$15,000.00	Round 1
840- 931188397/project/3FCXQB63E B	MEADOW PARK PARENT TEACHER ORGANIZATION for Jog A Thon	BEAVERTON	Oregon	United States	Education	Sports/Booster/Club/Band	Self Certified	2024-10-24	80.00	\$10.00	\$800.00	\$800.00	\$15,000.00	Round 1
840-931188791	Lincoln High School - Friends of Lincoln	Portland	Oregon	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2024-06-26	130.00	\$10.00	\$1,300.00	\$1,300.00	\$15,000.00	Round 1
840-931193792	LAWYERS CAMPAIGN FOR EQUAL JUSTICE	PORTLAND	Oregon	United States	Crime and Legal Related	Legal Services	Self Certified	2024-08-03	75.00	\$10.00	\$750.00	\$750.00	\$10,000.00	Round 1
840-931197298	Friends of Tualatin River NWR	Sherwood	Oregon	United States	Environmental Quality, Protection,	Environmental Quality, Protection, and Beautification N.E.C.	Self Certified	2024-09-03	128.75	\$10.00	\$1,287.50	\$1,287.50	\$10,000.00	Round 1
840-931205364	ROSE CITY ASTRONOMERS	PORTLAND	Oregon	United States	Arts, Culture, and Humanities	Professional Societies, Associations	Self Certified	2025-02-09	41.00	\$10.00	\$410.00	\$410.00	\$10,000.00	Round 1
840- 931208079/project/3SZULR98N 7	Cub Scout Pack 353 via NRCO (Nancy Ryles Community Organization)	Beaverton	Oregon	United States	Education	Parent/Teacher Group	Self Certified	2024-11-10	168.50	\$10.00	\$1,685.00	\$1,685.00	\$15,000.00	Round 1
840-931212531	POTLUCK IN THE PARK	PORTLAND	Oregon	United States	Food, Agriculture, and Nutrition	Eatery, Agency, Organization Sponsored	Self Certified	2024-07-18	409.50	\$10.00	\$4,095.00	\$4,095.00	\$10,000.00	Round 1
840-931216774	MOUNTAIN WAVE EMERGENCY COMMUNICATIONS INC	CLACKAMAS	Oregon	United States	Public Safety, Disaster Preparedness	Search and Rescue Squads, Services	Expired	2023-12-14	143.00	\$10.00	\$1,430.00	\$1,430.00	\$10,000.00	Round 1
840-931217856	RICE NORTHWEST MUSEUM OF ROCKS AND MINERALS	HILLSBORO	Oregon	United States	Arts, Culture, and Humanities	Natural History, Natural Science Museums	Self Certified	2024-11-02	90.00	\$10.00	\$900.00	\$900.00	\$10,000.00	Round 1
840-931221500	PUTNAM YOUTH BASKETBALL LEAGUE INC	MILWAUKIE	Oregon	United States	Recreation and Sports	Basketball	Self Certified	2024-11-22	179.00	\$10.00	\$1,790.00	\$1,790.00	\$10,000.00	Round 1
840-931230131	MARSHALL CHRISTENSEN FOUNDATION FOR INTERNATIONAL HIGHER EDUCATION DBA CO-SERVE INTERNATIONAL	Sandy	Oregon	United States	Public and Societal Benefit	Leadership Development	Self Certified	2024-09-06	510.00	\$10.00	\$5,100.00	\$5,100.00	\$10,000.00	Round 1
840-931231643	VERNONIA EMERGENCY RADIO ASSOCIATION	Vernonia	Oregon	United States	Public Safety, Disaster Preparedness.	Disaster Preparedness and Relief Services	Self Certified	2025-01-08	105.00	\$10.00	\$1,050.00	\$1,050.00	\$10,000.00	Round 1
840-931235915	OREGON MARATHI MANDAL	Hillsboro	Oregon	United States	Arts, Culture, and Humanities	Cultural, Ethnic Awareness	Self Certified	2024-04-14	77.00	\$10.00	\$770.00	\$770.00	\$10,000.00	Round 1
840-931244217	ANDISHEH CENTER	PORTLAND	Oregon	United States	Arts, Culture, and Humanities	Cultural, Ethnic Awareness	Self Certified	2024-10-19	480.00	\$10.00	\$4,800.00	\$4,800.00	\$10,000.00	Round 1
840-931244631	PINK PHOENIX BREAST CANCER SURVIVOR DRAGON BOAT TEAM	PORTLAND	Oregon	United States	Voluntary Health Organizations	Diseases, Disorders, Medical Disciplines N.E.C.	Self Certified	2025-02-10	232.67	\$10.00	\$2,326.70	\$2,326.70	\$10,000.00	Round 1
840-931245701	GLENCOE LACROSSE CLUB	HILLSBORO	Oregon	United States	Recreation and Sports	Amateur Sports Clubs, Leagues, N.E.C.	Self Certified	2024-07-23	192.50	\$10.00	\$1,925.00	\$1,925.00	\$10,000.00	Round 1
840-931252705	OREGON ORGANIZATION DEVELOPMENT NETWORK	BEAVERTON	Oregon	United States	Education	Education N.E.C.	Self Certified	2024-08-31	69.25	\$10.00	\$692.50	\$692.50	\$15,000.00	Round 1
840-931255633	HILLSBORO SOCCER CLUB	HILLSBORO	Oregon	United States	Recreation and Sports	Amateur Sports Clubs, Leagues, N.E.C.	Self Certified	2024-08-12	206.00	\$10.00	\$2,060.00	\$2,060.00	\$10,000.00	Round 1
						=								

Cause Code	Cause Name	Cause City	Cause State or Province	Cause Country	Cause Category	Cause Subcategory	Self Certification Status	Self Certification Expiration	Volunteerd Hours	Hourly Match Rate	Total	Adjusted Total	Match Cap	Payout Round?
840-931261279	STATE FORESTS TRUST OF OREGON	Salem	Oregon	United States	Environmental Quality, Protection,	Forest Conservation	Self Certified	2024-12-20	50.00	\$10.00	\$500.00	\$500.00	\$10,000.00	Round 1
840-931261879	HILLSBORO GIRLS SOFTBALL ASSOCIATION	HILLSBORO	Oregon	United States	Recreation and Sports	Baseball, Softball	Self Certified	2024-09-01	417.50	\$10.00	\$4,175.00	\$4,175.00	\$10,000.00	Round 1
840-931266917	RASIKA SOCIETY FOR ARTS OF INDIA	Hillsboro	Oregon	United States	Arts, Culture, and Humanities	Cultural, Ethnic Awareness	Self Certified	2024-10-08	1005.00	\$10.00	\$10,050.00	\$10,000.00	\$10,000.00	Round 1
840-931268862	SHERWOOD YOUTH SOCCER CLUB	SHERWOOD	Oregon	United States	Recreation and Sports	Recreational, Pleasure, or Social Club	Self Certified	2024-12-27	170.00	\$10.00	\$1,700.00	\$1,700.00	\$10,000.00	Round 1
840-931268887	OREGON YOUTH RUGBY AN OREGON NONPROFIT CORPORATION	Bend	Oregon	United States	Recreation and Sports	Amateur Sports Clubs, Leagues, N.E.C.	Self Certified	2025-02-26	110.00	\$10.00	\$1,100.00	\$1,100.00	\$10,000.00	Round 1
840-931269989	EAST WASHINGTON COUNTY SHELTER PARTNERSHIP COUNCIL INC DBA Good Neighbor Center	Tigard	Oregon	United States	Housing and Shelter	Homeless, Temporary Shelter For	Self Certified	2024-11-27	36.00	\$10.00	\$360.00	\$360.00	\$10,000.00	Round 1
840-931271238	Patricia Reser Center for the Arts	Beaverton	Oregon	United States	Arts, Culture, and Humanities	Performing Arts Organizations	Self Certified	2024-08-24	485.50	\$10.00	\$4,855.00	\$4,855.00	\$10,000.00	Round 1
840-931274507	FRIENDS OF THE CORNELIUS PUBLIC LIBRARY	CORNELIUS	Oregon	United States	Education	Libraries	Self Certified	2024-07-07	102.50	\$10.00	\$1,025.00	\$1,025.00	\$15,000.00	Round 1
840- 931276618/project/3NV064QE7 M	Boy Scouts Troop 208 via STOLLER PARENT TEACHER ORGANIZATION INC	PORTLAND	Oregon	United States	Education	Scouting Organizations	Self Certified	2024-12-14	147.00	\$10.00	\$1,470.00	\$1,470.00	\$15,000.00	Round 1
840-931276892	SOMERSET WEST SOCCER CLUB	HILLSBORO	Oregon	United States	Recreation and Sports	Soccer Clubs, Leagues	Self Certified	2024-08-22	40.75	\$10.00	\$407.50	\$407.50	\$10,000.00	Round 1
840-931281695	WILSONVILLE TOUCHDOWN CLUB	Wilsonville	Oregon	United States	Human Services	Sports/Booster/Club/Band	Self Certified	2024-10-03	170.00	\$10.00	\$1,700.00	\$1,700.00	\$10,000.00	Round 1
840-931287234	FosterClub	SEASIDE	Oregon	United States	Youth Development	Youth Development Programs, Other	Self Certified	2024-11-28	95.00	\$10.00	\$950.00	\$950.00	\$10,000.00	Round 1
840-931287554	DE LA SALLE NORTH CATHOLIC HIGH SCHOOL	PORTLAND	Oregon	United States	Education	Secondary, High School	Self Certified	2025-02-28	103.00	\$10.00	\$1,030.00	\$1,030.00	\$15,000.00	Round 1
840-931290156	GREATER PORTLAND TELUGU ASSOCIATION	PORTLAND	Oregon	United States	Arts, Culture, and Humanities	Cultural, Ethnic Awareness	Self Certified	2024-12-15	176.00	\$10.00	\$1,760.00	\$1,760.00	\$10,000.00	Round 1
840-931291049	St. Andrew Nativity School	Portland	Oregon	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2024-07-20	100.00	\$10.00	\$1,000.00	\$1,000.00	\$15,000.00	Round 1
840-931292010	Free Geek	Portland	Oregon	United States	Environmental Quality, Protection,	Recycling Programs	Self Certified	2024-07-19	84.00	\$10.00	\$840.00	\$840.00	\$10,000.00	Round 1
840-931298223	FOREST GROVE JUNIOR BASEBALL	FOREST GROVE	Oregon	United States	Recreation and Sports	Baseball, Softball	Expired	2023-12-09	290.00	\$10.00	\$2,900.00	\$2,900.00	\$10,000.00	Round 1
840-931299166	BEAVERTON EXPLORER SKITEAM	Portland	Oregon	United States	Recreation and Sports	Single Organization Support	Self Certified	2024-12-01	230.00	\$10.00	\$2,300.00	\$2,300.00	\$10,000.00	Round 1
840-931300238	ORENCO ELEMENTARY BOOSTER CLUB	HILLSBORO	Oregon	United States	Education	Sports/Booster/Club/Band	Self Certified	2024-08-11	27.00	\$10.00	\$270.00	\$270.00	\$15,000.00	Round 1
840-931301833	SWALLOWTAIL SCHOOL INC	Cornelius	Oregon	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2024-10-25	111.76	\$10.00	\$1,117.60	\$1,117.60	\$15,000.00	Round 1
840-931303640	Big Brothers Big Sisters Columbia Northwest	Portland	Oregon	United States	Youth Development	Big Brothers, Big Sisters	Self Certified	2025-01-04	51.00	\$10.00	\$510.00	\$510.00	\$10,000.00	Round 1
840-931309885	FOOTBALL CLUB WEST	FOREST GROVE	Oregon	United States	Recreation and Sports	Baseball, Softball	Self Certified	2024-11-16	92.00	\$10.00	\$920.00	\$920.00	\$10,000.00	Round 1
840-931310582	Community Warehouse	Portland	Oregon	United States	Human Services	Emergency Assistance (Food, Clothing, Cash)	Self Certified	2025-01-11	43.50	\$10.00	\$435.00	\$435.00	\$10,000.00	Round 1
840-931310734	Social Venture Partners Portland	Portland	Oregon	United States	Philanthropy, Voluntarism, and	Community Foundations	Self Certified	2025-01-02	462.50	\$10.00	\$4,625.00	\$4,625.00	\$10,000.00	Round 1
840-931313709	CareWheels Corporation	Lake Oswego	Oregon	United States		Vocational Rehabilitation	Self Certified	2024-06-30	122.00	\$10.00	\$1,220.00	\$1,220.00	\$10,000.00	Round 1
840- 931314469/project/3R80CY4ZD H	Randall Children's Hospital Foundation for Child Life Program	Portland	Oregon	United States	Health - Genera and Rehabilitative	l Single Organization Support	Self Certified	2025-02-07	46.57	\$10.00	\$465.70	\$465.70	\$10,000.00	Round 1
840- 931314469/project/3XWZFP053 M	Randall Children's Hospital Foundation for Emergency Department	Portland	Oregon	United States	Health - Genera and Rehabilitative	l Single Organization Support	Self Certified	2025-02-07	350.00	\$10.00	\$3,500.00	\$3,500.00	\$10,000.00	Round 1
840-931315508	NW Children's Outreach	Lake Oswego	Oregon	United States	Human Services	Nonmonetary Support N.E.C.	Self Certified	2024-05-08	108.72	\$10.00	\$1,087.20	\$1,087.20	\$10,000.00	Round 1
840-931317727	HELVETIA-ALPENGLUEHN SINGING SOCIETY	HILLSBORO	Oregon	United States	Arts, Culture, and Humanities	Cultural, Ethnic Awareness	Self Certified	2024-07-18	76.55	\$10.00	\$765.50	\$765.50	\$10,000.00	Round 1
840-931320362	Jacob Wismer PTO	PORTLAND	Oregon	United States	Education	Parent/Teacher Group	Self Certified	2024-04-30	40.07	\$10.00	\$400.70	\$400.70	\$15,000.00	Round 1
840-931327928	HILLSBORO SYMPHONY ORCHESTRA	HILLSBORO	Oregon	United States	Arts, Culture, and Humanities	Symphony Orchestras	Self Certified	2024-06-21	244.00	\$10.00	\$2,440.00	\$2,440.00	\$10,000.00	Round 1

Cause Code Cause	e Name		Cause State or Province	Cause Country	Cause Category	Cause Subcategory	Self Certification Status		Volunteerd Hours	Hourly Match Rate	Total	Adjusted Total	Match Cap	Payout Round?
840- 931328582/project/3LKZXY003Z High Sc	TVIEW HIGH SCHOOL PTO for Westview School Boys Lacrosse	PORTLAND	Oregon	United States	Education	Sports/Booster/Club/Band	Self Certified	2025-01-27	390.00	\$10.00	\$3,900.00	\$3,900.00	\$15,000.00	Round 1
840-931329229 OREGO	GON BLAZE FASTPITCH	BEAVERTON	Oregon	United States	Recreation and Sports	Baseball, Softball	Self Certified	2024-08-06	1189.00	\$10.00	\$11,890.00	\$10,000.00	\$10,000.00	Round 1
840-931329396 REAL :	: YOUTH TO YOUTH	Wilsonville	Oregon	United States	Education	Services, Educational, Other	Self Certified	2024-03-11	35.00	\$10.00	\$350.00	\$350.00	\$15,000.00	Round 1
840-931616002 America	ica Israel Democracy Coalition	Wynnewood	Pennsylvania	United States	Public and Societal Benefit	Fund Raising and/or Fund Distribution	Self Certified	2024-08-20	20.00	\$10.00	\$200.00	\$200.00	\$10,000.00	Round 1
840-931976541 SALTY	Y SCUBA SQUAD INC	SCOTTSDALE	Arizona	United States	Environmental Quality, Protection,	Natural Resources Conservation and Protection	Self Certified	2024-12-15	404.00	\$10.00	\$4,040.00	\$4,040.00	\$10,000.00	Round 1
840-932151909 DIRTD0	DOGS CSO INC	Chandler	Arizona	United States	Recreation and Sports	Baseball, Softball	Self Certified	2024-10-04	346.00	\$10.00	\$3,460.00	\$3,460.00	\$10,000.00	Round 1
840-932408313 COMMI	MUNITY CHOIR OF ARIZONA	TEMPE	Arizona	United States	Arts, Culture, and Humanities	Singing, Choral	Self Certified	2024-11-03	36.50	\$10.00	\$365.00	\$365.00	\$10,000.00	Round 1
840-936000831 Gresha	nam-Barlow School District	Gresham	Oregon	United States	Education	Education N.E.C.	Self Certified	2025-02-07	20.17	\$10.00	\$201.70	\$201.70	\$15,000.00	Round 1
936008560/project/3TYLU8S4S	Oswego School District for Lake Oswego School	Lake Oswego	Oregon	United States	Education	Education N.E.C.	Self Certified	2024-10-11	60.50	\$10.00	\$605.00	\$605.00	\$15,000.00	Round 1
840-936008560 Lake O	Oswego School District	Lake Oswego	Oregon	United States	Education	Education N.E.C.	Self Certified	2024-10-11	73.22	\$10.00	\$732.20	\$732.20	\$15,000.00	Round 1
840-936010464 Gales 0	Creek Camp Foundation	Tigard	Oregon	United States	Recreation and Sports	Recreational and Sporting Camps	Self Certified	2024-07-20	20.00	\$10.00	\$200.00	\$200.00	\$10,000.00	Round 1
936022772/project/4HXCFNZRU Oregon T Oregon	on State University Foundation for Oregon tlas	Corvallis	Oregon	United States	Education	University or Technological Institute	Self Certified	2024-05-08	662.20	\$10.00	\$6,622.00	\$6,622.00	\$15,000.00	Round 1
840- Oregon 936022772/project/4E3XGN21W State U K Program		Corvallis	Oregon	United States	Education	University or Technological Institute	Self Certified	2024-05-08	45.00	\$10.00	\$450.00	\$450.00	\$15,000.00	Round 1
840-936022772 Oregon	on State University Foundation	Corvallis	Oregon	United States	Education	University or Technological Institute	Self Certified	2024-05-08	31.50	\$10.00	\$315.00	\$315.00	\$15,000.00	Round 1
840-936022987 OREGO	GON MYCOLOGICAL SOCIETY INC	HILLSBORO	Oregon	United States	Education	Education N.E.C.	Self Certified	2024-12-30	34.50	\$10.00	\$345.00	\$345.00	\$15,000.00	Round 1
	ERAL FEDERATION OF WOMENS IS THE OREGON CITY WOMANS CLUB	OREGON CITY	Oregon	United States	Community Improvement and Capacity	Women's Service Clubs	Self Certified	2024-10-06	38.00	\$10.00	\$380.00	\$380.00	\$10,000.00	Round 1
840-936026015 GENEA	EALOGICAL FORUM OF OREGON INC	PORTLAND	Oregon	United States	Arts, Culture, and Humanities	Historical Societies, Related Historical Activities	Self Certified	2025-01-18	135.00	\$10.00	\$1,350.00	\$1,350.00	\$10,000.00	Round 1
840-936026088 Audubo	oon Society of Portland	Portland	Oregon	United States	Environmental Quality, Protection,	Natural Resources Conservation and Protection	Self Certified	2025-01-05	203.50	\$10.00	\$2,035.00	\$2,035.00	\$10,000.00	Round 1
840-936031009 BLANC	CHET HOUSE OF HOSPITALITY	Portland	Oregon	United States	Housing and Shelter	Homeless, Temporary Shelter For	Self Certified	2024-05-08	138.00	\$10.00	\$1,380.00	\$1,380.00	\$10,000.00	Round 1
840-936031270 Planner	ed Parenthood Columbia Willamette	Portland	Oregon	United States	Health - General and Rehabilitative	Family Planning Centers	Self Certified	2024-04-11	22.50	\$10.00	\$225.00	\$225.00	\$10,000.00	Round 1
840-936032769 ASSISTA	ANCE LEAGUE OF GREATER PORTLAND	BEAVERTON	Oregon	United States	Human Services	Human Service Organizations - Multipurpose	Expired	2024-01-27	1035.00	\$10.00	\$10,350.00	\$10,000.00	\$10,000.00	Round 1
840-936033838 Tualatin	tin Hills Park Foundation	Hillsboro	Oregon	United States	Philanthropy, Voluntarism, and	Fund Raising Organizations That Cross Categories	Self Certified	2024-05-31	59.00	\$10.00	\$590.00	\$590.00	\$10,000.00	Round 1
840-936033841 Wilshire	ire-Riverside Little League Baseball	PORTLAND	Oregon	United States	Recreation and Sports	Baseball, Softball	Self Certified	2024-11-01	28.00	\$10.00	\$280.00	\$280.00	\$10,000.00	Round 1
840-936034549 MT HO	OOD SKI PATROL	PORTLAND	Oregon	United States	Recreation and Sports	Recreation, Sports, Leisure, Athletics N.E.C.	Self Certified	2024-07-28	110.00	\$10.00	\$1,100.00	\$1,100.00	\$10,000.00	Round 1
	couts Troop 728 via OAK HILLS RCH-CHRISTIAN REFORMED	Beaverton	Oregon	United States	Religion-Related	Scouting Organizations	Self Certified	2025-02-14	1007.25	\$10.00	\$10,072.50	\$10,000.00	\$10,000.00	Round 1
840-936039406 Skyline	e PTA	PORTLAND	Oregon	United States	Education	Parent/Teacher Group	Self Certified	2024-07-19	256.00	\$10.00	\$2,560.00	\$2,560.00	\$15,000.00	Round 1
840-936041506 FOUND	IDATION INC	Portland	Oregon	United States	Voluntary Health Organizations	Eye Diseases, Blindness and Vision Impairments	Self Certified	2024-06-01	21.50	\$10.00	\$215.00	\$215.00	\$10,000.00	Round 1
936049245/project/4SEVA 16X2E OREGO	couts TROOP 615 HILLSBORO GON via OPTIMIST CLUB OF BORO OREGON	Hillsboro	Oregon	United States	Human Services	Scouting Organizations	Self Certified	2024-07-18	715.00	\$10.00	\$7,150.00	\$7,150.00	\$10,000.00	Round 1
840-936049245 OPTIM	MIST CLUB OF HILLSBORO OREGON	Hillsboro	Oregon	United States	Human Services	Children's, Youth Services	Self Certified	2024-07-18	460.50	\$10.00	\$4,605.00	\$4,605.00	\$10,000.00	Round 1
840-936087366 ASANT	ITE FOUNDATION	MEDFORD	Oregon	United States	Health - General and Rehabilitative	Hospital, General	Self Certified	2024-08-31	144.10	\$10.00	\$1,441.00	\$1,441.00	\$10,000.00	Round 1
840-936094443 SKATIN	ING CLUB OF OREGON	BEAVERTON	Oregon	United States	Recreation and Sports	Winter Sports (Snow and Ice)	Self Certified	2024-11-21	213.50	\$10.00	\$2,135.00	\$2,135.00	\$10,000.00	Round 1

Cause Code	Cause Name	Cause City	Cause State or Province	Cause Country	Cause Category	Cause Subcategory	Self Certification Status	Self Certification Expiration	Volunteerd Hours	Hourly . Match Rate	Total	Adjusted Total	Match Cap	Payout Round?
840-936097526	Friends of the Multnomah County Library	Portland	Oregon	United States	Education	Libraries	Self Certified	2024-12-08	27.50	\$10.00	\$275.00	\$275.00	\$15,000.00	Round 1
840-936098731	HITEON PARENT TEACHERS CLUB	BEAVERTON	Oregon	United States	Education	Parent/Teacher Group	Self Certified	2024-06-04	20.00	\$10.00	\$200.00	\$200.00	\$15,000.00	Round 1
840-940373222	Castilleja School Foundation	Palo Alto	California	United States	Education	Secondary, High School	Self Certified	2024-09-12	55.75	\$10.00	\$557.50	\$557.50	\$15,000.00	Round 1
840-940836240	SAN FRANCISCO OPERA ASSOCIATION	SAN FRANCISCO	California	United States	Arts, Culture, and Humanities	Opera	Self Certified	2024-06-07	25.00	\$10.00	\$250.00	\$250.00	\$10,000.00	Round 1
840- 941156318/project/2HN0GUS6T V	YMCA OF SILICON VALLEY for NORTHWEST YMCA	San Jose	California	United States	Human Services	Young Men's or Women's Associations (YMCA, YWCA, YWHA, YMHA)	Self Certified	2025-01-10	50.00	\$10.00	\$500.00	\$500.00	\$10,000.00	Round 1
840- 941156347/project/4PJ8Q12CZ9	The Salvation Army: Western Territory for The Salvation Army - Cascade Division - Portland Metro Area	Rancho Palos Verdes	California	United States	Human Services	Salvation Army	Self Certified	2024-11-21	38.00	\$10.00	\$380.00	\$380.00	\$10,000.00	Round 1
840- 941156347/project/3T00SZKEZ V	The Salvation Army: Western Territory for The Salvation Army Phoenix	Rancho Palos Verdes	California	United States	Human Services	Salvation Army	Self Certified	2024-11-21	22.75	\$10.00	\$227.50	\$227.50	\$10,000.00	Round 1
840- 941156365/project/2HMRB6RDJ 3	Stanford University for Stanford Blood Center	Stanford	California	United States	Education	University or Technological Institute	Self Certified	2024-08-01	109.25	\$10.00	\$1,092.50	\$1,092.50	\$15,000.00	Round 1
840-941156481	GLIDE FOUNDATION	San Francisco	California	United States	Human Services	Human Services - Multipurpose and Other N.E.C	Self Certified	2024-08-14	25.00	\$10.00	\$250.00	\$250.00	\$10,000.00	Round 1
840-941156671	SCHOOLS OF THE SACRED HEART-SAN FRANCISCO	SAN FRANCISCO	California	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2025-02-20	205.00	\$10.00	\$2,050.00	\$2,050.00	\$15,000.00	Round 1
840-941166423	SAN JOSE STATE UNIVERSITY ALUMNI ASSOC	SAN JOSE	California	United States	Education	Alumni Associations	Self Certified	2024-12-01	64.00	\$10.00	\$640.00	\$640.00	\$15,000.00	Round 1
840-941196215	HUMANE SOCIETY SILICON VALLEY	MILPITAS	California	United States	Animal- Related	Animal Protection and Welfare	Self Certified	2024-10-23	46.16	\$10.00	\$461.60	\$461.60	\$10,000.00	Round 1
840-941322179	JUNIOR ACHIEVEMENT OF NORTHERN CALIFORNIA	Walnut Creek	California	United States	Youth Development	Youth Development Programs, Other	Self Certified	2024-10-26	27.00	\$10.00	\$270.00	\$270.00	\$10,000.00	Round 1
840-941347081	SACRAMENTO THEATRE COMPANY	SACRAMENTO	California	United States	Arts, Culture, and Humanities	Theater	Self Certified	2024-08-11	552.50	\$10.00	\$5,525.00	\$5,525.00	\$10,000.00	Round 1
840-941421463	KVIE PBS Sacramento	SACRAMENTO	California	United States	Arts, Culture, and Humanities	Television	Self Certified	2025-01-22	120.00	\$10.00	\$1,200.00	\$1,200.00	\$10,000.00	Round 1
840-941451894	Legal Aid Society of San Mateo County	Redwood City	California	United States	Crime and Legal Related	Legal Services	Self Certified	2025-01-04	162.50	\$10.00	\$1,625.00	\$1,625.00	\$10,000.00	Round 1
840- 941501265/project/2L0AMBR1D 1	Cityteam - Portland	SAN JOSE	California	United States	Human Services	Homeless Persons Centers, Services	Self Certified	2025-01-22	114.00	\$10.00	\$1,140.00	\$1,140.00	\$10,000.00	Round 1
840- 941525873/project/3T21YGC5G 3	JESUIT HIGH SCHOOL for ROBOTICS - Jesuit High School	CARMICHAEL	California	United States	Education	Elementary, Secondary Education, K - 12	Expired	2023-12-05	522.00	\$10.00	\$5,220.00	\$5,220.00	\$15,000.00	Round 1
840- 941551410/project/5300UYPLN F	Diablo Day Camp via GIRL SCOUTS OF NORTHERN CALIFORNIA	Alameda	California	United States	Youth Development	Girl Scouts of the U.S.A.	Self Certified	2024-08-08	113.00	\$10.00	\$1,130.00	\$1,130.00	\$10,000.00	Round 1
840-941551410	GIRL SCOUTS OF NORTHERN CALIFORNIA	Alameda	California	United States	Youth Development	Girl Scouts of the U.S.A.	Self Certified	2024-08-08	130.50	\$10.00	\$1,305.00	\$1,305.00	\$10,000.00	Round 1
840- 941582429/project/3P4CAD05T Z	Girl Souts HCC Troop 1456 via Girl Scouts Heart of Central California	Sacramento	California	United States	Youth Development	Girl Scouts of the U.S.A.	Self Certified	2024-09-12	214.00	\$10.00	\$2,140.00	\$2,140.00	\$10,000.00	Round 1
840-941582429	Girl Scouts Heart of Central California	Sacramento	California	United States	Youth Development	Girl Scouts of the U.S.A.	Self Certified	2024-09-12	241.25	\$10.00	\$2,412.50	\$2,412.50	\$10,000.00	Round 1
840- 941698556/project/3T5RBR925 M	SOCIETY FOR CREATIVE ANACHRONISM INC for Kingdom of AnTir	SAN JOSE	California	United States	Arts, Culture, and Humanities	Humanities Organizations	Self Certified	2024-03-05	766.00	\$10.00	\$7,660.00	\$7,660.00	\$10,000.00	Round 1
840-941698556	SOCIETY FOR CREATIVE ANACHRONISM INC	SAN JOSE	California	United States	Arts, Culture, and Humanities	Humanities Organizations	Self Certified	2024-03-05	197.00	\$10.00	\$1,970.00	\$1,970.00	\$10,000.00	Round 1
840-941707583	CALIFORNIA STATE PARKS FOUNDATION	San Francisco	California	United States	Recreation and Sports	Parks and Playgrounds	Self Certified	2024-08-03	88.00	\$10.00	\$880.00	\$880.00	\$10,000.00	Round 1
840-941713897	SUNNYVALE COMMUNITY SERVICES	Sunnyvale	California	United States	Human Services	Emergency Assistance (Food, Clothing, Cash)	Self Certified	2024-08-31	63.00	\$10.00	\$630.00	\$630.00	\$10,000.00	Round 1
840-942157521	MEALS ON WHEELS OF THE MONTEREY PENINSULA INC	Pacific Grove	California	United States	Food, Agriculture, and Nutrition	Meals on Wheels	Self Certified	2024-11-21	432.00	\$10.00	\$4,320.00	\$4,320.00	\$10,000.00	Round 1
840-942211685	WEST VALLEY COMMUNITY SERVICES OF SANTA CLARA COUNTY INC	CUPERTINO	California	United States	Housing and Shelter	Housing Development, Construction, Management	Self Certified	2024-09-13	603.00	\$10.00	\$6,030.00	\$6,030.00	\$10,000.00	Round 1
840-942221849	BILL WILSON CENTER	SANTA CLARA	California	United States	Human Services	Family Counseling	Self Certified	2024-10-30	23.08	\$10.00	\$230.80	\$230.80	\$10,000.00	Round 1
840-942295483	PALO ALTO PLAYERS-PENINSULA CENTER STAGE	PALO ALTO	California	United States	Arts, Culture, and Humanities	Arts, Culture, and Humanities N.E.C.	Self Certified	2024-07-17	24.50	\$10.00	\$245.00	\$245.00	\$10,000.00	Round 1
840- 942376368/project/31C8JPML2 X	INTERNATIONAL SOCIETY FOR KRISHNA CONSCIOUSNESS OF THE BAY AREA INC for food distribution	BERKELEY	California	United States	Religion-Related	d Hindu	Self Certified	2024-12-19	27.33	\$10.00	\$273.30	\$273.30	\$10,000.00	Round 1

Cause Code	Cause Name	Cause City	Cause State or Province	Cause Country	Cause Category	Cause Subcategory	Self Certification Status		Volunteerd Hours Ma	ourly atch Rate	Total	Adjusted Total	Match Cap	Payout Round
840-942462357	TRI-VALLEY HAVEN FOR WOMEN	LIVERMORE	California	United States	Human Services	Family Violence Shelters, Services	Self Certified	2024-06-13	49.50	\$10.00	\$495.00	\$495.00	\$10,000.00	Round 1
840-942487469	MONTEREY BAY AQUARIUM FOUNDATION	MONTEREY	California	United States	Animal- Related	Single Organization Support	Self Certified	2024-12-28	497.53	\$10.00	\$4,975.30	\$4,975.30	\$10,000.00	Round 1
840-942493158	WEAVE INCORPORATED	SACRAMENTO	California	United States	Human Services	Family Violence Shelters, Services	Self Certified	2025-02-22	67.00	\$10.00	\$670.00	\$670.00	\$10,000.00	Round 1
340-942494324	Canine Companions for Independence	Santa Rosa	California	United States	Human Services	Human Service Organizations Multipurpose	Self Certified	2025-01-25	8736.00	\$10.00	\$87,360.00	\$10,000.00	\$10,000.00	Round 1
840- 942506591/project/3E58YULGU K	LOS RIOS COLLEGES FOUNDATION for Harris Center for the Arts / Three Stages	Sacramento	California	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2024-09-21	59.25	\$10.00	\$592.50	\$592.50	\$15,000.00	Round 1
340-942514053	CHINATOWN COMMUNITY DEVELOPMENT CENTER INC	SAN FRANCISCO	California	United States	Housing and Shelter	Housing Development, Construction, Management	Self Certified	2024-09-12	60.00	\$10.00	\$600.00	\$600.00	\$10,000.00	Round 1
40-942523254	Big Brothers Big Sisters of Northern Sierra	Placerville	California	United States	Youth Development	Big Brothers, Big Sisters	Self Certified	2024-12-13	160.00	\$10.00	\$1,600.00	\$1,600.00	\$10,000.00	Round 1
340-942576366	BAY AREA COUNTRY DANCE SOCIETY INC	San Carlos	California	United States	Arts, Culture, and Humanities	Arts, Cultural Organizations - Multipurpose	Self Certified	2024-06-01	103.00	\$10.00	\$1,030.00	\$1,030.00	\$10,000.00	Round 1
40-942578997	SARATOGA HIGH SCHOOL SPORTS BOOSTERS	SARATOGA	California	United States	Education	Sports/Booster/Club/Band	Self Certified	2025-02-27	29.50	\$10.00	\$295.00	\$295.00	\$15,000.00	Round 1
340-942581818	PITTSBURG COMMUNITY THEATRE	PITTSBURG	California	United States	Arts, Culture, and Humanities	Theater	Self Certified	2025-03-02	102.75	\$10.00	\$1,027.50	\$1,027.50	\$10,000.00	Round 1
340-942614101	Second Harvest of Silicon Valley	SAN JOSE	California	United States	Food, Agriculture, and Nutrition	Food Banks, Food Pantries	Self Certified	2025-02-07	764.37	\$10.00	\$7,643.70	\$7,643.70	\$10,000.00	Round 1
40-942638194	SOCIETY FOR THE PRESERVATION OF CARTER RAILROAD RESOURCES	Newark	California	United States	Arts, Culture, and Humanities	Historical Societies & Historic Preservation	Self Certified	2024-07-09	447.00	\$10.00	\$4,470.00	\$4,470.00	\$10,000.00	Round 1
40-942651065	MEALS ON WHEELS OF ALAMEDA COUNTY	Oakland	California	United States	Food, Agriculture, and Nutrition	Meals on Wheels	Self Certified	2024-07-18	48.00	\$10.00	\$480.00	\$480.00	\$10,000.00	Round 1
40-942666528	LOS ALTOS HIGH SCHOOL ATHLETIC BOOSTERS CLUB	Los Altos	California	United States	Education	Sports/Booster/Club/Band	Self Certified	2024-07-17	24.50	\$10.00	\$245.00	\$245.00	\$15,000.00	Round 1
40-942681680	ANIMAL LEGAL DEFENSE FUND	COTATI	California	United States	Animal- Related	Alliance/Advocacy Organizations	Self Certified	2024-11-13	30.00	\$10.00	\$300.00	\$300.00	\$10,000.00	Round 1
0-942728026	PAYNE HOME & SCHOOL CLUB	SAN JOSE	California	United States	Education	Sports/Booster/Club/Band	Self Certified	2024-10-06	22.00	\$10.00	\$220.00	\$220.00	\$15,000.00	Round 1
0-942766075	AMERICAN RIVER NATURAL HISTORY ASSOCIATION	CARMICHAEL	California	United States	Environmental Quality, Protection, and	Environmental Education and Outdoor Survival Programs	Expired	2023-11-23	46.00	\$10.00	\$460.00	\$460.00	\$10,000.00	Round 1
0-942776189	PERFORMING GROUPS FOR YOUTH	El Dorado Hills	California	United States	Arts, Culture, and Humanities	Singing, Choral	Expired	2024-01-19	75.00	\$10.00	\$750.00	\$750.00	\$10,000.00	Round 1
40-942777974	FOLSOM SOCCER CLUB	FOLSOM	California	United States	Recreation and Sports	Soccer Clubs, Leagues	Self Certified	2024-11-08	109.00	\$10.00	\$1,090.00	\$1,090.00	\$10,000.00	Round 1
0-942783698	FRIENDS OF THE FOLSOM ZOO INCORPORATED	FOLSOM	California	United States	Animal- Related	Single Organization Support	Self Certified	2024-08-08	93.50	\$10.00	\$935.00	\$935.00	\$10,000.00	Round 1
40-942783765	OAK RIDGE HIGH SCHOOL SPORTS	EL DORADO HLS	California	United States	Education	Sports/Booster/Club/Band	Self Certified	2025-01-18	214.00	\$10.00	\$2,140.00	\$2,140.00	\$15,000.00	Round 1
10-942785473	FRIENDS OF CHANDLER PUBLIC LIBRARY INC	CHANDLER	Arizona	United States	Education	Libraries	Self Certified	2024-05-03	41.25	\$10.00	\$412.50	\$412.50	\$15,000.00	Round 1
40-942788588	SAN FRANCISCO BAY BIRD OBSERVATORY	' Milpitas	California	United States	Environmental Quality, Protection,	Water Resource, Wetlands Conservation and Management	Self Certified	2024-10-11	40.41	\$10.00	\$404.10	\$404.10	\$10,000.00	Round 1
10-942796280	COURTYARD PRIVATE SCHOOL	Sacramento	California	United States	Education	Primary, Elementary Schools	Expired	2023-12-15	111.00	\$10.00	\$1,110.00	\$1,110.00	\$15,000.00	Round 1
10-942819652	SAINT EDWARD SCHOOL	Newark	California	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2024-09-25	97.00	\$10.00	\$970.00	\$970.00	\$15,000.00	Round 1
0-942825234	SACRAMENTO TREE FOUNDATION INCORPORATED	SACRAMENTO	California	United States	Environmental Quality, Protection,	Forest Conservation	Self Certified	2025-02-08	67.73	\$10.00	\$677.30	\$677.30	\$10,000.00	Round 1
10-942831253	Aerospace Museum of California	McClellan	California	United States	Science and Technology	Science and Technology Research Institutes, Services N.F.C.	Self Certified	2024-09-27	476.17	\$10.00	\$4,761.70	\$4,761.70	\$10,000.00	Round 1
0-942831256	FRIENDS OF THE SARATOGA LIBRARIES	SARATOGA	California	United States	Community Improvement and Capacity	Community Improvement, Capacity Building N.E.C.	Self Certified	2025-01-13	208.00	\$10.00	\$2,080.00	\$2,080.00	\$10,000.00	Round 1
0-942833431	CHILD ABUSE COUNCIL OF SACRAMENTO	North Highlands	California	United States	Crime and Legal Related	Child Abuse, Prevention of	Self Certified	2024-08-29	34.00	\$10.00	\$340.00	\$340.00	\$10,000.00	Round 1
40-942835479	FOLSOM ATHLETIC ASSOCIATION INC	FOLSOM	California	United States	Recreation and Sports	Baseball, Softball	Self Certified	2024-06-26	30.00	\$10.00	\$300.00	\$300.00	\$10,000.00	Round 1
40-942846388	KVMR FM 89.5	NEVADA CITY	California	United States	Arts, Culture,	Printing, Publishing	Self Certified	2025-02-01	809.00	\$10.00	\$8,090.00	\$8,090.00	\$10,000.00	Round 1

Cause Code	Cause Name	Cause City	Cause State or Province	Cause Country	Cause Category	Cause Subcategory	Self Certification Status	Self Certification Expiration	Volunteerd Hours	Hourly Match Rate	Total	Adjusted Total	Match Cap	Payout Round?
840-942864660	The Tech Interactive	San Jose	California	United States	Arts, Culture, and Humanities	Science and Technology Museums	Self Certified	2024-07-17	28.50	\$10.00	\$285.00	\$285.00	\$10,000.00	Round 1
840-942880883	ST FRANCIS CATHOLIC KITCHEN	SANTA CRUZ	California	United States	Food, Agriculture, and Nutrition	Food, Agriculture, and Nutrition N.E.C.	Self Certified	2024-10-18	159.50	\$10.00	\$1,595.00	\$1,595.00	\$10,000.00	Round 1
	AMERICAN RIVER PARKWAY FOUNDATION INCORPORATED	CARMICHAEL	California	United States	Environmental Quality, Protection,	Environmental Beautification and Aesthetics	Self Certified	2024-09-07	104.50	\$10.00	\$1,045.00	\$1,045.00	\$10,000.00	Round 1
840-942902791	California Automobile Museum	Sacramento	California	United States	Arts, Culture, and Humanities	Museum, Museum Activities	Self Certified	2024-08-21	426.25	\$10.00	\$4,262.50	\$4,262.50	\$10,000.00	Round 1
840-942902803	Shepherd's Gate	Livermore	California	United States	Housing and Shelter	Homeless, Temporary Shelter For	Self Certified	2024-06-14	24.50	\$10.00	\$245.00	\$245.00	\$10,000.00	Round 1
	COMPANION ANIMAL ASSOCIATION OF ARIZONA	SCOTTSDALE	Arizona	United States	Animal- Related	Animal Protection and Welfare	Self Certified	2024-11-11	132.00	\$10.00	\$1,320.00	\$1,320.00	\$10,000.00	Round 1
840-942925011	California Vipassana Center	NORTH FORK	California	United States	Human Services	Personal Social Services	Self Certified	2024-11-15	75.00	\$10.00	\$750.00	\$750.00	\$10,000.00	Round 1
840-942950758	GRANADA LITTLE LEAGUE, INC	LIVERMORE	California	United States	Recreation and Sports	Baseball, Softball	Self Certified	2025-01-01	428.75	\$10.00	\$4,287.50	\$4,287.50	\$10,000.00	Round 1
	BUDDHIST TZU CHI FOUNDATION for Northwest Region	SAN DIMAS	California	United States	International, Foreign Affairs, and	International Relief	Self Certified	2025-01-24	1141.00	\$10.00	\$11,410.00	\$10,000.00	\$10,000.00	Round 1
840-942954256	CLAIRE LILIENTHAL ELEMENTARY PTA	SAN FRANCISCO	California	United States	Education	Parent/Teacher Group	Self Certified	2024-12-04	50.00	\$10.00	\$500.00	\$500.00	\$15,000.00	Round 1
840-942986211	MAHARASHTRA MANDAL-BAY AREA	MILPITAS	California	United States	Arts, Culture, and Humanities	Cultural, Ethnic Awareness	Self Certified	2024-08-27	156.00	\$10.00	\$1,560.00	\$1,560.00	\$10,000.00	Round 1
840-943021251	BHAKTIVEDANTA INSTITUTE	BERKELEY	California	United States	Education	Graduate, Professional Schools (Separate Entities)	Self Certified	2025-01-29	25.00	\$10.00	\$250.00	\$250.00	\$15,000.00	Round 1
840-943025807	NATIONAL ABILITY CENTER	PARK CITY	Utah	United States	Recreation and Sports	Special Olympics	Self Certified	2024-10-09	24.00	\$10.00	\$240.00	\$240.00	\$10,000.00	Round 1
	SEQUOIA MIDDLE SCHOOL PARENT FACULTY CLUB	PLEASANT HILL	California	United States	Education	Parent/Teacher Group	Self Certified	2024-07-31	50.50	\$10.00	\$505.00	\$505.00	\$15,000.00	Round 1
840-943028590	Lake Oswego School District Foundation	Lake Oswego	Oregon	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2025-02-02	63.00	\$10.00	\$630.00	\$630.00	\$15,000.00	Round 1
	RALEIGH PARK PARENTS AND TEACHERS CLUB	Portland	Oregon	United States	Education	Parent/Teacher Group	Self Certified	2025-01-02	21.00	\$10.00	\$210.00	\$210.00	\$15,000.00	Round 1
840-943037898	TILLAMOOK COUNTY PIONEER MUSEUM	Tillamook	Oregon	United States	Arts, Culture, and Humanities	History Museums	Self Certified	2025-02-26	64.78	\$10.00	\$647.80	\$647.80	\$10,000.00	Round 1
840-943039361	ALOHA HUBER PARK PARENT TEACHER CLUB	BEAVERTON	Oregon	United States	Education	Parent/Teacher Group	Expired	2024-01-21	35.33	\$10.00	\$353.30	\$353.30	\$15,000.00	Round 1
840-943041320	FRIENDS OF LAKEWOLD	LAKEWOOD	Washington	United States	Environmental Quality, Protection,	Single Organization Support	Self Certified	2024-07-05	48.50	\$10.00	\$485.00	\$485.00	\$10,000.00	Round 1
	MATA AMRITANANDAMAYI CENTER for Disaster Relief	SAN RAMON	California	United States	Religion-Related	Religion Related, Spiritual Development N.E.C.	Self Certified	2025-01-15	100.00	\$10.00	\$1,000.00	\$1,000.00	\$10,000.00	Round 1
840-943061685	HOUSE RABBIT SOCIETY	RICHMOND	California	United States	Animal- Related	Animal Protection and Welfare	Self Certified	2024-11-13	95.50	\$10.00	\$955.00	\$955.00	\$10,000.00	Round 1
	MISSION SAN JOSE ELEMENTARY PARENT TEACHER CLUB	FREMONT	California	United States	Education	Parent/Teacher Group	Self Certified	2024-08-25	87.50	\$10.00	\$875.00	\$875.00	\$15,000.00	Round 1
840-943096191	COASTAL REPERTORY THEATRE INC	HALF MOON BAY	California	United States	Arts, Culture, and Humanities	Theater	Self Certified	2024-08-31	121.00	\$10.00	\$1,210.00	\$1,210.00	\$10,000.00	Round 1
840-943098613	NORTHWEST DANCE THEATRE	TUALATIN	Oregon	United States	Arts, Culture, and Humanities	Dance	Self Certified	2024-09-15	24.00	\$10.00	\$240.00	\$240.00	\$10,000.00	Round 1
840-943100052	AGAPE INTERNATIONAL MISSIONS	ROSEVILLE	California	United States	Civil Rights, Social Action, and Advocacy	Minority Rights	Self Certified	2024-08-07	57.00	\$10.00	\$570.00	\$570.00	\$10,000.00	Round 1
840- 943101722/project/43FJKLPM23	Cub Scouts Pack 207 via CEDAR MILL SCHOOL PARENT TEACHER CLUB INC	PORTLAND	Oregon	United States	Education	Parent/Teacher Group	Self Certified	2025-02-09	32.83	\$10.00	\$328.30	\$328.30	\$15,000.00	Round 1
840-943103055	Forest Park Conservancy	Portland	Oregon	United States	Environmental Quality, Protection,	Environmental Beautification and Aesthetics	Self Certified	2024-10-23	140.50	\$10.00	\$1,405.00	\$1,405.00	\$10,000.00	Round 1
840-943105555	STORE TO DOOR	PORTLAND	Oregon	United States	Human Services	Senior Centers, Services	Self Certified	2024-08-23	55.00	\$10.00	\$550.00	\$550.00	\$10,000.00	Round 1
840-943107840	LIBRARY FOUNDATION OF HILLSBORO	HILLSBORO	Oregon	United States	Education	Libraries	Self Certified	2024-10-22	70.50	\$10.00	\$705.00	\$705.00	\$15,000.00	Round 1
	SUNSET APOLLO MARCHING BAND AND AUXILIARY PARENTS CLUB INC	Portland	Oregon	United States	Education	Parent/Teacher Group	Self Certified	2025-02-15	226.00	\$10.00	\$2,260.00	\$2,260.00	\$15,000.00	Round 1
	CONVALESCENT HOSPITAL CARD & VISIT ASSOCIATION	Auburn	California	United States	Health - General and Rehabilitative	Patient Services - Entertainment, Recreation	Self Certified	2025-01-05	189.12	\$10.00	\$1,891.20	\$1,891.20	\$10,000.00	Round 1

Cause Code	Cause Name	Cause City	Cause State or Province	Cause Country	Cause Category	Cause Subcategory	Self Certification Status	Self Certification Expiration	Volunteerd Hours	Hourly Match Rate	Total	Adjusted Total	Match Cap	Payout Round?
840-943126167	International School, The	Portland	Oregon	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2025-01-08	80.50	\$10.00	\$805.00	\$805.00	\$15,000.00	Round 1
840-943132087	MAITRI	Santa Clara	California	United States	Human Services	Services to Promote the Independence of Specific Populations	Self Certified	2024-11-01	21.67	\$10.00	\$216.70	\$216.70	\$10,000.00	Round 1
840-943136027	AMADOR-TUOLUMNE COMMUNITY RESOURCES	JACKSON	California	United States	Environmental Quality, Protection,	Natural Resources Conservation and Protection	Self Certified	2025-01-25	89.50	\$10.00	\$895.00	\$895.00	\$10,000.00	Round 1
840-943143115	Portland Mountain Rescue	Portland	Oregon	United States	Public Safety, Disaster Preparedness	Search and Rescue Squads, Services	Self Certified	2024-11-09	40.00	\$10.00	\$400.00	\$400.00	\$10,000.00	Round 1
840-943143273	GRIFFITH PARK ATHLETIC CLUB JUNIOR RACQUETBALL ASSOCIATION	BEAVERTON	Oregon	United States	Recreation and Sports	Tennis, Racquet Sports Clubs, Leagues	Self Certified	2024-07-02	126.00	\$10.00	\$1,260.00	\$1,260.00	\$10,000.00	Round 1
840-943148498	SACRAMENTO AREA FIRE CHAPLAINCY	SACRAMENTO	California	United States	Youth Development	Scouting Organizations	Self Certified	2024-11-19	601.00	\$10.00	\$6,010.00	\$6,010.00	\$10,000.00	Round 1
840-943148515	TIGARD-TUALATIN SCHOOLS FOUNDATION	N TIGARD	Oregon	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2025-01-02	351.30	\$10.00	\$3,513.00	\$3,513.00	\$15,000.00	Round 1
840-943148516	DAVIS YOUTH SOFTBALL ASSOCIATION	DAVIS	California	United States	Recreation and Sports	Baseball, Softball	Self Certified	2024-06-06	850.00	\$10.00	\$8,500.00	\$8,500.00	\$10,000.00	Round 1
840-943171872	Bethany School Parent Teacher Organization	Beaverton	Oregon	United States	Education	Parent/Teacher Group	Self Certified	2024-04-18	74.63	\$10.00	\$746.30	\$746.30	\$15,000.00	Round 1
840- 943181710/project/3NY6A04691	Boy Scouts Folsom Troop 94 via FOLSOM ROTARY FOUNDATION	Folsom	California	United States	Community Improvement and Capacity	Scouting Organizations	Self Certified	2024-11-06	150.00	\$10.00	\$1,500.00	\$1,500.00	\$10,000.00	Round 1
840- 943181710/project/4F1Q9AY647	Boy Scouts Folsom Troop 94G via FOLSOM ROTARY FOUNDATION	Folsom	California	United States	Community Improvement and Capacity	Community Service Clubs	Self Certified	2024-11-06	37.58	\$10.00	\$375.80	\$375.80	\$10,000.00	Round 1
840-943184499	Tualatin Riverkeepers	Tualatin	Oregon	United States	Environmental Quality, Protection,	Environmental Education and Outdoor Survival Programs	Self Certified	2024-09-26	67.60	\$10.00	\$676.00	\$676.00	\$10,000.00	Round 1
840-943187982	Riverdale School Foundation	Lake Oswego	Oregon	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2024-09-01	21.50	\$10.00	\$215.00	\$215.00	\$15,000.00	Round 1
840-943225675	CALIFORNIA MARINE SANCTUARY FOUNDATION	MONTEREY	California	United States	Animal- Related	Wildlife Preservation, Protection	Self Certified	2024-08-09	290.50	\$10.00	\$2,905.00	\$2,905.00	\$10,000.00	Round 1
840-943281922	SAN FRANCISCO FOLK MUSIC CLUB	BERKELEY	California	United States	Arts, Culture, and Humanities	Arts, Cultural Organizations - Multipurpose	Self Certified	2024-11-01	176.00	\$10.00	\$1,760.00	\$1,760.00	\$10,000.00	Round 1
840-943288179	DAUGHTERS OF ZION ENTERPRISES	SACRAMENTO	California	United States	Youth Development	Youth Development Programs, Other	Self Certified	2024-07-03	44.75	\$10.00	\$447.50	\$447.50	\$10,000.00	Round 1
840-943311132	AL-ARQAM ISLAMIC SCHOOL	SACRAMENTO	California	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2024-08-30	24.00	\$10.00	\$240.00	\$240.00	\$15,000.00	Round 1
840-943315566	Sacramento Food Bank & Family Services	SACRAMENTO	California	United States	Food, Agriculture, and Nutrition	Food Banks, Food Pantries	Self Certified	2024-07-28	40.58	\$10.00	\$405.80	\$405.80	\$10,000.00	Round 1
840-943342348	HOME OF HOPE INC	San Francisco	California	United States	Human Services	Fund Raising and/or Fund Distribution	Self Certified	2024-12-01	120.00	\$10.00	\$1,200.00	\$1,200.00	\$10,000.00	Round 1
840-943369973	PHILIPPINE DEVELOPMENT FOUNDATION	Palo Alto	California	United States	International, Foreign Affairs, and	International Development, Relief Services	Self Certified	2024-11-08	367.50	\$10.00	\$3,675.00	\$3,675.00	\$10,000.00	Round 1
840-943378111	NOR CAL STUDENT ATHLETES INC	Folsom	California	United States	Recreation and Sports	Basketball	Self Certified	2025-02-27	200.00	\$10.00	\$2,000.00	\$2,000.00	\$10,000.00	Round 1
840-943397768	PACIFIC LINKS FOUNDATION	MILPITAS	California	United States	International, Foreign Affairs, and	Promotion of International Understanding	Self Certified	2024-10-17	48.00	\$10.00	\$480.00	\$480.00	\$10,000.00	Round 1
840-943399952	SUTTER MIDDLE SCHOOL PTA	FOLSOM	California	United States	Education	Parent/Teacher Group	Self Certified	2024-08-01	341.03	\$10.00	\$3,410.30	\$3,410.30	\$15,000.00	Round 1
840- 946036494/project/3SC7TEZU3 R	REGENTS OF THE UNIVERSITY OF CALIFORNIA, DAVIS CAMPUS for UC Davis California Raptor Center	Davis	California	United States	Education	University or Technological Institute	Self Certified	2024-03-28	238.50	\$10.00	\$2,385.00	\$2,385.00	\$15,000.00	Round 1
840-946050468	Stanford Parents' Club	Palo Alto	California	United States	Education	Parent/Teacher Group	Self Certified	2025-01-13	227.00	\$10.00	\$2,270.00	\$2,270.00	\$15,000.00	Round 1
840-946068843	SUTTER VISITING NURSE ASSOCIATION AND HOSPICE	Sacramento	California	United States	Human Services	Hospice	Self Certified	2024-11-08	96.50	\$10.00	\$965.00	\$965.00	\$10,000.00	Round 1
840-946080866	JUNIOR ACHIEVEMENT OF SACRAMENTO INC	SACRAMENTO	California	United States	International, Foreign Affairs, and	International Economic Development	Self Certified	2025-01-10	30.00	\$10.00	\$300.00	\$300.00	\$10,000.00	Round 1
840- 946081352/project/3SBXX4Q4J K	THE UC DAVIS FOUNDATION for UC Davis California Raptor Center	Davis	California	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2024-03-28	24.00	\$10.00	\$240.00	\$240.00	\$15,000.00	Round 1
840-946081352	THE UC DAVIS FOUNDATION	Davis	California	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2024-03-28	20.00	\$10.00	\$200.00	\$200.00	\$15,000.00	Round 1
840-946081420	SANTA CLARA VALLEY AUDUBON SOCIETY	CUPERTINO	California	United States	Environmental Quality, Protection,	Natural Resources Conservation and Protection	Self Certified	2024-08-29	172.00	\$10.00	\$1,720.00	\$1,720.00	\$10,000.00	Round 1
840-946099635	AUXILIARY OF THE GOOD SAMARITAN HOSPITAL OF SANTA CLARA VALLEY	SAN JOSE	California	United States	Health - General and Rehabilitative	Hospitals and Related Primary Medical Care Facilities	Self Certified	2024-05-02	48.00	\$10.00	\$480.00	\$480.00	\$10,000.00	Round 1

Cause Code	Cause Name	Cause City	Cause State or Province	Cause Country	Cause Category	Cause Subcategory	Self Certification Status	Self Certification Expiration	Volunteerd Hours	Hourly Match Rate	Total	Adjusted Total	Match Cap	Payout Round?
840-946102046	LOS ALTOS DAR	ATHERTON	California	United States	Arts, Culture, and Humanities	Historical Societies, Related Historical Activities	Self Certified	2024-09-18	476.50	\$10.00	\$4,765.00	\$4,765.00	\$10,000.00	Round 1
840-946104506	SANTA ROSA GARDEN CLUB	WINDSOR	California	United States	Environmental Quality, Protection,	Garden Club, Horticultural Program	Self Certified	2024-12-05	204.00	\$10.00	\$2,040.00	\$2,040.00	\$10,000.00	Round 1
840-946106974	PENINSULA SYMPHONY OF NORTHERN CALIFORNIA ASSOCIATION	Los Altos	California	United States	Arts, Culture, and Humanities	Symphony Orchestras	Self Certified	2024-07-18	110.00	\$10.00	\$1,100.00	\$1,100.00	\$10,000.00	Round 1
840-946121872	GUALALA ARTS	GUALALA	California	United States	Arts, Culture, and Humanities	Arts Education	Self Certified	2024-09-20	271.50	\$10.00	\$2,715.00	\$2,715.00	\$10,000.00	Round 1
840-946130310	Golden State Youth Orchestra	PALO ALTO	California	United States	Arts, Culture, and Humanities	Arts, Culture, and Humanities N.E.C.	Self Certified	2024-04-19	65.00	\$10.00	\$650.00	\$650.00	\$10,000.00	Round 1
840-946171365	Buena Vista Elementary PTA	WALNUT CREEK	California	United States	Education	Parent/Teacher Group	Self Certified	2024-09-24	44.00	\$10.00	\$440.00	\$440.00	\$15,000.00	Round 1
840-946174514	Springer School PTA	MOUNTAIN VIEW	California	United States	Education	Parent/Teacher Group	Self Certified	2024-08-16	62.50	\$10.00	\$625.00	\$625.00	\$15,000.00	Round 1
840-946184049	PTA California Congress of Parents, Teachers and Students - Warren E. Hyde Middle School	Cupertino	California	United States	Education	Parent/Teacher Group	Self Certified	2025-01-16	53.00	\$10.00	\$530.00	\$530.00	\$15,000.00	Round 1
840-946184243	FRIENDS OF THE SUNNYVALE PUBLIC LIBRARY INC	SUNNYVALE	California	United States	Education	Libraries	Self Certified	2025-02-14	52.00	\$10.00	\$520.00	\$520.00	\$15,000.00	Round 1
840-951643305	BOYS & GIRLS CLUB OF PASADENA	PASADENA	California	United States	Youth Development	Boys and Girls Clubs (Combined)	Self Certified	2024-10-25	20.00	\$10.00	\$200.00	\$200.00	\$10,000.00	Round 1
840-951644589	HENRY E HUNTINGTON LIBRARY & ART GALLERY	SAN MARINO	California	United States	Arts, Culture, and Humanities	History Museums	Self Certified	2024-12-05	80.00	\$10.00	\$800.00	\$800.00	\$10,000.00	Round 1
840-951911219	HARVEY MUDD COLLEGE	CLAREMONT	California	United States	Education	Undergraduate College (4- year)	Self Certified	2024-10-11	90.00	\$10.00	\$900.00	\$900.00	\$15,000.00	Round 1
840- 952680390/project/4LSBWNGA NT	FOOD FOR THE HUNGRY INC for Intel Sotzil Project	PHOENIX	Arizona	United States	Public Safety, Disaster Preparedness,	Alliance/Advocacy Organizations	Self Certified	2025-02-14	161.00	\$10.00	\$1,610.00	\$1,610.00	\$10,000.00	Round 1
840-952680390	FOOD FOR THE HUNGRY INC	PHOENIX	Arizona	United States	Public Safety, Disaster Preparedness	Alliance/Advocacy Organizations	Self Certified	2025-02-14	20.00	\$10.00	\$200.00	\$200.00	\$10,000.00	Round 1
840-953195126	HOSPICE OF SAN LUIS OBISPO COUNTY	San Luis Obispo	California	United States	Human Services	Hospice	Self Certified	2024-04-04	224.00	\$10.00	\$2,240.00	\$2,240.00	\$10,000.00	Round 1
840-953498214	SAN LUIS OBISPO FRIENDS OF THE LIBRARY	San Luis Obispo	California	United States	Education	Libraries	Self Certified	2025-02-01	271.00	\$10.00	\$2,710.00	\$2,710.00	\$15,000.00	Round 1
840-953618530	AMOR MINISTRIES INC	SAN DIEGO	California	United States	International, Foreign Affairs, and	International Relief	Self Certified	2024-10-19	144.00	\$10.00	\$1,440.00	\$1,440.00	\$10,000.00	Round 1
840-953754299	LOS ANGELES MYCOLOGICAL SOCIETY	CANOGA PARK	California	United States	Arts, Culture, and Humanities	Humanities Organizations	Self Certified	2024-10-22	62.00	\$10.00	\$620.00	\$620.00	\$10,000.00	Round 1
840-954456218	VED VIGNAN MAHAVIDYAPEETH	NASHUA	New Hampshire	United States	Human Services	Personal Social Services	Self Certified	2024-12-18	112.00	\$10.00	\$1,120.00	\$1,120.00	\$10,000.00	Round 1
840-954463572	KAHRIZAK FOUNDATION	SANTA CLARA	California	United States	Human Services	Human Service Organizations Multipurpose	Self Certified	2024-11-07	20.00	\$10.00	\$200.00	\$200.00	\$10,000.00	Round 1
840-954791662	Hands for Hope aka Hands4Hope LA	North Hollywood	California	United States	Human Services	Children's, Youth Services	Self Certified	2024-11-15	90.00	\$10.00	\$900.00	\$900.00	\$10,000.00	Round 1
840-956047392	ALTADENA GUILD OF THE HUNTINGTON MEMORIAL HOSPITAL	ALTADENA	California	United States	Health - General and Rehabilitative	Fund Raising and/or Fund Distribution	Self Certified	2024-08-17	20.00	\$10.00	\$200.00	\$200.00	\$10,000.00	Round 1
840-956096583	SOCIETY FOR PRESERVATION & ENCOURMT OF BARBERSHOP QUARTET SINGING AMER	San Francisco	California	United States	Arts, Culture, and Humanities	Singing, Choral	Self Certified	2024-12-11	222.50	\$10.00	\$2,225.00	\$2,225.00	\$10,000.00	Round 1
840- 956205398/project/43UP9B799I	AMERICAN YOUTH SOCCER O ORGANIZATION for AYSO Region 213	TORRANCE	California	United States	Recreation and Sports	Soccer Clubs, Leagues	Self Certified	2024-08-08	206.25	\$10.00	\$2,062.50	\$2,062.50	\$10,000.00	Round 1
840- 956205398/project/2XK4JYBWY 7	AMERICAN YOUTH SOCCER ORGANIZATION for AYSO Region 218	TORRANCE	California	United States	Recreation and Sports	Soccer Clubs, Leagues	Self Certified	2024-08-08	480.00	\$10.00	\$4,800.00	\$4,800.00	\$10,000.00	Round 1
840-990166628	HANALEI HAWAIIAN CIVIC CLUB	HANALEI	Hawaii	United States	Community Improvement and Capacity	Community Service Clubs	Self Certified	2024-07-03	308.00	\$10.00	\$3,080.00	\$3,080.00	\$10,000.00	Round 1
840- B_20SR6SGCC6/project/45SM/ E1W1V	HILLTOP BAPTIST TEMPLE for Twin Lakes Child Development Center	Cedar Park	Texas	United States	Religion-Related	d Protestant	Self Certified	2024-07-07	40.00	\$10.00	\$400.00	\$400.00	\$10,000.00	Round 1
840-B_26U3LMV2GA	St. Pius X School	Portland	Oregon	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2025-02-28	110.00	\$10.00	\$1,100.00	\$1,100.00	\$15,000.00	Round 1
840- B_29DM5U4PKQ/project/49NJP XZVVM	Boy Scouts Troop 1830 via Hope Fellowship	Hillsboro	Oregon	United States	Religion-Related	d Scouting Organizations	Self Certified	2024-05-04	371.75	\$10.00	\$3,717.50	\$3,717.50	\$10,000.00	Round 1
840-	Z Boy Scouts Troop 5830 via Hope Fellowship	Hillsboro	Oregon	United States	Religion-Related	d Scouting Organizations	Self Certified	2024-05-04	463.00	\$10.00	\$4,630.00	\$4,630.00	\$10,000.00	Round 1
840- B_3JSCVWSXZ8/project/535EJ R2L8P	VEDANTA SOCIETY OF PORTLAND OREGON for Vedanta Society of Portland: Environmental Sustainability and Community	Portland	Oregon	United States	Religion- Related	Hindu	Self Certified	2024-04-08	583.00	\$10.00	\$5,830.00	\$5,830.00	\$10,000.00	Round 1

	Cause Name	Cause City	Cause State or Province	Cause Country	Cause Category	Cause Subcategory	Certification		Volunteerd Hours	Hourly Match Rate	Total	Adjusted Total	Match Cap	Payout Round
SEMRD	Boy Scouts Troop 88 via First United Methodist Church of Gilbert	Gilbert	Arizona	United States	Religion-Related	Scouting Organizations	Self Certified	2024-10-10	241.50	\$10.00	\$2,415.00	\$2,415.00	\$10,000.00	Round 1
SM7D	Cub Scout Pack 584 via HOPE COVENANT CHURCH CHANDLER AZ	CHANDLER	Arizona	United States	Religion-Related	Scouting Organizations	Expired	2021-10-12	167.00	\$10.00	\$1,670.00	\$1,670.00	\$10,000.00	Round 1
JQE11	Boy Scouts Troop 71 via Piedmont Presbyterian Church	PORTLAND	Oregon	United States	Religion-Related	Scouting Organizations	Self Certified	2024-07-04	250.25	\$10.00	\$2,502.50	\$2,502.50	\$10,000.00	Round 1
/MUDEB	Cub Scout Pack 566 via Hillsboro First Congregational United Church of Christ	Hillsboro	Oregon	United States	Religion-Related	Scouting Organizations	Self Certified	2024-11-14	770.75	\$10.00	\$7,707.50	\$7,707.50	\$10,000.00	Round 1
NCG5R	Cub Scout Pack 132 via St. Mary's Catholic Church - Chandler	Chandler	Arizona	United States	Religion-Related	Scouting Organizations	Self Certified	2025-01-02	37.00	\$10.00	\$370.00	\$370.00	\$10,000.00	Round 1
SS79	Boy Scouts - Troop 240 via Hillsboro United Methodist Church	HILLSBORO	Oregon	United States	Religion-Related	Scouting Organizations	Self Certified	2025-02-15	3879.00	\$10.00	\$38,790.00	\$10,000.00	\$10,000.00	Round 1
3_5FEYTACVJT/project/3BWMB _XGBR	Hillsboro United Methodist Church for Community Trading Post	HILLSBORO	Oregon	United States	Religion-Related	Christian	Self Certified	2025-02-15	550.00	\$10.00	\$5,500.00	\$5,500.00	\$10,000.00	Round 1
WE32B	Hillsboro United Methodist Church for ESL Classes	HILLSBORO	Oregon	United States	Religion-Related	Christian	Self Certified	2025-02-15	50.00	\$10.00	\$500.00	\$500.00	\$10,000.00	Round 1
IGGVR	Boy Scouts Troop 285 via Mission del Sol Presbyterian Church	Tempe	Arizona	United States	Religion-Related	Scouting Organizations	Expired	2021-12-10	454.00	\$10.00	\$4,540.00	\$4,540.00	\$10,000.00	Round 1
3_5J5V3SZAN1/project/30JAMV GA2P	Las Placitas Presbyterian Church for Casa Rosa Food Pantry	Placitas	New Mexico	United States	Religion-Related	Christian	Self Certified	2024-08-08	50.00	\$10.00	\$500.00	\$500.00	\$10,000.00	Round 1
	First Unitarian Church of Albuquerque for Food Pantry Program	Albuquerque	New Mexico	United States	Religion-Related	Christian	Self Certified	2024-11-06	52.50	\$10.00	\$525.00	\$525.00	\$10,000.00	Round 1
	Proprietors Of St Pauls Episcopal Church for Among Friends Soup Kitchen	Newburyport	Massachusetts	United States	Religion-Related	Protestant	Self Certified	2024-11-28	250.00	\$10.00	\$2,500.00	\$2,500.00	\$10,000.00	Round 1
SV3Z	Boy Scouts Troop 855 Hillsboro via Trinity Lutheran Church	Hillsboro	Oregon	United States	Religion- Related	Scouting Organizations	Self Certified	2024-09-11	1318.00	\$10.00	\$13,180.00	\$10,000.00	\$10,000.00	Round 1
RZBG3	ST. MATTHEW CATHOLIC CHURCH for COMMUNITY OUTREACH PROGRAMS	Hillsboro	Oregon	United States	Religion-Related	Christian	Self Certified	2024-07-03	131.50	\$10.00	\$1,315.00	\$1,315.00	\$10,000.00	Round 1
3_63MOEHZKW7/project/4143Z 38D4B	Boy Scouts Troop 134 via Journey Presbyterian Church	Folsom	California	United States	Religion-Related	Scouting Organizations	Self Certified	2024-10-06	860.00	\$10.00	\$8,600.00	\$8,600.00	\$10,000.00	Round 1
EFJ2RH	Boy Scouts Troop 1855 - Boys via Journey Presbyterian Church	Folsom	California	United States	Religion-Related	Scouting Organizations	Self Certified	2024-10-06	770.00	\$10.00	\$7,700.00	\$7,700.00	\$10,000.00	Round 1
7EMV1	Boy Scouts Troop 1855 - Girls via Journey Presbyterian Church	Folsom	California	United States	Religion-Related	Scouting Organizations	Self Certified	2024-10-06	275.91	\$10.00	\$2,759.10	\$2,759.10	\$10,000.00	Round 1
20951	Boy Scouts Troop 592 via VALLEY COMMUNITY PRESBYTERIAN CHURCH	Portland	Oregon	United States	Religion- Related	Scouting Organizations	Self Certified	2024-10-23	915.25	\$10.00	\$9,152.50	\$9,152.50	\$10,000.00	Round 1
3_655T6WATEP/project/3ATT3A	Cub Scout Pack 592 via VALLEY COMMUNITY PRESBYTERIAN CHURCH	Portland	Oregon	United States	Religion- Related	Scouting Organizations	Self Certified	2024-10-23	75.00	\$10.00	\$750.00	\$750.00	\$10,000.00	Round 1
340- 3_65S16MX1LP/project/3XZQ2B 5323	Boy Scouts Troop 5592 via VALLEY COMMUNITY PRESBYTERIAN CHURCH	Portland	Oregon	United States	Religion- Related	Scouting Organizations	Self Certified	2024-10-23	295.83	\$10.00	\$2,958.30	\$2,958.30	\$10,000.00	Round 1
3_65S16MX1LP/project/508AR5	Boy Scouts Westside Jamboree Troop via VALLEY COMMUNITY PRESBYTERIAN CHURCH	Portland	Oregon	United States	Religion- Related	Scouting Organizations	Self Certified	2024-10-23	1010.17	\$10.00	\$10,101.70	\$10,000.00	\$10,000.00	Round 1
	Boy Scouts Troop 225 via Reedville Presbyterian Church	Aloha	Oregon	United States	Religion-Related	Scouting Organizations	Self Certified	2025-02-03	148.50	\$10.00	\$1,485.00	\$1,485.00	\$10,000.00	Round 1
	Boy Scouts Troop 501 via La Cañada Congregational Church	La Cañada Flintridge	California	United States	Religion-Related	Scouting Organizations	Self Certified	2024-12-12	449.50	\$10.00	\$4,495.00	\$4,495.00	\$10,000.00	Round 1
	West Central Region of AUC for Youth Leadership Training	Medford	Oregon	United States	Religion- Related	Protestant	Self Certified	2025-02-17	228.00	\$10.00	\$2,280.00	\$2,280.00	\$10,000.00	Round 1
	XPOSE HOPE for Xpose Hope Career Rehabilitation Outreach	Hillsboro	Oregon	United States	Human Services	Human Service Organizations Multipurpose	Self Certified	2024-11-07	90.00	\$10.00	\$900.00	\$900.00	\$10,000.00	Round 1
840-B_FR50GQNT25	XPOSE HOPE	Hillsboro	Oregon	United States	Human Services	Human Service Organizations Multipurpose	Self Certified	2024-11-07	25.00	\$10.00	\$250.00	\$250.00	\$10,000.00	Round 1
	Lake Grove Presbyterian Church for Job Seekers	Lake Oswego	Oregon	United States	Religion-Related	Christian	Self Certified	2025-01-03	833.50	\$10.00	\$8,335.00	\$8,335.00	\$10,000.00	Round 1
	Cub Scout Pack 1855 via Trinity Episcopal Church	Folsom	California	United States	Religion- Related	Scouting Organizations	Self Certified	2024-05-01	355.00	\$10.00	\$3,550.00	\$3,550.00	\$10,000.00	Round 1
340- BEV COV FIN 246000376 00	Penn State University for Penn State Extension Master Gardeners Lehigh County	State College	Pennsylvania	United States	Education	University or Technological Institute	Self Certified	2025-02-14	108.00	\$10.00	\$1,080.00	\$1,080.00	\$15,000.00	Round 1
340- 3SV_GOV_EIN_246000376_00 01	Penn State University	State College	Pennsylvania	United States	Education	University or Technological Institute	Self Certified	2025-02-14	35.50	\$10.00	\$355.00	\$355.00	\$15,000.00	Round 1
340-	Corrales Fire Department	Corrales	New Mexico	United States	Public Safety, Disaster	Fire Prevention, Protection, Control	Self Certified	2024-08-15	49.00	\$10.00	\$490.00	\$490.00	\$10,000.00	Round 1

Cause Code	Cause Name	Cause City	Cause State or Province	Cause Country	Cause Category	Cause Subcategory	Self Certification Status	Self Certification Expiration	Volunteerd Hours	Hourly Match Rate	Total	Adjusted Total	Match Cap	Payout Round?
840- BSV_GOV_EIN_930572833_00 01/project/3VM8THV7C3	Tigard-Tualatin School District 23J for Charles F Tigard Elementary School	Tigard	Oregon	United States	Education	Education N.E.C.	Self Certified	2025-01-08	30.00	\$10.00	\$300.00	\$300.00	\$15,000.00	Round 1
840-NCES12_060627000291	SILVA VALLEY ELEMENTARY	EL DORADO HILLS	California	United States	Education	Primary, Elementary Schools	Self Certified	2024-09-18	703.25	\$10.00	\$7,032.50	\$7,032.50	\$15,000.00	Round 1
840-NCES12_060627010767	Valley View Charter Montessori	El Dorado Hills	California	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2024-06-06	24.00	\$10.00	\$240.00	\$240.00	\$15,000.00	Round 1
840-NCES12_060627011240	Oak Meadow Elementary	El Dorado Hills	California	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2024-07-26	1097.50	\$10.00	\$10,975.00	\$10,975.00	\$15,000.00	Round 1
840-NCES12_060723008350	Branham High School	San Jose	California	United States	Education	Secondary, High School	Self Certified	2024-07-16	235.75	\$10.00	\$2,357.50	\$2,357.50	\$15,000.00	Round 1
840-NCES12_061029001133	Faria (William) Elementary School	Cupertino	California	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2024-09-06	20.00	\$10.00	\$200.00	\$200.00	\$15,000.00	Round 1
840- NCES12_061182010665/project/ 2TW8TAEBKD	Evergreen Valley High School for Evergreen Valley High School's Robotics Club	San Jose	California	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2024-08-29	30.00	\$10.00	\$300.00	\$300.00	\$15,000.00	Round 1
840-NCES12_062118008151	Miller's Hill	Shingle Springs	California	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2024-11-28	872.50	\$10.00	\$8,725.00	\$8,725.00	\$15,000.00	Round 1
840- NCES12_062631003930/project/ 3GHERXTVDH	, Mountain View High School for MVHS Science Olympiad	Mountain View	California	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2025-02-06	102.00	\$10.00	\$1,020.00	\$1,020.00	\$15,000.00	Round 1
840-NCES12_063078004785	EDWIN MARKHAM MIDDLE	PLACERVILLE	California	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2024-04-28	1610.00	\$10.00	\$16,100.00	\$15,000.00	\$15,000.00	Round 1
840-NCES12_063384005219	Albert Einstein Middle	Sacramento	California	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2024-07-31	474.00	\$10.00	\$4,740.00	\$4,740.00	\$15,000.00	Round 1
840-NCES12_063462005802	NORTHRIDGE ELEMENTARY	FAIR OAKS	California	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2024-09-18	1722.00	\$10.00	\$17,220.00	\$15,000.00	\$15,000.00	Round 1
840-NCES12_080291001951	CHEROKEE TRAIL HIGH SCHOOL	AURORA	Colorado	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2024-11-07	40.50	\$10.00	\$405.00	\$405.00	\$15,000.00	Round 1
840-NCES12_080540006406	COYOTE RIDGE ELEMENTARY, an IB WORLD SCHOOL	FORT COLLINS	Colorado	United States	Education	Primary, Elementary Schools	Self Certified	2025-02-24	122.50	\$10.00	\$1,225.00	\$1,225.00	\$15,000.00	Round 1
840- NCES12_250891001441/project/ 3SQNJDAA67	ALGONQUIN REGIONAL HIGH for Algonquin Robotics FRC Team 1100 Northborough	Northboro	Massachusetts	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2024-11-04	306.00	\$10.00	\$3,060.00	\$3,060.00	\$15,000.00	Round 1
840-NCES12_251260002059	Westborough High	Westborough	Massachusetts	United States	Education	Secondary, High School	Self Certified	2024-12-18	619.50	\$10.00	\$6,195.00	\$6,195.00	\$15,000.00	Round 1
840-NCES12_350001000101	RIO RANCHO ELEMENTARY	Rio Rancho	New Mexico	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2025-01-10	81.50	\$10.00	\$815.00	\$815.00	\$15,000.00	Round 1
840-NCES12_350001030011	ENCHANTED HILLS ELEMENTARY	Rio Rancho	New Mexico	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2024-09-15	30.00	\$10.00	\$300.00	\$300.00	\$15,000.00	Round 1
840-NCES12_350006000038	CIBOLA HIGH	ALBUQUERQUE	New Mexico	United States	Education	Elementary, Secondary Education, K - 12	Expired	2023-09-07	39.00	\$10.00	\$390.00	\$390.00	\$15,000.00	Round 1
840- NCES12_410001601288/project/ 2ZUL760GE3	/ Yamhill Carlton High School for YC Ag Drone / Rocketry Team	YAMHILL	Oregon	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2024-11-15	71.00	\$10.00	\$710.00	\$710.00	\$15,000.00	Round 1
840-NCES12_410001601288	Yamhill Carlton High School	YAMHILL	Oregon	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2024-11-15	51.00	\$10.00	\$510.00	\$510.00	\$15,000.00	Round 1
3MW479YE39	Century High School for Boys Basketball	Hillsboro	Oregon	United States	Education	Sports/Booster/Club/Band	Self Certified	2024-10-16	242.00	\$10.00	\$2,420.00	\$2,420.00	\$15,000.00	Round 1
3MW510WRU3	Century High School for Boys Golf	Hillsboro	Oregon	United States	Education	Sports/Booster/Club/Band	Self Certified	2024-10-16	144.00	\$10.00	\$1,440.00	\$1,440.00	\$15,000.00	Round 1
3MW56QY8F5	Century High School for Girls Golf	Hillsboro	Oregon	United States	Education	Sports/Booster/Club/Band	Self Certified	2024-10-16	47.00	\$10.00	\$470.00	\$470.00	\$15,000.00	Round 1
3MW58XSL7V	Century High School for Girls Tennis	Hillsboro	Oregon	United States	Education	Sports/Booster/Club/Band	Self Certified	2024-10-16	330.00	\$10.00	\$3,300.00	\$3,300.00	\$15,000.00	Round 1
3MW4YU2EWT	Century High School for Track and Field	Hillsboro	Oregon	United States	Education	Sports/Booster/Club/Band	Self Certified	2024-10-16	116.00	\$10.00	\$1,160.00	\$1,160.00	\$15,000.00	Round 1
3MLZTVBSSF	- FTC Robolics Team		Oregon	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2024-10-19	84.00	\$10.00	\$840.00	\$840.00	\$15,000.00	Round 1
840- NCES12_410002301252/project/ 3MLZY90EYT	, Hillsboro High School for Hillsboro High School Band		Oregon	United States	Education	Sports/Booster/Club/Band	Self Certified	2024-10-19	108.00	\$10.00	\$1,080.00	\$1,080.00	\$15,000.00	Round 1
840- NCES12_410002301252/project/ 3MM1NTNHYX	Hillsboro High School for Hillsboro High School Baseball		Oregon	United States	Education	Sports/Booster/Club/Band	Self Certified	2024-10-19	32.00	\$10.00	\$320.00	\$320.00	\$15,000.00	Round 1
840- NCES12_410002301252/project/ 3U1VKLASG3	, Hillsboro High School for Hillsboro High School Boys Water Polo		Oregon	United States	Education	Sports/Booster/Club/Band	Self Certified	2024-10-19	1111.00	\$10.00	\$11,110.00	\$10,000.00	\$15,000.00	Round 1
840- NCES12_410002301252/project/ 3MM072BQZR	Hillsboro High School for Hillsboro High School Girls Basketball	Hillsboro	Oregon	United States	Education	Sports/Booster/Club/Band	Self Certified	2024-10-19	165.50	\$10.00	\$1,655.00	\$1,655.00	\$15,000.00	Round 1

Control Cont	Cause Code	Cause Name	Cause City	Cause State or Province	Cause Country	Cause Category	Cause Subcategory	Self Certification Status		Volunteerd Hours	Hourly Match Rate	Total	Adjusted Total	Match Cap	Payout Round
Section Sect	3MM0L9BP71		Hillsboro	Oregon		Education	Sports/Booster/Club/Band	Self Certified	2024-10-19	661.65	\$10.00	\$6,616.50	\$6,616.50	\$15,000.00	Round 1
Section Sect	3T16LLTUBZ		Hillsboro	Oregon		Education	Sports/Booster/Club/Band	Self Certified	2024-09-20	395.00	\$10.00	\$3,950.00	\$3,950.00	\$15,000.00	Round 1
Control Cont	NCEC12 410002201206/project/		Hillsboro	Oregon		Education	Sports/Booster/Club/Band	Self Certified	2024-09-20	80.50	\$10.00	\$805.00	\$805.00	\$15,000.00	Round 1
Process Proc	NCES12 410002301306/project/		Hillsboro	Oregon		Education	Sports/Booster/Club/Band	Self Certified	2024-09-20	94.00	\$10.00	\$940.00	\$940.00	\$15,000.00	Round 1
Control Cont	NCES12_410002301306/project/ 3T57YYA29D 840-	Boys Soccer Program	HIISDOIO	Oregon	States	Education	Sports/Booster/Club/Band	Self Certified	2024-09-20	394.00	\$10.00	\$3,940.00	\$3,940.00	\$15,000.00	Round 1
Column Processing	NCES12_410002301306/project/ 3T16ZTTUZM 840-	Football	HIISDOIO	Oregon	States	Education	Sports/Booster/Club/Band	Self Certified	2024-09-20	135.00	\$10.00	\$1,350.00	\$1,350.00	\$15,000.00	Round 1
March Marc	NCES12_410002301306/project/ 3T57WRFQNK 840-	Wrestling Team	Hillsboro	Oregon	States	Education		Self Certified	2024-09-20	51.00	\$10.00	\$510.00	\$510.00	\$15,000.00	Round 1
State Control Contro	NCES12 410002301306/project/		Hillsboro	Oregon	States	Education	Education, K - 12	Self Certified	2024-09-20	1808.42	\$10.00	\$18,084.20	\$15,000.00	\$15,000.00	Round 1
Company Miles Company Compan	840-NCES12_410002301306 840-	Glencoe High School	Hillsboro	Oregon	States	Education		Self Certified	2024-09-20	59.00	\$10.00	\$590.00	\$590.00	\$15,000.00	Round 1
Common C		Liberty High School for Bowling Team	Hillsboro	Oregon	States	Education	Sports/Booster/Club/Band	Self Certified	2024-12-15	172.00	\$10.00	\$1,720.00	\$1,720.00	\$15,000.00	Round 1
Property		Liberty High School for Boys Basketball	Hillsboro	Oregon	States	Education		Self Certified	2024-12-15	89.00	\$10.00	\$890.00	\$890.00	\$15,000.00	Round 1
Commercial Properties Comm		Liberty High School for FRC Robotics	Hillsboro	Oregon	States	Education	Education, K - 12	Self Certified	2024-12-15	682.00	\$10.00	\$6,820.00	\$6,820.00	\$15,000.00	Round 1
March Control Contro		Liberty High School for FTC Robotics	Hillsboro	Oregon	States	Education	Education, K - 12	Self Certified	2024-12-15	800.00	\$10.00	\$8,000.00	\$8,000.00	\$15,000.00	Round 1
States Control	840-NCES12_410192001217	KINNAMAN ELEMENTARY SCHOOL	BEAVERTON	Oregon	States	Education	Education, K - 12	Expired	2023-11-02	32.00	\$10.00	\$320.00	\$320.00	\$15,000.00	Round 1
Commonweight Comm	840	-	PORTLAND	Oregon	States	Education	Education, K - 12	Self Certified	2024-07-12	275.50	\$10.00	\$2,755.00	\$2,755.00	\$15,000.00	Round 1
CEST24_410543001247 Gaston School until for Visition Julino's Pilon Gaston Cregon C	NCES12_410543001247/project/ 3QHABJ2DU3	School		Oregon		Education		Self Certified	2024-10-03	68.50	\$10.00	\$685.00	\$685.00	\$15,000.00	Round 1
State Education Elementary Scoondary Education State Education Elementary Scoondary Education State Education Elementary Scoondary Educa	NCES12 410543001247/project/		Gaston	Oregon		Education		Self Certified	2024-10-03	218.00	\$10.00	\$2,180.00	\$2,180.00	\$15,000.00	Round 1
40-NCES12_410872001274 NEWBERG SENIOR HIGH SCHOOL Newberg Oregon States Education K-12 Elementary, Secondary Education, K-12 Self Certified 2024-11-02 30.00 \$10.00 \$30.00 \$15,000.00 \$0.00 \$15,000.00	840-NCES12_410543001247	Gaston School District	Gaston	Oregon		Education		Self Certified	2024-10-03	344.92	\$10.00	\$3,449.20	\$3,449.20	\$15,000.00	Round 1
State Stat	840-NCES12_410801001284	MCMINNVILLE HIGH SCHOOL	MCMINNVILLE	Oregon	States	Education		Self Certified	2025-01-23	442.00	\$10.00	\$4,420.00	\$4,420.00	\$15,000.00	Round 1
States Education Educati	840-NCES12_410872001274	NEWBERG SENIOR HIGH SCHOOL	Newberg	Oregon		Education		Self Certified	2024-11-02	30.00	\$10.00	\$300.00	\$300.00	\$15,000.00	Round 1
## States ## Education, K - 12 Self Certified 2024-10-10 30.08 \$10.00 \$370.00	840-NCES12_490003000445	LONE PEAK HIGH	HIGHLAND	Utah		Education		Self Certified	2024-12-06	182.00	\$10.00	\$1,820.00	\$1,820.00	\$15,000.00	Round 1
## APPLICEST_530870003024 ENDEAVOUR ELementary School VANCOUVER Washington Vancouver Washington Vancouver Washington Vancouver Washington Vancouver Washington Vancouver Washington Vancouver Va	840-NCES12_530270000413	BURTON ELEMENTARY SCHOOL	VANCOUVER	Washington		Education		Self Certified	2024-10-19	97.00	\$10.00	\$970.00	\$970.00	\$15,000.00	Round 1
## ACTIONS ALLES JUNION HIGH Puyaliup Washington States Education Education, K - 12 Self Certified 2024-10-10 30.08 \$10.00 \$300.00 \$15,000.00 \$	840-NCES12_530270003241	ENDEAVOUR ELEMENTARY SCHOOL	VANCOUVER	Washington		Education		Self Certified	2024-09-21	88.50	\$10.00	\$885.00	\$885.00	\$15,000.00	Round 1
## Arizona United States Education E	840-NCES12_530696001032	KALLES JUNIOR HIGH	Puyallup	Washington	States	Education	Education, K - 12	Self Certified	2024-10-10	30.08	\$10.00	\$300.80	\$300.80	\$15,000.00	Round 1
40- CES7_0401870/project/3C9LC Chandler Unified School District for Arizona Chandler Arizona Chandler Arizona Chandler Arizona Chandler Arizona Chandler Arizona Chandler Unified School District for CTA CES7_0401870/project/3C9KZ Chandler Unified School District for CTA CHANDLER CH	840-NCES12_530870003064	Stafford Elementary School	Tacoma	Washington		Education		Self Certified	2024-10-04	72.50	\$10.00	\$725.00	\$725.00	\$15,000.00	Round 1
CEST_0401870/project/3C9LC CEST_0401870/project/	_	WOODLAND HIGH SCHOOL	Woodland	Washington		Education		Self Certified	2024-11-27	50.00	\$10.00	\$500.00	\$500.00	\$15,000.00	Round 1
CEST_0401870/project/3C9KZ Chandler Unified School District for GTA Chandler Arizona United States Education Elementary, Secondary Elementary, Secondary Self Certified 2024-08-09 44.00 \$10.00 \$440.00 \$440.00 \$15,000.00 Round 1	NCES7_0401870/project/3C9LC JH971	College Prep High School	Chandler	Arizona	States	Education	Education, K - 12	Self Certified	2024-08-09	338.00	\$10.00	\$3,380.00	\$3,380.00	\$15,000.00	Round 1
CEST_0401870/project/3C9L3 Chandler Unified School District for CTA United States Chandler Arizona Chandler Arizona Chandler Arizona Chandler Arizona Chandler Unified School District for CTA Independence Campus Chandler Unified School District for CTA Chandler Unified School District for CTA Chandler Unified School	NCES7_0401870/project/3C9KZ BHA79	Elementary School	Chandler	Arizona	States	Education	Education, K - 12	Self Certified	2024-08-09	44.00	\$10.00	\$440.00	\$440.00	\$15,000.00	Round 1
CEST_0401870/project/3C9KQ Chandler Unified School District for CTA Indeed Unified School District for CTA Chandler Arizona Unified States Education States Education Elementary, Secondary Education, K - 12 Chandler Unified School District for CTA Chandler Arizona Unified Education Elementary, Secondary Self Certified 2024-08-09 \$8.75 \$10.00 \$587.50 \$15,000.00 Round 1 Chandler Unified School District for CTA Chandler Arizona United Education Elementary, Secondary Self Certified 2024-08-09 \$4.25 \$10.00 \$342.50 \$342.50 \$15,000.00 Round 1	NCES7_0401870/project/3C9L3 R5YNF	Humphrey Campus	Chandler	Arizona	States	Education	Education, K - 12	Self Certified	2024-08-09	40.50	\$10.00	\$405.00	\$405.00	\$15,000.00	Round 1
CEST_0401870/project/3C9L Unander Unimed School District for CTA Chandler Arizona State Education Elementary, Secondary Self Certified 2024-08-09 34.25 \$10.00 \$342.50 \$342.50 \$15,000.00 Round 1	NCES7_0401870/project/3C9KQ J5YT9	Independence Campus	Chandler	Arizona		Education		Self Certified	2024-08-09	58.75	\$10.00	\$587.50	\$587.50	\$15,000.00	Round 1
	840- NCES7_0401870/project/3C9L W55W79		Chandler	Arizona		Education		Self Certified	2024-08-09	34.25	\$10.00	\$342.50	\$342.50	\$15,000.00	Round 1

Cause Code	Cause Name	Cause City	Cause State or Province	Cause Country	Cause Category	Cause Subcategory	Self Certification Status	Self Certification Expiration	Volunteerd Hours	Hourly Match Rate	Total	Adjusted Total	Match Cap	Payout Round?
840- NCES7_0401870/project/3C9L5 Y0A3D	Chandler Unified School District for Jacobson Elementary School	Chandler	Arizona	United States	Education	Elementary, Secondary Education, K - 12	Self Certified		149.75	\$10.00	\$1,497.50	\$1,497.50	\$15,000.00	Round 1
840- NCES7_0401870/project/3C9L8 4UM3M	Chandler Unified School District for Sanborn Elementary School	Chandler	Arizona	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2024-08-09	74.00	\$10.00	\$740.00	\$740.00	\$15,000.00	Round 1
840- NCES7_0401870/project/3C9LA BNY6T	Chandler Unified School District for Santan Elementary School	Chandler	Arizona	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2024-08-09	60.00	\$10.00	\$600.00	\$600.00	\$15,000.00	Round 1
840- NCES7_0401870/project/3C9MJ 5H6YT	Chandler Unified School District for Weinberg Elementary School	Chandler	Arizona	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2024-08-09	25.50	\$10.00	\$255.00	\$255.00	\$15,000.00	Round 1
840- NCES7_0404290/project/2ZSH W3235M	Laveen Elementary School District for ROGERS RANCH SCHOOL	Laveen	Arizona	United States	Education	Education N.E.C.	Self Certified	2024-06-28	171.00	\$10.00	\$1,710.00	\$1,710.00	\$15,000.00	Round 1
840-NCES7_0404290	Laveen Elementary School District	Laveen	Arizona	United States	Education	Education N.E.C.	Self Certified	2024-06-28	20.00	\$10.00	\$200.00	\$200.00	\$15,000.00	Round 1
F3AW3	Mesa Unified District for Holmes Elementary	Mesa	Arizona	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2024-07-13	83.00	\$10.00	\$830.00	\$830.00	\$15,000.00	Round 1
840- NCES7_0404970/project/3AY52 FR087	Mesa Unified District for Poston Junior High School	Mesa	Arizona	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2024-07-13	271.00	\$10.00	\$2,710.00	\$2,710.00	\$15,000.00	Round 1
840- NCES7_0404970/project/3AWL HANFYX	Mesa Unified District for Zaharis Elementary	Mesa	Arizona	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2024-07-13	83.00	\$10.00	\$830.00	\$830.00	\$15,000.00	Round 1
840-NCES7_0409630	Yuma Union High School District	Yuma	Arizona	United States	Education	Secondary, High School	Self Certified	2024-05-30	37.00	\$10.00	\$370.00	\$370.00	\$15,000.00	Round 1
840- NCES7_0612330/project/3RQW GYSL0K	Elk Grove Unified for Zehnder Ranch Elementary School	Elk Grove	California	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2024-12-13	31.00	\$10.00	\$310.00	\$310.00	\$15,000.00	Round 1
840- NCES7_0613890/project/3NYVF F4L2T	Folsom-Cordova Unified School District for Cordova High School	Rancho Cordova	California	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2024-06-05	35.00	\$10.00	\$350.00	\$350.00	\$15,000.00	Round 1
840- NCES7_0613890/project/3NYZF 6XG23	Folsom-Cordova Unified School District for Folsom High School	Rancho Cordova	California	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2024-06-05	945.50	\$10.00	\$9,455.00	\$9,455.00	\$15,000.00	Round 1
840- NCES7_0613890/project/3NYYV DEERV	Folsom-Cordova Unified School District for Folsom Middle School	Rancho Cordova	California	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2024-06-05	652.50	\$10.00	\$6,525.00	\$6,525.00	\$15,000.00	Round 1
840- NCES7_0613890/project/3NYVS FA7ZD	Folsom-Cordova Unified School District for Gold Ridge Elementary School	Rancho Cordova	California	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2024-06-05	1731.50	\$10.00	\$17,315.00	\$15,000.00	\$15,000.00	Round 1
840- NCES7_0613890/project/4K4AB ZT1GX	Folsom-Cordova Unified School District for Mangini Ranch Elementary School	Rancho Cordova	California	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2024-06-05	1719.50	\$10.00	\$17,195.00	\$15,000.00	\$15,000.00	Round 1
840- NCES7_0613890/project/3NYV WUYXFV 840-	Folsom-Cordova Unified School District for Mitchell W. E. Middle School	Rancho Cordova	California	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2024-06-05	22.00	\$10.00	\$220.00	\$220.00	\$15,000.00	Round 1
NCES7_0613890/project/3NYYL L33PM	Folsom-Cordova Unified School District for Natoma Station Elementary School	Rancho Cordova	California	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2024-06-05	21.75	\$10.00	\$217.50	\$217.50	\$15,000.00	Round 1
840- NCES7_0613890/project/3NYVZ 1TCM9 840-	Folsom-Cordova Unified School District for Rancho Cordova Elementary School	Rancho Cordova	California	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2024-06-05	126.00	\$10.00	\$1,260.00	\$1,260.00	\$15,000.00	Round 1
NCES7_0613890/project/3NYZ4 6RSSF	Folsom-Cordova Unified School District for Riverview Stem Academy Elementary School	Rancho Cordova	California	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2024-06-05	1630.00	\$10.00	\$16,300.00	\$15,000.00	\$15,000.00	Round 1
840- NCES7_0613890/project/3NYYQ ZRRT1	Folsom-Cordova Unified School District for Sandra J. Gallardo Elementary School	Rancho Cordova	California	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2024-06-05	1481.50	\$10.00	\$14,815.00	\$14,815.00	\$15,000.00	Round 1
840- NCES7_0613890/project/3NYY9 KXGRD	Folsom-Cordova Unified School District for Theodore Judah Elementary School	Rancho Cordova	California	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2024-06-05	65.75	\$10.00	\$657.50	\$657.50	\$15,000.00	Round 1
840- NCES7_0613890/project/3SWZ7 7SGG7	, Folsom-Cordova Unified School District for W. E. MITCHELL MIDDLE	Rancho Cordova	California	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2024-06-05	26.00	\$10.00	\$260.00	\$260.00	\$15,000.00	Round 1
840-NCES7_0613890	Folsom-Cordova Unified School District	Rancho Cordova	California	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2024-06-05	917.50	\$10.00	\$9,175.00	\$9,175.00	\$15,000.00	Round 1
840- NCES7_0626280/project/42QJT 6C6RH	Mountain View Whisman School District for Benjamin Bubb Elementary School	Mountain View	California	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2024-12-11	59.33	\$10.00	\$593.30	\$593.30	\$15,000.00	Round 1
840- NCES7_0626280/project/42Q2U EYXTD	Mountain View Whisman School District for Edith Landels Elementary School	Mountain View	California	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2024-12-11	40.00	\$10.00	\$400.00	\$400.00	\$15,000.00	Round 1
840- NCES7_0634620/project/3P0EQ 3M8UF	San Juan Unified for Casa Roble Fundamental High School	Carmichael	California	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2025-02-13	1098.75	\$10.00	\$10,987.50	\$10,987.50	\$15,000.00	Round 1
840- NCES7_0634620/project/4MZYC 73GQ7	San Juan Unified for Earl LeGette Elementary School	Carmichael	California	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2025-02-13	2247.50	\$10.00	\$22,475.00	\$15,000.00	\$15,000.00	Round 1
840- NCES7_0634620/project/3P6ZD QYNB5	San Juan Unified for El Camino Fundamental High School	Carmichael	California	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2025-02-13	1010.00	\$10.00	\$10,100.00	\$10,100.00	\$15,000.00	Round 1
840- NCES7_0634620/project/3P0ES AFKUP	San Juan Unified for Gold River Discovery Center School	Carmichael	California	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2025-02-13	102.00	\$10.00	\$1,020.00	\$1,020.00	\$15,000.00	Round 1
840- NCES7_0634620/project/3P0EU H9WUX	San Juan Unified for Mira Loma High School	Carmichael	California	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2025-02-13	56.00	\$10.00	\$560.00	\$560.00	\$15,000.00	Round 1

Cause Code	Cause Name	Cause City	Cause State or Province	Cause Country	Cause Category	Cause Subcategory	Self Certification Status	Self Certification Expiration	Volunteerd Hours	Hourly . Match Rate	Total	Adjusted Total	Match Cap	Payout Round?
XW855	San Juan Unified for Orangevale Open K-8	Carmichael	California	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2025-02-13	778.50	\$10.00	\$7,785.00	\$7,785.00	\$15,000.00	Round 1
	San Juan Unified for Twin Lakes Elementary School	Carmichael	California	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2025-02-13	670.00	\$10.00	\$6,700.00	\$6,700.00	\$15,000.00	Round 1
_	Woodland Joint Unified	Woodland	California	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2024-09-26	127.50	\$10.00	\$1,275.00	\$1,275.00	\$15,000.00	Round 1
VMRRD	Portland Public Schools for Alameda Elementary School, Portland	Portland	Oregon	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2024-05-01	31.00	\$10.00	\$310.00	\$310.00	\$15,000.00	Round 1
VZAMD	Portland Public Schools for Bridlemile Elementary School, Portland	Portland	Oregon	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2024-05-01	35.50	\$10.00	\$355.00	\$355.00	\$15,000.00	Round 1
	Portland Public Schools for Ida B Wells High School, Portland	Portland	Oregon	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2024-05-01	221.00	\$10.00	\$2,210.00	\$2,210.00	\$15,000.00	Round 1
840-NCES7_2506300	Hopedale Public Schools	Hopedale	Massachusetts	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2024-06-08	33.75	\$10.00	\$337.50	\$337.50	\$15,000.00	Round 1
840-NCES7_2636485	Woodhaven-Brownstown School District	Woodhaven	Michigan	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2024-10-23	48.00	\$10.00	\$480.00	\$480.00	\$15,000.00	Round 1
	Rio Rancho Public Schools	Rio Rancho	New Mexico	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2024-11-06	468.39	\$10.00	\$4,683.90	\$4,683.90	\$15,000.00	Round 1
F501Z	Hillsboro School District for Brookwood Elementary School, Hillsboro	Hillsboro	Oregon	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2025-01-24	61.00	\$10.00	\$610.00	\$610.00	\$15,000.00	Round 1
ETM4X	Hillsboro School District for Evergreen Middle School, Hillsboro	Hillsboro	Oregon	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2025-01-24	25.75	\$10.00	\$257.50	\$257.50	\$15,000.00	Round 1
NAU1H	Hillsboro School District for L. C. Tobias Elementary School, Hillsboro	Hillsboro	Oregon	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2025-01-24	21.17	\$10.00	\$211.70	\$211.70	\$15,000.00	Round 1
WA2CVH	Hillsboro School District for Lincoln Street Elementary School, Hillsboro	Hillsboro	Oregon	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2025-01-24	73.00	\$10.00	\$730.00	\$730.00	\$15,000.00	Round 1
GWP95	Hillsboro School District for Minter Bridge Elementary	Hillsboro	Oregon	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2025-01-24	22.00	\$10.00	\$220.00	\$220.00	\$15,000.00	Round 1
UTRYT	Hillsboro School District for Mooberry Elementary School, Hillsboro	Hillsboro	Oregon	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2025-01-24	50.75	\$10.00	\$507.50	\$507.50	\$15,000.00	Round 1
8AKB9	Hillsboro School District for Orenco Elementary School, Hillsboro	Hillsboro	Oregon	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2025-01-24	25.75	\$10.00	\$257.50	\$257.50	\$15,000.00	Round 1
N51G3	Hillsboro School District for Rosedale Elementary School	Hillsboro	Oregon	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2025-01-24	54.58	\$10.00	\$545.80	\$545.80	\$15,000.00	Round 1
8N58K	Hillsboro School District for South Meadows Middle School	Hillsboro	Oregon	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2025-01-24	55.00	\$10.00	\$550.00	\$550.00	\$15,000.00	Round 1
EMZ5D	Hillsboro School District for W. V. McKinney Elementary School, Hillsboro	Hillsboro	Oregon	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2025-01-24	20.00	\$10.00	\$200.00	\$200.00	\$15,000.00	Round 1
FAQQP	Hillsboro School District for Witch Hazel Elementary, Hillsboro	Hillsboro	Oregon	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2025-01-24	37.50	\$10.00	\$375.00	\$375.00	\$15,000.00	Round 1
VTV6K	Banks School District 13 for BANKS HIGH SCHOOL	Banks	Oregon	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2024-12-05	192.00	\$10.00	\$1,920.00	\$1,920.00	\$15,000.00	Round 1
WZ41CP	Banks School District 13 for BANKS MIDDLE SCHOOL	Banks	Oregon	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2024-12-05	127.83	\$10.00	\$1,278.30	\$1,278.30	\$15,000.00	Round 1
AH6GX	Beaverton School District for ACMA Robotics	Beaverton	Oregon	United States	Education	Education N.E.C.	Self Certified	2024-09-13	49.50	\$10.00	\$495.00	\$495.00	\$15,000.00	Round 1
9QVRZ	Beaverton School District for Aloha Huber Park K-8, Beaverton	Beaverton	Oregon	United States	Education	Education N.E.C.	Self Certified	2024-09-13	63.50	\$10.00	\$635.00	\$635.00	\$15,000.00	Round 1
QQF0K	Beaverton School District for Beaverton High School, Beaverton	Beaverton	Oregon	United States	Education	Education N.E.C.	Self Certified	2024-09-13	40.00	\$10.00	\$400.00	\$400.00	\$15,000.00	Round 1
LTN4B	Beaverton School District for Bonny Slope Elementary, Beaverton	Beaverton	Oregon	United States	Education	Education N.E.C.	Self Certified	2024-09-13	28.00	\$10.00	\$280.00	\$280.00	\$15,000.00	Round 1
E32599	Beaverton School District for Cedar Mill Elementary, Beaverton	Beaverton	Oregon	United States	Education	Education N.E.C.	Self Certified	2024-09-13	29.50	\$10.00	\$295.00	\$295.00	\$15,000.00	Round 1
R37SGB	Beaverton School District for Findley Elementary, Beaverton	Beaverton	Oregon	United States	Education	Education N.E.C.	Self Certified	2024-09-13	25.00	\$10.00	\$250.00	\$250.00	\$15,000.00	Round 1
AW64T	Beaverton School District for Five Oaks Middle School, Beaverton	Beaverton	Oregon	United States	Education	Education N.E.C.	Self Certified	2024-09-13	40.88	\$10.00	\$408.80	\$408.80	\$15,000.00	Round 1
WK22K	Beaverton School District for Hiteon Elementary, Beaverton	Beaverton	Oregon	United States	Education	Education N.E.C.	Self Certified	2024-09-13	21.00	\$10.00	\$210.00	\$210.00	\$15,000.00	Round 1
	Beaverton School District for Jacob Wismer Elementary, Beaverton	Beaverton	Oregon	United States	Education	Education N.E.C.	Self Certified	2024-09-13	33.50	\$10.00	\$335.00	\$335.00	\$15,000.00	Round 1

Second	Cause Code	Cause Name	Cause City	Cause State or Province	Cause Country	Cause Category	Cause Subcategory	Self Certification Status		Volunteerd Hours	Hourly Match Rate	Total	Adjusted Total	Match Cap	Payout Round?
Security	840- NCES7_4101920/project/3E1ZK XW0BZ		Beaverton	Oregon		Education	Education N.E.C.	Self Certified	2024-09-13	20.00	\$10.00	\$200.00	\$200.00	\$15,000.00	Round 1
Security	840- NCES7_4101920/project/3E1XY X1XBZ		Beaverton	Oregon		Education	Education N.E.C.	Self Certified	2024-09-13	51.83	\$10.00	\$518.30	\$518.30	\$15,000.00	Round 1
Part	NCES7_4101920/project/3E1XM WWAAT		Beaverton	Oregon		Education	Education N.E.C.	Self Certified	2024-09-13	25.00	\$10.00	\$250.00	\$250.00	\$15,000.00	Round 1
Part	NCES7_4101920/project/3E1Y1 3W86B		Beaverton	Oregon		Education	Education N.E.C.	Self Certified	2024-09-13	27.75	\$10.00	\$277.50	\$277.50	\$15,000.00	Round 1
Company Comp	NCES7_4101920/project/4LV87 DRH15		Beaverton	Oregon		Education	Education N.E.C.	Self Certified	2024-09-13	25.00	\$10.00	\$250.00	\$250.00	\$15,000.00	Round 1
Column C	NCES7_4101920/project/3E1Y5 HJWMH	View Elementary, Beaverton	Beaverton	Oregon		Education	Education N.E.C.	Self Certified	2024-09-13	25.00	\$10.00	\$250.00	\$250.00	\$15,000.00	Round 1
Common C	NCES7_4105160/project/3T51B K62BV	Elementary	Forest Grove	Oregon	States	Education	Education, K - 12	Self Certified	2024-08-21	66.00	\$10.00	\$660.00	\$660.00	\$15,000.00	Round 1
Process	NCES7_4105160/project/3T51J 5P3PZ		Forest Grove	Oregon		Education		Self Certified	2024-08-21	270.75	\$10.00	\$2,707.50	\$2,707.50	\$15,000.00	Round 1
Property of the Company of the Com	NCES7_4105160/project/52ZGX T5LCP		Forest Grove	Oregon	States	Education	Sports/Booster/Club/Band	Self Certified	2024-08-21	70.00	\$10.00	\$700.00	\$700.00	\$15,000.00	Round 1
Process Proc	NCES7_4105160/project/43C0T WZ6FV	Program	Forest Grove	Oregon	States	Education		Self Certified	2024-08-21	345.00	\$10.00	\$3,450.00	\$3,450.00	\$15,000.00	Round 1
Part Company	NCES7_4105160/project/3T51V 5UTL7 840-	High	Forest Grove	Oregon	States	Education		Self Certified	2024-08-21	223.50	\$10.00	\$2,235.00	\$2,235.00	\$15,000.00	Round 1
States Colorinal Exercision Frage Control Program (1976) Colorinal Exercision Frage Control Program (1976) Colorinal Exercision Frage Colorinal Co	NCES7_4105160/project/4CB6Y MPCZ9		Forest Grove	Oregon	States	Education		Self Certified	2024-08-21	50.00	\$10.00	\$500.00	\$500.00	\$15,000.00	Round 1
Security	840-NCES7_4105160	Forest Grove School District	Forest Grove	Oregon		Education		Self Certified	2024-08-21	290.50	\$10.00	\$2,905.00	\$2,905.00	\$15,000.00	Round 1
Mon-No-Est Montest M		St Helens Sd 502 for St. Helens High School	Saint Helens	Oregon		Education		Self Certified	2024-12-05	44.00	\$10.00	\$440.00	\$440.00	\$15,000.00	Round 1
States Education K - 12 Set Certified 204-08-24 120 0 510.00 51.000	840-NCES7_4111720	St Helens Sd 502	Saint Helens	Oregon		Education		Self Certified	2024-12-05	33.50	\$10.00	\$335.00	\$335.00	\$15,000.00	Round 1
Purpose Company Comp	840-NCES7_4112930	Vernonia School District 47J	Vernonia	Oregon		Education		Self Certified	2024-08-21	77.50	\$10.00	\$775.00	\$775.00	\$15,000.00	Round 1
## APPLICES # DOTS # Plyshap School Staff		Austin Isd for KIKER EL	Austin	Texas		Education		Self Certified	2024-03-24	120.00	\$10.00	\$1,200.00	\$1,200.00	\$15,000.00	Round 1
Sale Education	840-NCES7_5306960	Puyallup School District	Puyallup	Washington		Education	Education N.E.C.	Self Certified	2025-01-31	116.00	\$10.00	\$1,160.00	\$1,160.00	\$15,000.00	Round 1
States Education, K- 12 Self Certified 2025-02-22 31.50 \$30.00 \$32,500.00 \$32	840-NCES8_00073614	St Monica School	San Francisco	California		Education		Expired	2023-12-30	25.00	\$10.00	\$250.00	\$250.00	\$15,000.00	Round 1
States Education, K - 12 Sell Certified 2024-09-06 143.50 \$10.00 \$1,435.00 \$13,500 \$13	840-NCES8_00075906	St. Francis High School	Sacramento	California		Education		Self Certified	2024-10-25	250.00	\$10.00	\$2,500.00	\$2,500.00	\$15,000.00	Round 1
States Education, K - 12 Self Certified 2024-08-15 19.50 510.00 51,050.00 51,050.00 510,000.0	840-NCES8_01160609	ST FRANCIS OF ASSISI SCHOOL	BANKS	Oregon		Education		Self Certified	2025-02-22	31.50	\$10.00	\$315.00	\$315.00	\$15,000.00	Round 1
States Related Christian Self Certified 2025-02-06 29.50 \$10.00 \$295.00 \$15,000.00 Round 1 40-NCES8_01161078 St. John Fisher School Portland Oregon United States Education Elementary, Secondary Education, K - 12 40-NCES8_01607942 VALLEY CATHOLIC SCHOOL BEAVERTON Oregon United States Education Elementary, Secondary Education, K - 12 40-NCES8_01607953 HOLY TRINITY CATHOLIC SCHOOL BEAVERTON Oregon United States Related Christian Self Certified 2024-10-30 434.75 \$10.00 \$43.47.50 \$15,000.00 Round 1 40-NCES8_01607953 HOLY TRINITY CATHOLIC SCHOOL BEAVERTON Oregon United States Related Christian Self Certified 2024-10-30 \$10.00 \$760.00 \$760.00 \$760.00 \$760.00 \$760.00 \$10.00 \$760.00 \$10.00 \$760.00 \$10.00 \$760.00 \$10.00	840-NCES8_01160868	ST MATTHEW CATHOLIC SCHOOL	HILLSBORO	Oregon		Education		Self Certified	2024-09-06	143.50	\$10.00	\$1,435.00	\$1,435.00	\$15,000.00	Round 1
States Education Education K - 12 Self Certified 2025-02-06 29.50 \$10.00 \$29.500 \$35,000.00 \$0.000 \$15,000.00 \$	840-NCES8_01161034	ST THOMAS MORE CATHOLIC SCHOOL	PORTLAND	Oregon			Christian	Self Certified	2024-06-15	105.00	\$10.00	\$1,050.00	\$1,050.00	\$10,000.00	Round 1
States Education, K - 12 Self Certified 2024-10-30 \$43.47.5 \$10.00 \$43.47.50 \$315,000.00 Round 1 140-NCES8_01607953 HOLY TRINITY CATHOLIC SCHOOL BEAVERTON Oregon United States 140-NCES8_01609043 St. Simon Parish School Los Altos California United States 140-NCES8_01609112/project/3Y2L Scatholic Conference - St. Lucy School for St. Lucy School Lighting the Way 140-NCES8_01609291 ST CATHERINE CATHOLIC SCHOOL MORGAN HILL California United States 140-NCES8_02009668 CHRISTIAN ENCOUNTER MINISTRIES Grass Valley California United States 140-NCES8_02014897 MMANUFIL LITHERAN SCHOOL LOVELAND Colorato United States 140-NCES8_02014897 MMANUFIL LITHERAN SCHOOL LOVELAND Colorato United States 140-NCES8_02014897 MMANUFIL LITHERAN SCHOOL SCHOOL ST. St. School School School St. School St. School St. School St. School Sc	840-NCES8_01161078	St. John Fisher School	Portland	Oregon		Education		Self Certified	2025-02-06	29.50	\$10.00	\$295.00	\$295.00	\$15,000.00	Round 1
States Related Christian Self-Certified 2023-01-04 78.30 310.00 3780.00 310,000.00 Round 1 140-NCES8_01609043 St. Simon Parish School Los Altos California United States 140-CESS_01609112/project/3Y2L US Catholic Conference - St. Lucy School for St. Lucy School Lighting the Way 140-NCESS_01609291 ST CATHERINE CATHOLIC SCHOOL MORGAN HILL California United States 140-NCESS_02009668 CHRISTIAN ENCOUNTER MINISTRIES Grass Valley California United States 140-NCESS_02014837 MMANUEL LITHERAN SCHOOL LOVELAND Colorato United States 140-NCESS_02014837 MMANUEL LITHERAN SCHOOL LOVELAND Colorato United States 140-NCESS_02014837 MMANUEL LITHERAN SCHOOL SCHOOL SID.00 SI	840-NCES8_01607942	VALLEY CATHOLIC SCHOOL	BEAVERTON	Oregon		Education		Self Certified	2024-10-30	434.75	\$10.00	\$4,347.50	\$4,347.50	\$15,000.00	Round 1
States Education Frimary, Elementary Schools Self Certified 2024-11-30 50.00 510.00 5260.00 515,000.00 Round 1 WARD-NCES8_01609112/project/3Y2L US Catholic Conference - St. Lucy School Lighting the Way School Lighting the	840-NCES8_01607953	HOLY TRINITY CATHOLIC SCHOOL	BEAVERTON	Oregon			Christian	Self Certified	2025-01-04	76.00	\$10.00	\$760.00	\$760.00	\$10,000.00	Round 1
Cappell California Control California Californi	840-NCES8_01609043	St. Simon Parish School	Los Altos	California		Education	Primary, Elementary Schools	Self Certified	2024-11-30	50.00	\$10.00	\$500.00	\$500.00	\$15,000.00	Round 1
States Education Frimary, Elementary, Secondary Education Frimary, Elementary, Secondary Education, K - 12 Self Certified 2025-02-22 24.00 \$10.00 \$240.00 \$15,000.00 Round 1 140-NCES8_02014827 IMMANUEL LITHERAN SCHOOL LOVELAND Coloredo United Education Elementary, Secondary Education Elementary, Secondary Education, K - 12 Self Certified 2025-02-22 24.00 \$10.00 \$240.00 \$250.00 \$15,000.00 Round 1	840- NCES8_01609112/project/3Y2L QKFSAK		Campbell	California				Self Certified	2024-08-17	26.00	\$10.00	\$260.00	\$260.00	\$10,000.00	Round 1
AUDITION States CONTINUE TO STATE ST	840-NCES8_01609291	ST CATHERINE CATHOLIC SCHOOL	MORGAN HILL	California		Education	Primary, Elementary Schools	Self Certified	2024-05-10	565.50	\$10.00	\$5,655.00	\$5,655.00	\$15,000.00	Round 1
	840-NCES8_02009668	CHRISTIAN ENCOUNTER MINISTRIES	Grass Valley	California		Education		Self Certified	2025-02-22	24.00	\$10.00	\$240.00	\$240.00	\$15,000.00	Round 1
	840-NCES8_02014827	IMMANUEL LUTHERAN SCHOOL	LOVELAND	Colorado		Education		Expired	2024-02-11	225.00	\$10.00	\$2,250.00	\$2,250.00	\$15,000.00	Round 1

Cause Code	Cause Name	Cause City	Cause State or Province	Cause Country	Cause Category	Cause Subcategory	Self Certification Status	Self Certification Expiration	Volunteerd Hours	Hourly Match Rate	Total	Adjusted Total	Match Cap	Payout Round?
840-NCES8_02052443	PILGRIM LUTHERAN CHRISTIAN SCHOOL	BEAVERTON	Oregon	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2025-02-21	21.00	\$10.00	\$210.00	\$210.00	\$15,000.00	Round 1
840-NCES8_A0301822	ST BERNADETTE ELEMENTARY SCHOOL	NORTHBOROUGH	Massachusetts	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2024-07-14	32.00	\$10.00	\$320.00	\$320.00	\$15,000.00	Round 1
840-NCES8_A0902663	ISLAMIC SCHOOL OF PORTLAND	PORTLAND	Oregon	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2024-05-18	250.00	\$10.00	\$2,500.00	\$2,500.00	\$15,000.00	Round 1
840-NCES8_A9503368	FOREST HILLS LUTHERAN CHRISTIAN SCHOOL	CORNELIUS	Oregon	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2024-08-21	152.00	\$10.00	\$1,520.00	\$1,520.00	\$15,000.00	Round 1
840-NCES8_BB980054	Our Lady Of The Miraculous Medal	Montebello	California	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2024-12-14	120.00	\$10.00	\$1,200.00	\$1,200.00	\$15,000.00	Round 1
840-NCES8_K9304533	NEW DAY ANANDA MARGA OF PORTLAND	PORTLAND	Oregon	United States	Education	Elementary, Secondary Education, K - 12	Self Certified	2024-12-01	100.00	\$10.00	\$1,000.00	\$1,000.00	\$15,000.00	Round 1